#### UNITED STATES BANKRUPTCY COURT NORTHERN DISTRICT OF OHIO EASTERN DIVISION

In re:	)	Case No. 10-50494
	)	
FAIR FINANCE COMPANY	)	Chapter 7
	)	
Debtor.	)	Judge Jessica E. Price Smith

### SUMMARY OF TENTH FEE APPLICATION FOR INTERIM APPROVAL AND ALLOWANCE OF COMPENSATION FOR THE PERIOD SEPTEMBER 1, 2019 THROUGH AND INCLUDING AUGUST 31, 2020 AND REIMBURSEMENT OF EXPENSES FOR THE PERIOD MAY 1, 2020 THROUGH AND INCLUDING AUGUST 31, 2020, FILED BY BAKER & HOSTETLER LLP AS COUNSEL TO THE CHAPTER 7 TRUSTEE, BRIAN A. BASH

Name of Applicant: Authorized to Provide Professional Services as:	Baker & Hostetler LLP Counsel to the Chapter 7 Trustee			
Date of Application:	October 14, 2020			
Date of Order Approving Appointment:	March 11, 2010 (effective as of February 23, 2010)			
Period for Which Compensation and Reimbursement is Sought:	September 1, 2019 – August 31, 2020			
Amount of Compensation for Services Incurred as Actual, Reasonable and Necessary	\$ 3,034,591.50			
Amount of Expenses Sought to be Reimbursed as Actual, Reasonable and Necessary	\$ 1,242.12			
Total Amount of Fees Incurred and Expenses Sought to be Reimbursed as Actual, Reasonable and Necessary	\$ 3,035,833.62			

This is the tenth application for an allowance of compensation and reimbursement of expenses incurred pursuant to 11 U.S.C. §§ 330 and 331.



10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 1 of 197

#### UNITED STATES BANKRUPTCY COURT NORTHERN DISTRICT OF OHIO EASTERN DIVISION

)

)

)

In re:

FAIR FINANCE COMPANY

Debtor.

Case No. 10-50494 Chapter 7

Judge Jessica E. Price Smith

### TENTH FEE APPLICATION FOR INTERIM APPROVAL AND ALLOWANCE OF COMPENSATION FOR THE PERIOD SEPTEMBER 1, 2019 THROUGH AND INCLUDING AUGUST 31, 2020 AND REIMBURSEMENT OF EXPENSES FOR THE PERIOD MAY 1, 2020 THROUGH AND INCLUDING AUGUST 31, 2020, FILED BY BAKER & HOSTETLER LLP AS COUNSEL TO THE CHAPTER 7 TRUSTEE, BRIAN A. BASH

Baker & Hostetler LLP ("**Baker & Hostetler**" or the "**Firm**"), counsel to the Chapter 7 Trustee, Brian A. Bash (the "**Trustee**"), in the above-captioned chapter 7 case of debtor Fair Finance Company ("**Debtor**"), hereby applies for Interim Approval and Allowance of Compensation and Reimbursement of Expenses (the "**Tenth Application**"), in accordance with (a) 11 U.S.C. §§ 330 and 331, (b) Rule 2016 of the Federal Rules of Bankruptcy Procedure, (c) Rule 2016-1 of the Local Bankruptcy Rules for the Northern District of Ohio, (d) General Order 93-1, Guidelines for Compensation and Expense Reimbursement of Professionals; and (e) the Guidelines for Reviewing Applications for Compensation and Reimbursement of Expenses Filed under 11 U.S.C. §§ 330 adopted by the Executive Office for United States Trustees (the "**UST Guidelines**").

In support of this Application, Baker & Hostetler respectfully represents as follows:

#### I. INTRODUCTION

1. Baker & Hostetler files this Application to request interim allowance of its fees incurred from September 1, 2019 through August 31, 2020 (the "**Application Period**"). Baker & Hostetler does not seek payment of its fees incurred during the Application Period at this time.

2. Baker & Hostetler files this interim fee application to continue its practice of informing the Court and parties-in-interest, on an annual basis, of the nature and extent of the fees and expenses incurred and the detail behind those fees and expenses. This will enable the Court and parties-in-interest to understand the financial condition of the bankruptcy estate and to understand the challenges and complexities that have been encountered and addressed in connection with the Firm's efforts to recover funds for the benefit of the estate and its creditors. This will also avoid unduly burdening the Court, the office of the United States Trustee and other parties-in-interest with the additional data and review that would be required of a fee application that covered a time period longer than one (1) year.

3. Baker & Hostetler seeks approval and reimbursement of out-of-pocket costs, totaling \$1,242.12, which the Firm has underwritten on the estate's behalf during the Application Period.

4. The Firm seeks the Court's allowance of the full amount of the \$3,034,591.50 of fees requested in this Application Period, on an interim basis, subject to later approval by final order. If allowed, that amount will be added to Baker & Hostetler's Holdback Amount (as defined below) pending further order of the Court.

5. Currently, there is approximately \$2 million cash remaining in the bankruptcy estate. Baker & Hostetler, in consultation with the Trustee, estimates that amount will be sufficient to pay all administrative expenses, aside from Baker & Hostetler's Holdback Amount (as defined below).

6. Baker & Hostetler has taken a conservative approach to staffing and administrative costs. The magnitude and complexity of this case and the litigation prosecuted by the Trustee has

2

required the significant attention of several partner-level attorneys (in addition to substantial work by other attorneys and professionals at the Firm).

7. As described more fully below, the Firm engaged in substantial activities during the Application Period in an effort to conclude this bankruptcy case and increase the assets available for distribution to creditors. Most notably, the Firm conducted a multi-week jury trial in the Trustee's litigation against Textron Financial Corp. The trial resulted in judgment in Textron's favor. The Trustee has appealed that judgment to the Sixth Circuit. Briefing is ongoing in the appeal. While there are miscellaneous administrative and other efforts that will need to be completed, the Textron litigation remains the single largest matter that remains to be pursued. An ultimately favorable resolution of the case against Textron provides the only opportunity for meaningful additional distributions to unsecured creditors.

8. Resolution of remaining claims and other actions necessary to bring this case to a successful conclusion will require Baker & Hostetler to continue to expend time and resources. Accordingly, at this time, Baker & Hostetler submits this Application.

#### II. PROCEDURAL BACKGROUND

9. On February 8, 2010 (the "**Petition Date**"), creditors filed a petition for involuntary bankruptcy against the Debtor.

10. On the Petition Date, the creditors also filed an "Emergency Motion to Appoint Interim Trustee" [Docket No. 2] alleging that a trustee was needed to oversee the operations of the Debtor because (i) the Debtor had failed to make timely payments on its debts, including failing to redeem matured certificates and failing to pay interest on unmatured certificates; (ii) the Debtor and several affiliated companies had been raided by the Federal Bureau of Investigation in November of 2009; (iii) the Debtor had not been open to the public since the raid; and (iv) public records revealed that the Debtor had made "unusually large" loans to insiders. 11. On February 19, 2010, this Court entered an order directing the United States Trustee to appoint an interim trustee.

12. On February 24, 2010, the Debtor filed notice that it consented to the entry of an order for relief in this proceeding [Docket No. 35].

13. On March 2, 2010, the Court entered an Order granting the relief sought by the Petitioning Creditors *nunc pro tunc* as of February 24, 2010 [Docket No. 40].

14. On March 2, 2010, the United States Trustee filed the Notice of Appointment of Interim Chapter 7 Trustee *nunc pro tunc* effective February 24, 2010 [Docket No. 41]. Trustee Bash is the duly-appointed, qualified and acting Trustee in the within proceedings.

15. On February 23, 2010, the Trustee filed an Application Under § 327(a) of the Bankruptcy Code to Retain and Employ Baker & Hostetler LLP as Counsel [Docket No. 32].

16. Baker & Hostetler was authorized to serve as counsel for the Trustee, effective as of February 23, 2010, pursuant to this Court's Order Authorizing Appointment of Attorneys for Trustee, dated March 10, 2010 [Docket No. 53].

#### Summary of Prior Fee Applications

17. All of Baker & Hostetler's fees and expenses incurred prior to this Application Period have been approved and allowed. All expenses prior to this Application Period have been paid. Except for \$7,996,240.61 in fees incurred prior to this Application Period (the "**Holdback Amount**"), all fees have been paid. Baker & Hostetler does not seek payment of the Holdback Amount at this time. Any fees allowed for this Application Period will be added to the Holdback Amount. Baker & Hostetler will reserve any request for payment of those amounts until a later date.

18. On October 4, 2011, the Court entered an Order Granting, In Part, Baker & Hostetler's first interim fee application [Docket No. 470], which included fees incurred from

4

February 23, 2010 through December 31, 2010. Pursuant to that Order, Baker & Hostetler received payment of \$1,300,791.50 of fees and reimbursement of \$31,980.14 of expenses relating to calendar year 2010. No fees from the First Interim Fee Application remain pending or unpaid.

19. On November 30, 2012, the Court entered an Order granting, in part, Baker & Hostetler's second interim fee application [Docket No. 1145], which application included a request for fees and expenses incurred from January 1, 2011 through August 31, 2012. Pursuant to that Order, Baker & Hostetler received payment of \$3,052,061.50 for fees that Baker & Hostetler incurred during calendar year 2011, as well as reimbursement for \$281,711.65 of expenses for the same period. At that time, the Court did not allow fees in the amount of \$4,283,862.00, and reserved consideration of those fees for a later time. Subsequently, pursuant to the Order granting Baker & Hostetler's fifth interim fee application [Docket No. 2063], the Court did allow the fees in the amount of \$4,283,862.00, and Baker & Hostetler received full payment. No fees from the Second Interim Fee Application remain pending or unpaid.

20. On December 31, 2013, the Court entered an Order granting, in part, Baker & Hostetler's third interim fee application [Docket No. 1391], which application included a request for fees and expenses incurred from September 1, 2012 through August 31, 2013. Pursuant to that Order, Baker & Hostetler received payment of \$1,500,000.00 for fees incurred and \$463,906.63 for expenses incurred. At that time, the Court did not allow fees in the amount of \$5,763,478.00, and reserved consideration of those fees for a later time. Subsequently, pursuant to the Order granting Baker & Hostetler's fifth interim fee application [Docket No. 2063], the Court did allow the fees in the amount of \$5,763,478.00, and Baker & Hostetler received full payment. No fees from the Third Interim Fee Application remain pending or unpaid.

21. On November 10, 2014, the Court entered an Order granting Baker & Hostetler's fourth interim fee application [Docket No. 1612], which application included a request for fees and expenses incurred from September 1, 2013 through August 31, 2014, in the amounts of \$5,620,754.00 and \$242,361.11, respectively. Pursuant to that Order, all fees were approved and allowed, and Baker & Hostetler received a partial payment of \$2,257,638.89 for fees incurred and full payment of \$242,361.11 for expenses incurred.

22. On November 17, 2015, the Court entered an Order granting Baker & Hostetler's fifth interim fee application [Docket No. 2063], which application included a request for fees and expenses incurred from September 1, 2014 through August 31, 2015, in the amounts of \$3,860,026.00 and \$89,812.25, respectively. Pursuant to that Order, all fees were approved and allowed, and Baker & Hostetler received a partial payment of \$1,952,660.00 for fees incurred and full payment of \$89,812.25 for expenses incurred.

23. On October 24, 2016, the Court entered an Order granting Baker & Hostetler's sixth interim fee application [Docket No. 2248], which application included a request for fees and expenses incurred from September 1, 2015 through August 31, 2016, in the amounts of \$2,313,256.00 and \$34,188.14, respectively. Pursuant to that Order, all fees were approved and allowed, and Baker & Hostetler received full payment. No fees from the Sixth Interim Fee Application remain pending or unpaid.

24. On November 14, 2017, the Court entered an Order granting Baker & Hostetler's seventh interim fee application [Docket No. 2423], which application included a request for fees and expenses incurred from September 1, 2016 through August 31, 2017, in the amounts of \$4,360,733.50 and \$235,643.32, respectively. Pursuant to that Order, all fees were approved and

allowed, and Baker & Hostetler received a partial payment of \$4,000,000.00 for fees incurred and full payment of \$235,643.32 for expenses incurred.

25. On January 16, 2019, the Court entered an Order granting Baker & Hostetler's eighth interim fee application [Docket No. 2537], which application included a request for fees and expenses incurred from September 1, 2017 through August 31, 2018, in the amounts of \$2,371,026.00 and \$104,619.29, respectively. Pursuant to that Order, fees were reduced by \$6,000.00 and were approved and allowed in the amount of \$2,365,026.00 and expenses were reduced by \$488.00 and were approved and allowed in the amount of \$104,131.29. Baker & Hostetler received full payment of \$104,131.29 for expenses incurred.

26. On November 25, 2019, the Court entered an Order granting Baker & Hostetler's ninth interim fee application [Docket No. 2593], which application included a request for fees and expenses incurred from September 1, 2018 through August 31, 2019, in the amounts of \$962,630.50 and \$20,990.51, respectively. Pursuant to that Order, all fees were approved and allowed, and Baker & Hostetler received full payment. No fees from the Ninth Interim Fee Application remain pending or unpaid.

27. On July 22, 2020, the Court entered an Order granting Baker & Hostetler's interim expense application [Docket No. 2620], which application included a request for expenses incurred from September 1, 2019 through April 30, 2020, in the amount of \$170,811.10. Pursuant to that Order, expenses were reduced by \$616.10 and were approved and allowed in the amount of \$170,195.00. Baker & Hostetler received full payment of \$170,195.00 for expenses incurred.

#### III. SUMMARY OF COMPENSATION AND EXPENSE REIMBURSEMENT REQUESTED

28. In this Tenth Application, Baker & Hostetler seeks interim allowance of fees for services performed. Baker & Hostetler does not seek payment of those fees at this time. Baker &

Hostetler seeks allowance and payment of its nominal put-of-pocket expenses incurred during the Application Period. Baker & Hostetler has not received a retainer in connection with its engagement as counsel for the Trustee.

29. The amounts set forth herein for which Baker & Hostetler seeks allowance do not include any fees for services performed by the Trustee.

30. Baker & Hostetler also does not seek allowance or include any fees for time spent working on fee applications or matters otherwise relating to seeking allowance or payment of its fees.<sup>1</sup>

31. Baker & Hostetler has received no promise of payment for professional services rendered in these cases other than in accordance with the provisions of the Bankruptcy Code.

32. Each of the persons who performed services kept daily time records detailing the services performed and the time expended in connection therewith by category of service (the "**Categories**") reflected in General Order No. 93-1, Guidelines for Compensation and Expense Reimbursement of Professionals, dated July 28, 1993.

33. Set forth in **Exhibit A** is a listing of the name and position of each Baker & Hostetler professional, together with that person's hourly billing rate,<sup>2</sup> and the amount billed for each professional who rendered services during the Application Period along with a chronological listing of services provided for each category for the Application Period. Set forth in **Exhibit B** is a chart listing the amount billed for each category for the Application Period. Set forth in **Exhibit B** is

<sup>&</sup>lt;sup>1</sup> Time spent in task codes B19 (Fee/employment applications) and B20 (Fee/employment Objections) is set forth in the time entries included in **Exhibits A** and **B**. However, Baker & Hostetler does not seek allowance or payment of those amounts.

<sup>&</sup>lt;sup>2</sup> All professionals identified on **Exhibit A** are located at Baker & Hostetler's Cleveland, Ohio, office except for the following individuals: Sonia Lowe, Andrew Grossman, Gilbert Keteltas, Richard Raile, Thomas Hogan and Jeffrey Lyons.

**C** is a chart showing the actual and necessary expenses incurred by Baker & Hostetler in the amount of \$1,242.12.

#### IV. SUMMARIES OF SERVICES RENDERED

34. A general narrative summary of the Categories under which services were performed by Baker & Hostetler during the Application Period is set forth below. A more detailed description of the services provided by Baker & Hostetler appears on **Exhibit A**. Baker & Hostetler's services during the Application Period can be generally divided into two categories: litigation matters and other (non-litigation) matters. Baker & Hostetler's time during the Application Period is allocated among multiple separate task codes, as discussed below and fully set forth in **Exhibits A** and **B**.

#### A. <u>Litigation Matters</u>.

35. During the Application Period, Baker & Hostetler devoted the overwhelming majority of its time to ongoing litigation matters. Those matters provide the estate with the best prospects for additional meaningful recoveries in this bankruptcy case. For purposes of this Tenth Application, Baker & Hostetler focuses on the matters on which the most significant fees were incurred.

36. Baker & Hostetler incurred \$2,446,575.00 in fees on the Textron Remand Litigation (task code B216), which is approximately 80% of the fees requested during the Application Period. Baker & Hostetler incurred \$522,436.50 in fees on the Textron Appeal (task code B02), which is approximately 17% of the fees requested during the Application Period. In other words, approximately 97% of the fees incurred during the Application Period related to Textron litigation matters.

37. Prior to this Application Period, Baker & Hostetler was successful in obtaining a reversal of the District Court's 2012 dismissal of the Trustee's actual fraudulent transfer and other

9

claims against Textron. A copy of the Sixth Circuit's opinion is available on the Trustee's website (www.kccllc.net/fairfinance). Following remand from the Sixth Circuit to the District Court, the Trustee defeated Textron's motion to dismiss the Trustee's Second Amended Complaint, completed all fact and expert discovery, obtained the denial of multiple motions for summary judgment filed by Textron regarding the Trustee's actual fraudulent transfer claim, and participated in multiple Court-ordered mediations. The case did not settle. Thus, the Firm engaged in monumental efforts to prepare for and try the case to a jury in federal District Court. The Textron trial commenced on February 24, 2020, and concluded on March 10, 2020. The end result was a judgment in Textron's favor. The Trustee has appealed that judgment to the Sixth Circuit. Briefing in the appeal is ongoing, and will be completed shortly.

38. The Textron litigation represents the largest category of fees that Baker & Hostetler incurred during the Application Period. It also represents the Fair Finance estate's best opportunity for additional meaningful recoveries. A significant amount of money is at issue in the Textron litigation, and the case has been hotly contested at every turn for several years. During the Application Period, Baker & Hostetler incurred the majority of its fees briefing summary judgment disputes, preparing for and attending court-ordered settlement conferences, jury trial preparations, addressing issues regarding motions *in limine*, conducting the jury trial, and prosecuting the Trustee's ongoing appeal to the Sixth Circuit, among other tasks. Baker & Hostetler will continue to advance the Trustee's position against Textron, which, if successful, could provide a substantial recovery and additional distributions to creditors at some point in the future.

#### B. <u>Other (Non-Litigation) Significant Task Codes.</u>

39. During the Application Period, Baker & Hostetler also performed extensive services in the following task codes: Asset Analysis & Recovery (B03), Case Administration

(B10), Claims Administration and Objections (B11) and Meetings of & Communications with Creditors (B25).

40. Baker & Hostetler incurred \$6,154.50 in fees for Claims Administration and Objections (task code B11). Baker & Hostetler also incurred \$719.50 in fees for Meetings Of & Communications With Creditors (non-committee) (task code B25). Baker & Hostetler incurred the vast majority of those fees addressing matters regarding the Trustee's second interim distribution to creditors, reconciling claims in connection with that distribution, addressing administrative and certain disputed matters, and receiving and responding to numerous creditor inquiries regarding their claims, claims transfers, and the status of the bankruptcy case.

41. Amounts coded to other Categories primarily encompass (a) broad services regarding issues that have some impact on all of the Trustee's litigation, and (b) services relating to a wide variety of matters necessary to the general administration of this bankruptcy case.

#### V. FACTORS TO BE CONSIDERED IN AWARDING ATTORNEYS' FEES

42. The factors to be considered in awarding attorneys' fees are enumerated in *In re First Colonial Corporation of America*, 544 F.2d 1291, 1298-99 (5th Cir. 1977), *reh'g* denied, 547 F.2d 573, *cert*. denied, 431 U.S. 904. These standards have been adopted by most courts. Baker & Hostetler respectfully submits that a consideration of these factors should result in this Court's allowance of the full compensation sought.

43. <u>The Time and Labor Required.</u> The professional services rendered by Baker & Hostetler on behalf of the Trustee have required a continuous expenditure of substantial time and effort, often under urgent circumstances and time pressures that, on a regular basis, required the performance of services late into the evening, on weekends, and on holidays. As noted above, some of the principal partners working on this case are doing so to the exclusion of virtually all

other Firm clients. The services rendered required a high degree of professional competence and expertise to be administered with skill and dispatch.

44. <u>The Novelty and Difficulty of Questions.</u> As stated above, this case has presented novel and unique legal questions due to the Debtor's unusual circumstances and business practices, the complex transactions and assets involved, the large number of insiders, affiliates and related parties who received funds, the implications arising from the intersection of criminal and bankruptcy law and the sheer extent of third parties' knowing participation in the fraudulent scheme. Effective advocacy and creative approaches have been, and will continue to be, crucial to clarify and resolve new and often challenging issues raised in this case.

45. <u>The Skill Required to Perform the Legal Services Properly.</u> The Firm's recognized expertise in the area of corporate reorganization, fraud investigation and Ponzi schemes, its ability to draw from highly experienced professionals in other areas of practice, and its creative approach to the resolution of issues have and will contribute to the maximization of distributions to the creditors. Baker & Hostetler has drawn on the expertise of professionals who focus their practices in specialized areas of law, including, without limitation, real estate, tax, bankruptcy and litigation.

46. <u>The Customary Fee.</u> The fees sought herein are based upon the firm's normal hourly rates for services of this kind. Baker & Hostetler respectfully submits that the fees sought are not unusual given the magnitude and complexity of this case and the time expended in attending to the representation of the Trustee. The fees requested are commensurate with fees Baker & Hostetler has been awarded in other cases, as well as with fees charged by other attorneys of comparable experience.

47. <u>Whether the Fee is Fixed or Contingent.</u> Pursuant to Sections 330 and 331 of the Bankruptcy Code, all fees sought by professionals employed under Section 327 of the Bankruptcy Code are contingent pending final approval by this Court and are subject to adjustment dependent upon the services rendered and the results obtained.

48. <u>The Amount Involved and Results Obtained.</u> Baker & Hostetler takes seriously the losses suffered by the Debtor and its creditors in excess of \$200 million. At every turn, Baker & Hostetler has been faced with stiff opposition from well-funded adversaries seeking to avoid having to account for their conduct. Baker & Hostetler's efforts have offered and will continue to offer the only chance of recovery available to the Debtor's creditors, in addition to enabling the efficient administration of this case.

#### VI. ALLOWANCE OF COMPENSATION

49. The allowance of interim compensation for services rendered and reimbursement of expenses in bankruptcy cases is expressly provided for in Section 331 of the Bankruptcy Code:

Any professional person...may apply to the court not more than once every 120 days after an order for relief in a case under this title, or more often if the court permits, for such compensation for services rendered...as is provided under section 330 of this title.

11 U.S.C. § 331.

50. With respect to the level of compensation, Section 330(a)(1) of the Bankruptcy Code provides, in pertinent part, that the Court may award to a professional person "reasonable compensation for actual, necessary services rendered...." Section 330(a)(3)(A), in turn, provides:

In determining the amount of reasonable compensation to be awarded, the court shall consider the nature, the extent, and the value of such services, taking into account all relevant factors, including:

(A) the time spent on such services;

(B) the rates charged for such services:

(C) whether the services were necessary to the administration of, or beneficial at the time at which the service was rendered toward the completion of, a case under this title;

(D) whether the services were performed within a reasonable amount of time commensurate with the complexity, importance, and nature of the problem, issue, or task addressed; and

(E) whether the compensation is reasonable based on the customary compensation charged by comparably skilled practitioners in cases other than cases under this title.

11 U.S.C. § 330(a)(3)(A). The clear Congressional intent and policy expressed in this statute is to provide for adequate compensation in order to continue to attract qualified and competent bankruptcy practitioners to bankruptcy cases.

51. Throughout these cases, Baker & Hostetler has carefully coordinated its efforts with other professionals. The work involved, and thus the time expended, was carefully assigned in light of the experience and expertise required for a particular task. As shown by this Tenth Application and supporting documents, the Firm spent its time economically and without unnecessary duplication.

#### VII. REIMBURSEMENT OF EXPENSES

#### A. Expenses Incurred During The Application Period.

52. Baker & Hostetler incurred nominal actual and necessary out-of-pocket expenses in connection with rendering professional services to the Trustee in the sums indicated on **Exhibit C**, for which Baker & Hostetler respectfully requests full reimbursement. The disbursements and expenses have been incurred in accordance with the Firm's normal practice of charging clients for expenses clearly related to and required by particular matters. Baker & Hostetler has endeavored to minimize these expenses to the fullest extent possible. Baker & Hostetler also has carefully reviewed and reduced expenses to the extent of meals during travel that exceed a reasonable cost, and for any alcoholic beverages. 53. Baker & Hostetler's billing rates do not include charges for photocopying, telephone and telecopier toll charges, computerized research, travel expenses, "working meals," secretarial overtime, postage, and certain other office services, because the needs of each client for such services differ. Instead, Baker & Hostetler charges each client only for the services actually used in performing services for that client. In these proceedings, Baker & Hostetler charges \$.10 per page for internal duplicating and actual phone charge for outgoing facsimile transfers. The firm does not charge for incoming facsimile transfers. The expenses incurred by Baker & Hostetler are in compliance with the UST Guidelines.

#### VIII. CONCLUSION

54. No agreement or understanding exists between Baker & Hostetler and any other person for the sharing of any compensation to be received for professional services rendered or to be rendered in connection with these cases.

55. Except as set forth herein, no prior application has been made in this or in any other Court for the relief requested herein for the Application Period.

WHEREFORE, Baker & Hostetler respectfully requests that this Court enter an Order:

1. Approving, on an interim basis, the allowance of compensation of professional services rendered to the Trustee from September 1, 2019 through and including August 31, 2020 (this Application Period), in the sum of **\$3,034,591.50**;

2. Approving on an interim basis, the allowance and reimbursement of Baker & Hostetler's out-of-pocket expenses incurred in connection with the rendering of such professional services from May 1, 2020 through and including August 31, 2020, in the sum of **\$1,242.12**;

3. Authorizing and directing the Trustee, on an interim basis, (a) to pay Baker & Hostetler's unpaid out-of-pocket expenses incurred during the Application Period totaling **\$1,242.12**; (b) increase the current Holdback Amount of \$7,996,240.61 by the amount of any fees

15

allowed during this Application Period; and (c) granting such other and further relief as this Court may deem just and proper.

Date: October 14, 2020

Respectfully submitted,

/s/ Michael A. VanNiel

Michael A. VanNiel (0073948) BAKER & HOSTETLER LLP Key Tower 127 Public Square, Suite 2000 Cleveland, Ohio 44114-1214 Telephone: 216.621.0200 Facsimile: 216.696.0740

Counsel for the Trustee

# **EXHIBIT** A

10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 18 of 197

#### Regarding: Chapter 7 Trustee

Matter Number: 042188.000001

Name	Title	Hours	Rate	Amount
Beachdell, Alexis C.	Partner	17.10	\$ 430.00	\$ 7,353.00
Beachdell, Alexis C.	Partner	0.80	410.00	328.00
Burgan, Kelly S.	Partner	6.80	610.00	4,148.00
Esmont, Joseph M.	Partner	3.00	425.00	1,275.00
Fletcher, Adam L.	Partner	6.80	450.00	3,060.00
Fletcher, Adam L.	Partner	9.90	430.00	4,257.00
Grossman, Andrew M.	Partner	0.20	905.00	181.00
Hogan, Thomas E.	Partner	0.50	785.00	392.50
Holbrook, Scott C.	Partner	867.20	595.00	515,984.00
Holbrook, Scott C.	Partner	307.10	580.00	178,118.00
Keteltas, Gilbert S.	Partner	0.60	890.00	534.00
Lewis, Patrick T.	Partner	24.20	475.00	11,495.00
Lewis, Patrick T.	Partner	1.80	455.00	819.00
Mumford, Michael E.	Partner	3.30	560.00	1,848.00
Proano, David F.	Partner	3.70	455.00	1,683.50
Proano, David F.	Partner	8.50	475.00	4,037.50
Shively, Douglas L.	Partner	135.20	435.00	58,812.00
Van Euwen, Peter W.	Partner	5.20	625.00	3,250.00
VanNiel, Michael A.	Partner	616.90	645.00	397,900.50
VanNiel, Michael A.	Partner	185.90	615.00	114,328.50
Warren, Daniel R.	Partner	713.70	870.00	620,919.00
Warren, Daniel R.	Partner	212.00	830.00	175,960.00
Brogan, Mary P.	Associate	242.00	295.00	71,390.00
Brogan, Mary P.	Associate	139.20	275.00	38,280.00
Calanni, Anthony S.	Associate	44.20	265.00	11,713.00
Davis, Austin N.	Associate	11.50	265.00	3,047.50
Dunnaback, Jeremy	Associate	789.10	330.00	260,403.00
Dunnaback, Jeremy	Associate	85.50	295.00	25,222.50
Echols, Margaret	Associate	16.00	280.00	4,480.00

## Baker&Hostetler LLP

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 19 of 197

Invoice Date: Invoice Number: Matter Number:

Name	Title	Hours	Rate	Amoun
Echols, Margaret	Associate	10.60	265.00	2,809.00
Kavouras, Daniel M.	Associate	538.30	395.00	212,628.50
Kavouras, Daniel M.	Associate	163.80	365.00	59,787.00
Lyons, Jeffrey J.	Associate	16.10	440.00	7,084.00
McIntyre, Sean E.	Associate	3.70	330.00	1,221.00
Prince, Scott E.	Associate	48.90	330.00	16,137.00
Raile, Richard B.	Associate	7.40	625.00	4,625.00
Seigley, Yaima	Associate	0.50	310.00	155.00
Douthett, Breaden M.	Counsel	2.40	510.00	1,224.00
Goldman, Matthew R.	Partner	3.00	925.00	2,775.00
Lazanich, Julia K.	Paralegal	538.50	220.00	118,470.00
Lowe, Sonia K.	Paralegal	0.50	245.00	122.50
Szalay, Sarah M.	Paralegal	175.90	235.00	41,336.50
Szalay, Sarah M.	Paralegal	76.00	225.00	17,100.00
Bhagat, Ashish K.	Litigation Analyst	0.50	235.00	117.50
Bhagat, Ashish K.	Litigation Analyst	1.90	210.00	399.00
Bookout, Kimberly M.	Litigation Coordinator	1.10	275.00	302.50
Dyer, Ricky J.	Litigation Analyst	39.90	240.00	9,576.00
Dyer, Ricky J.	Litigation Analyst	29.00	235.00	6,815.00
McDonald, Michael H.	Litigation Coordinator	73.90	260.00	19,214.00
McDonald, Michael H.	Litigation Coordinator	22.10	230.00	5,083.00
Asmann, Paige R.	Legal Researcher	2.50	200.00	500.00
Le, Avery P.	Legal Researcher	0.30	200.00	60.00
Marshall, Amanda S.	Legal Researcher	3.80	200.00	760.00
Sub-Total Less Reductions Total		6,218.50 -45.10 6,173.40		3,049,521.00 -14,929.50 3,034,591.50
Date Name	Rate	Hours	Amount	Activity
03/23/20 Dunnaback, Jeremy	330.00	3.20	1,056.00	<b>_</b> _
Call with Mr. Warren to discuss UCC and Sixth Circuit rules to outline proce		ze Federal App		of Procedure

03/23/20 Kavouras, Daniel M. 395.00 1.70 671.50

Finalize appeal documents, including notice of appeal.

## Baker&Hostetler LLP

Houston	Atlanta Lo	Chicago s Angeles	Cincinnati New York	Cleveland Orlando		s Costa Mesa San Francisco	Dallas Seattle	Denver Washington, DC
10-50494	l-jps	Doc 2637	FILED 1	0/14/20	ENTERED	10/14/20 08:40	:54 Pa	age 20 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: Invoice Number: Matter Number:	09/28/20 50809379 042188.000001 Page 5
03/23/20 VanNiel, Michael A. 645.00 Correspondence with working group regarding appellate matters		3.50
03/23/20 Warren, Daniel R. 870.00 Review and analyze appellate issues and arguments.	1.50 1,30	5.00
03/24/20 Dunnaback, Jeremy 330.00 Correspond with Mr. Warren and Mr. Holbrook regarding deadlir reporter to discuss cost and timeline for ordering trial transcripts	nes for appeal (.8); call v	9.00 vith trial court
03/24/20 Holbrook, Scott C. 595.00 Correspondence with litigation team regarding appeal issues.	0.50 297	7.50
03/24/20 Lazanich, Julia K. 220.00 Review Trustee's notice of appeal.	0.10 22	2.00
03/24/20 Szalay, Sarah M. 235.00 Access and obtain recently filed pleadings and forward to international		7.00
03/24/20 Szalay, Sarah M. 235.00 Emails to and from Mr. Dunnaback regarding appeal and trial tra		0.50
03/24/20 VanNiel, Michael A. 645.00 Review correspondence and summary of appellate deadlines ar correspondence with appeal working group regarding appeal iss	nd materials for submiss	2.50 ion to court (.1);
03/25/20 Holbrook, Scott C. 595.00 Work on draft of select sections of opening appellate brief.	1.90 1,130	0.50
03/25/20 Kavouras, Daniel M. 395.00 Analyze appeal issues in preparation for appellant brief.	1.90 750	0.50
03/25/20 Lazanich, Julia K. 220.00 Telephone call with Mr. Dunnaback regarding final admitted exh		2.00
03/25/20 Lazanich, Julia K. 220.00 Create final exhibit list to attach to appeal.	0.50 110	0.00
03/25/20 Warren, Daniel R. 870.00 Review strategic considerations regarding Sixth Circuit appeal ( arguments (.5).	1.50 1,309 1.0); review and analyze	
03/26/20 Dunnaback, Jeremy 330.00	3.40 1,122	2.00
Research and analyze federal cases and secondary sources to call with Mr. Warren to discuss UCC research findings (.5).	develop UCC argument	for appeal (2.9);
03/26/20 Goldman, Matthew R. 925.00 Telephone call with Mr. VanNiel regarding case status (.5); telep (.5).		5.00 regarding same

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 21 of 197

03/26/20	Holbrook, Scott C.	595.00	5.50	3,272.50					
	Outline appeal issues (1.0); telephone call with Mr. Warren regarding appeal strategy (1.5); strategize for appeal (3.0).								
03/26/20	VanNiel, Michael A.	645.00	1.00	645.00					
Review	and analyze prior briefing regarding select i	ssues to be addre	essed in con	nection with appeal.					
03/26/20	Warren, Daniel R.	870.00	2.00	1,740.00					
Review	and analyze Sixth Circuit appeal strategy are and analyze Sixth Circuit appeal strategy are as a st	nd arguments.							
03/27/20	Dunnaback, Jeremy	330.00	2.70	891.00					
Resear	rch and analyze federal cases and secondary	y sources to deve	lop UCC arg	ument for appeal.					
03/27/20	Holbrook, Scott C.	595.00	1.50	892.50					
Review	<i>i</i> and revise argument outline for use in appe	al briefing.							
03/27/20	Lazanich, Julia K.	220.00	0.10	22.00					
Review	<i>i</i> initial deadlines and tasks for appeal.								
03/27/20	VanNiel, Michael A.	645.00	3.30	2,128.50					
	correspondence and summary analysis reg     iefing and pertinent authority regarding oblig								
03/27/20	Warren, Daniel R.	870.00	0.50	435.00					
Review	and analyze issues regarding obligations ar	gument.							
03/28/20	Warren, Daniel R.	870.00	1.00	870.00					
Review	<i>i</i> and address appeal strategy issues.								
03/30/20	Dunnaback, Jeremy	330.00	4.20	1,386.00					
Address procedural and docketing issues relating to appeal, including reviewing opening letter, confirming deadlines for appeal, coordinating drafting and filing of opening documents, and coordinating transcript ordering process (2.3); research and analyze federal and Ohio cases and secondary sources to develop UCC argument for appeal (1.5); call with Mr. MacDonald and Mr. Holbrook to discuss payment of video presentation invoices from trial (.4).									
03/30/20	Holbrook, Scott C.	595.00	3.10	1,844.50					
Telephone call with Messrs. Dunnaback and McDonald regarding case issues (.3); call with Messrs. Warren and Bash regarding appeal issues and strategy (1.5); correspondence with litigation team regarding appeal issues (.6); call with Mr. VanNiel regarding case issues (.5); correspondence with litigation team regarding appeal issues (.2).									
03/30/20	Lazanich, Julia K.	220.00	3.30	726.00					
Review	<i>i</i> and analyze jury deliberation issues for Mr.	Holbrook.							
03/30/20	McDonald, Michael H.	260.00	1.60	416.00					
Comm	unications regarding reduction in costs in vide	eo editing portion	of trial supp	ort.					

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 22 of 197

03/30/20 Szalay, Sa	arah M.	235.00	2.10	493.50			
Prepare and revise attorney appearance forms for Mr. Warren, Mr. Holbrook and Mr. VanNiel at the request of Mr. Dunnaback (.4); emails to and from internal team regarding Sixth Circuit logins/passwords (.3); access and obtain numerous pleadings from previous appeal and forward to Mr. Dunnaback per his request (.5); prepare list of transcripts obtained in the adversary proceeding and forward to Mr. Dunnaback (.3); finalize attorney appearance forms and prepare same for electronic filing with the court at the request of Mr. Dunnaback (.3); access and obtain current appeal docket and forward to internal team (.1); email to Docketing Department with upcoming deadlines (.2).							
03/30/20 VanNiel, M	/lichael A.	645.00	3.00	1,935.00			
materials for use in	nd telephone conference with Mr obligations argument section of ondence from working group reg	appellant brief (2.	• • • • • •	· ·			
03/30/20 Warren, D	aniel R.	870.00	2.00	1,740.00			
Review strategy for	Sixth Circuit appeal (1.0); review	v arguments to be	made in oper	ning merit brief (1.0).			
03/31/20 Dunnabac	k, Jeremy	330.00	5.80	1,914.00			
(4.4); call with Mr. \	yze federal and Ohio cases and Warren to discuss UCC research ncluding addressing mediation re	findings (.7); add	ress procedura	al and docketing issues			
03/31/20 Holbrook,	Scott C.	595.00	0.30	178.50			
Correspondence w	ith litigation team regarding appe	al issues.					
03/31/20 Lazanich,	Julia K.	220.00	0.10	22.00			
Review and assist	with appeal issues.						
03/31/20 Szalay, Sa	arah M.	235.00	1.30	305.50			
Review adversary of Mr. Dunnaback per	docket and assemble list of heari his request.	ngs held and tran	scripts obtaine	ed and forward results to			
03/31/20 VanNiel, M	lichael A.	645.00	2.20	1,419.00			
	n connection with preparations fo th appeal working group regardir	0	•	opeal (2.0);			
03/31/20 Warren, D	aniel R.	870.00	1.00	870.00			
Review and analyz	e select arguments for possible i	nclusion in appea	brief.				
04/01/20 Dunnabac	k, Jeremy	330.00	1.90	627.00			
	yze federal and Ohio cases to de UCC case law and research find		nent for appea	I (.4); call with Mr.			
04/01/20 Holbrook,	Scott C.	595.00	0.60	357.00			
Correspondence w	ith litigation team regarding case	issues.					
04/01/20 Kavouras,	Daniel M.	395.00	0.50	197.50			
Review and analyz	e appeal issues regarding jury in	structions.					

Houston	Atlanta Lo		Cincinnati New York		Columbus Philadelphia	Costa Mesa San Francisco	Dallas Seattle	Denver Washington, DC
10-50494	-jps	Doc 2637	FILED 1	0/14/20 I	ENTERED (	10/14/20 08:40	:54 Pa	ge 23 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice	bice Date: Number: Number:	09/28/20 50809379 042188.000001 Page 8
04/01/20 Kavouras, Daniel M. 39 Analyze bill of costs submitted by Textron.	95.00 0.5	0 197.5	0
	20.00 0.5		0
Review and revise final admitted exhibit list to file with a			
04/01/20 McDonald, Michael H. 26 Correspondence with trial team regarding reduction in c	0.10 0.1 osts in video editir		
04/01/20 Szalay, Sarah M. 23 Access and obtain recently filed bill of costs and forward	35.00 0.3 d to internal team.	0 70.5	0
04/01/20 VanNiel, Michael A. 64	15.00 3.9	0 2,515.5	0
Correspondence and conference calls with appeal team related matters (1.4); review and analyze select materia	0 0		0
04/01/20 Warren, Daniel R. 87	0.00 0.5	60 435.0	0
Telephone conference with select member of appeal tea	am regarding brief	ng matters.	
04/02/20 Dunnaback, Jeremy 33	30.00 1.1	0 363.0	0
Telephone conference with Mr. Warren, Mr. VanNiel, M and deadlines for appeal, as well as addressing Textror (.2).			
04/02/20 Holbrook, Scott C. 59	95.00 6.3	3,748.5	0
Telephone call with litigation team regarding appeal issu regarding case issues (.3); review Textron's bill of costs draft opposition to Textron's bill of costs (2.2); strategize correspondence regarding clerk's taxation of costs (.2).	(.8); research reg	arding opposing	bill of costs (1.2);
04/02/20 Kavouras, Daniel M. 39 Review and analyze appeal issues for statement of issue	95.00 1.0 es.	0 395.0	0
04/02/20 Lazanich, Julia K. 22	20.00 0.3	66.0	0
Review and revise final admitted exhibit list to file with a	ppeal for Mr. Dunr	naback.	
04/02/20 McDonald, Michael H. 26	0.00 0.3	0 78.0	0
Follow-up correspondence regarding reduction in costs	in video editing po	rtion of trial supp	ort.
04/02/20 Szalay, Sarah M. 23	35.00 0.2	.0 47.0	0
Access and obtain pleadings and related materials at th	e request of Mr. D	unnaback.	
Review and analyze select materials for inclusion in approximation working group regarding open matters (.2); prepare for		correspondence v	with appeal
working group regarding appeal matters.			0
04/02/20 Warren, Daniel R. 87 Review strategy considerations for Sixth Circuit appeal.	70.00 1.0	0 870.0	U
Baker&HostetlerLLP			
Atlanta Chicago Cincinnati Cleveland Houston Los Angeles New York Orlando Ph 10-50494-ips Doc 2637 Ell ED 10/14/20 ENI	Columbus Costa iladelphia San Frai	ncisco Seattle	Denver Washington, DC

10-50494-jps Doc 2637

FILED 10/14/20

ENTERED 10/14/20 08:40:54

Page 24 of 197

04/03/20	Holbrook, Scott C.	595.00	4.10	2,439.50			
	pposition to Textron's bill of costs (3.2); call w bondence with litigation team regarding case		egarding app	peal issues (.8);			
04/03/20	Kavouras, Daniel M.	395.00	0.50	197.50			
Review	and analyze issues regarding Textron's bill	of costs.					
04/03/20	VanNiel, Michael A.	645.00	2.00	1,290.00			
	pondence with working group regarding appe on in select sections of appellant brief (1.8).	eal matters (.2); re	eview and ar	nalyze materials for			
04/03/20	Warren, Daniel R.	870.00	0.50	435.00			
Review	and analyze appellate issues.						
04/06/20	Dunnaback, Jeremy	330.00	2.60	858.00			
Textror	s procedural issues relating to trial and appe n's bill of costs and procedure for incorporating g of transcripts and completion of case openi	ng trial exhibits int	o appellate	record (1.3); coordinate			
04/06/20	Holbrook, Scott C.	595.00	2.40	1,428.00			
team re	one call with Messrs. Bash and VanNiel rega egarding case issues (.5); address strategy a n of costs (.9).						
04/06/20	Kavouras, Daniel M.	395.00	0.20	79.00			
Finalize	e transcript materials for use in Sixth Circuit a	ippeal.					
04/06/20	Prince, Scott E.	330.00	1.70	561.00			
Review	r facts of case in preparation of case law rese	earch to support a	ppeal.				
04/06/20	Szalay, Sarah M.	235.00	0.10	23.50			
Access	and obtain recently filed pleadings and forwa	ard to internal tea	m.				
04/06/20	Szalay, Sarah M.	235.00	0.20	47.00			
Prepare	e Corporate Disclosure Statement and forward	rd to Mr. Dunnaba	ack per his r	equest.			
04/06/20	VanNiel, Michael A.	645.00	1.50	967.50			
	Correspondence and conference calls with appeal working group regarding appeal strategy and issues (1.3); review and comment on documents to be filed with Sixth Circuit (.2).						
04/07/20	Dunnaback, Jeremy	330.00	5.80	1,914.00			
Analyze federal and Ohio case law and secondary sources to develop UCC argument for appeal (4.1); call with Mr. Warren to discuss UCC case law and research findings (1.0); work on case opening documents (.3); analyze rules and requirements for Sixth Mediation program (.4).							
04/07/20	Holbrook, Scott C.	595.00	4.80	2,856.00			
Draft m issues	notion to review taxation of Textron's costs (4 (.3).	.5); corresponder	nce with litiga	ation team regarding case			

Houston	Atlanta Lo		Cincinnati New York	Cleveland Orlando	Columbus Philadelphia	Costa Mesa San Francisco	Dallas Seattle	Denver Washington, DC
10-50494	l-jps	Doc 2637	FILED 1	0/14/20 E	ENTERED	10/14/20 08:40	:54 Pa	ge 25 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: 09/28/20 Invoice Number: 50809379 Matter Number: 042188.000001 Page 10
04/07/20 Kavouras, Daniel M. 395.00 Draft statement of issues for appeal.	0 1.00 395.00
04/07/20 McDonald, Michael H. 260.00	0.10 26.00
Correspondence with working group regarding reduction in c	
04/07/20 Szalay, Sarah M. 235.00	•••••••••
Access and obtain recently filed pleadings and forward to int	
04/07/20 VanNiel, Michael A. 645.00	
Review and analyze pertinent authority to be addressed in S appeal team regarding appellate issues (.5); prepare researc select argument section of appellate brief (1.0); corresponde	ch outline regarding issues to be addressed in
04/07/20 Warren, Daniel R. 870.00 Review and address bill of costs matters (.5); review argume (1.0).	
04/08/20 Dunnaback, Jeremy 330.00	6.50 2,145.00
Analyze federal and Ohio case law and secondary sources t	o develop UCC argument for appeal.
04/08/20 Holbrook, Scott C. 595.00	4.30 2,558.50
Review and revise motion to review clerk's taxation of costs.	
04/08/20 Lazanich, Julia K. 220.00	2.00 440.00
Complete final exhibit list for appeal for Mr. Holbrook.	
04/08/20 Prince, Scott E. 330.00	1.00 330.00
Review case background in preparation of researching pertine on appeal.	nent case law to support Trustee's arguments
04/09/20 Dunnaback, Jeremy 330.00	2.40 792.00
Outline UCC argument for appeal (1.0); review and commen costs (1.4).	t on Trustee's opposition to Textron's bill of
04/09/20 Holbrook, Scott C. 595.00 Review and revise motion to disallow Textron's bill of costs.	3.90 2,320.50
04/09/20 Kavouras, Daniel M. 395.00 Finalize draft of statement of issues for appeal.	0.80 316.00
04/09/20 Prince, Scott E. 330.00 Research regarding avoidability of fraudulently incurred oblig	
04/09/20 Prince, Scott E. 330.00	3.60 1,188.00
Research regarding whether obligations are separately avoid	
04/09/20 Szalay, Sarah M. 235.00	0.30 70.50
Access and obtain recently filed pleadings and forward to int	ernal team.

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 26 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: Invoice Number: Matter Number:	50809379	
04/09/20 Szalay, Sarah M.	235.00	0.20	47.00
Access and obtain pleadings and related materials a	•		
04/09/20 Szalay, Sarah M. Search Records for letters from Gibson Dunn regard to Mr. Dunnaback per his request.	235.00 ling CD produ	0.30 uctions of documer	70.50 nts and forward results
04/09/20 VanNiel, Michael A.	645.00	3.50 2	2,257.50
Review and comment on draft materials for filing with group regarding same (.4); review and analyze pertin of appellate brief (2.5); correspondence with appeal	nent authority	t (.4); corresponde / for inclusion in se	nce with appeal working lect argument sections
04/09/20 Warren, Daniel R. Review and analyze appeal strategy.	870.00	1.00	870.00
04/10/20 Dunnaback, Jeremy	330.00	5.70	1,881.00
Analyze federal and Ohio case law and secondary s outline UCC argument for appeal (1.5); conference c argument for appeal (2.0); review and comment on T	all with Mr. V	Varren and Mr. Va	nNiel to analyze UCC
04/10/20 Holbrook, Scott C.	595.00	4.90 2	2,915.50
Telephone call with Mr. VanNiel regarding case issu correspondence with litigation team regarding case i disallow costs (2.0).			
04/10/20 McDonald, Michael H. Communications with Veritext regarding reduction in	260.00	0.50	130.00 f trial support
04/10/20 Prince, Scott E. Research regarding UCC Article 3 discharge issues	330.00 for inclusion	2.50 in appeal brief.	825.00
04/10/20 Prince, Scott E.	330.00	1.60	528.00
Research regarding issues relevant to obligations ar	gument for in	clusion in Sixth Ci	rcuit brief.
04/10/20 Prince, Scott E. Emails to Mr. VanNiel analyzing findings of case law	330.00 research to o	0.50 date.	165.00
04/10/20 Prince, Scott E. Telephone call with Mr. VanNiel regarding suppleme	330.00 ental explanat	0.30 ion of research ne	99.00 eded for case
	·		
04/10/20 VanNiel, Michael A. Correspondence and telephone conference call with be addressed in briefing (1.8); correspondence and matters (.4); review and address appeal matters (.5) bill of costs (.2); review and analyze issues regarding	conference ca ; corresponde	regarding recent s all with Mr. Holbroo ence with working	ok regarding appeal group regarding Textron
04/10/20 Warren, Daniel R.	870.00	1.00	870.00
Review and analyze appeal brief matters (.5); coordi	nate with app	beal team regardin	g same (.5).

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Washington, DC Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle 10-50494-jps Doc 2637 Page 27 of 197 FILED 10/14/20 ENTERED 10/14/20 08:40:54

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: 09/28/20 Invoice Number: 50809379 Matter Number: 042188.000001 Page 12
04/13/20 Dunnaback, Jeremy 330.00 Draft outline of UCC argument for appeal (2.2); finalize case Mr. Holbrook to discuss UCC argument for appeal and Trust	opening documents for appeal (2.0); call with
draft correspondence concerning Sixth Circuit mediation con	
04/13/20 Holbrook, Scott C. 595.00	3.40 2,023.00
Correspondence with litigation team regarding appeal issues disclosure form (.3); telephone call with Mr. Dunnaback rega regarding appeal issues (1.0); research case law regarding L	rding appeal issues (.7); call with Mr. Warren
04/13/20 Prince, Scott E. 330.00	2.80 924.00
Follow-up research of select UCC Article 3 issues for Mr. Val	nNiel.
04/13/20 Prince, Scott E. 330.00	2.50 825.00
Research regarding issues relevant to obligations argument	in Sixth Circuit appeal.
04/13/20 Szalay, Sarah M. 235.00	0.50 117.50
Prepare Trustee's Civil Appeal Statement of Parties and Issu Affiliations and Financial Interest for electronic filing with cou and obtain time-stamped copies and forward to internal team	rt at the request of Mr. Dunnaback (.3); access
04/13/20 Szalay, Sarah M. 235.00	1.10 258.50
Assemble list of companies that purchased proofs of claim (. claims (.4); prepare chart of amount of purchased proofs of c request (.4).	
04/13/20 VanNiel, Michael A. 645.00	2.90 1,870.50
Correspondence with appellate working group regarding stra comment on draft filings to be made with Sixth Circuit (.1); re from Mr. Prince regarding avoidance of obligations argument	view summary analysis and case law received
04/13/20 Warren, Daniel R. 870.00	1.00 870.00
Review and comment on draft appeal argument outlines and	related materials.
04/14/20 Dunnaback, Jeremy 330.00	4.00 1,320.00
Draft sections of Trustee's appellate brief, including outlining of the Trustee's positions on appeal.	arguments and analyzing case law in support
04/14/20 Goldman, Matthew R. 925.00	2.00 1,850.00
Telephone call with Mr. Bash regarding appeal issues (1.0); (1.0).	telephone call with Mr. VanNiel regarding same
04/14/20 Holbrook, Scott C. 595.00	1.00 595.00
Strategize regarding opposition to bill of costs (.2); research Mr. VanNiel regarding case issues (.2); correspondence with	
04/14/20 Prince, Scott E. 330.00	0.40 132.00
Correspondence with Mr. VanNiel regarding findings of upda under UCC Article 3.	ted research related to cancellation of debt
Baker&HostetlerLLP	

Columbus Philadelphia nta Chicago Los Angeles Denver Washington, DC Atlanta Cincinnati Cleveland Costa Mesa Dallas Houston New York Orlando San Francisco Seattle Page 28 of 197 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54

04/14/20 Prince, Scott E.		330.00	1.90	627.00		
,	ding cancellation of instrume					
04/14/20 Prince, Scott E.		330.00	2.80	924.00		
	ling discharge issues for ind			021.00		
04/14/20 Prince, Scott E.	0 0	330.00	0.90	297.00		
,	onal issues relating to avoid					
04/14/20 Prince, Scott E.		330.00	2.30	759.00		
Research regarding obliga	ations payment issues for in	clusion in appeal	brief.			
04/14/20 Szalay, Sarah M.		235.00	0.20	47.00		
Access and obtain recentl	y filed pleadings and forwar	rd to internal tean	٦.			
04/14/20 VanNiel, Michael	Α.	645.00	3.00	1,935.00		
	ference calls with appeal wo nority regarding discharge o					
04/15/20 Dunnaback, Jere	my	330.00	6.90	2,277.00		
Review and revise Trustee positions on appeal (3.0).	e's appellate brief (3.9); rev	iew and analyze o	case law in si	upport of the Trustee's		
04/15/20 Lazanich, Julia K	•	220.00	2.00	440.00		
Coordinate regarding final	admitted exhibits for use in	n appeal briefing a	and review.			
04/15/20 Prince, Scott E.		330.00	0.50	165.00		
Telephone call with Mr. Va	anNiel regarding analysis of	f U.C.C. research				
04/15/20 Prince, Scott E.		330.00		1,584.00		
Further research regarding	g UCC Article 3 issues at th	-				
04/15/20 Prince, Scott E.		330.00	0.80	264.00		
Email correspondence wit	h Mr. VanNiel regarding res	-	-			
04/15/20 Szalay, Sarah M.		235.00	0.40	94.00		
Access and obtain pleadin appeal pleading to the sha	ngs and related materials at are drive (.2).	the request of M	r. Dunnaback	(.2); upload all previous		
04/15/20 VanNiel, Michael		645.00		2,128.50		
Prepare for (1.0) and attend (.5) conference call with working group regarding appellate matters; correspondence with working group regarding same (.3); review and analyze pertinent authority regarding discharge of indebtedness under UCC (1.5).						
04/15/20 Warren, Daniel R	2.	870.00	0.70	609.00		
Review and analyze appe	al.					
_						

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 29 of 197

04/16/20 Dunnaback, Jeremy	330.00	6.60	2,178.00					
Review and revise Trustee's appellate brief (4.0); research and review case law in support of the Trustee's positions on appeal (2.6).								
04/16/20 Prince, Scott E.	330.00	2.60	858.00					
Research and analyze pertinent authority	relating to promissory note	issues in a	appeal.					
04/16/20 Prince, Scott E.	330.00	1.40	462.00					
Research regarding presumption issues to	be addressed in appeal b	rief.						
04/16/20 Prince, Scott E.	330.00	2.10	693.00					
Research regarding whether a presumptic	on against discharge exists							
04/16/20 Prince, Scott E.	330.00	0.40	132.00					
Email correspondence to Mr. VanNiel rega	arding findings of research	related to	presumption issues.					
04/16/20 Szalay, Sarah M.	235.00	0.20	47.00					
Access and obtain pleadings and related r	materials at the request of	Mr. Bash.						
04/16/20 VanNiel, Michael A.	645.00	1.90	1,225.50					
Review research summary and select UC correspondence with Mr. Prince regarding		ion in appe	ellate brief (1.5);					
04/16/20 Warren, Daniel R.	870.00	1.50	1,305.00					
Review and analyze appeal strategy (1.0)	; review appeal arguments	(.5).						
04/17/20 Dunnaback, Jeremy	330.00	8.00	2,640.00					
Review and revise Trustee's appellate brie support of the Trustee's positions on appe		w case lav	v and other authorities in					
04/17/20 Holbrook, Scott C.	595.00	1.30	773.50					
Telephone call with Mr. Bash regarding ca case issues (1.1).	ise issues (.2); correspond	ence with I	itigation team regarding					
04/17/20 Prince, Scott E.	330.00	4.30	1,419.00					
Research regarding common law doctrine	s and applicability to UCC	for inclusio	n in appeal brief.					
04/17/20 VanNiel, Michael A.	645.00	2.40	1,548.00					
Correspondence with working group regar and materials of record for possible incorp obligations (2.4).								
04/18/20 VanNiel, Michael A.	645.00	1.70	1,096.50					
Outline regarding obligations argument se regarding status of same (.2).	ction of appellant brief (1.5	i); correspo	ondence with Mr. Warren					
04/19/20 Dunnaback, Jeremy	330.00	2.00	660.00					
Review and revise select sections of Trust	tee's appellate brief.							

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 30 of 197

Trustee in E	Bankruptcy for	Fair Finance	Company
--------------	----------------	--------------	---------

04/20/20 Prince, Scott E. Research regarding additional UCC issues	330.00 in support of arguments	1.80 s in appeal.	594.00	
04/20/20 VanNiel, Michael A.	645.00	1.60	1,032.00	
Correspondence with working group regard Circuit mediator (.1); correspondence with w and analyze pertinent authority regarding of	vorking group regarding	JUCC bad fa		
04/21/20 Dunnaback, Jeremy	330.00	6.00	1,980.00	
Telephone call with Mr. Warren and Mr. Van arguments (1.9); research and analyze Ohio equitable principles under the Ohio UFTA (2	o case law regarding ju	dicial liens ar	d the application of	
04/21/20 Szalay, Sarah M.	235.00	0.20	47.00	
Access and obtain pleadings and related m	aterials at the request o	of Mr. Bash.		
04/21/20 VanNiel, Michael A.	645.00	1.80	1,161.00	
Attend conference call with appeal working regarding ability to avoid obligations (.8).	group regarding brief is	sues (1.0); re	eview and analyze is	sues
04/22/20 Dunnaback, Jeremy	330.00	6.90	2,277.00	
Revise Trustee's opening appellate brief (4) faith and subordination under the UCC (2.0		nd secondary	sources concerning	l good
04/22/20 Szalay, Sarah M.	235.00	0.20	47.00	
Access and obtain pleadings and related m	aterials at the request o	of Mr. Bash.		
04/23/20 Dunnaback, Jeremy	330.00	5.10	1,683.00	
Review and revise Trustee's opening appel	late brief.			
04/23/20 Szalay, Sarah M.	235.00	0.10	23.50	
Access and obtain recently filed pleadings a	and forward to internal t	eam.		
04/23/20 VanNiel, Michael A.	645.00	0.40	258.00	
Review email from Sixth Circuit mediator (.7 appellate issues (.3).	1); correspondence with	appeal work	ing group regarding	
04/24/20 Holbrook, Scott C.	595.00	0.60	357.00	
Correspondence with opposing counsel reg Textron's bill of costs (.5).	arding bill of costs (.1);	review and re	evise motion to disal	low
04/24/20 VanNiel, Michael A.	645.00	0.20	129.00	
Review appeal team correspondence regar regarding bill of costs matters (.1).	ding open issues (.1); ro	eview email f	rom Textron counse	l
04/27/20 Dunnaback, Jeremy	330.00	1.00	330.00	
Revise Trustee's opposition to Textron's bil appellate brief (.7).	l of costs (.3); review ar	id revise sele	ect section of Trustee	e's

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 31 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: Invoice Number: Matter Number:	09/28/20 50809379 042188.000001 Page 16
04/27/20 Holbrook, Scott C. 595.00	0.40	238.00
Correspondence regarding case and appeal issues.		
04/27/20 VanNiel, Michael A. 645.00		387.00
Correspondence with working group regarding appeal issues (. objection to Textron bill of costs (.3); correspondence with work		
04/28/20 Dunnaback, Jeremy 330.00	1.10	363.00
Revise Trustee's opposition to Textron's bill of costs (.4); review appellate brief (.7).	w and revise select se	ctions of Trustee's
04/28/20 Holbrook, Scott C. 595.00	0.40	238.00
Correspondence regarding case issues (.2); revise motion to di	sallow costs (.2).	
04/28/20 VanNiel, Michael A. 645.00	0.50	322.50
Telephone conference with Ms. Szalay regarding expert issues	(.3); review and analy	yze same (.2).
04/29/20 Dunnaback, Jeremy 330.00	2.40	792.00
Revise Trustee's opposition to Textron's bill of costs (.3); draft, Trustee's appellate brief (2.1).	review and revise add	ditional sections of
04/29/20 Kavouras, Daniel M. 395.00	0.30	118.50
Finalize motion to disallow costs.		
04/29/20 Lazanich, Julia K. 220.00	0.20	44.00
Review Trustee's Motion to Disallow Textron's Bill of Costs.		
04/29/20 Szalay, Sarah M. 235.00	0.10	23.50
Access and obtain recently filed pleadings and forward to interr	nal team.	
04/30/20 Lazanich, Julia K. 220.00	0.30	66.00
Review and address trial cost issues at the request of Mr. Holb	rook.	
05/01/20 Holbrook, Scott C. 595.00	0.20	119.00
Correspondence with litigation team regarding case issues.		
05/03/20 VanNiel, Michael A. 645.00	2.00 1,	,290.00
Review and analyze materials for inclusion in select section of a	appellate brief.	
05/04/20 Holbrook, Scott C. 595.00	0.30	178.50
Correspondence with litigation team and opposing counsel rega	arding case issues.	
05/04/20 VanNiel, Michael A. 645.00	0.30	193.50
Correspondence with working group regarding open appellate i	ssues.	
05/05/20 Dunnaback, Jeremy 330.00	0.40	132.00
Telephone call with Mr. Warren to discuss substance of the Tru	istee's opening appell	ate brief.

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 Page 32 of 197 FILED 10/14/20 ENTERED 10/14/20 08:40:54

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: Invoice Number: Matter Number:	09/28/20 50809379 042188.000001 Page 17
05/05/20 Szalay, Sarah M. 235.00	0.20	47.00
Access and obtain pleadings and related materials at the reque	est of Mr. Bash.	
05/06/20 Holbrook, Scott C. 595.00 Correspondence with litigation team regarding case issues.	0.10	59.50
05/06/20 Szalay, Sarah M. 235.00 Access and obtain pleadings and related materials at the reque	0.20 est of Mr. Bash.	47.00
05/06/20 VanNiel, Michael A. 645.00 Correspondence with working group regarding appellate and re	0.40	258.00
05/07/20 Szalay, Sarah M. 235.00 Access and obtain recently filed pleadings and forward to intern	0.10 nal team.	23.50
05/08/20 Holbrook, Scott C. 595.00 Telephone call with Mr. Warren regarding appeal issues (1.0);		892.50 gy following same (.5).
05/08/20 VanNiel, Michael A. 645.00 Coordinate regarding expert and appeal issues.	1.00	645.00
05/11/20 Szalay, Sarah M. 235.00 Access and obtain case law and forward to Mr. Bash per his re	0.20 quest.	47.00
05/11/20 VanNiel, Michael A. 645.00 Review and analyze select loan documents for inclusion in app group regarding appeal issues (.1).		387.00 Indence with working
05/12/20 Szalay, Sarah M. 235.00 Access and obtain recently filed pleadings and forward to intern	0.30 nal team.	70.50
05/12/20 Szalay, Sarah M. 235.00 Assemble and organize trial transcripts at the request of Mr. Ho		117.50 aback.
05/12/20 VanNiel, Michael A. 645.00 Telephone conference with Mr. Warren regarding select argum review and analyze issues regarding same (1.5); corresponder	ent section for inclusio	
05/12/20 Warren, Daniel R. 870.00 Review and analyze appeal arguments (1.0); comment on sele		305.00 prief (.5).
05/13/20 Holbrook, Scott C. 595.00 Telephone call with Mr. Warren regarding appeal issues (.4); cr appeal issues (.3).		416.50 igation team regarding
05/13/20 Szalay, Sarah M. 235.00 Access and obtain recently filed pleadings and forward to intern	0.10 nal team.	23.50

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 33 of 197

05/13/20	VanNiel, Michael A.	645.00	2.50	1,612.50
	and analyze issues for inclusion in appeal b matters (.3); review briefing schedule letter r			
05/13/20	Warren, Daniel R.	870.00	0.50	435.00
Teleph	one conference with Mr. Holbrook regarding	appeal issues (.4)	; review and	analyze same (.1).
05/14/20	Dunnaback, Jeremy	330.00	0.40	132.00
	e secondary sources relating to taxing of cos ng of costs in trial court.	ts in connection w	rith drafting p	roposed order amending
05/14/20	Holbrook, Scott C.	595.00	1.20	714.00
Teleph	one call with Messrs. Warren and VanNiel re	garding appeal iss	sues and stra	tegy.
05/14/20	VanNiel, Michael A.	645.00	2.20	1,419.00
	e for (.6) and attend (1.4) conference call with bondence with appeal team regarding same.	n appeal team reg	arding appea	Il brief issues;
05/14/20	Warren, Daniel R.	870.00	1.50	1,305.00
	e for (.1); and attend (1.4) telephone conferent strategy.	nce with Messrs. I	Holbrook and	VanNiel regarding
05/15/20	Dunnaback, Jeremy	330.00	0.30	99.00
Teleph	one call with Mr. Holbrook to discuss issue re	elating to taxing of	costs.	
05/15/20	Holbrook, Scott C.	595.00	0.30	178.50
Teleph	one call with Mr. Dunnaback regarding case	issues.		
05/15/20	Kavouras, Daniel M.	395.00	1.50	592.50
Review	and analyze appeal issues relating to jury in	structions.		
05/18/20	Szalay, Sarah M.	235.00	0.10	23.50
Access	and obtain recently filed pleadings and forwa	ard to internal tea	m.	
05/18/20	VanNiel, Michael A.	645.00	2.30	1,483.50
Draft se (.3).	elect sections of appellant brief (2.0); corresp	ondence with wor	king group re	garding appeal matters
05/19/20	Holbrook, Scott C.	595.00	1.00	595.00
Teleph	one call with Mr. Warren regarding appeal iss	sues (.7); strategiz	ze regarding a	appeal (.3).
05/19/20	VanNiel, Michael A.	645.00	1.00	645.00
Draft se	elect section of appellant brief.			
05/19/20	Warren, Daniel R.	870.00	1.00	870.00
	one conference with Mr. Holbrook regarding te brief (.3).	appellate issues (	.7); review ar	analyze sections of draft

Houston	Atlan L	<b>J</b>	Cincinnati New York		Columbus Philadelphia	s Costa Mesa San Francisco	Dallas Seattle	Denver Washington, DC
10-50494	-jps	Doc 2637	FILED 1	.0/14/20 E	ENTERED	10/14/20 08:40	:54 P	age 34 of 197

Trustee in	Bankruptcy for Fair Finance Company		Invoice Date: Invoice Number: Matter Number:	
05/20/20	Dunnaback, Jeremy	330.00	0.30	99.00
Draft pi	roposed amended order concerning the taxin	ig of costs.		
05/20/20	Holbrook, Scott C.	595.00	1.00	595.00
Telepho	one call with Mr. Warren regarding appeal is	sues (.7); stra	ategize regarding ap	opeal (.3).
05/20/20	VanNiel, Michael A.	645.00	1.10	709.50
	conference call with the Trustee regarding an ng appeal issues (.3).	ppeal matters	s (.8); corresponden	ce with working group
05/21/20	Holbrook, Scott C.	595.00	0.80	476.00
	one call with Mr. VanNiel regarding case issu sues (.6).	ues (.2); corre	espondence with litig	gation team regarding
05/21/20	Kavouras, Daniel M.	395.00	1.50	592.50
Resear	ch on novation presumption in preparation fo	or jury instruc	tion section of appe	llate brief.
	VanNiel, Michael A. and address appeal issues (.5); correspond	645.00 ence with wo	1.00 orking group regardi	645.00 ng same and related
	Kavouras, Daniel M.	395.00	0.40	158.00
	rch on novation presumption in preparation for			
05/22/20	VanNiel, Michael A.	645.00		,161.00
Corres	pondence with working group regarding appe brief (1.0); review and analyze pertinent auth	ellate and rela	ated matters (.3); wo	ork on select sections of
05/26/20	Dunnaback, Jeremy	330.00	2.40	792.00
•	e Trustee's opening brief and appendix (2.0); formatting and procedures relating to brief a	•		case manager to
05/26/20	Kavouras, Daniel M.	395.00	0.60	237.00
Resear	ch on novation in preparation for drafting jury	y instruction s	section of appellate	brief.
05/26/20	Lazanich, Julia K.	220.00	0.20	44.00
Review	appeal and appendix email correspondence	e with Mr. Du	nnaback and Ms. Sa	zalay.
05/26/20	Szalay, Sarah M.	235.00	1.50	352.50
review	e draft Designation of Record and template for bankruptcy court docket and district court do back (.7); access and obtain clean district court	cket and high	nlight pertinent entri	es at the request of Mr.
05/26/20	Warren, Daniel R.	870.00	2.00 1	,740.00
Deview				

Review and comment on opening appeal brief.

# Baker&Hostetler LLP

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 35 of 197

05/27/20 Holbrook, Scott C. Review and comment on draft appellate brief (.6); 1 appeal issues (1.0).	595.00 elephone call with	1.60 Messrs. War	952.00 ren and Bash regarding
05/27/20 Kavouras, Daniel M. Research cases on novation for inclusion in appella	395.00 ate brief.	2.00	790.00
05/27/20 Warren, Daniel R. Telephone conference with Messrs. Holbrook and	870.00 Bash regarding ap	1.00 opeal issues a	870.00 nd strategy.
05/28/20 Dunnaback, Jeremy Telephone call with Ms. Lazanich to discuss work of	330.00 on appendix.	0.40	132.00
05/28/20 Holbrook, Scott C. Review and analyze arguments fo inclusion in app	595.00 eal brief.	1.20	714.00
05/28/20 Kavouras, Daniel M. Research on novation for appellate brief section or	395.00 i jury instructions.	2.90	1,145.50
05/28/20 Lazanich, Julia K. Telephone call with Mr. Dunnaback regarding appe	220.00 endix project for ap	0.40 opeal.	88.00
05/28/20 VanNiel, Michael A. Review and address issues for inclusion in obligati on appeal brief (1.0).	645.00 ons section of app	1.50 ellant brief (.5	967.50 5); review and comment
05/29/20 Dunnaback, Jeremy Attend meeting with Mr. Holbrook to discuss substa	330.00 antive edits to Tru	1.10 stee's opening	363.00 g brief.
05/29/20 Holbrook, Scott C. Telephone call with Mr. Dunnaback regarding appe regarding appeal issues (.1).	595.00 eal issues (.9); cor	1.00 respondence	595.00 with litigation team
05/29/20 VanNiel, Michael A. Review and revise select section of Textron appea materials for possible inclusion in same.	645.00 I brief (1.0); reviev	2.00 v and analyze	1,290.00 additional record
06/01/20Dunnaback, Jeremy330.003.301,089.00Review and revise Trustee's principal brief (1.2); meet with Mr. Warren, Mr. Holbrook, and Mr. VanNiel to discuss edits to principal brief (0.9); work on motion for extension of time to file brief (1.2).			
06/01/20 Holbrook, Scott C. Correspondence with litigation team and opposing strategize for appeal brief (2.5); telephone call with			
06/01/20 Kavouras, Daniel M. Research on novation issues relating to appellate t	395.00 prief.	0.50	197.50

Research on novation issues relating to appellate brief.

### Baker&Hostetler LLP

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 36 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: 09/28/20 Invoice Number: 50809379 Matter Number: 042188.000001 Page 21
06/01/20 Lazanich, Julia K. 220	00 1.30 286.00
Work on Appendix for Appeal for Mr. Dunnaback.	
06/01/20 Szalay, Sarah M. 235.	
Access and obtain pleadings and related materials at the	request of Mr. Dunnaback.
06/01/20 VanNiel, Michael A. 645. Prepare for (1.1) and attend (.9) conference call with apper with appellate team regarding same (.2).	,
06/01/20 Warren, Daniel R. 870.	00 1.50 1,305.00
Review and analyze appellate issues (.6); attend appeal to	eam conference call to discuss same (.9).
06/02/20 Dunnaback, Jeremy 330.	00 6.00 1,980.00
Review and revise Trustee's principal brief (4.0); edit, fina extension of time (2.0).	lize, and coordinate filing of Trustee's motion for
06/02/20 Holbrook, Scott C. 595 Revise motion for extension of time to file appellate brief ( regarding case issues (.1); strategize regarding appellate	.3); correspondence with opposing counsel
06/02/20 Lazanich, Julia K. 220	00 0.20 44.00
Review and address outstanding trial cost issues.	
06/02/20 Szalay, Sarah M. 235	00 1.30 305.50
Assemble trial transcripts, docket entries and calculate du his request (.8); review Motion for Extension of Time and his request (.2); revise Motion for Extension of Time (.1); p filing with court at the request of Mr. Dunnaback (.2).	forward potential revisions to Mr. Dunnaback per
06/02/20 VanNiel, Michael A. 645.	00 1.50 967.50
Review and comment on draft motion for extension to file group regarding appeal issues (.3); review and respond to of costs (.1); work on select section of opening appeal brie	inquiries from Mr. Holbrook regarding Textron bill
06/03/20 Dunnaback, Jeremy 330. Draft, review and revise Trustee's principal brief for appea	
06/03/20 Holbrook, Scott C. 595. Draft select sections of opening appellate brief.	00 2.90 1,725.50
06/03/20 Lazanich, Julia K. 220. Work on Appendix for Appeal for Mr. Dunnaback.	00 0.70 154.00
06/03/20 Lazanich, Julia K. 220. Review and address trial cost reduction matters.	00 0.10 22.00

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 Page 37 of 197 FILED 10/14/20 ENTERED 10/14/20 08:40:54

06/03/20 VanNiel, Michael A.	645.00	0.30	193.50		
Review Textron brief in opposition to extension motion (.1); correspondence with working group regarding same (.2).					
06/04/20 Dunnaback, Jeremy	330.00	9.20	3,036.00		
Review and revise Trustee's principal brief for app	eal pursuant to co	omments of	appeal team.		
06/04/20 Holbrook, Scott C.	595.00	0.30	178.50		
Correspondence with litigation team and opposing	counsel regarding	g appeal iss	sues.		
06/04/20 Lazanich, Julia K.	220.00	0.10	22.00		
Telephone call with Mr. Dunnaback regarding App	endix for Appeal.				
06/04/20 VanNiel, Michael A.	645.00	0.40	258.00		
Correspondence with working group regarding app Sixth Circuit (.1).	peal issues (.3); re	eview extens	sion letter received from		
06/05/20 Dunnaback, Jeremy	330.00	4.00	1,320.00		
Review and revise Trustee's principal brief for app concerning the parties' proposed order concerning discuss editing appendix for principal brief (0.4).					
06/05/20 Holbrook, Scott C.	595.00	5.80	3,451.00		
Correspondence with litigation team and opposing of appellate brief regarding recovery issues (5.4).	counsel regardin	g case issue	es (.4); draft select sections		
06/05/20 Lazanich, Julia K.	220.00	0.10	22.00		
Telephone call with Mr. Dunnaback regarding app	endix for appeals.				
06/05/20 VanNiel, Michael A.	645.00	0.30	193.50		
Correspondence with working group regarding Tex regarding same.	ktron bill of costs o	dispute and	submission of order		
06/06/20 VanNiel, Michael A.	645.00	1.00	645.00		
Review and revise select sections of appeal brief.					
06/08/20 Holbrook, Scott C.	595.00	2.30	1,368.50		
Draft, review and revise select sections of appellat	e brief.				
06/08/20 Kavouras, Daniel M.	395.00	2.30	908.50		
Collect factual record from transcript on novation f	or use in novation	section of a	appeal brief.		
06/08/20 Szalay, Sarah M.	235.00	0.20	47.00		
Review and revise trial transcript issues per Mr. He	olbrook's request.				
06/08/20 VanNiel, Michael A.	645.00	2.00	1,290.00		
Review and analyze materials for possible inclusic of appellate brief (1.5).	n in appellate brie	ef (.5); revie	w and revise select sections		

Houston	Atlanta Lo		Cincinnati New York		Columbus Philadelphia	Costa Mesa San Francisco	Dallas Seattle	Denver Washington, DC
10-50494	l-jps	Doc 2637	FILED 1	0/14/20 E	ENTERED :	10/14/20 08:40	:54 Pa	ge 38 of 197

06/09/20	Holbrook, Scott C.	595.00	2.00	1,190.00
Draft a	ppellate brief (1.9); correspondence with litig	ation team regard	ing case issu	ues (.1).
06/09/20	VanNiel, Michael A.	645.00	2.90	1,870.50
	and analyze additional case law regarding on in brief (1.8); review and revise brief (1.0);			
06/10/20	Holbrook, Scott C.	595.00	2.60	1,547.00
Corres	pondence with litigation team regarding case	issues (.1); draft	select sectio	ns of appellate brief (2.5).
06/10/20	Kavouras, Daniel M.	395.00	3.90	1,540.50
Resear	ch on novation cases, including historical no	vation cases, for a	appeal of jud	gment.
06/10/20	Prince, Scott E.	330.00	0.20	66.00
Corres	pondence with Mr. VanNiel regarding novation	on research.		
06/10/20	Szalay, Sarah M.	235.00	0.10	23.50
Access	and obtain recently filed pleadings and forw	ard to internal tea	m.	
06/10/20	Szalay, Sarah M.	235.00	1.40	329.00
Index p	leadings and correspondence and forward s	ame to Records.		
06/10/20	VanNiel, Michael A.	645.00	2.30	1,483.50
	pondence and telephone conference with Mr view and analyze pertinent authority for poss s (1.0).			
06/11/20	VanNiel, Michael A.	645.00	2.00	1,290.00
	and analyze additional pertinent discharge a and revise select section of brief regarding s		ble inclusion	in appeal brief (1.5);
06/12/20	Kavouras, Daniel M.	395.00	3.80	1,501.00
Resear	ch for appeal brief, including on novation and	d general standar	d for overturr	ning jury instructions.
06/12/20	VanNiel, Michael A.	645.00	5.80	3,741.00
	and revise select section of appeal brief (1.8 ty for possible inclusion in draft (4.0).	8); review and ana	alyze pertine	nt materials of record and
06/13/20	Holbrook, Scott C.	595.00	3.50	2,082.50
Draft, re	eview and revise appellate brief.			
06/13/20	Kavouras, Daniel M.	395.00	2.50	987.50
Conduc	ct additional novation research for appeal brid	ef.		
06/13/20	VanNiel, Michael A.	645.00	2.60	1,677.00
	/ finalize initial draft of obligations-discharges			

facts and bad faith section draft in connection with same (.5); email correspondence with Mr. Warren regarding same (.1).

### Baker&Hostetler LLP

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Washington, DC Seattle 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 39 of 197

06/14/20 Holbrook, Scott C. Draft, review and revise select section of Sixth Circ	595.00 uit appellate briet	10.40	6,188.00
06/14/20 Kavouras, Daniel M. Draft novation argument for inclusion in appeal ope	395.00 ning brief.	2.00	790.00
06/14/20 Warren, Daniel R. Review and analyze appeal arguments.	870.00	1.00	870.00
06/15/20 Holbrook, Scott C. Review and revise select sections of appellate brie	595.00 f.	3.70	2,201.50
06/15/20 Warren, Daniel R. Review appeal strategy issues.	870.00	0.50	435.00
06/16/20 Holbrook, Scott C. Draft and revise appellate brief (.7); telephone calls (1.4).	595.00 with Mr. Warren	2.10 regarding b	1,249.50 rief revisions and strategy
06/16/20 Kavouras, Daniel M. Conduct additional research on jury instructions an	395.00 d novation issues	3.00 for appeal.	1,185.00
06/16/20 Kavouras, Daniel M. Draft section of appellant brief regarding novation ju	395.00 ury instruction.	3.10	1,224.50
06/16/20 Warren, Daniel R. Review and revise appellate brief (1.1); telephone of	870.00 conference calls v	2.50 with Mr. Holt	2,175.00 prook regarding same (1.4).
06/17/20 Dunnaback, Jeremy Review and revise Trustee's opening brief (.2); corr	330.00 espondence with	0.50 Mr. Warren	165.00 regarding same (.3).
06/17/20 Holbrook, Scott C. Revise appellate brief (.3); correspondence regardi	595.00 ng appeal issues	0.40 (.1).	238.00
06/17/20 Kavouras, Daniel M. Draft section of appellant brief regarding novation ju	395.00 ury instruction.	3.40	1,343.00
06/17/20 Kavouras, Daniel M. Analyze potential additional arguments and revision	395.00 ns to novation se	0.80 ction of appe	316.00 eal brief.
06/17/20 VanNiel, Michael A. Review correspondence from appeal working group	645.00 o regarding open	0.30 briefing task	193.50 xs.
06/17/20 Warren, Daniel R. Review and revise Sixth Circuit appeal brief.	870.00	3.00	2,610.00
06/18/20 Dunnaback, Jeremy Telephone call with Mr. Warren regarding editing T	330.00 rustee's opening	2.10 brief and ap	693.00 pendix.

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 40 of 197

06/18/20	VanNiel, Michael A.	645.00	2.20	1,419.00
Review	and analyze addition materials of record for	possible inclusion	in select se	ction of appellant brief.
06/23/20	Dunnaback, Jeremy	330.00	3.40	1,122.00
	ch Ohio case law and secondary sources on ith standard (3.0); revise Trustee's opening b			ority rules and the UCC's
06/23/20	Lazanich, Julia K.	220.00	0.10	22.00
Corresp	ondence with Inservio and Mr. Holbrook rega	arding trial cost is	sues.	
06/23/20	Warren, Daniel R.	870.00	2.00	1,740.00
Review	and comment on additional sections of Sixth	Circuit appeal bri	ef.	
06/24/20	Dunnaback, Jeremy	330.00	10.00	3,300.00
	ch Ohio case law and secondary sources on ith standard (2.0); edit Trustee's opening brie			
06/24/20	Holbrook, Scott C.	595.00	1.00	595.00
Strategi	ze regarding appeal issues.			
06/24/20	Kavouras, Daniel M.	395.00	2.20	869.00
Revise	draft argument section on novation jury instru	iction.		
06/24/20	VanNiel, Michael A.	645.00	0.20	129.00
Review	and respond to inquiry from Mr. Warren rega	rding jury instruct	ions for app	eal brief.
06/24/20	Warren, Daniel R.	870.00	2.00	1,740.00
Review	and analyze appellate issues (1.8); correspo	ndence with Mr. \	/anNiel rega	rding same (.2).
06/25/20	Dunnaback, Jeremy	330.00	6.20	2,046.00
Review	and revise Trustee's principal brief (4.7); tele	phone call with M	Ir. Warren to	discuss brief (1.5).
06/25/20	Kavouras, Daniel M.	395.00	1.50	592.50
Review	and analyze arguments for appellate brief.			
06/25/20	VanNiel, Michael A.	645.00	1.70	1,096.50
Corresp same (1	oondence with Mr. Dunnaback regarding sele	ct sections of app	eal brief (.2)	; review and analyze
06/25/20	Warren, Daniel R.	870.00	4.00	3,480.00
Review	and revise Sixth Circuit appeal opening brief	-		
06/26/20	Dunnaback, Jeremy	330.00	5.40	1,782.00
Draft an	nd edit Trustee's principal brief (4.6); call with	Mr. Warren to dis	cuss brief (.	8).
06/26/20	Holbrook, Scott C.	595.00	0.60	357.00
Attend p	portion of telephone call with litigation team re	egarding appellate	e briefing.	

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 41 of 197

06/26/20	Kavouras, Daniel M.	395.00	1.40	553.00
Analyze verdict.	arguments for appeal brief, including UCC a	nd obligations are	guments, in I	ight of trial rulings and
06/26/20	Warren, Daniel R.	870.00	6.50	5,655.00
Telepho (5.7).	ne conference with appeal team regarding b	rief arguments (.8	); review and	d revise appeal brief
06/27/20 Corresp	Dunnaback, Jeremy ond with Mr. Warren regarding edits to Trust	330.00 ee's principal brie	0.50 f.	165.00
	Holbrook, Scott C. d revise additional sections of Sixth Circuit a	595.00 ppeal brief.	6.80	4,046.00
06/27/20	Warren, Daniel R.	870.00	5.00	4,350.00
Review	and revise appellate brief (4.0); review and a	inalyze issues reg	arding same	e (1.0).
06/28/20	Dunnaback, Jeremy	330.00	0.50	165.00
Review	and revise Trustee's principal brief.			
06/28/20	Holbrook, Scott C.	595.00	1.50	892.50
Revise a	appellate brief (1.3); correspondence with Mr	. Warren regardin	g appellate l	brief (.2).
06/28/20	Warren, Daniel R.	870.00	4.00	3,480.00
	strategy regarding appeal (1.0); review and r k regarding same (.2).	evise appeal brie	f (2.8); corre	spondence with Mr.
06/29/20	Dunnaback, Jeremy	330.00	4.80	1,584.00
	d revise Trustee's principal brief (1.5); call wi of Trustee's principal brief and correspond v			
06/29/20	Holbrook, Scott C.	595.00	0.30	178.50
Review	select section of appellate brief.			
	VanNiel, Michael A.	645.00	2.50	1,612.50
Review (1.0).	and analyze draft appellant brief (1.5); review	v pertinent author	ity for possib	le inclusion in same
06/29/20	Warren, Daniel R.	870.00	4.50	3,915.00
Review	and comment on updated draft of Sixth Circu	uit opening brief.		
06/30/20	Dunnaback, Jeremy	330.00	0.80	264.00
Telepho	ne call with Mr. Kavouras to discuss edits to	statement of the	case in Trus	tee's principal brief.
06/30/20	Holbrook, Scott C.	595.00	1.00	595.00
Telepho	ne call with Messrs. Warren and VanNiel reg	arding appellate	oriefing strat	egy.

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 42 of 197

Trustee in Bankruptcy for Fair Finance Company		Invoice Da Invoice Numb Matter Numb	ber: 50809379
06/30/20 Kavouras, Daniel M. Revise appeal brief, including statement of the c with Mr. Dunnaback regarding brief issues (.8).	395.00 case edits and re	3.00 eview of record (2	1,185.00 2.2); telephone conference
06/30/20 VanNiel, Michael A. Prepare for (.5) and attend (1.0) appeal team co select Sixth Circuit cases for possible inclusion i appeal team regarding appeal brief (.3).			
06/30/20 Warren, Daniel R.	870.00	3.50	3,045.00
Review and further revise Sixth Circuit appellate 07/01/20 Dunnaback, Jeremy Draft and revise additional sections of Trustee's Kavouras to discuss editing brief (1.3).	330.00	6.20 4.9); telephone o	2,046.00 call with Mr. Warren and Mr.
07/01/20 Holbrook, Scott C.	595.00	0.70	416.50
Correspondence regarding appeal issues (.5); s	trategize regardi	ing appeal (.2).	
07/01/20 Kavouras, Daniel M. Draft and revise appellate brief (.7); telephone c	395.00 onference with a	2.00 appeal team rega	790.00 arding same (1.3)
07/01/20 Lazanich, Julia K. Update trial transcripts according to daily description	220.00	1.10	242.00
07/01/20 Warren, Daniel R. Telephone conference with Messrs. Dunnaback revise brief (5.2).	870.00 and Kavouras r	6.50 egarding appeal	5,655.00 brief (1.3); review and
07/02/20 Dunnaback, Jeremy	330.00	2.50	825.00
Revise Trustee's principal brief (2.0); call with M			
07/02/20 Holbrook, Scott C. Telephone call with Mr. Warren regarding appea	595.00 al issues.	0.50	297.50
07/02/20 Kavouras, Daniel M. Review and analyze possible additional argume	395.00 nts for appellate	1.50 brief.	592.50
07/02/20 Kavouras, Daniel M. Revise draft appellate brief to incorporate addition	395.00 onal comments.	2.00	790.00
07/02/20 Warren, Daniel R. Telephone conference with appeal team regardi Circuit brief (4.5).	870.00 ng appeal strate	5.50 gy and brief (1.0	4,785.00 ); review and revise Sixth
07/03/20 Holbrook, Scott C.	595.00	5.30	3,153.50
Telephone call with Mr. Warren regarding appell case law for appeal (.3).			

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 43 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: 09/28/20 Invoice Number: 50809379 Matter Number: 042188.000001 Page 28
07/03/20 Kavouras, Daniel M. 395.00 Revise select sections of draft appellate brief.	0 2.20 869.00
07/03/20 Warren, Daniel R. 870.00 Review appeal strategy (1.0); telephone conferences with ap revise brief (4.2).	
07/04/20 Holbrook, Scott C. 595.00 Review and revise appellate brief.	0 0.20 119.00
07/04/20 Warren, Daniel R. 870.00 Review and revise select sections of appeal brief.	0 4.00 3,480.00
07/05/20 Dunnaback, Jeremy 330.00 Review edits to Trustee's principal brief.	0 0.30 99.00
07/05/20 VanNiel, Michael A. 645.00 Review authority for possible inclusion in appellate brief (1.0 same (.1).	
07/05/20 Warren, Daniel R. 870.00 Review novation issues (1.2); review and revise Sixth Circuir	
07/06/20 Holbrook, Scott C. 595.00 Correspondence regarding appeal issues (.2); review and co	- ,
07/06/20 Kavouras, Daniel M. 395.00 Review and comment on draft appellate brief.	0 1.00 395.00
07/06/20 Warren, Daniel R. 870.00 Review and revise jury instructions arguments in Sixth Circu	
07/07/20 Dunnaback, Jeremy 330.00 Revise Trustee's principal brief pursuant to appeal team con	
07/07/20 Holbrook, Scott C. 595.00 Review and comment on appellate brief (.6); research appea	0 1.60 952.00
07/07/20 Kavouras, Daniel M. 395.00 Review and revise select sections of appellate brief.	
07/07/20 Warren, Daniel R. 870.00 Review and revise statement of facts for Sixth Circuit brief.	0 1.00 870.00
07/08/20 Dunnaback, Jeremy 330.00 Revise Trustee's principal brief (4.3); call with Mr. Holbrook	

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 44 of 197

07/08/20 Holbrook, Scott C.	595.00	1.50	892.50	
Revise appellate brief (.3); call with Mr. Dunnabac litigation team regarding appeal issues (.2).	ck regarding brief	ing issues (1	0); correspondence with	
07/08/20 Kavouras, Daniel M.	395.00	3.50	1,382.50	
Draft and revise additional sections of appellate b	rief.			
07/08/20 Lazanich, Julia K.	220.00	1.00	220.00	
Telephone call with Mr. Dunnaback regarding app same.	eal related tasks	and Mr. Dun	naback with completion of	
07/08/20 Warren, Daniel R.	870.00	1.50	1,305.00	
Review and revise Sixth Circuit brief (.6); review is	ssues regarding	same (.9).		
07/09/20 Dunnaback, Jeremy	330.00	3.80	1,254.00	
Review and revise Trustee's principal brief.				
07/09/20 Holbrook, Scott C.	595.00	1.10	654.50	
Telephone call with Mr. Kavouras regarding apper appeal issues (.1); correspondence regarding cas		•	• •	
07/09/20 Warren, Daniel R.	870.00	2.00	1,740.00	
Review and revise recovery and related sections	of Sixth Circuit br	rief.		
07/10/20 Dunnaback, Jeremy	330.00	7.80	2,574.00	
Revise Trustee's principal brief (4.8); analyze sec transfers and subordination (3.0).	ondary sources a	and case laws	s discussing fraudulent	
07/10/20 Holbrook, Scott C.	595.00	4.10	2,439.50	
Draft motion to exceed word limit for possible filing issues (.6); draft and revise appellate brief (2.8).	g (.7); telephone	call with Mr.	Narren regarding appeal	
07/10/20 Kavouras, Daniel M.	395.00	6.50	2,567.50	
Research on novation issues for appeal (3.0); dra same (3.5).	ft and revise add	itional sectior	ns of appellate brief followir	ıg
07/10/20 VanNiel, Michael A.	645.00	1.10	709.50	
Review and analyze issues for possible inclusion regarding same (.3).	in appeal brief (.8	8); correspon	dence with working group	
07/10/20 Warren, Daniel R.	870.00	1.50	1,305.00	
Review and comment on updated Sixth Circuit bri	ef.			
07/11/20 Holbrook, Scott C.	595.00	0.40	238.00	
Telephone call with Mr. Warren regarding appeal regarding appeal issues (.1).	issues (.1); revis	e appellate b	rief (.2); correspondence	

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 45 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice D Invoice Num Matter Num	ber: 50809379	
07/11/20 VanNiel, Michael A. Telephone conference with Trustee regarding	645.00	0.70 ( 3): correspo	451.50
regarding same (.4).		.5 (.5), сопсэро	ndence with working group
07/11/20 Warren, Daniel R.	870.00	2.50	2,175.00
Telephone conference with Mr. Holbrook regar (.9); review and revise appeal brief (1.5).	ding appellate bri	ef (.1); review a	nd analyze appeal issues
07/12/20 Holbrook, Scott C.	595.00	3.60	2,142.00
Draft and revise appellate brief.			
07/12/20 VanNiel, Michael A.	645.00	2.30	1,483.50
Review and analyze select additional authority brief (2.0); correspondence with Mr. Holbrook		•	ssible inclusion in appeal
07/13/20 Dunnaback, Jeremy	330.00	4.90	1,617.00
Revise Trustee's principal brief (2.9); calls with designation of the record and appendix for briet to discuss edits to brief (.9); call with Ms. Echo	ef (.6); calls with M	Ir. Warren, Mr. I	Holbrook, and Mr. Kavouras
07/13/20 Echols, Margaret	280.00	0.50	140.00
Confer with Mr. Dunnaback regarding filing of u	upcoming brief an	id appendix.	
07/13/20 Holbrook, Scott C.	595.00	2.40	1,428.00
Telephone call with Mr. Dunnaback regarding a appeal issues (1.0); revise appellate brief (.8); regarding appeal (.3).			
07/13/20 Kavouras, Daniel M.	395.00	2.00	790.00
Review and comment on appellate brief.			
07/13/20 Lazanich, Julia K.	220.00	0.10	22.00
Telephone call with Mr. Dunnaback regarding	appendix for appe	eal.	
07/13/20 Lazanich, Julia K. Work on Appendix for Appeal for Mr. Dunnaba	220.00 ck.	0.60	132.00
07/13/20 Szalay, Sarah M.	235.00	0.20	47.00
Telephone call with Mr. Dunnaback regarding address issues regarding same (.1).			
07/13/20 Szalay, Sarah M.	235.00	2.90	681.50
Assemble and prepare Designation of the Rec	ord on Appeal and	d forward to Mr.	Dunnaback per his request.
07/13/20 VanNiel, Michael A.	645.00	1.20	774.00
Correspondence with working group regarding (1.0).	appellate issues	(.2); review late	st draft of appellate brief

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 46 of 197

07/13/20 Warren, Daniel R. Telephone conference with appeal team re (2.0); review and comment on updated drated dr		8.50 .3); review st	7,395.00 trategy regarding same
07/14/20 Dunnaback, Jeremy Review and revise Trustee's principal brief brief (1.6).	330.00 (.8); call with Messrs. W	2.40 /arren, Holbro	792.00 ook and Kavouras to discuss
07/14/20 Holbrook, Scott C. Telephone call with litigation team regardin with litigation team regarding appellate brie	• • • • • • • •	2.30 vise appellate	1,368.50 e brief (1.3); correspondence
07/14/20 Kavouras, Daniel M. Analyze appellate issues (2.6); revise appe	395.00 llate brief in light of sam	5.00 ne (2.4).	1,975.00
07/14/20 VanNiel, Michael A. Correspondence with Mr. Warren regarding pertinent authority regarding same (1.0).	645.00 select authority for incl	1.20 Iusion in appe	774.00 eal brief (.2); review
07/14/20 Warren, Daniel R. Review correspondence from Mr. VanNiel and revise select sections of appeal brief (8		10.50 ew and comn	9,135.00 nent on brief (2.0); review
07/15/20 Dunnaback, Jeremy Revise Trustee's principal brief (4.6); calls arguments asserted in brief (2.5); review ar			2,673.00 Kavouras to discuss
07/15/20 Holbrook, Scott C. Telephone calls with litigation team regardi	595.00 ng appellate briefing.	2.40	1,428.00
07/15/20 Kavouras, Daniel M. Revise appellate brief (1.4); discuss additio	395.00 nal arguments with tear	3.80 m (2.4).	1,501.00
07/15/20 Szalay, Sarah M. Review documents and revise the Designa his request.	235.00 tion of the Record on A <sub>l</sub>	1.20 opeal and for	282.00 ward to Mr. Dunnaback per
07/15/20 VanNiel, Michael A. Review and analyze pertinent authority for Mr. Warren regarding same (.1).	645.00 possible inclusion in ap	2.10 pellate brief (	1,354.50 2.0); correspondence with
07/15/20 Warren, Daniel R.	870.00	11.50	10,005.00
Telephone conferences with appeal team r	egarding brief (2.4); rev	iew and revis	e Sixth Circuit brief (9.1).
07/16/20 Dunnaback, Jeremy	330.00	4.80	1,584.00
Revise Trustee's principal brief and append editing brief (.8); finalize application for adn			nd Kavouras regarding

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 47 of 197

07/16/20 Echols, Margaret Review draft of appeal brief in advance of e	280.00 dits and revisions to lec	1.00 al citations.	280.00	
07/16/20 Holbrook, Scott C. Correspondence regarding appeal issues.	595.00	0.20	119.00	
07/16/20 Kavouras, Daniel M. Research on novation issues and review ed	395.00 lits to appellate brief reg	3.70 Jarding sam	1,461.50 e.	
07/16/20 Lazanich, Julia K. Telephone calls with Mr. Dunnaback to disc	220.00 uss Appendix and Tabl	0.30 e of Conten	66.00 ts for Appeal.	
07/16/20 Lazanich, Julia K. Work on Appendix, Citations and Table of C	220.00 Contents for Appeal.	1.20	264.00	
07/16/20 Szalay, Sarah M. Review documents and revise the Designat his request (1.3); access and obtain numero per her request (.4).				
07/16/20 VanNiel, Michael A. Review and analyze latest draft of appeal br	645.00 rief and select authority	3.50 for inclusion	2,257.50 n in same.	
07/16/20 Warren, Daniel R. Discussions with appeal team regarding app regarding same (2.0); review and revise Six		9.50 ts (1.3); rev	8,265.00 iew and analyze issue	s
07/17/20 Dunnaback, Jeremy Review and revise Trustee's principal brief a Kavouras to discuss factual and legal suppo	•••••••	10.70 s with Mess	3,531.00 rs. Warren, Holbrook a	and
07/17/20 Echols, Margaret Cite check appellate brief to ensure each ca	280.00 ase cited is valid law and	0.50 d that citatio	140.00 ns are accurate.	
07/17/20 Holbrook, Scott C. Telephone call with litigation team regarding same (3.0).	595.00 g citations and revisions	4.50 to brief (1.5	2,677.50 5); review issues regar	ding
07/17/20 Kavouras, Daniel M. Review record and add factual citations in s	395.00 upport of appellate brie	5.50 f arguments	2,172.50	
07/17/20 VanNiel, Michael A. Review and comment on draft appeal brief.	645.00	3.00	1,935.00	
07/17/20 Warren, Daniel R. Review and revise Sixth Circuit brief (6.4); r	870.00 eview and analyze issu	10.00 es regarding	8,700.00 g same (3.6).	
07/18/20 Dunnaback, Jeremy Review and revise Trustee's principal brief.	330.00	0.80	264.00	

Houst	Atla on	nta ( Los Ang	Chicago eles	Cincinna New York		Columbus Philadelphia	s Costa M San Franc			Denver Washington, DC
10-504	94-jps	Doc	2637	FILED	10/14/20 E	ENTERED	10/14/20 (	08:40:54	Pag	e 48 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Da Invoice Numl Matter Numl	ber: 50809379	
07/18/20 Holbrook, Scott C.	595.00	0.50	297.50
Telephone call with Mr. Warren regarding briefi	•		
07/18/20 Warren, Daniel R. Telephone conference with Mr. Holbrook regard revise Sixth Circuit brief (8.7).	870.00 ding brief (.5); rev	10.50 /iew appeal stra	9,135.00 tegy (1.3); review and
07/19/20 Dunnaback, Jeremy Revise Trustee's principal brief (2.3); call with M	330.00 /Ir. Warren to dise	3.80 cuss editing brie	1,254.00 f (1.5).
07/19/20 Echols, Margaret	280.00	0.60	168.00
Cite check appellate brief to ensure each case	cited is valid law	and that citation	is are accurate.
07/19/20 Kavouras, Daniel M. Revise appellate brief, including novation case	395.00 law.	1.10	434.50
07/19/20 VanNiel, Michael A. Review and revise draft appeal brief (3.9); revie same (2.5); telephone conference call with Mr. appeal working group regarding comments to b	Warren regarding		
07/19/20 Warren, Daniel R. Telephone conference with Mr. Dunnaback regardraft of brief (6.5).	870.00 arding brief revis	8.00 ions (1.5); reviev	6,960.00 w and comment on latest
07/20/20 Dunnaback, Jeremy	330.00	10.30	3,399.00
Review and revise Trustee's principal brief and and analyzing additional cases in support of Tru Holbrook and Mr. VanNiel to discuss brief (1.0).	appendix, includ ustee's positions	0 0	cite-checking both filings,
07/20/20 Echols, Margaret Cite check appellate brief to ensure each case	280.00 cited is valid law	7.70 and that citation	2,156.00 is are accurate.
07/20/20 Holbrook, Scott C. Telephone call with Mr. Dunnaback regarding a	595.00 ppellate brief pre	0.20 eparation.	119.00
07/20/20 Holbrook, Scott C. Research caselaw regarding recovery issues.	595.00	0.30	178.50
07/20/20 Holbrook, Scott C. Review latest edits to appellate brief.	595.00	0.20	119.00
07/20/20 Kavouras, Daniel M. Research and draft additional novation section	395.00 for appellate brie	5.70 f.	2,251.50
07/20/20 Szalay, Sarah M. Access and obtain numerous documents for the	235.00 e Appendix and f	0.60 orward to Mr. Du	141.00 unnaback per his request.

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 49 of 197

07/20/20 VanNiel, Michael A.	645.00	6.90	4,450.50
Review and comment on appellate brief (3.5); revi in same (2.5); telephone conference call with Mess brief (.5); review and respond to inquiries from app	srs. Warren and I	Dunnaback r	egarding comments to draft
07/20/20 Warren, Daniel R.	870.00	11.00	9,570.00
Review and revise latest draft of Sixth Circuit brief strategy regarding appeal (2.7).	(5.6); review issu	ues regardin	g same (2.7); review
07/21/20 Dunnaback, Jeremy	330.00	11.50	3,795.00
Revise and cite-check Trustee's principal brief and	d appendix pursua	ant to Sixth (	Circuit rules.
07/21/20 Echols, Margaret	280.00	3.00	840.00
Assist with brief by checking appendix, correcting	citations, and rev	iewing case	law.
07/21/20 Holbrook, Scott C.	595.00	1.70	1,011.50
Review and revise appellate brief.			
07/21/20 Holbrook, Scott C.	595.00	0.40	238.00
Telephone call with Mr. Warren regarding appeal i	ssues.		
07/21/20 Holbrook, Scott C.	595.00	0.20	119.00
Research recovery issues for inclusion in Sixth Cir	cuit brief.		
07/21/20 Kavouras, Daniel M.	395.00	3.50	1,382.50
Review and revise appellate brief.			
07/21/20 Lazanich, Julia K.	220.00	1.60	352.00
Paginate and edit Table of Contents and Appendix	for Appeal for M	lr. Dunnabad	ck.
07/21/20 Szalay, Sarah M.	235.00	1.20	282.00
Telephone call to the Sixth Circuit regarding filing	requirements at t	he request o	f Mr. Dunnaback (.2); detail
review of the Designation of the Record and provid			
access and forward documents for the Appendix to	-	-	st (.2).
07/21/20 VanNiel, Michael A.	645.00		_,
Review and comment on latest draft of appeal brie (1.0); correspondence with appeal team regarding	( )·	id analyze se	elect issues regarding same
07/21/20 Warren, Daniel R.	870.00	10.50	9,135.00
Review appellate issues (4.0); telephone conferen review and revise brief following same (6.1).	ce with Mr. Holbr	ook regardir	ng appeal matters (.4);
07/22/20 Dunnaback, Jeremy	330.00	7.60	2,508.00
Revise, cite-check and finalize Trustee's principal	brief and append	ix.	
07/22/20 Echols, Margaret	280.00	2.70	756.00
Proof read final version of brief and assist with cha	anges to citations	and revisior	IS.

Houston	Atlanta Lo	<b>J</b>	Cincinnati New York		Columbus Philadelphia	Costa Mesa San Francisco	Dallas Seattle	Denver Washington, DC
10-50494	-jps	Doc 2637	FILED 1	0/14/20 E	ENTERED 1	10/14/20 08:40	:54 Pa	ge 50 of 197

Trustee in Bankruptcy for Fair Finance Company		Invoice Date Invoice Numbe Matter Numbe	r: 50809379
07/22/20 Holbrook, Scott C. Correspondence regarding appeal issues.	595.00	0.30	178.50
07/22/20 Kavouras, Daniel M. Review and revise appellate brief.	395.00	2.50	987.50
07/22/20 Lazanich, Julia K. Revise Table of Contents and Appendix for Appe	220.00 al for Mr. Dunn	1.80 aback.	396.00
07/22/20 Szalay, Sarah M.	235.00	1.60	376.00
Prepare Attorney Appearance on behalf of Mr. De of Mr. Dunnaback (.2); review Designation of the Designation of the Record (.3); assist Mr. Dunnal	Record and pre	ovide Mr. Dunnaba	ack with issues (.8); revise
07/22/20 VanNiel, Michael A.	645.00	2.30	1,483.50
Review and comment on draft appellate brief (2.0 questions relating to same (.3).	)); corresponde	nce with appeal w	orking group regarding
07/22/20 Warren, Daniel R. Review and finalize appellate brief for filing with S	870.00 Sixth Circuit.	6.00	5,220.00
07/23/20 Holbrook, Scott C. Discuss appeal issues with Mr. Warren.	595.00	0.50	297.50
07/23/20 Szalay, Sarah M. Access and obtain recently filed pleadings and fo	235.00 orward to internation	0.20 al team.	47.00
07/24/20 Szalay, Sarah M.	235.00	1.50	352.50
Index pleadings and correspondence and forward	d same to Reco	ords.	
07/27/20 Szalay, Sarah M.	235.00	0.30	70.50
Access and obtain pleadings and related materia	Is at the reques	st of Mr. Bash.	
08/04/20 Szalay, Sarah M. Index pleadings and correspondence and forward	235.00 d same to Reco	1.00 ords.	235.00
08/10/20 Szalay, Sarah M. Access and obtain case law and forward to Mr. B	235.00 ash per his req	0.30 uest.	70.50
08/11/20 Szalay, Sarah M. Access and obtain pleadings and related materia	235.00	0.30	70.50
08/12/20 Szalay, Sarah M.	235.00	1.40	329.00
Index pleadings and correspondence and forward			
Appeals (Bash v. Textron)(B02)		984.50 52	22,436.50
[]] · · · · · (_ · · · · · · · · · · · / (_ · - /			,

Trustee in Bankruptcy for Fair Finance Company		Invoice Da Invoice Numbo Matter Numbo	er: 50809379
01/14/20 Beachdell, Alexis C. Review Monterey collection issues with Mr. Kle	430.00 in.	0.30	129.00
Asset Analysis & Recovery(B03)		0.30	129.00
09/09/19 Szalay, Sarah M.	225.00	0.50	112.50
Maintain files relative to numerous adversary p	roceedings (.2); ι	update litigation tr	acking spreadsheet (.3).
09/11/19 Szalay, Sarah M.	225.00	0.30	67.50
Index pleadings and correspondence for compl	eteness at reque	est of working grou	Jp.
09/12/19 Szalay, Sarah M.	225.00	0.30	67.50
Maintain files relative to numerous adversary p	roceedings.		
09/13/19 Szalay, Sarah M.	225.00	0.20	45.00
Maintain files relative to numerous adversary p	roceedings.		
09/19/19 Szalay, Sarah M.	225.00	0.30	67.50
Index pleadings and correspondence for compl	eteness at reque	st of working grou	Jp.
09/24/19 Szalay, Sarah M.	225.00	0.30	67.50
Maintain files relative to numerous adversary p	roceedings.		
09/25/19 Szalay, Sarah M.	225.00	0.20	45.00
Index pleadings and correspondence for compl	eteness at reque	est of working grou	Jp.
09/26/19 Szalay, Sarah M.	225.00	0.20	45.00
Maintain files relative to numerous adversary p	roceedings.		
09/30/19 Szalay, Sarah M.	225.00	0.30	67.50
Maintain files relative to numerous adversary plinternal team (.1).	roceedings (.2); ι	update pretrial sch	nedule and forward to
10/07/19 Szalay, Sarah M.	225.00	0.40	90.00
Index pleadings and correspondence for compl	eteness at reque	est of working grou	Jp.
10/08/19 Szalay, Sarah M. Maintain files relative to numerous adversary pr	225.00 roceedings.	0.30	67.50
10/09/19 Szalay, Sarah M. Update litigation tracking spreadsheet.	225.00	0.30	67.50
10/11/19 Szalay, Sarah M. Maintain files relative to numerous adversary pr	225.00 roceedings.	0.30	67.50
10/15/19 Szalay, Sarah M.	225.00	0.40	90.00
Maintain files relative to numerous adversary printernal team (.1).			

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 52 of 197

10/17/19 Szalay, Sarah M.	225.00	0.60	135.00	
Index pleadings and correspondence for co	ompleteness at request o	f working gro	oup.	
10/18/19 Szalay, Sarah M.	225.00	0.50	112.50	
Index pleadings and correspondence for co	ompleteness at request o	f working gro	oup.	
10/21/19 Szalay, Sarah M.	225.00	0.30	67.50	
Maintain files relative to numerous adversa	ary proceedings.			
10/23/19 Szalay, Sarah M.	225.00	0.30	67.50	
Maintain files relative to numerous adversa	ary proceedings.			
10/25/19 Szalay, Sarah M.	225.00	0.20	45.00	
Index pleadings and correspondence for co	ompleteness at request o	f working gro	oup.	
10/28/19 Szalay, Sarah M.	225.00	0.70	157.50	
Maintain files relative to numerous adversa internal team (.1).	ary proceedings (.6); upda	ate pretrial s	chedule and forward t	to
10/29/19 Szalay, Sarah M.	225.00	0.30	67.50	
Maintain files relative to numerous adversa internal team (.1).	ary proceedings (.2); upda	ate pretrial s	chedule and forward t	to
10/31/19 Szalay, Sarah M.	225.00	0.60	135.00	
Maintain files relative to numerous adversa	ary proceedings.			
11/01/19 Szalay, Sarah M.	225.00	0.30	67.50	
Index pleadings and correspondence for co	ompleteness at request o	f working gro	oup.	
11/04/19 Szalay, Sarah M.	225.00	0.30	67.50	
Maintain files relative to numerous adversa	ary proceedings.			
11/06/19 Szalay, Sarah M.	225.00	0.40	90.00	
Maintain files relative to numerous adversa internal team (.1).	ary proceedings (.3); upda	ate pretrial s	chedule and forward t	to
11/07/19 Szalay, Sarah M.	225.00	0.20	45.00	
Index pleadings and correspondence for co	ompleteness at request o	f working gro	oup.	
11/08/19 Szalay, Sarah M.	225.00	0.40	90.00	
Maintain files relative to numerous adversa	ary proceedings (.2); upda	ate litigation	tracking spreadsheet	(.2).
11/12/19 Szalay, Sarah M.	225.00	0.40	90.00	
Maintain files relative to numerous adversa	ary proceedings.			
11/13/19 Szalay, Sarah M.	225.00	0.40	90.00	
Index pleadings and correspondence for co	ompleteness at request o	f working gro	oup.	

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 53 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: Invoice Number: Matter Number:	09/28/20 50809379 042188.000001 Page 38
11/20/19 Szalay, Sarah M. 225.00	0.30 67	7.50
Index pleadings and correspondence for completeness at requ	lest of working group.	
11/26/19 Szalay, Sarah M. 225.00	0.90 202	2.50
Maintain files relative to numerous adversary proceedings (.6) update pretrial schedule and forward to internal team (.1).	; update litigation tracking	spreadsheet (.2);
12/04/19 Szalay, Sarah M. 225.00	0.70 157	7.50
Maintain files relative to numerous adversary proceedings (.4) update pretrial schedule and forward to internal team (.1).	; update litigation tracking	spreadsheet (.2);
12/05/19 Szalay, Sarah M. 225.00	0.20 45	5.00
Index pleadings and correspondence for completeness at requ	lest of working group.	
12/06/19 Szalay, Sarah M. 225.00	0.30 67	7.50
Maintain files relative to numerous adversary proceedings.		
12/10/19 Szalay, Sarah M. 225.00	0.70 157	7.50
Maintain files relative to numerous adversary proceedings (.4)	; update litigation tracking	spreadsheet (.3).
12/13/19 Szalay, Sarah M. 225.00	0.30 67	7.50
Maintain files relative to numerous adversary proceedings.		
12/23/19 Douthett, Breaden M. 510.00	2.40 1,224	1.00
Confer with Mr. Montgomery regarding evidentiary research in regarding evidentiary issues raised by Mr. VanNiel, review and materials (1.6); correspond with Mr. VanNiel and Mr. Proano re VanNiel regarding same (.2).	analysis of research mer	noranda and vault
01/03/20 Szalay, Sarah M. 235.00	0.80 188	3.00
Maintain files relative to numerous adversary proceedings (.4) update pretrial schedule and forward to internal team (.1).	; update litigation tracking	spreadsheet (.3);
01/06/20 Szalay, Sarah M. 235.00	0.30 70	).50
Index pleadings and correspondence for completeness at requ	lest of working group.	
01/09/20 Szalay, Sarah M. 235.00 Maintain files relative to numerous adversary proceedings.	0.30 70	).50
01/10/20 Szalay, Sarah M. 235.00	0.50 117	7.50
Update litigation tracking spreadsheet (.4); update pretrial sch		
01/15/20 Szalay, Sarah M. 235.00		7.50
Index pleadings and correspondence for completeness at requ		
01/17/20 Szalay, Sarah M. 235.00		5.00
Index pleadings and correspondence and forward same to Re		

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 54 of 197

01/21/20Szalay, Sarah M.235.000.2047.00Maintain files relative to numerous adversary proceedings.0.80188.00Index pleadings and correspondence and forward to Records.0.3070.5001/30/20Szalay, Sarah M.235.000.3070.50Index pleadings and correspondence for completeness at request of working group.0.80188.0001/31/20Szalay, Sarah M.235.000.80188.00Maintain files relative to numerous adversary proceedings (.7); update pretrial schedule and forward to internal team (.1).0.80141.0002/04/20Szalay, Sarah M.235.000.60141.00Maintain files relative to numerous adversary proceedings.0.3070.5002/06/20Szalay, Sarah M.235.000.3070.50Index pleadings and correspondence for completeness at request of working group.141.0002/06/20Szalay, Sarah M.235.000.3070.50Index pleadings and correspondence for completeness at request of working group.164.5002/10/20Szalay, Sarah M.235.000.70164.50Maintain files relative to numerous adversary proceedings.0.70164.5002/11/20Szalay, Sarah M.235.000.70164.50Maintain files relative to numerous adversary proceedings.0.70164.5002/11/20Szalay, Sarah M.235.000.70164.50Maintain files relative to numerous adversary proceedings.0.70164.5002/11/20Szalay, Sarah M.235
01/24/20Szalay, Sarah M.235.000.80188.00Index pleadings and correspondence and forward to Records.01/30/20Szalay, Sarah M.235.000.3070.50Index pleadings and correspondence for completeness at request of working group.01/31/20Szalay, Sarah M.235.000.80188.00Maintain files relative to numerous adversary proceedings (.7); update pretrial schedule and forward to internal team (.1).02/04/20Szalay, Sarah M.235.000.60141.00Maintain files relative to numerous adversary proceedings.0.3070.50104.5002/06/20Szalay, Sarah M.235.000.3070.50Index pleadings and correspondence for completeness at request of working group.02/06/20Szalay, Sarah M.235.000.3002/06/20Szalay, Sarah M.235.000.70164.50Maintain files relative to numerous adversary proceedings.0.70164.5002/11/20Szalay, Sarah M.235.000.70164.50Maintain files relative to numerous adversary proceedings (.3); update litigation tracking spreadsheet (.3); update pretrial schedule and forward to internal team (.1).02/01/20Szalay, Sarah M.235.000.70164.50Maintain files relative to numerous adversary proceedings (.3); update intigation tracking spreadsheet (.3); update pretrial schedule and forward to internal team (.1).0.80188.00
Index pleadings and correspondence and forward to Records.01/30/20Szalay, Sarah M.235.000.3070.50Index pleadings and correspondence for completeness at request of working group.01/31/20Szalay, Sarah M.235.000.80188.00Maintain files relative to numerous adversary proceedings (.7); update pretrial schedule and forward to internal team (.1).0.60141.0002/04/20Szalay, Sarah M.235.000.60141.00Maintain files relative to numerous adversary proceedings.0.3070.5002/06/20Szalay, Sarah M.235.000.3070.50Index pleadings and correspondence for completeness at request of working group.02/06/2052alay, Sarah M.235.000.70164.50Maintain files relative to numerous adversary proceedings.0.70164.50Maintain files relative to numerous adversary proceedings.0.70164.5002/11/20Szalay, Sarah M.235.000.70164.50Maintain files relative to numerous adversary proceedings (.3); update pretrial schedule and forward to internal team (.1).0.80188.00
01/30/20Szalay, Sarah M.235.000.3070.50Index pleadings and correspondence for completeness at request of working group.01/31/20Szalay, Sarah M.235.000.80188.00Maintain files relative to numerous adversary proceedings (.7); update pretrial schedule and forward to internal team (.1).02/04/20Szalay, Sarah M.235.000.60141.0002/04/20Szalay, Sarah M.235.000.60141.00141.00Maintain files relative to numerous adversary proceedings.0.3070.50102/06/2002/06/20Szalay, Sarah M.235.000.3070.50Index pleadings and correspondence for completeness at request of working group.02/10/20Szalay, Sarah M.235.000.70164.50Maintain files relative to numerous adversary proceedings.02/11/20Szalay, Sarah M.235.000.70164.50Maintain files relative to numerous adversary proceedings.0.70164.50Maintain files relative to numerous adversary proceedings (.3); update pretrial schedule and forward to internal team (.1).0.80188.00
Index pleadings and correspondence for completeness at request of working group.01/31/20Szalay, Sarah M.235.000.80188.00Maintain files relative to numerous adversary proceedings (.7); update pretrial schedule and forward to internal team (.1).02/04/20Szalay, Sarah M.235.000.60141.00Maintain files relative to numerous adversary proceedings.0.60141.00141.00Maintain files relative to numerous adversary proceedings.0.3070.5002/06/20Szalay, Sarah M.235.000.3070.50Index pleadings and correspondence for completeness at request of working group.02/10/20Szalay, Sarah M.235.000.70164.50Maintain files relative to numerous adversary proceedings.0.70164.50164.50164.50Maintain files relative to numerous adversary proceedings (.3); update pretrial schedule and forward to internal team (.1).0.80188.0002/11/20Szalay, Sarah M.235.000.70164.50Maintain files relative to numerous adversary proceedings (.3); update pretrial schedule and forward to internal team (.1).0.80188.00
01/31/20Szalay, Sarah M.235.000.80188.00Maintain files relative to numerous adversary proceedings (.7); update pretrial schedule and forward to internal team (.1).235.000.60141.0002/04/20Szalay, Sarah M.235.000.60141.00Maintain files relative to numerous adversary proceedings.0.3070.5002/06/20Szalay, Sarah M.235.000.3070.50Index pleadings and correspondence for completeness at request of working group.02/10/20Szalay, Sarah M.235.000.70164.50Maintain files relative to numerous adversary proceedings.0.70164.50141.00141.0002/11/20Szalay, Sarah M.235.000.70164.50Maintain files relative to numerous adversary proceedings (.3); update litigation tracking spreadsheet (.3); update pretrial schedule and forward to internal team (.1).0.80188.00
Maintain files relative to numerous adversary proceedings (.7); update pretrial schedule and forward to internal team (.1).02/04/20Szalay, Sarah M.235.000.60141.00Maintain files relative to numerous adversary proceedings.0.3070.5002/06/20Szalay, Sarah M.235.000.3070.50Index pleadings and correspondence for completeness at request of working group.02/10/20Szalay, Sarah M.235.000.70164.5002/10/20Szalay, Sarah M.235.000.70164.500.2111/20Szalay, Sarah M.235.000.70164.5002/11/20Szalay, Sarah M.235.000.70164.500.2111/20164.500.2111/20164.5002/11/20Szalay, Sarah M.235.000.70164.500.2111/20164.500.2111/20164.5002/11/20Szalay, Sarah M.235.000.70164.500.2111/20164.500.2111/20164.5002/11/20Szalay, Sarah M.235.000.70164.500.2111/20164.500.2111/20164.5002/11/20Szalay, Sarah M.235.000.70164.500.2111/20164.500.2111/20164.5002/11/20Szalay, Sarah M.235.000.70164.500.2111/20164.500.2111/20164.5002/11/20Szalay, Sarah M.235.000.80188.00188.00188.00188.00
internal team (.1). 02/04/20 Szalay, Sarah M. 235.00 0.60 141.00 Maintain files relative to numerous adversary proceedings. 02/06/20 Szalay, Sarah M. 235.00 0.30 70.50 Index pleadings and correspondence for completeness at request of working group. 02/10/20 Szalay, Sarah M. 235.00 0.70 164.50 Maintain files relative to numerous adversary proceedings. 02/11/20 Szalay, Sarah M. 235.00 0.70 164.50 Maintain files relative to numerous adversary proceedings (.3); update litigation tracking spreadsheet (.3); update pretrial schedule and forward to internal team (.1). 02/14/20 Szalay, Sarah M. 235.00 0.80 188.00
Maintain files relative to numerous adversary proceedings.02/06/20Szalay, Sarah M.235.000.3070.50Index pleadings and correspondence for completeness at request of working group.02/10/20Szalay, Sarah M.235.000.70164.50Maintain files relative to numerous adversary proceedings.02/11/20Szalay, Sarah M.235.000.70164.50Maintain files relative to numerous adversary proceedings (.3); update pretrial schedule and forward to internal team (.1).0.80188.00
02/06/20Szalay, Sarah M.235.000.3070.50Index pleadings and correspondence for completeness at request of viring group.02/10/20Szalay, Sarah M.235.000.70164.50Maintain files relative to numerous adversary proceedings.02/11/20Szalay, Sarah M.235.000.70164.50Maintain files relative to numerous adversary proceedings (.3); update pretrial schedule and forward to internal team (.1).0.70164.5002/14/20Szalay, Sarah M.235.000.70164.5002/14/20Szalay, Sarah M.235.000.80188.00
Index pleadings and correspondence for completeness at request of working group.02/10/20Szalay, Sarah M.235.000.70164.50Maintain files relative to numerous adversary proceedings.0.70164.5002/11/20Szalay, Sarah M.235.000.70164.50Maintain files relative to numerous adversary proceedings (.3); update pretrial schedule and forward to internal team (.1).0.80188.00
02/10/20Szalay, Sarah M.235.000.70164.50Maintain files relative to numerous adversary proceedings.0.70164.5002/11/20Szalay, Sarah M.235.000.70164.50Maintain files relative to numerous adversary proceedings (.3); update litigation tracking spreadsheet (.3); update pretrial schedule and forward to internal team (.1).0.80188.00
Maintain files relative to numerous adversary proceedings.02/11/20Szalay, Sarah M.235.000.70164.50Maintain files relative to numerous adversary proceedings (.3); update litigation tracking spreadsheet (.3); update pretrial schedule and forward to internal team (.1).02/14/20Szalay, Sarah M.235.000.80188.00
02/11/20Szalay, Sarah M.235.000.70164.50Maintain files relative to numerous adversary proceedings (.3); update litigation tracking spreadsheet (.3); update pretrial schedule and forward to internal team (.1).164.5002/14/20Szalay, Sarah M.235.000.80188.00
Maintain files relative to numerous adversary proceedings (.3); update litigation tracking spreadsheet (.3); update pretrial schedule and forward to internal team (.1).02/14/20Szalay, Sarah M.235.000.80188.00
update pretrial schedule and forward to internal team (.1).02/14/20Szalay, Sarah M.235.000.80188.00
Maintain files relative to numerous adversary proceedings (.7); update pretrial schedule and forward to internal team (.1).
02/25/20 Szalay, Sarah M. 235.00 0.30 70.50
Index pleadings and correspondence for completeness at request of working group.
02/28/20 Szalay, Sarah M. 235.00 0.40 94.00
Maintain files relative to numerous adversary proceedings.
03/04/20 Szalay, Sarah M. 235.00 0.20 47.00
Index pleadings and correspondence for completeness at request of working group.
03/05/20 Szalay, Sarah M. 235.00 0.60 141.00 Maintain files relative to numerous adversary proceedings.
03/09/20 Szalay, Sarah M. 235.00 0.50 117.50
Maintain files relative to numerous adversary proceedings.
03/18/20 Szalay, Sarah M. 235.00 0.50 117.50
Maintain files relative to numerous adversary proceedings.

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 55 of 197

Trustee in	Bankruptcy for Fair Finance Company		Invoice Date: Invoice Number: Matter Number:	042	09/28/20 50809379 188.000001 Page 40
03/25/20	Szalay, Sarah M. litigation tracking spreadsheet.	235.00	0.30	70.50	
03/26/20	Szalay, Sarah M.	235.00	0.30	70.50	
Maintai	n files relative to numerous adversary pr	roceedings.			
03/27/20 Index p	Szalay, Sarah M. leadings and correspondence for compl	235.00 eteness at reque	0.50 est of working group.	117.50	
04/01/20	Szalay, Sarah M.	235.00	0.40	94.00	
Maintai	n files relative to numerous adversary pr	roceedings.			
04/02/20	Szalay, Sarah M.	235.00	0.40	94.00	
	n files relative to numerous adversary pr team (.2).	roceedings (.2); ι	update pretrial sched	lule and forv	vard to
04/06/20	Szalay, Sarah M.	235.00	0.40	94.00	
Maintai	n files relative to numerous adversary pr	roceedings.			
04/07/20 Maintai	Szalay, Sarah M. n files relative to numerous adversary pr	235.00 roceedings.	0.50	117.50	
04/08/20	Szalay, Sarah M.	235.00	0.20	47.00	
Index p	leadings and correspondence for complete	eteness at reque	est of working group.		
04/10/20 Maintai	Szalay, Sarah M. n files relative to numerous adversary pr	235.00 roceedings.	0.50	117.50	
04/13/20	Szalay, Sarah M.	235.00	0.30	70.50	
Maintai	n files relative to numerous adversary pr	roceedings.			
04/14/20	Szalay, Sarah M.	235.00	0.50	117.50	
Index p	leadings and correspondence for compl	eteness at reque	est of working group.		
04/15/20 Maintai	Szalay, Sarah M. n files relative to numerous adversary pr	235.00 roceedings.	0.40	94.00	
04/20/20 Maintai	Szalay, Sarah M. n files relative to numerous adversary pr	235.00 roceedinas.	0.30	70.50	
04/21/20	Szalay, Sarah M.	235.00	0.30	70.50	
	leadings and correspondence for comple	•		70 50	
04/22/20 Maintai	Szalay, Sarah M. n files relative to numerous adversary pr	235.00 roceedings.	0.30	70.50	
04/24/20	Szalay, Sarah M. n files relative to numerous adversary pr	235.00	0.30	70.50	
	51	0			

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 56 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: Invoice Number: Matter Number:	09/28/20 50809379 042188.000001 Page 41
04/27/20 Szalay, Sarah M. 235.00 Update hearing schedule and forward to internal team.	0.10	23.50
04/28/20 Szalay, Sarah M. 235.00 Maintain files relative to numerous adversary proceedings.	0.80	188.00
04/29/20 Szalay, Sarah M. 235.00 Index pleadings and correspondence for completeness at reques	0.70 st of working group.	164.50
05/01/20 Szalay, Sarah M. 235.00 Maintain files relative to numerous adversary proceedings.	0.60	141.00
05/04/20 Szalay, Sarah M. 235.00 Maintain files relative to numerous adversary proceedings.	0.30	70.50
05/07/20 Szalay, Sarah M. 235.00 Maintain files relative to numerous adversary proceedings (.2); u	0.50 pdate litigation track	117.50 king spreadsheet (.3).
05/08/20 Szalay, Sarah M. 235.00 Index pleadings and correspondence for completeness at reques	0.50 st of working group.	117.50
05/11/20 Szalay, Sarah M. 235.00 Maintain files relative to numerous adversary proceedings.	0.20	47.00
05/12/20 Szalay, Sarah M. 235.00 Maintain files relative to numerous adversary proceedings.	0.20	47.00
05/14/20 Szalay, Sarah M. 235.00 Maintain files relative to numerous adversary proceedings.	0.30	70.50
05/15/20 Szalay, Sarah M. 235.00 Maintain files relative to numerous adversary proceedings.	0.20	47.00
05/19/20 Szalay, Sarah M. 235.00 Index pleadings and correspondence for completeness at reques	0.50 st of working group.	117.50
05/22/20 Szalay, Sarah M. 235.00 Maintain files relative to numerous adversary proceedings.	0.20	47.00
05/27/20 Szalay, Sarah M. 235.00 Maintain files relative to numerous adversary proceedings (.3); u internal team (.1).	0.40 pdate hearing sche	94.00 dule and forward to
06/01/20 Szalay, Sarah M. 235.00 Maintain files relative to numerous adversary proceedings.	0.20	47.00
06/02/20 Szalay, Sarah M. 235.00 Index pleadings and correspondence for completeness at reques	0.30 st of working group.	70.50

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 57 of 197

06/04/20 Szalay, Sarah M.	235.00	0.60	141.00
Maintain files relative to numerous adversary procee update hearing schedule and forward to internal tea		e litigation trac	king spreadsheet (.3);
06/09/20 Szalay, Sarah M.	235.00	0.30	70.50
Maintain files relative to numerous adversary procee	edings.		
06/10/20 Szalay, Sarah M.	235.00	0.30	70.50
Index pleadings and correspondence for completen	ess at request of	working group	
06/11/20 Szalay, Sarah M.	235.00	0.30	70.50
Maintain files relative to numerous adversary procee	edings.		
06/12/20 Szalay, Sarah M.	235.00	0.30	70.50
Maintain files relative to numerous adversary procee internal team (.1).	edings (.2); updat	e hearing sche	edule and forward to
06/18/20 Szalay, Sarah M.	235.00	0.20	47.00
Index pleadings and correspondence for completen	ess at request of	working group	
06/22/20 Szalay, Sarah M.	235.00	0.30	70.50
Maintain files relative to numerous adversary procee	edings.		
06/24/20 Szalay, Sarah M.	235.00	0.50	117.50
Maintain files relative to numerous adversary proce	edings.		
06/25/20 Szalay, Sarah M.	235.00	0.20	47.00
Maintain files relative to numerous adversary proce	edings.		
06/30/20 Szalay, Sarah M.	235.00	0.30	70.50
Index pleadings and correspondence for completen	ess at request of	working group	
07/01/20 Szalay, Sarah M.	235.00	0.20	47.00
Maintain files relative to numerous adversary proce	edings.		
07/16/20 Szalay, Sarah M.	235.00	0.20	47.00
Maintain files relative to numerous adversary proce	edings.		
07/22/20 Szalay, Sarah M.	235.00	0.30	70.50
Maintain files relative to numerous adversary procee orders (.1).	edings (.2); email	to court regard	ding status of pending
07/24/20 Szalay, Sarah M.	235.00	0.70	164.50
Maintain files relative to numerous adversary proce	edings (.4); updat	e litigation trac	king spreadsheet (.3).
07/29/20 Szalay, Sarah M.	235.00	0.40	94.00
Index pleadings and correspondence for completen	ess at request of	working group	

Houston	Atlanta Lo		Cincinnati New York	Cleveland Orlando	Columbus Philadelphia	Costa Mesa San Francisco	Dallas Seattle	Denver Washington, DC
10-50494	-jps	Doc 2637	FILED 1	0/14/20 I	ENTERED	10/14/20 08:40	):54 Pa	age 58 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: Invoice Number: Matter Number:	09/28/20 50809379 042188.000001 Page 43
07/30/20 Szalay, Sarah M. 235.00 Maintain files relative to numerous adversary proceedings.	0.20	47.00
07/31/20 Szalay, Sarah M. 235.00 Maintain files relative to numerous adversary proceedings.	0.20	47.00
08/11/20 Szalay, Sarah M. 235.00 Index pleadings and correspondence for completeness at reque	0.20 est of working group.	47.00
08/12/20 Szalay, Sarah M. 235.00 Index pleadings and correspondence for completeness at reque	0.30 est of working group.	70.50
08/14/20 Szalay, Sarah M. 235.00 Index pleadings and correspondence for completeness at reque	0.30 est of working group.	70.50
08/25/20 Szalay, Sarah M. 235.00 Maintain files relative to numerous adversary proceedings (.2);	0.50 update litigation track	117.50 ing spreadsheet (.3).
Avoidance Action(B05)	45.80 11	,287.00
09/03/19 Szalay, Sarah M. 225.00 Access and obtain weekly dockets and forward to internal team	0.40 1.	90.00
09/03/19 Szalay, Sarah M. 225.00 Prepare Notice of Trustee's Payments for August 2019 for elect	0.40 tronic filing with court	90.00 and distribution.
09/09/19 Burgan, Kelly S. 610.00 Review dockets and recent pleadings in main case and ancillar	0.20 y proceedings.	122.00
09/09/19 Szalay, Sarah M. 225.00 Access and obtain weekly dockets and forward to internal team	0.40 I.	90.00
09/13/19 Szalay, Sarah M. 225.00 Index pleadings and correspondence and forward same to Rec	1.70 ords.	382.50
09/16/19 Burgan, Kelly S. 610.00 Review dockets and recent pleadings in main case and ancillar	0.20 y proceedings.	122.00
09/16/19 Szalay, Sarah M. 225.00 Access and obtain weekly dockets and forward to internal team	0.40	90.00
09/18/19 Szalay, Sarah M. 225.00 Index pleadings and correspondence and forward same to Rec	1.30 ords.	292.50
09/20/19 Burgan, Kelly S. 610.00 Confer with Ms. Gordon regarding KCC bill and follow up with M	0.60 ⁄Ir. Bash regarding sa	366.00 me.

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 59 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: Invoice Number: Matter Number:	09/28/20 50809379 042188.000001 Page 44
09/23/19 Burgan, Kelly S. 610.00	0.20	122.00
Review dockets and recent pleadings in main case and ancillar		
09/23/19 Szalay, Sarah M. 225.00 Access and obtain weekly dockets and forward to internal team	0.40	90.00
09/27/19 Szalay, Sarah M. 225.00	0.70	157.50
Index pleadings and correspondence and forward same to Rec		137.30
09/30/19 Burgan, Kelly S. 610.00	0.20	122.00
Review dockets and recent pleadings in main case and ancillar		
09/30/19 Szalay, Sarah M. 225.00 Access and obtain weekly dockets and forward to internal team	0.40	90.00
10/01/19 Szalay, Sarah M. 225.00	0.40	90.00
Prepare Notice of Trustee's Payments for September 2019 for 6		
10/01/19 Szalay, Sarah M. 225.00	0.90	202.50
Index pleadings and correspondence and forward same to Rec	ords.	
10/07/19 Szalay, Sarah M. 225.00 Access and obtain weekly dockets and forward to internal team	0.40	90.00
10/09/19 Szalay, Sarah M. 225.00	1.10	247.50
Index pleadings and correspondence and forward same to Rec	ords.	
10/14/19 Szalay, Sarah M. 225.00 Access and obtain weekly dockets and forward to internal team	0.40	90.00
10/15/19 Szalay, Sarah M. 225.00	1.60	360.00
Index pleadings and correspondence and forward same to Rec	ords.	
10/21/19 Szalay, Sarah M. 225.00	0.40	90.00
Access and obtain weekly dockets and forward to internal team	l.	
10/23/19 Szalay, Sarah M. 225.00 Index pleadings and correspondence and forward same to Rec	1.20 ords.	270.00
10/28/19 Szalay, Sarah M. 225.00 Access and obtain weekly dockets and forward to internal team	0.40	90.00
11/01/19 Szalay, Sarah M. 225.00	0.40	90.00
Prepare Notice of Trustee's Payments for September 2019 for e		
11/04/19 Szalay, Sarah M. 225.00	0.40	90.00
Access and obtain weekly dockets and forward to internal team		
11/08/19 Szalay, Sarah M. 225.00	1.10	247.50
Index pleadings and correspondence and forward same to Rec	ords.	
Baker&HostetlerLLP		

Columbus Philadelphia nta Chicago Los Angeles Denver Washington, DC Atlanta Cincinnati Cleveland Costa Mesa Dallas Houston New York Orlando San Francisco Seattle 10-50494-jps Doc 2637 Page 60 of 197 FILED 10/14/20 ENTERED 10/14/20 08:40:54

11/11/19Szalay, Sarah M.225.000.4090.00Access and obtain weekly dockets and forward to internal team.11/12/19Szalay, Sarah M.225.001.50337.50Index pleadings and correspondence and forward same to Records.	
11/18/19Szalay, Sarah M.225.000.4090.00Access and obtain weekly dockets and forward to internal team.	
11/25/19Szalay, Sarah M.225.000.4090.00Access and obtain weekly dockets and forward to internal team.	
11/25/19Szalay, Sarah M.225.000.3067.50Access and obtain recently filed pleadings and forward to internal team.	
12/02/19Szalay, Sarah M.225.000.4090.00Access and obtain weekly dockets and forward to internal team.	
12/02/19Szalay, Sarah M.225.000.4090.00Prepare Notice of Trustee's Payments for November 2019 for electronic filing with court and distribution	۱.
12/02/19Szalay, Sarah M.225.000.50112.50Index pleadings and correspondence and forward same to Records.	
12/09/19Szalay, Sarah M.225.000.4090.00Access and obtain weekly dockets and forward to internal team.	
12/11/19Szalay, Sarah M.225.001.00225.00Index pleadings and correspondence and forward same to Records.	
01/02/20 Szalay, Sarah M. 235.00 0.40 94.00 Access and obtain weekly dockets and forward to internal team.	
01/02/20 Szalay, Sarah M. 235.00 0.40 94.00 Prepare Notice of Trustee's Payments for December 2019 for electronic filing with court and distribution	۱.
01/03/20 Szalay, Sarah M. 235.00 1.20 282.00 Index pleadings and correspondence and forward same to Records.	
01/06/20 Szalay, Sarah M. 235.00 0.40 94.00 Access and obtain weekly dockets and forward to internal team.	
01/08/20 Szalay, Sarah M. 235.00 0.10 23.50 Access and obtain recently filed pleadings and forward to internal team.	
01/08/20 Szalay, Sarah M. 235.00 1.00 235.00 Index pleadings and correspondence and forward same to Records.	
01/13/20 Szalay, Sarah M. 235.00 0.40 94.00 Access and obtain weekly dockets and forward to internal team.	
Baker&Hostetler LLP	

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 61 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: Invoice Number: Matter Number:	09/28/20 50809379 042188.000001 Page 46
01/21/20 Szalay, Sarah M. 235.00 Access and obtain weekly dockets and forward to internal team.	0.40	94.00
01/27/20 Szalay, Sarah M. 235.00 Access and obtain weekly dockets and forward to internal team.	0.40	94.00
01/28/20 Szalay, Sarah M. 235.00 Index pleadings and correspondence and forward same to Record	1.70 rds.	399.50
01/30/20 Szalay, Sarah M. 235.00 Access and obtain recently filed pleadings and forward to interna	0.10 al team.	23.50
02/03/20 Szalay, Sarah M. 235.00 Access and obtain weekly dockets and forward to internal team.	0.40	94.00
02/03/20 Szalay, Sarah M. 235.00 Prepare Notice of Trustee's Payments for January 2020 for elect	0.40 ronic filing with cou	94.00 rt and distribution.
02/05/20 Szalay, Sarah M. 235.00 Index pleadings and correspondence and forward same to Record	1.40 rds.	329.00
02/10/20Szalay, Sarah M.235.00Access and obtain weekly dockets and forward to internal team.	0.40	94.00
02/14/20 Szalay, Sarah M. 235.00 Index pleadings and correspondence and forward same to Record	1.50 rds.	352.50
02/17/20 Szalay, Sarah M. 235.00 Access and obtain weekly dockets and forward to internal team.	0.40	94.00
02/24/20 Szalay, Sarah M. 235.00 Access and obtain weekly dockets and forward to internal team.	0.40	94.00
03/02/20 Szalay, Sarah M. 235.00 Access and obtain weekly dockets and forward to internal team.	0.40	94.00
03/02/20 Szalay, Sarah M. 235.00 Prepare Notice of Trustee's Payments for February 2020 for electron	0.40 ctronic filing with cou	94.00 urt and distribution.
03/02/20 Szalay, Sarah M. 235.00 Index pleadings and correspondence and forward same to Record	1.80 rds.	423.00
03/09/20 Szalay, Sarah M. 235.00 Access and obtain weekly dockets and forward to internal team.	0.40	94.00
03/16/20 Szalay, Sarah M. 235.00 Access and obtain weekly dockets and forward to internal team.	0.40	94.00
03/23/20 Szalay, Sarah M. 235.00 Access and obtain weekly dockets and forward to internal team.	0.40	94.00

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 62 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: Invoice Number: Matter Number:	09/28/20 50809379 042188.000001 Page 47
03/30/20 Szalay, Sarah M. 235.00 Access and obtain weekly dockets and forward to internal team.	0.40	94.00
04/01/20 Szalay, Sarah M. 235.00	0.40	94.00
Prepare Notice of Trustee's Payments for March 2020 for electron		
04/06/20 Szalay, Sarah M. 235.00 Access and obtain weekly dockets and forward to internal team.	0.40	94.00
04/13/20 Szalay, Sarah M. 235.00	0.40	94.00
Access and obtain weekly dockets and forward to internal team.		
04/20/20 Szalay, Sarah M. 235.00 Access and obtain weekly dockets and forward to internal team.	0.40	94.00
04/27/20 Szalay, Sarah M. 235.00 Access and obtain weekly dockets and forward to internal team.	0.40	94.00
05/01/20 Szalay, Sarah M. 235.00 Prepare Notice of Trustee's Payments for April 2020 for electronic	0.40 c filing with court ar	94.00 nd distribution.
05/04/20Szalay, Sarah M.235.00Access and obtain weekly dockets and forward to internal team.	0.40	94.00
05/06/20 Szalay, Sarah M. 235.00 Index pleadings and correspondence and forward same to Recorrespondence and forward same	1.20 ds.	282.00
05/11/20 Szalay, Sarah M. 235.00 Access and obtain weekly dockets and forward to internal team.	0.40	94.00
05/13/20 Szalay, Sarah M. 235.00 Index pleadings and correspondence and forward same to Record	1.50 ds.	352.50
05/18/20Szalay, Sarah M.235.00Access and obtain weekly dockets and forward to internal team.	0.40	94.00
05/18/20Szalay, Sarah M.235.00Index pleadings and correspondence and forward same to Record	0.50 ds.	117.50
05/26/20 Szalay, Sarah M. 235.00 Access and obtain weekly dockets and forward to internal team.	0.40	94.00
06/01/20 Szalay, Sarah M. 235.00 Access and obtain weekly dockets and forward to internal team.	0.40	94.00
06/01/20 Szalay, Sarah M. 235.00 Prepare Notice of Trustee's Payments for May 2020 for electronic	0.40 c filing with court an	94.00 Id distribution.
06/08/20 Szalay, Sarah M. 235.00 Access and obtain weekly dockets and forward to internal team.	0.40	94.00
Baker&Hostetler LLP		

nta Chicago Los Angeles Columbus Philadelphia Atlanta Denver Washington, DC Cincinnati Cleveland Costa Mesa Dallas San Francisco Houston New York Orlando Seattle 10-50494-jps Doc 2637 Page 63 of 197 FILED 10/14/20 ENTERED 10/14/20 08:40:54

06/17/20	Szalay, Sarah M.	235.00	0.40	94.00
Access	s and obtain weekly dockets and forward	d to internal team.		
06/22/20	Szalay, Sarah M.	235.00	0.40	94.00
Access	and obtain weekly dockets and forward	d to internal team.		
06/29/20	Szalay, Sarah M.	235.00	0.40	94.00
Access	and obtain weekly dockets and forward	d to internal team.		
07/01/20	Szalay, Sarah M.	235.00	0.40	94.00
Prepar	e Notice of Trustee's Payments for June	e 2020 for electronic	filing with cou	urt and distribution
07/13/20	Szalay, Sarah M.	235.00	0.40	94.00
Access	s and obtain weekly dockets and forward	d to internal team.		
07/20/20	Szalay, Sarah M.	235.00	0.40	94.00
Access	s and obtain weekly dockets and forward	d to internal team.		
07/21/20	Szalay, Sarah M.	235.00	0.50	117.50
Index p	pleadings and correspondence and forw	ard same to Record	S.	
07/23/20	Szalay, Sarah M.	235.00	1.30	305.50
Index p	pleadings and correspondence and forw	ard same to Record	S.	
07/29/20	Szalay, Sarah M.	235.00	0.40	94.00
Access	s and obtain weekly dockets and forward	d to internal team.		
07/30/20	Szalay, Sarah M.	235.00	1.40	329.00
Access	s and obtain recently filed pleadings and	forward same to Re	ecords.	
08/03/20	Szalay, Sarah M.	235.00	0.40	94.00
Access	s and obtain weekly dockets and forward	d to internal team.		
08/03/20	Szalay, Sarah M.	235.00	0.40	94.00
Prepar	e Notice of Trustee's Payments for July	2020 for electronic	filing with cou	rt and distribution.
08/05/20	Szalay, Sarah M.	235.00	0.10	23.50
Access	s and obtain recently filed pleadings and	forward to internal	team.	
08/10/20	Szalay, Sarah M.	235.00	0.40	94.00
Access	and obtain weekly dockets and forward	d to internal team.		
08/13/20	Szalay, Sarah M.	235.00	1.10	258.50
Index p	pleadings and correspondence and forw	ard same to Record	S.	
08/25/20	Szalay, Sarah M.	235.00	0.40	94.00
Access	and obtain weekly dockets and forward	d to internal team.		
08/31/20	Szalay, Sarah M.	235.00	0.40	94.00
Access	and obtain weekly dockets and forward	d to internal team.		
Paka	ro Hostatlaru p			

Hous		anta Los A	Chicago ngeles	Cincinnat New York		l Columbus Philadelphia	s Costa Mesa San Francisco	Dallas Seattle	Denver Washington, DC
10-504	194-jp	s D	oc 2637	FILED 2	10/14/20	ENTERED	10/14/20 08:4	0:54 F	Page 64 of 197

Case Administration(B10)	55.10 13,268.50					
09/04/19 Szalay, Sarah M. 225.00 Review documents received from Ann Buchs regarding the cl (.2); email to Ann Buchs with assignment forms, transfer of cla						
09/04/19Szalay, Sarah M.225.000.50112.50Review documents received from Carl Rehm regarding claim of Donald Rehm (.2); process transfer of claim and update spreadsheet regarding same (.2); email to Carl Rehm regarding same (.1).						
09/04/19 Szalay, Sarah M. 225.00 Review documents received from Almaruth Zirkle regarding c Almaruth Zirkle regarding need for W-9 to complete claim tran						
09/04/19 Szalay, Sarah M. 225.00 Review documents received from Ralph Lehman regarding cl claim and update spreadsheet regarding same (.2).	0.40 90.00 aim of Chester Fath (.2); process transfer of					
09/05/19Szalay, Sarah M.225.00Prepare and forward claim transfer documentation to KCC.	0.20 45.00					
09/05/19 Szalay, Sarah M. 225.00 Revise documents for the transfer of claims for Hazel Pitts an Buchs.	0.20 45.00 d The Pitts Family Trust and forward to Ann					
09/11/19 Szalay, Sarah M. 225.00 Telephone call to Emma Mast regarding address change.	0.10 22.50					
09/16/19 Szalay, Sarah M. 225.00 Email to Katharine Schottland to confirm receipt of documents	0.10 22.50 s regarding Stanley Ulle.					
09/23/19 Szalay, Sarah M. 225.00 Review documentation received from Ms. Hopkins regarding claim transfer (.2); email to Ms. Hopkins regarding same (.1).	0.50 112.50 claim of Carl Miller (.2); prepare and process					
09/23/19 Szalay, Sarah M. 225.00 Review documentation from Ms. Buchs regarding claims of H prepare and process claims transfers (.2); email to Ms. Buchs	•					
09/23/19 Szalay, Sarah M. 225.00 Review documentation from Ms. Zirkle regarding claim of Rok transfer (.2).	0.40 90.00 pert Abbott (.2); prepare and process claim					
09/23/19 Szalay, Sarah M. 225.00 Email to Mr. Hisem regarding transfer of claim of Delphine His of transfer of claim of Donald Rehm (.1),	0.20 45.00 sem (.1); email to Mr. Rehm regarding status					

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 65 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: 09/28/20 Invoice Number: 50809379 Matter Number: 042188.000001 Page 50
09/24/19 Szalay, Sarah M. 22	5.00 0.20 45.00
Prepare and forward address changes and claim transfe	r documentation to KCC.
09/24/19 Szalay, Sarah M. 22	5.00 0.10 22.50
Telephone call to Mr. Randy Balch regarding claim trans	fer of Frances Balch.
09/24/19 Szalay, Sarah M. 223	5.00 0.40 90.00
Office conference with Ms. Kasych regarding claims trac	king spreadsheet.
09/25/19 Szalay, Sarah M. 223	5.00 0.30 67.50
Review documentation from Ms. Signorino regarding the process claim transfer (.1).	claim transfer of Bradley Lehman (.2); prepare and
09/25/19 Szalay, Sarah M. 22	5.00 0.10 22.50
Email to Ms. Signorino regarding claim transfer of Roger	Ramseyer.
09/27/19 Szalay, Sarah M. 223	5.00 0.10 22.50
Telephone call to Ms. Judy Jacobs regarding address ch	ange for Ruth Koptis.
09/30/19 Szalay, Sarah M. 22	5.00 0.20 45.00
Email to Ms. Signorino regarding transfer of claim of The	mas Silver.
10/01/19 Szalay, Sarah M. 22	5.00 0.30 67.50
Prepare and forward address changes and claim transfe	r documentation to KCC.
10/01/19 Szalay, Sarah M. 22	5.00 0.10 22.50
Prepare address change for the claim of Ruth Koptis.	
	5.00 0.10 22.50
Telephone call to Ms. Patricia Rhea regarding claim tran	sfer for Daniel and Barshie Fassnacht.
	5.00 0.30 67.50
Prepare documents for transfer of claim for Robert Abbo	tt and forward to Almaruth Zirkle for review.
	5.00 0.20 45.00
Prepare and forward address changes and claim transfe	r documentation to KCC.
	5.00 0.20 45.00
Review of documents received from Keith Hofer regardir Keith Hofer regarding same (.1).	ng claim of Maxine and Earl Warren (.1); email to
10/16/19 Szalay, Sarah M. 223	5.00 0.10 22.50
Telephone call to Mr. Larry Brown regarding status us ca	ise.
10/18/19 Szalay, Sarah M. 223	5.00 0.30 67.50
Prepare and forward address changes and claim transfe	r documentation to KCC.

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 66 of 197

10/18/19 Szalay, Sarah M. Prepare Certificates of Service for Notices of Trans request of Mr. VanNiel.	225.00 sfers of Claims for	0.30 electronic filing	67.50 9 with court at the
10/18/19 Szalay, Sarah M.	225.00	0.20	45.00
Telephone call to Laura Youngs regarding transfer	of claim of Paul a	Ind Shirley Putr	nik.
10/23/19 Szalay, Sarah M.	225.00	0.10	22.50
Telephone call to Dinah regarding distribution chee	k for Estate of Ba	rbara Moore.	
10/25/19 Szalay, Sarah M.	225.00	0.30	67.50
Prepare and forward address changes and claim tr	ansfer documenta	ation to KCC.	
11/01/19 Szalay, Sarah M.	225.00	0.20	45.00
Prepare and forward address changes and claim tr	ansfer documenta	ation to KCC.	
11/05/19 Szalay, Sarah M.	225.00	0.30	67.50
Prepare and forward address changes and claim to	ansfer documenta	ation to KCC.	
<ul><li>11/06/19 Szalay, Sarah M.</li><li>Email to Mr. Mucklow regarding claim of Richard H</li></ul>	225.00	0.20	45.00
John R. Cheese (.1).	. Troyer (.1); ema	il to Mr. Mucklo	w regarding claim of
11/08/19 Szalay, Sarah M. Telephone call to Sherry Harrison regarding claim	225.00 of Janice Morris.	0.10	22.50
11/12/19 Szalay, Sarah M.	225.00	0.10	22.50
Telephone call to Pete Stamatis to confirm his add	ress for future ma	ilings or distribu	utions.
11/14/19 Szalay, Sarah M.	225.00	0.20	45.00
Prepare and forward address changes and claim tr	ansfer documenta	ation to KCC.	
11/15/19 Szalay, Sarah M.	225.00	0.10	22.50
Email to Halle Jones Capers regarding status of ca	ise and future dist	ributions.	
11/20/19 Szalay, Sarah M.	225.00	0.20	45.00
Prepare and forward address changes and claim to	ansfer documenta	ation to KCC.	
12/06/19 Szalay, Sarah M.	225.00	0.20	45.00
Prepare and forward address changes and claim ti	ansfer documenta	ation to KCC.	
01/06/20 Szalay, Sarah M.	235.00	0.10	23.50
Prepare and forward address changes and claim to	ansfer documenta	ation to KCC.	
01/10/20 Szalay, Sarah M.	235.00	0.10	23.50
Prepare and forward address changes and claim to	ansfer documenta	ation to KCC.	
01/14/20 Szalay, Sarah M.	235.00	0.30	70.50
Prepare and forward address changes and claim ti	ansfer documenta	ation to KCC.	

Houston	Atlanta Lo	<b>J</b>	Cincinnati New York	Cleveland Orlando	Columbus Philadelphia	Costa Mesa San Francisco	Dallas Seattle	Denver Washington, DC
10-50494	l-jps	Doc 2637	FILED 1	0/14/20 E	ENTERED	10/14/20 08:40	:54 Pa	ge 67 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: Invoice Number: Matter Number:	09/28/20 50809379 042188.000001 Page 52
01/15/20 Szalay, Sarah M. 235.00	0.10	23.50
Telephone call to Isaac Yoder regarding address change.	0.40	00 50
01/21/20 Szalay, Sarah M. 235.00 Prepare and forward address changes and claim transfer do		23.50
01/21/20 Szalay, Sarah M. 235.00		70.50
Review documentation and prepare claim transfer for Estate McCoy regarding same (.1).		
02/03/20 Szalay, Sarah M. 235.00 Prepare and forward address changes and claim transfer do		47.00
02/03/20 Szalay, Sarah M. 235.00	0.20	47.00
Telephone call to Tamara Lowry regarding 1099 (.1); telephone	one call to Shane Lowery	regarding 1099 (.1).
02/03/20 Szalay, Sarah M. 235.00	0.40	94.00
Telephone call to Patricia Ray regarding transfer of Daniel F documents and forward to Patricia Ray for review and signa		are transfer
02/03/20 Szalay, Sarah M. 235.00 Prepare Certificate of Service of Notice of Transfer of Claim Mr. VanNiel.		23.50 ourt at the request of
02/11/20 Szalay, Sarah M. 235.00	0.10	23.50
Telephone call to Kathleen Chiofolo regarding 1099 and inte	rim distribution.	
02/20/20 Szalay, Sarah M. 235.00	0.20	47.00
Telephone call to Mrs. Forney regarding address change (.1 regarding Sandra Santos (.1).	); telephone call to Benja	min & Trevorrow
02/24/20 Szalay, Sarah M. 235.00 Telephone call to Richard Demastes regarding status of cas		23.50
02/25/20 Szalay, Sarah M. 235.00 Telephone call to Don Russell regarding status of case (.2); of case (.1).		70.50 isher regarding status
02/26/20 Szalay, Sarah M. 235.00 Telephone call to Phyllis Lyon regarding status of case.	0.10	23.50
03/04/20 Szalay, Sarah M. 235.00 Review and revise claims tracking spreadsheet.	0.80	188.00
03/05/20 Szalay, Sarah M. 235.00 Prepare and forward address changes and claim transfer do		47.00
03/10/20 Szalay, Sarah M. 235.00 Prepare and forward address changes and claim transfer do		70.50

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Los Angeles Houston New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 68 of 197

03/10/20 Szalay, Sarah M.		235.00	0.60	141.00
Process address change for Henry Meek and process ad Nussbaum and Hope Kaufm	dress change per his req			
03/10/20 Szalay, Sarah M.		235.00	0.30	70.50
Draft letter to Mr. Mucklow re	egarding change of addre	ess for Kathy Ullo	m and process	change of address.
03/10/20 Szalay, Sarah M.		235.00	0.30	70.50
Draft letter to Critchfield Law and process change of addre		of address for The	e Sophia A. Do	yle Revocable Trust
03/10/20 Szalay, Sarah M.		235.00	0.30	70.50
Review documentation recei process the claim transfer pe	•	n regarding her jo	int claim with C	Carl Harrison and
03/10/20 Szalay, Sarah M.		235.00	0.40	94.00
Review email and document and process the claim transf		Signorino regardir	ng the Boyd an	d Donna Lance claim
03/10/20 Szalay, Sarah M.		235.00	0.30	70.50
Review email and document process the claim transfer pe		Signorino regardir	ng the Dean F.	Marty claim and
03/10/20 Szalay, Sarah M.		235.00	0.30	70.50
Review email and document process the claim transfer pe		Signorino regardir	ng the Earl and	I Sue Franks claim and
03/10/20 Szalay, Sarah M.		235.00	0.20	47.00
Review email and document Younkin Silver claim and pro		•	ng the Thomas	and L. Evelyn
03/10/20 Szalay, Sarah M.		235.00	0.50	117.50
Email to Mr. Hisem regarding of Robert D. Moore's claim ( (.1); letter to Ms. Teresa Par Signorino regarding docume	1); email to Mr. Ferrise r kin regarding transfer of	egarding contact Donna M. Alexan	information for der's claim (.1)	Thomas Alexander ; email to Ms.
03/11/20 Beachdell, Alexis C		430.00	0.70	301.00
Address claim transfer issue	S.			
03/11/20 Szalay, Sarah M.		235.00	0.20	47.00
Prepare and forward address	s changes and claim trar	nsfer documentation	on to KCC.	
03/11/20 Szalay, Sarah M.		235.00	0.30	70.50
Review documentation from process the claim transfer pe		transfer of Earl F.	Warren, Sr.'s	claim to his son and

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 69 of 197

03/11/20	Szalay, Sarah M.	235.00	0.20	47.00		
Letter to	James E. Moore regarding the transfer of cl egarding Paul and Shirley Putnik's claim (.1)	aim of Robert E.				
03/13/20	Szalay, Sarah M.	235.00	0.30	70.50		
Prepare	and forward address changes and claim train	nsfer documentat	ion to KCC.			
03/13/20	Szalay, Sarah M.	235.00	0.30	70.50		
Telephone call to Rich Demastis regarding status of the Textron trial (.1); telephone call to Mark Hisem regarding W-9 (.1); telephone call to Jonathan Meek regarding confirmation of social security number for re-issuance of second distribution check (.1).						
03/16/20	Szalay, Sarah M.	235.00	0.20	47.00		
Prepare	and forward address changes and claim train	nsfer documentat	ion to KCC.			
03/16/20	Szalay, Sarah M.	235.00	0.30	70.50		
Process	transfer of Dephine Hisem claim to Joseph I	Hisem and Mark I	Hisem.			
03/25/20	Szalay, Sarah M.	235.00	0.20	47.00		
Prepare	and forward address changes and claim train	nsfer documentat	ion to KCC.			
03/25/20	Szalay, Sarah M.	235.00	0.20	47.00		
	email from Ms. Do regarding change of addroid of addroid of address (.1).	ess for Phyllis Pe	resta or Jane S	edmack. (.1); process		
04/01/20	Szalay, Sarah M.	235.00	0.10	23.50		
Email to	Ms. Do regarding web inquiry regarding the	status of the case	э.			
04/06/20	Szalay, Sarah M.	235.00	0.20	47.00		
Telepho	ne call to Elaine Fetter regarding status of ca	ase and address of	change.			
04/15/20	Szalay, Sarah M.	235.00	0.30	70.50		
Review Hubach	claim of Margaret Hubacher (.1); email to Ms er (.2).	s. Signorino regar	ding transfer of	claim of Margaret		
04/21/20	Szalay, Sarah M.	235.00	0.30	70.50		
Prepare	and forward address changes and claim train	nsfer documentat	ion to KCC.			
04/28/20	Szalay, Sarah M.	235.00	0.20	47.00		
Prepare	and forward address changes and claim train	nsfer documentat	ion to KCC.			
04/28/20	Szalay, Sarah M.	235.00	0.10	23.50		
Email to	Ms. Signorino regarding claim of Chester Fa	ath.				
05/08/20	Szalay, Sarah M.	235.00	0.10	23.50		
Telepho	ne call to Mr. Aaron Fisher regarding status	of case.				
06/02/20	Szalay, Sarah M.	235.00	0.20	47.00		
Telepho	ne call to Penny Pyers regarding the transfe	r of Edith Pyers p	roof of claim.			

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 70 of 197

06/04/20 Toloph	Szalay, Sarah M. one call to Mr. and Mrs. Goldberg regarding s	235.00	0.10 distributions	23.50
relepin	one can to Mr. and Mrs. Goldberg regarding s		uistributions.	
06/08/20	Szalay, Sarah M.	235.00	0.20	47.00
Prepare	e and forward address changes and claim tra	nsfer documentat	ion to KCC.	
06/08/20	Szalay, Sarah M.	235.00	0.20	47.00
Review	documents received from Elaine Fetter (.1);	process claim trai	nsfer of Edson I	Fetter (.2).
06/08/20	Szalay, Sarah M.	235.00	0.40	94.00
	documents received from Penny Pyers and 2.2); process transfer of claim (.2).	Thomas Pyers reg	garding transfer	of claim of Edith
06/08/20	Szalay, Sarah M.	235.00	0.20	47.00
Review	claim for Mark Roman and email Margie to a	advise of documer	nts needed for t	he claim transfer.
06/18/20	Szalay, Sarah M.	235.00	0.20	47.00
Emails	to and from Ms. Signorino regarding claim of	Grace Martin.		
06/24/20	Szalay, Sarah M.	235.00	0.10	23.50
Prepare	e and forward address change documentation	n to KCC.		
07/06/20	Szalay, Sarah M.	235.00	0.30	70.50
Review	claim of Charles R. Mayreis (.2); email to Mr	. Burwell regardin	g transfer of cla	aim (.1).
07/13/20	Szalay, Sarah M.	235.00	0.20	47.00
Prepare	e and forward claim transfer documentation to	o KCC.		
07/13/20	Szalay, Sarah M.	235.00	0.20	47.00
Review	documents received from Mr. Mucklow regard	rding transfer of th	ne Mark J. Rom	an claim.
07/13/20	Szalay, Sarah M.	235.00	0.50	117.50
	documents received from Mr. Burwell regard forms and forward to his attention for review	•		eis (.2); prepare
07/16/20	Szalay, Sarah M.	235.00	0.10	23.50
Telepho	one call to Mrs. Yoder regarding status of cas	se.		
07/20/20	Szalay, Sarah M.	235.00	0.10	23.50
Email to	o Ms. Sorgen regarding transfer of a claim.			
07/22/20	Szalay, Sarah M.	235.00	0.20	47.00
	o Mr. Burwell with revised documents to trans	sfer the claim of C		eis.
07/23/20	Szalay, Sarah M.	235.00	0.20	47.00
	e and forward address changes and claim tra			
07/30/20	Szalay, Sarah M.	235.00	0.20	47.00
	e and forward address changes and claim tra			

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 71 of 197

Trustee in Bankruptcy for Fair Finance Company		Invoice Date: Invoice Number: Matter Number:	50809379
07/31/20 Szalay, Sarah M.	235.00	0.20	47.00
Prepare and forward address changes and claim tr			
08/03/20 Szalay, Sarah M.	235.00	0.30	70.50
Prepare and forward address changes and claim tr			
08/04/20 Szalay, Sarah M.	235.00	0.20	47.00
Prepare and forward address changes and claim tr			
08/05/20 Szalay, Sarah M.	235.00	0.20	47.00
Receive and update address change for William Ma	ast and forwa	ard same to KCC.	
08/10/20 Szalay, Sarah M.	235.00	0.30	70.50
Review email from Ms. Signorino regarding claim o same to Ms. Signorino (.2).	of Calvin Frav	el (.1); review proof	of claim and forward
08/25/20 Szalay, Sarah M.	235.00	0.20	47.00
Prepare and forward address changes and claim tr	ansfer docur	nentation to KCC.	
08/25/20 Szalay, Sarah M. Telephone call to Mr. Woofter regarding status of c request (.1).	235.00 ase (.1); proc	0.20 cess address change	47.00 e per Mr. Woofter's
08/31/20 Szalay, Sarah M.	235.00	0.10	23.50
Prepare and forward address changes and claim tr	ansfer docur	nentation to KCC.	
08/31/20 Szalay, Sarah M.	235.00	0.10	23.50
Telephone call to Susan Montgomery regarding ad	dress change	e for Robert T. and N	Marilyn Montgomery.
Claims Administration & Objections(B11)		26.00	6,154.50
07/15/20 Szalay, Sarah M. Access and obtain pleadings and related materials	235.00	0.20 st of Mr. Proano	47.00
Access and obtain preadings and related materials			
Bash V. Bruce Long (12-5110)(B166)		0.20	47.00
09/03/19 Beachdell, Alexis C. Review and respond to Skoda Minotti fee issues.	410.00	0.20	82.00
09/03/19 Szalay, Sarah M. Telephone call from Ms. Beachdell regarding Skod	225.00 a's monthly f	0.10 ee statements and ii	22.50 nterim fee application.
09/04/19 Szalay, Sarah M.	225.00	0.30	67.50
Review Skoda Minotti fee statement and forward to			
09/06/19 Beachdell, Alexis C.	410.00	0.30	123.00
Review and redact Skoda Minotti fee application.			

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 72 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: Invoice Number: Matter Number:	09/28/20 50809379 042188.000001 Page 57
09/09/19 Szalay, Sarah M. 225.00 Review and correct time entries to comply with court requirement		157.50
		07.50
09/09/19 Szalay, Sarah M. 225.00 Prepare Timekeeper Reports for August 2019 and forward to in	0.30	67.50
		00.00
09/10/19 Szalay, Sarah M. 225.00 Revise Baker & Hostetler's Ninth Interim Fee Application and for comment.	0.40 orward to internal team	90.00 for review and
09/19/19 Burgan, Kelly S. 610.00 Review and revise time entries for ninth interim fee application		928.00
09/23/19 Szalay, Sarah M. 225.00	0.10	22.50
Email to internal team regarding status of Baker & Hostetler's I	Ninth Interim Fee Applie	cation.
09/26/19 Szalay, Sarah M. 225.00	1.30	292.50
Revise time entries for Baker & Hostetler's Ninth Interim Fee A	pplication at the reques	st of Mr. VanNiel.
10/07/19 Szalay, Sarah M. 225.00	0.70	157.50
Review and correct time entries to comply with court requirement	ents.	
10/07/19 Szalay, Sarah M. 225.00	0.30	67.50
Prepare Timekeeper Reports for September 2019 and forward	to internal team.	
10/22/19 VanNiel, Michael A. 615.00	0.70	430.50
Review and comment on fee applications for Faegre Baker Da correspondence with the Trustee regarding same (.2).	niels and Skoda Minott	i firms (.5);
10/24/19 Szalay, Sarah M. 225.00	0.10	22.50
Telephone call from Mr. VanNiel regarding status of fee application	ations.	
10/27/19 VanNiel, Michael A. 615.00	2.20 1,3	353.00
Review and revise Baker Hostetler interim fee application (2.1) same (.1).	; correspondence with	the Trustee regarding
10/28/19 Szalay, Sarah M. 225.00	1.10	247.50
Prepare Baker & Hostetler's Ninth Interim Fee Application, Sko and Faegre Baker Daniels Eighth Interim Fee Application and with court and distribution at the request of Mr. VanNiel.		
11/06/19Szalay, Sarah M.225.00Review and correct time entries to comply with court requirement		202.50
11/06/19 Szalay, Sarah M. 225.00	0.30	67.50
Prepare Timekeeper Reports for October 2019 and forward to		

11/13/19 Szalay, Sarah M.	225.00	0.40	90.00
Prepare draft Order Granting Baker & Hostetler's I Minotti's Sixth Interim Fee Application and forward			
11/19/19 Szalay, Sarah M.	225.00	0.30	67.50
Prepare and submit Order Granting Baker & Hoste Skoda Minotti's Sixth Interim Fee Application and Application to court at the request of Mr. VanNiel.			•
11/26/19 Beachdell, Alexis C. Discussion with Mr. Klein regarding retention appli	410.00 cation issue.	0.10	41.00
11/26/19 Szalay, Sarah M.	225.00	0.30	67.50
Distribution of Orders Granting Interim Fee Application for electronic filing with court (.1).	ations (.2); prepar	e Certificate	of Service regarding same
12/04/19 Beachdell, Alexis C.	410.00	0.20	82.00
Discussion with Mr. Klein regarding retention appli	cation.		
12/04/19 Szalay, Sarah M.	225.00	0.60	135.00
Review and correct time entries to comply with co	urt requirements.		
12/04/19 Szalay, Sarah M.	225.00	0.30	67.50
Prepare Timekeeper Reports for November 2019	and forward to int	ernal team.	
01/06/20 Beachdell, Alexis C.	430.00	2.80	1,204.00
Review and revise draft Marcum LLP retention ap	plication and mate	erials related	to same.
01/07/20 Beachdell, Alexis C.	430.00	2.50	1,075.00
Review and revise draft Marcum LLP retention ap	plication and mate	erials related	to same.
01/07/20 Szalay, Sarah M.	235.00	0.70	164.50
Review and correct time entries to comply with co	urt requirements.		
01/07/20 Szalay, Sarah M.	235.00	0.30	70.50
Prepare Timekeeper Reports for December 2019	and forward to int	ernal team.	
01/08/20 Beachdell, Alexis C.	430.00	0.50	215.00
Review and revise Marcum LLP retention applicat	ion materials.		
01/09/20 Beachdell, Alexis C. Finalize Marcum LLP retention application.	430.00	0.50	215.00
01/09/20 Szalay, Sarah M.	235.00	0.50	117.50
Prepare Application and Notice of Application to E distribution at the request of Ms. Beachdell.	mploy Marcum Ll	P for electro	onic filing with court and
01/14/20 Beachdell, Alexis C. Review expert invoice for payment.	430.00	0.30	129.00
Baker&HostetlerLLP			

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 74 of 197

01/30/20 Szalay, Sarah M. Distribution of Order Authorizing Employm same for electronic filing with court (.1).	235.00 nent of Marcum LLP (.1); p	0.20 repare Certi	47.00 ficate of Service regarding
02/07/20 Szalay, Sarah M. Review and correct time entries to comply	235.00 with court requirements.	0.90	211.50
02/07/20 Szalay, Sarah M. Prepare Timekeeper Reports for January	235.00 2020 and forward to interr	0.30 nal team.	70.50
03/04/20 Szalay, Sarah M. Review and correct time entries to comply	235.00 with court requirements.	1.30	305.50
03/12/20 Szalay, Sarah M. Prepare Timekeeper Reports for February	235.00 2020 and forward to inter	0.30 nal team.	70.50
03/19/20 Beachdell, Alexis C. Review Marcum invoice for payment.	430.00	0.50	215.00
03/20/20 Szalay, Sarah M. Prepare and forward expert fee letter to M	235.00 Is. Giannirakis for review a	0.30 Ind approval	70.50
04/03/20 Lazanich, Julia K. Access and obtain expense documentatio	220.00 on for expense application.	0.70	154.00
04/03/20 Szalay, Sarah M. Review and correct time entries to comply	235.00 with court requirements.	1.10	258.50
04/07/20 Szalay, Sarah M. Prepare Timekeeper Reports for March 20	235.00 020 and forward to interna	0.40 I team.	94.00
04/08/20 Szalay, Sarah M.	235.00	0.90	211.50
Telephone call to Mr. VanNiel regarding re Hostetler's Interim Expense Application ar			
04/10/20 Szalay, Sarah M.	235.00	0.30	70.50
Forward list of expenses from September	1, 2019 through March 1,	2020 to Mr.	VanNiel per his request.
04/28/20 Szalay, Sarah M.	235.00	0.20	47.00
Telephone call from Mr. VanNiel regarding	g expert fee applications.		
04/29/20 Szalay, Sarah M.	235.00	0.20	47.00
Telephone call with Ms. Kasych regarding	expert fee applications ar	nd amounts	owed.
04/29/20 Szalay, Sarah M.	235.00	1.10	258.50
Review expert documentation (.5); prepart VanNiel (.6).	e draft of Mr. Heflin's Fee	Application a	at the request of Mr.

Houston	Atlanta Lo		Cincinnati New York		Columbus Philadelphia	Costa Mesa San Francisco	Dallas Seattle	Denver Washington, DC
10-50494	-jps	Doc 2637	FILED 1	0/14/20	ENTERED 1	10/14/20 08:40	:54 Pa	age 75 of 197

04/30/20	Szalay, Sarah M.	235.00	0.30	70.50
Assem	ble and forward expert fee application and su	mmaries to Mr. V	anNiel for revie	ew an comment.
05/05/20	Szalay, Sarah M.	235.00	0.40	94.00
Prepare	e Timekeeper Reports for April 2020 and forw	ard to internal tea	am.	
05/05/20	Szalay, Sarah M.	235.00	0.80	188.00
Review	and correct time entries to comply with court	t requirements.		
05/08/20	Szalay, Sarah M.	235.00	0.50	117.50
	t and review of Marcum's Seventh Interim Fe el for review and comment (.2).	e Application and	exhibits (.3); r	evise and forward to Mr.
05/08/20	Szalay, Sarah M.	235.00	0.20	47.00
Teleph	one call with Mr. VanNiel regarding expense	application and ex	opert fee applic	cations.
05/19/20	Szalay, Sarah M.	235.00	0.20	47.00
Emails	to and from Mr. VanNiel regarding expense a	application and ex	pert fee applic	ations.
05/19/20	Szalay, Sarah M.	235.00	0.20	47.00
	ble Baker & Hostetler's expense from Septem el per his request.	nber 1, 2019 throu	igh April 30, 20	020 and forward to Mr.
05/20/20	Szalay, Sarah M.	235.00	0.50	117.50
	one call from Mr. VanNiel regarding expert fe er's expense invoice (.2).	e applications (.2)	; revise and as	ssemble Baker &
05/21/20	Szalay, Sarah M.	235.00	0.40	94.00
	Baker & Hostetler's Expense Application and request.	l retrieve numerou	is exhibits and	forward to Mr. VanNiel
05/21/20	Szalay, Sarah M.	235.00	0.60	141.00
	one call from Mr. VanNiel regarding revisions ward to Mr. Bash and Mr. VanNiel for review		tler's Expense	Application (.2); revise
06/03/20	Szalay, Sarah M.	235.00	0.80	188.00
Review	and correct time entries to comply with court	t requirements.		
06/03/20	Szalay, Sarah M.	235.00	0.40	94.00
Prepare	e Timekeeper Reports for May 2020 and forw	ard to internal tea	ım.	
06/10/20	Szalay, Sarah M.	235.00	0.30	70.50
Prepare	e Notice of Fee and Expense Applications at	the request of Mr.	VanNiel.	
06/12/20	Szalay, Sarah M.	235.00	0.60	141.00
•	e Baker & Hostetler's Expense Application, M Second Interim Fee Application and Notices			•

Heflin's Second Interim Fee Application and Notices regarding same for electronic filing with court and distribution at the request of Mr. VanNiel.

#### Baker&Hostetler LLP

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Washington, DC Seattle 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 76 of 197

06/23/20 Prepar	Szalay, Sarah M. e draft Order on Baker & Hostetler's Expense	235.00 Application, Ord	0.80 er on Marcum	188.00 n's Seventh Interim Fee					
Application and Order on Charles Heflin's Second Interim Fee Application and forward to Mr. VanNiel for review and comment.									
	Szalay, Sarah M.	235.00	0.30	70.50					
	Prepare and upload Order on Baker & Hostetler's Expense Application, Order on Marcum's Seventh Interim Fee Application and Order on Heflin's Second Interim Fee Application at the request of Mr. VanNiel.								
06/29/20	Szalay, Sarah M.	235.00	0.40	94.00					
	ble numerous expense invoices and forward on Baker & Hostetler's Expense Application (		er his request	(.3); revise and upload					
07/14/20	Szalay, Sarah M.	235.00	0.80	188.00					
Review	and correct time entries to comply with cour	t requirements.							
07/14/20	Szalay, Sarah M.	235.00	0.40	94.00					
Prepar	e Timekeeper Reports for June 2020 and for	ward to internal te	eam.						
07/23/20	Szalay, Sarah M.	235.00	0.30	70.50					
	ution of Orders Granting Interim Fee Applicat e regarding same for electronic filing with cou	•		· / · ·					
08/05/20	Szalay, Sarah M.	235.00	0.90	211.50					
Review	and correct time entries to comply with cour	t requirements.							
08/12/20	Szalay, Sarah M.	235.00	0.40	94.00					
Prepar	e Timekeeper Reports for July 2020 and forw	vard to internal tea	am.						
08/26/20	Szalay, Sarah M.	235.00	0.80	188.00					
	e draft of Baker & Hostetler's Tenth Interim F mment.	ee Application an	d forward to I	Mr. VanNiel for review					
Fee/emple	oyment Applications(B19)		45.10	14,929.50					
09/06/19 Review	Lewis, Patrick T. / default judgment collection issues.	455.00	0.40	182.00					
09/10/19	Lewis, Patrick T.	455.00	0.20	91.00					
Follow-	up with Weltman and Mr. Bash regarding de	fault judgment lie	n issues.						
09/12/19	Szalay, Sarah M.	225.00	0.20	45.00					
Access	and obtain samples of settlement agreemer	nts and consent ju	dgments and	forward to Mr. Lewis.					
09/16/19	Burgan, Kelly S.	610.00	0.60	366.00					
Review	email and analysis from Mr. Klein regarding	Monterey's acco	unts receivab	le collection.					

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 77 of 197

Trustee in Bankruptcy for	Fair Finance Company
---------------------------	----------------------

Atlanta

Houston

Chicago

10-50494-jps Doc 2637 FILED 10/14/20

Los Angeles

Cincinnati

New York

Cleveland

Orlando

Columbus

Philadelphia

Costa Mesa

San Francisco

ENTERED 10/14/20 08:40:54

Dallas

Seattle

Denver

Page 78 of 197

Washington, DC

10/01/19 Lewis, Patrick T.	455.00	0.20	91.00
Follow-up with Mr. Mosbaugh and Ms. Mauney rega	arding collection is	ssues.	
10/09/19 Lewis, Patrick T.	455.00	0.20	91.00
Follow-up regarding debt collection matters with We	eltman.		
10/16/19 Lewis, Patrick T.	455.00	0.40	182.00
Prepare for and participate in call with Trustee rega	rding potential liq	uidation of jud	gment portfolio.
12/13/19 Lewis, Patrick T.	455.00	0.20	91.00
Prepare for call with Mr. Bash regarding sale of judg	gments.		
12/16/19 Lewis, Patrick T.	455.00	0.20	91.00
Follow-up with Weltman Weinberg regarding status	of certain judgme	ents.	
03/18/20 Lewis, Patrick T.	475.00	1.50	712.50
Review offer to procure unclaimed funds and advise	e Mr. Bash regard	ing same.	
05/01/20 Lewis, Patrick T.	475.00	0.70	332.50
Further analysis regarding potential unclaimed fund	s claim regarding	Danzer.	
05/07/20 Lewis, Patrick T.	475.00	0.90	427.50
Prepare for and participate in call with Mr. Klein and	I Mr. Bash regard	ing unclaimed	funds issues.
05/19/20 Lewis, Patrick T.	475.00	0.90	427.50
Review and analyze claim transfer issues.			
05/19/20 Lewis, Patrick T.	475.00	0.30	142.50
Prepare recommendation for Mr. Klein and Mr. Bas	h regarding Danz	er claim.	
05/26/20 Lewis, Patrick T.	475.00	0.30	142.50
Initial discussion with local counsel to file objection	for Danzer.		
05/28/20 Lewis, Patrick T.	475.00	0.80	380.00
Review loan documents for Danzer loan for purpose	es of developing a	arguments to s	ecure unclaimed funds.
05/28/20 Lewis, Patrick T.	475.00	0.30	142.50
Telephone conference with Mr. Lyons regarding Da	nzer claim.		
05/28/20 Lewis, Patrick T.	475.00	0.30	142.50
Confer with Mr. Klein regarding research needs for	Danzer claim.		
05/29/20 Lewis, Patrick T.	475.00	0.40	190.00
Brief Mr. Bash on Danzer claim and recommended	approach to reco	very of funds.	
05/29/20 Lewis, Patrick T.	475.00	0.30	142.50
Further follow-up regarding documents to support the	ne Danzer claim.		
05/29/20 Lowe, Sonia K.	245.00	0.50	122.50
Request for UCC financing statement search for Da	nzer Industries in	Delaware and	d Maryland.
Baker&Hostetler LLP			
Atlanta Chicago Cincinnati Clovelan	d Columbus	Costa Masa 🛛 🛛	allas Donvor

05/29/20 Lyons, Jeffrey J. Review local rules regarding applications for releas	440.00 e of unclaimed fu	0.20 nds and ema	88.00 ail correspondence with Mr.
Patrick Lewis regarding same.			
05/29/20 Lyons, Jeffrey J.	440.00	0.20	88.00
Review application for release of unclaimed funds a	and hearing calen	dar for same	9.
05/30/20 Lewis, Patrick T.	475.00	0.40	190.00
Review further documents provided by Mr. Klein an	d identify additior	al needs.	
06/01/20 Lewis, Patrick T.	475.00	0.30	142.50
Confer with Mr. Klein regarding Danzer claim.			
06/01/20 Lewis, Patrick T.	475.00	1.00	475.00
Review of documents relative to Danzer claim.			
06/01/20 Szalay, Sarah M.	235.00	0.50	117.50
Search for loan documents pertaining to Danzer an	d forward results	to Mr. Patric	k Lewis per his request.
06/02/20 Lewis, Patrick T.	475.00	4.00	1,900.00
Draft objection to Danzer claim for unclaimed funds	and to transfer o	f claim.	
06/02/20 Lewis, Patrick T.	475.00	1.20	570.00
Legal research on miscellaneous topics to support	object to Danzer	claim.	
06/02/20 Lewis, Patrick T.	475.00	0.40	190.00
Telephone conference with Mr. Klein concerning his	s declaration rega	Irding Danze	er.
06/02/20 Lewis, Patrick T.	475.00	1.00	475.00
Draft and revise Mr. Klein's declaration concerning	the Danzer claim	objection.	
06/03/20 Lewis, Patrick T.	475.00	2.40	1,140.00
Work to finalize objection to Danzer claim.			
06/03/20 Lyons, Jeffrey J.	440.00	0.20	88.00
Telephone call with Mr. Patrick Lewis regarding fina	al draft of objectio	n.	
06/03/20 Lyons, Jeffrey J.	440.00	2.60	1,144.00
Review and edit draft objection regarding Danzer m			
06/03/20 Lyons, Jeffrey J.	440.00	0.50	220.00
Finalize objection and supporting documents in Da			
06/03/20 Lyons, Jeffrey J.	440.00	0.80	352.00
Draft proposed order and certificate of service in Da			
06/03/20 Lyons, Jeffrey J.	440.00	0.20	88.00
Coordinate physical service of objections with mail	room and adminis	strative assis	stant.

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 79 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: Invoice Number: Matter Number:	09/28/20 50809379 042188.000001 Page 64
06/05/20 Lewis, Patrick T. 475.00	0.40 1	90.00
Review strategy for collection of unclaimed funds matters.		
06/08/20 Lewis, Patrick T. 475.00		90.00
Follow-up with Mr. Lyons regarding motion to pay unclaimed f		
06/08/20 Lyons, Jeffrey J. 440.00		88.00
Review notification of filing of withdraw of transfer by Dilks and	d forward same to Mr. Pa	trick Lewis.
06/08/20 Lyons, Jeffrey J. 440.00		44.00
Email to Mr. Patrick Lewis regarding status of motion to pay u	nclaimed funds.	
06/08/20 Lyons, Jeffrey J. 440.00		88.00
Provide Mr. Patrick Lewis relevant local forms for filing notice unclaimed funds.	of transfer and applicatio	n for payment of
06/09/20 Lyons, Jeffrey J. 440.00	0.20	88.00
Email to Mr. Patrick Lewis regarding content and procedure for payment of unclaimed funds.	or filing transfer of claim a	and application for
06/10/20 Lewis, Patrick T. 475.00	1.00 4	75.00
Draft assignment of claim addendum for Danzer.		
06/10/20 Lyons, Jeffrey J. 440.00	0.20	88.00
Review notification and document regarding Dilks & Knopik's for release of unclaimed funds.	certification of no objection	on to the application
06/10/20 Lyons, Jeffrey J. 440.00	0.40 1	76.00
Review docket and local rules regarding deadlines for filing ob regarding same.	pjections and email to Mr.	. Patrick Lewis
06/10/20 Lyons, Jeffrey J. 440.00	0.80 3	52.00
Finalize letter to the Court regarding the erroneous certificatio	n of no objection.	
06/10/20 Lyons, Jeffrey J. 440.00	0.10	44.00
Email to Mr. Patrick Lewis regarding Dilks & Knopik's commur for unclaimed funds.	nication regarding its with	drawal of application
06/11/20 Lewis, Patrick T. 475.00 Confer with Mr. Lyons regarding claim transfer.	0.20	95.00
06/11/20 Lewis, Patrick T. 475.00 Correspond with Mr. Bash concerning Danzer claim.	0.20	95.00
		RE 00
06/11/20Lewis, Patrick T.475.00Work on claim transfer documents for Danzer.	0.60 28	85.00
06/11/20 Lyons, Jeffrey J. 440.00	0.20	88.00
Email to Mr. Patrick Lewis regarding draft of claim transfer do	cuments.	

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Philadelphia Houston Los Angeles New York Orlando San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 80 of 197

(	06/11/20	Lyons, Jeffrey J.	440.00	0.40	176.00
	Draft do	ocuments relating to application for payment of	of unclaimed fund	S.	
(	06/11/20	Lyons, Jeffrey J.	440.00	0.40	176.00
	Review	documents relating to claim transfer.			
(	06/12/20	Lewis, Patrick T.	475.00	2.40	1,140.00
	Finalize	e the transfer of claim and motion to pay uncla	aimed funds for D	anzer.	
(	06/12/20	Lyons, Jeffrey J.	440.00	0.30	132.00
	Email to	o Mr. Patrick Lewis regarding requirements for	or filing application	for payment	of unclaimed funds.
(	06/12/20	Lyons, Jeffrey J.	440.00	2.30	1,012.00
	Finalize	e documents relating to application for payme	nt of unclaimed fu	inds.	
(	06/12/20	Lyons, Jeffrey J.	440.00	1.80	792.00
	Finalize	e transfer of claim document.			
(	06/12/20	Lyons, Jeffrey J.	440.00	0.20	88.00
	Email to	o Mr. Patrick Lewis regarding documents for a	application for pay	ment of uncl	aimed funds.
(	06/12/20	Lyons, Jeffrey J.	440.00	0.10	44.00
	Coordir	nate service of transfer of claim documents.			
(	06/12/20	Lyons, Jeffrey J.	440.00	0.60	264.00
	Finalize	e documents for application for payment of un	claimed funds.		
(	06/15/20	Lyons, Jeffrey J.	440.00	0.20	88.00
		withdrawal of application for payment of unc Patrick Lewis.	laimed funds filed	by Dilks & K	nopik and forward same
(	06/16/20	Lewis, Patrick T.	475.00	0.20	95.00
	Follow-	up with Mr. Lyons regarding Danzer Tool ma	tter.		
(	06/16/20	Lewis, Patrick T.	475.00	0.10	47.50
	Follow-	up with Mr. Bash regarding Danzer Tool clair	n.		
(	06/16/20	Lyons, Jeffrey J.	440.00	0.20	88.00
		o Judge Walrath's judicial assistant requesting tion for payment of unclaimed funds.	g status update or	n hearing on	Dilks & Knopik's
(	06/16/20	Lyons, Jeffrey J.	440.00	0.20	88.00
	•	one call to chambers regarding proposed hea nd status of hearing on Dilks & Knopik's appl	•	•	yment of unclaimed
(	06/17/20	Lyons, Jeffrey J.	440.00	0.60	264.00
	Finalize	application for payment of unclaimed funds.			

Finalize application for payment of unclaimed funds.

### Baker&Hostetler LLP

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 81 of 197

06/17/20 Lyons, Jeffrey J. Review hearing calendar to confirm cancellation o funds.	440.00 f hearing on Dilks	0.20 application for	88.00 payment of unclaimed
06/17/20 Lyons, Jeffrey J. Email to mail room regarding sending unredacted	440.00 document to the ju	0.10 udge.	44.00
06/18/20 Lyons, Jeffrey J. Review certificate of mailing regarding the transfer	440.00 of claim.	0.10	44.00
06/21/20 Lyons, Jeffrey J. Review notice of filing of application for unclaimed	440.00 funds.	0.10	44.00
06/24/20 Lewis, Patrick T. Review filings in Mobile Tool / Danzer claim.	475.00	0.20	95.00
07/14/20 Lewis, Patrick T. Confer with Mr. Lyons regarding status of Danzer	475.00 Tool claim.	0.20	95.00
07/14/20 Lyons, Jeffrey J. Draft certificate of no objection for application for p Patrick Lewis for review.	440.00 payment of unclain	0.30 ned funds and f	132.00 forward same to Mr.
07/15/20 Lewis, Patrick T. Review order approving disbursement of unclaime	475.00 d Mobile Tool fun	0.20 ds to the truste	95.00 e.
07/15/20 Lyons, Jeffrey J. Email correspondence with Judge Walrath's deput release of unclaimed funds.	440.00 y regarding propo	0.30 sed form of orc	132.00 ler for application for
07/17/20 Lewis, Patrick T. Review and comment on Trustee's Annual Report	475.00 sections concerni	0.40 ng default judg	190.00 ments.
07/20/20 Lewis, Patrick T. Correspond with team regarding default judgment	475.00 items on the trust	0.10 ee's report.	47.50
08/04/20 Lyons, Jeffrey J. Review docket regarding any entry relating to distr regarding same.	440.00 ibution of funds by	0.20 / Clerk and em	88.00 ail Mr. Patrick Lewis
08/05/20 Lewis, Patrick T. Confer with Mr. Lyons regarding Napier Tool payo	475.00 ut status.	0.10	47.50
08/05/20 Lyons, Jeffrey J. Review email correspondence from Mr. Bash and from bankruptcy clerk.	440.00 Mr. Patrick Lewis	0.10 regarding statu	44.00 is of receipt of check
08/18/20 Lewis, Patrick T. Conference with Mr. Lyons regarding unclaimed fu	475.00 Inds from Danzer.	0.10	47.50
Baker Hostetler LLD			

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 82 of 197

Trustee in	Bankruptcy	for Fair	Finance	Company

Atlanta

Houston

Chicago

10-50494-jps Doc 2637 FILED 10/14/20

Los Angeles

Cincinnati

New York

Cleveland

Orlando

Columbus

Philadelphia

Costa Mesa

San Francisco

ENTERED 10/14/20 08:40:54

Dallas

Seattle

Denver

Page 83 of 197

Washington, DC

08/18/20 Lyons, Jeffrey J. 440.00 0.20 88.00 Telephone call to Delaware Bankruptcy Court Clerk regarding distribution of unclaimed funds and email N Patrick Lewis regarding same.	∕lr.
08/19/20 Lyons, Jeffrey J. 440.00 0.10 44.00	
Email correspondence with Mr. Bash regarding report of distribution.	
Collections On Default Judgments(B200) 43.90 20,049.00	
09/03/19 Brogan, Mary P. 275.00 3.90 1,072.50 Revise motion in limine to preclude evidence of non-prosecution of Textron.	
09/03/19 Holbrook, Scott C. 580.00 0.90 522.00	
Discuss case issues with Messrs. Warren and Bash (.9); correspondence with opposing counsel regardin case issues (.1).	ıg
09/03/19 Kavouras, Daniel M. 365.00 0.70 255.50 Review and revise motions in limine.	
09/03/19 Szalay, Sarah M. 225.00 0.20 45.00	
Access and obtain pleadings and related materials at the request of Mr. Bash.	
09/03/19 VanNiel, Michael A. 615.00 1.70 1,045.50	
Correspondence with Ms. Brogan regarding criminal proceedings (.2); telephone conference with Mr. Warren regarding motions in limine (.5); review and analyze criminal proceeding materials to respond to inquiry regarding same (.5); review correspondence with opposing counsel regarding proposed conference call to discuss case (.1); review draft of select motion in limine received from Ms. Brogan (.4).	ce
09/03/19 Warren, Daniel R. 830.00 0.50 415.00	
Review correspondence regarding motion in limine to be filed with the District Court.	
09/04/19 Brogan, Mary P. 275.00 1.40 385.00	
Participate in trial team strategy meeting with Messrs. Warren, Bash, VanNiel, and Kavouras regarding motion in limine and trial preparation.	
09/04/19 Kavouras, Daniel M. 365.00 3.80 1,387.00	
Draft motion in limine to exclude evidence of attorneys' fees incurred by Trustee.	
09/04/19 Kavouras, Daniel M. 365.00 1.00 365.00 Attend trial team meeting to discuss trial preparation and motions in limine.	
09/04/19 McDonald, Michael H. 230.00 0.90 207.00	
Prepare Textron deposition transcripts and exhibits for Magnum review database in connection with trial preparation.	
09/04/19VanNiel, Michael A.615.002.001,230.00Correspondence with working group regarding memoranda relating to recovery issues (.5); attend team meeting regarding trial preparation and motions in limine (1.5).	
Baker&HostetlerLLP	

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: 09/28/20 Invoice Number: 50809379 Matter Number: 042188.000001 Page 68
09/04/19 Warren, Daniel R. 830. Review and comment on draft motions in limine.	00 1.50 1,245.00
09/05/19 Brogan, Mary P. 275. Attend meeting with Mr. Warren to review edits to motion i of Textron.	
09/05/19 Holbrook, Scott C. 580. Review and address issues relating to trial preparation.	00 0.30 174.00
09/05/19 Kavouras, Daniel M. 365. Draft and revise motions in limine for filing in advance of T	
09/05/19McDonald, Michael H.230.Coordinate review of transcripts in Magnum database.	00 0.20 46.00
09/05/19 Warren, Daniel R. 830. Review and comment on motion in limine regarding non-p	
09/06/19 Brogan, Mary P. 275. Coordinate with trial team regarding upcoming strategy me	
09/06/19 Kavouras, Daniel M. 365. Analyze expert reports and testimony related to expert with	
09/09/19 Brogan, Mary P. 275. Discuss trial bifurcation with Mr. Warren and email memor	
09/09/19 Kavouras, Daniel M. 365. Review and analyze issues raised in letter requesting experto bifurcate trial.	
09/09/19Szalay, Sarah M.225.Access and obtain recently filed pleadings and forward to	
09/09/19 VanNiel, Michael A. 615. Review letter submission from Textron regarding bifurcation regarding response to same (.3); review memoranda regarding	on (.2); attend meetings with working group
09/09/19 Warren, Daniel R. 830. Review and analyze bifurcation issues and strategy regard	
09/10/19Kavouras, Daniel M.365.Analyze bifurcation issue relating to letter seeking to expendence	
09/10/19 Kavouras, Daniel M. 365. Draft response letter to court regarding expediting briefing and to bifurcate trial.	00 2.40 876.00

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 84 of 197

09/10/19 Szalay, Sarah M.	225.00	0.20	45.00	
Access and obtain pleadings and related materials	at the request of	Mr. Holbroo	k and Mr. Warren.	
09/10/19 VanNiel, Michael A.	615.00	0.90	553.50	
Review correspondence regarding bifurcation issu same and open trial preparation matters (.5); telep response to Textron letter submission (.1).				
09/10/19 Warren, Daniel R.	830.00	1.50	1,245.00	
Review and analyze trial bifurcation issues.				
09/11/19 Brogan, Mary P.	275.00	1.30	357.50	
Review and comment on select sections of draft le bifurcation of trial.	tter to Judge Gau	ghan regard	ling Textron request f	or
09/11/19 Kavouras, Daniel M.	365.00	0.60	219.00	
Revise response letter to court regarding expediting	ig briefing of certa	in motions.		
09/11/19 Szalay, Sarah M.	225.00	0.10	22.50	
Access and obtain pleadings and related materials	at the request of	Mr. Warren		
09/11/19 Szalay, Sarah M.	225.00	0.20	45.00	
Prepare letter to Judge Gaughan for electronic filin	ig with court at the	e request of	Mr. Warren.	
09/11/19 VanNiel, Michael A.	615.00	0.80	492.00	
Review draft letter response regarding bifurcation regarding same (.3); correspondence with working	. ,	•		•
09/11/19 Warren, Daniel R.	830.00	3.50	2,905.00	
Review and analyze strategy regarding bifurcation	and motion in lim	ine issues.		
09/12/19 Brogan, Mary P.	275.00	1.10	302.50	
Attend meeting with trial team regarding motions in	n limine.			
09/12/19 Holbrook, Scott C.	580.00	0.20	116.00	
Review and address select open trial issues.				
09/12/19 Kavouras, Daniel M.	365.00	1.00	365.00	
Review and analyze trial preparation issues in ligh	t of scheduling or	ders entered	by Court.	
09/12/19 Kavouras, Daniel M.	365.00	2.10	766.50	
Review and revise draft motion in limine regarding	Textron expert.			
09/12/19 VanNiel, Michael A.	615.00	1.00	615.00	
Prepare for (.5) and attend (.5) motion in limine tea	am meeting.			
09/12/19 Warren, Daniel R.	830.00	2.50	2,075.00	
Review and address issues regarding trial prepara	tion and strategy.			

Houston	Atlanta Lo		Cincinnati New York		l Columbus Philadelphia	s Costa Mesa San Francisco	Dallas Seattle	Denver Washington, DC
10-50494	-jps	Doc 2637	FILED 1	0/14/20	ENTERED	10/14/20 08:40	):54 Pa	age 85 of 197

09/16/19	Brogan, Mary P.	275.00	4.30	1,182.50
Revise	e motion in limine to preclude evidence of non	-prosecution of Te	extron.	
09/16/19	Holbrook, Scott C.	580.00	0.40	232.00
Attend	meeting with Mr. Warren regarding select tria	al presentation iss	ues.	
09/16/19	Szalay, Sarah M.	225.00	0.10	22.50
Access	s and obtain recently filed pleadings and forwa	ard to internal tea	m.	
09/16/19	VanNiel, Michael A.	615.00	0.10	61.50
Reviev	v court ruling regarding Textron letter motion t	to revise schedule	<b>)</b> .	
09/17/19	Brogan, Mary P.	275.00	0.80	220.00
Meet v with sa	vith Mr. Warren and Mr. Kavouras to discuss l ame.	bifurcation argume	ents and rese	earch tasks associated
09/17/19	Kavouras, Daniel M.	365.00	0.60	219.00
Reviev	v and analyze trial preparation issues.			
09/17/19	Kavouras, Daniel M.	365.00	1.60	584.00
Revise	e draft motions in limine regarding non=prosec	cution of Textron a	and Trustee's	s attorney fees.
09/18/19	Brogan, Mary P.	275.00	2.30	632.50
•	e for (.3) and attend (2.0) meeting to discuss VanNiel, and Kavouras.	trial preparation a	ind strategy v	with Messrs. Warren,
09/18/19	Kavouras, Daniel M.	365.00	2.30	839.50
Reviev	v and analyze various trial strategy issues, inc	cluding motions in	limine and w	vitness identification.
09/18/19	Kavouras, Daniel M.	365.00	2.70	985.50
Draft n	notions in limine to exclude Textron expert wit	nesses for use in	connection v	with trial.
09/18/19	VanNiel, Michael A.	615.00	3.30	2,029.50
	e for (1.0) and attend (2.0) working group me s; review draft motion in limine received from			ne and trial preparation
09/19/19	Warren, Daniel R.	830.00	2.00	1,660.00
Reviev	v and address trial preparation and witness te	stimony issues.		
09/20/19	Brogan, Mary P.	275.00	0.50	137.50
Reviev	v and analyze select issues regarding motion	to bifurcate Textre	on trial.	
09/20/19	Warren, Daniel R.	830.00	1.00	830.00
Reviev	v and analyze issues regarding Textron's mot	ion to bifurcate tri	al.	
09/21/19	Holbrook, Scott C.	580.00	0.30	174.00
Reviev	v and comment on Textron's motion to bifurca	te trial and argum	ents in oppo	sition to same.

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 86 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: 09/28/20 Invoice Number: 50809379 Matter Number: 042188.000001 Page 71
09/22/19 Brogan, Mary P. 275.00 Review Mr. Warren's comments on Textron's bifurcation moti	0.20 55.00
09/22/19 Warren, Daniel R. 830.00 Follow-up analysis regarding issues raised by Textron's bifure	1.00 830.00
09/24/19 Szalay, Sarah M. 225.00 Index pleadings and correspondence and forward same to Re	1.40 315.00 ecords.
09/24/19 VanNiel, Michael A. 615.00 Review and analyze materials regarding bifurcation and motion team meetings (2.0).	3.00 1,845.00 ons in limine (1.0); prepare for upcoming trial
09/25/19 Brogan, Mary P. 275.00 Research case law regarding equitable principles and applica arguments raised by Textron.	3.90 1,072.50 ation of the unclean hands doctrine to equitable
09/25/19 VanNiel, Michael A. 615.00 Prepare for trial team meeting regarding trial preparations and	2.00 1,230.00 d motions in limine.
09/26/19 VanNiel, Michael A. 615.00 Attend meeting with Mr. Warren regarding trial and motion in	1.00 615.00 limine matters.
09/27/19Brogan, Mary P.275.00Attend trial strategy meeting.	3.00 825.00
09/27/19 Hogan, Thomas E. 785.00 Confer with Mr. VanNiel regarding video deposition use trial s	0.50 392.50 strategy.
09/27/19 Kavouras, Daniel M. 365.00 Research for motions in limine relating to Textron's proposed	2.70 985.50 expert witnesses.
09/27/19 Kavouras, Daniel M. 365.00 Draft and revise motions in limine relating to Textron's experts	3.70 1,350.50 s for trial.
09/27/19 Kavouras, Daniel M. 365.00 Review and analyze various trial strategy issues, including ide	2.50 912.50 entification of witness testimony and exhibits.
09/27/19 Keteltas, Gilbert S. 890.00 Confer with M. VanNiel regarding trial video designations stra	0.60 534.00 ategy.
09/27/19 Proano, David F. 455.00 Review research on potential motion relating to the video dep	0.50 227.50 oositions of fact witnesses for the Textron trial.
09/27/19VanNiel, Michael A.615.00Attend conference call with litigation team regarding video de and attend (1.5) working group meeting regarding same and	

#### Baker&HostetlerLLP

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 87 of 197

Trustee in Bankruptcy for	Fair Finance Company
---------------------------	----------------------

09/27/19	Warren, Daniel R.	830.00	2.50	2,075.00
Work o	on trial preparation and motions in limine for fil	ling with Court.		
09/30/19	Kavouras, Daniel M.	365.00	2.50	912.50
Review	v expert report and testimony for motion in lim	nine to exclude sa	me at trial.	
09/30/19	Kavouras, Daniel M.	365.00	3.40	1,241.00
Draft m	notion in limine regarding expert testimony of	Mr. Solimine.		
09/30/19	Proano, David F.	455.00	2.20	1,001.00
video d	v and analyze research and cases relating to depositions at the Textron trial (1.8); prepare s tions at the Textron trial (.4).			
10/01/19	Brogan, Mary P.	275.00	3.10	852.50
	rch pertinent authority regarding equitable prin not limit Trustee's recovery from Textron.	nciples to support	argument tl	hat equitable discretion
10/01/19	Calanni, Anthony S.	265.00	1.00	265.00
	ide research regarding expert opinions be exc dependent analysis.	cluded via motion	in limine wh	ere expert did not perform
10/01/19	Calanni, Anthony S.	265.00	2.10	556.50
•	e summary of cases in which expert testimon ndent analysis.	y was excluded b	ecause exp	ert did not conduct
10/01/19	Kavouras, Daniel M.	365.00	7.40	2,701.00
Draft a	nd revise motion to exclude expert testimony	of Textron expert	S.	
10/01/19	Kavouras, Daniel M.	365.00	1.20	438.00
Resea	rch for motions in limine to exclude Textron ex	xperts.		
10/01/19	Kavouras, Daniel M.	365.00	0.80	292.00
Analyz	e strategy for motions in limine to exclude Te	xtron experts.		
10/01/19	Warren, Daniel R.	830.00	2.00	1,660.00
Review	v and address trial preparation matters and is	sues relating to a	nticipated m	otions in limine.
10/02/19	Calanni, Anthony S.	265.00	1.30	344.50
Follow	-up research regarding bases to exclude Text	tron's expert opini	ons.	
10/02/19	Kavouras, Daniel M.	365.00	7.70	2,810.50
Draft, r	eview and revise motion in limine to exclude	expert of Textron		
10/03/19	Kavouras, Daniel M.	365.00	2.20	803.00
Analyz	e potential motion in limine to exclude additio	nal Textron expe	t.	
10/03/19	Warren, Daniel R.	830.00	1.00	830.00
Review	v and analyze motions in limine drafts.			

Houston	Atlanta Lo		Cincinnati New York			Costa Mesa San Francisco	Dallas Seattle	Denver Washington, DC
10-50494	-jps	Doc 2637	FILED 1	0/14/20 E	ENTERED	10/14/20 08:40	:54 Pa	ge 88 of 197

10/04/19 Kavouras, Daniel M.	365.00	1.60	584.00
Review expert transcript in connection with possib	le motion in limine	e to exclude	trial testimony.
10/04/19 Warren, Daniel R.	830.00	0.50	415.00
Review and analyze motions in limine to be filed w	lith Court.		
10/07/19 Brogan, Mary P.	275.00	0.10	27.50
Review email from Mr. VanNiel regarding messag designations.	e to opposing cou	insel about s	scheduling and deposition
10/07/19 Holbrook, Scott C.	580.00	3.30	1,914.00
Discuss case issues with Mr. Warren (1.0); prepar trial testimony (1.0).	e for trial (1.3); te	lephone call	Is with investors for possible
10/07/19 Kavouras, Daniel M.	365.00	1.20	438.00
Research regarding admissibility of expert testimo	ny relating to lega	al issues.	
10/07/19 VanNiel, Michael A.	615.00	4.50	2,767.50
Review and analyze issues regarding possible mo correspondence with Mr. Calanni regarding results authority regarding possible motion in limine to ex- motion in limine regarding legal fees (.9).	tion in limine to e s of research rega	xclude Texti arding same	ron expert (2.5); (.2); review pertinent
10/08/19 Brogan, Mary P.	275.00	2.90	797.50
Attend trial meeting with Textron trial team regardi evidence dated after 2004.	ng response to T	extron motic	on in limine regarding
10/08/19 Calanni, Anthony S.	265.00	0.30	79.50
Attend meeting with Mr. VanNiel regarding researd anticipated motion in limine to exclude post-Janua		n arguments	in opposition to Textron's
10/08/19 Calanni, Anthony S.	265.00	4.10	1,086.50
Research regarding Textron's continuous course on to establishing Textron's bad faith in connection w			ary 2004 as being relevant
10/08/19 Calanni, Anthony S.	265.00	2.00	530.00
Continue research regarding Textron's continuous relevant to establishing Textron's earlier bad faith.		ith conduct p	oost-January 2004 as being
10/08/19 Holbrook, Scott C.	580.00	4.40	2,552.00
Attend team meeting regarding trial preparation ar strategy and action items (.9); prepare for trial (.5) regarding same (.3).		. ,	• •
10/08/19 Kavouras, Daniel M.	365.00	2.80	1,022.00
Review and analyze strategy for trial and motions	in limine to be file	ed with Cour	t.
10/08/19 Szalay, Sarah M.	225.00	0.80	180.00
Index pleadings and correspondence and forward			
Baker&HostetlerLLP			

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 89 of 197

10/08/19 VanNiel, Michael A.	615.00 5.10 3,136.50						
Prepare for (.5) and attend (2.5) trial team meeting regarding motions in limine and trial preparation activities; correspondence with working group regarding same (.1); review and analyze issues regarding motions in limine relating to Textron experts (2.0).							
10/08/19 Warren, Daniel R.	830.00 2.00 1,660.00						
Review and address trial preparation matte	ers.						
10/09/19 Brogan, Mary P.	275.00 0.10 27.50						
Review emails regarding course of conduct exclude later bad conduct at trial.	t research for use in brief in opposition to Textron's motion to						
10/09/19 Calanni, Anthony S.	265.00 2.50 662.50						
Continue research regarding Textron's cor to showing Textron's earlier bad faith.	ntinuous course of bad faith conduct post-2004 as being relevan	ıt					
10/09/19 Calanni, Anthony S.	265.00 3.80 1,007.00						
Prepare summary analysis of case law rec conduct post-January 2004 is probative to	arding argument that Textron's continuous course of bad faith whether it had earlier acted in bad faith.						
10/09/19 Holbrook, Scott C.	580.00 1.10 638.00						
	g regarding trial issues (.7); correspondence with litigation team with Mr. Warren regarding case issues (.3).	1					
10/09/19 Proano, David F.	455.00 0.50 227.50						
Strategy discussions with Messrs. VanNie	and Holbrook regarding trial evidence.						
10/09/19 VanNiel, Michael A.	615.00 5.80 3,567.00						
regarding possible additional motion in lim possible inclusion in responses to Textron	xpert (2.5); attend meeting with Messrs. Proano and Holbrook ine regarding trial matters (.5); review pertinent authority for motions in limine (1.0); correspondence with Mr. Calanni dditional issues regarding possible motion in limine regarding						
10/09/19 Warren, Daniel R.	830.00 2.50 2,075.00						
Review and analyze current drafts of motion	ons in limine to be filed with Court.						
10/10/19 Brogan, Mary P.	275.00 0.20 55.00						
Review research summary from Mr. Calan Textron.	ni for incorporation into brief regarding post-2004 misconduct of	f					
10/10/19 Calanni, Anthony S.	265.00 4.00 1,060.00						
Follow-up research regarding relevance of comments from trial team.	Textron's bad faith conduct post-January 2004 in light f						
10/10/19 Holbrook, Scott C.	580.00 1.40 812.00						
Discuss case issues with Mr. Warren (.3);	review and comment of draft motions in limine (1.1).						

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 90 of 197

10/10/19 VanNiel, Michael A.	615.00	3.70	2,275.50
Correspondence with working group regarding connection with same (1.5); review and finalize (2.0).			
10/10/19 Warren, Daniel R.	830.00	2.00	1,660.00
Review and analyze motions in limine (1.0); re-	view and address tria	I preparatio	n matters (1.0).
10/11/19 Calanni, Anthony S. Follow-up research regarding relevance of Tex	265.00 tron's post-2004 bad	4.80 faith at trial	1,272.00
10/11/19 Kavouras, Daniel M.	365.00	1.70	620.50
Review and analyze issues regarding admissib exclude same.	pility of select Textron	expert testi	mony for motion in limine to
10/11/19 Szalay, Sarah M.	225.00	0.80	180.00
Assemble pleadings and correspondence for p	otential use at trial.		
10/11/19 VanNiel, Michael A.	615.00	1.70	1,045.50
Attend meeting with Mr. Warren regarding resp Warren regarding arguments for inclusion in sa		otion (1.5);	review summary from Mr.
10/11/19 Warren, Daniel R.	830.00	3.00	2,490.00
Review and analyze motions in limine and bifu preparation issues (1.0).	rcation response brie	f (2.0); revie	ew and address select trial
10/13/19 Warren, Daniel R.	830.00	1.00	830.00
Review and analyze updated drafts of motions	in limine.		
10/14/19 Asmann, Paige R.	200.00	2.00	400.00
Research and review of select issues for use in	n expert motion in lim	ine.	
10/14/19 Calanni, Anthony S.	265.00	0.50	132.50
Supplemental research of discrete issues rega	rding Textron's post-2	2004 bad fa	ith.
10/14/19 Kavouras, Daniel M.	365.00	1.90	693.50
Analyze bifurcation arguments for response to	motion to bifurcate.		
10/14/19 VanNiel, Michael A.	615.00	0.60	369.00
Review and address expert issues (.3); corresp	oondence with workin	g group reg	arding trial issues (.3).
10/14/19 Warren, Daniel R.	830.00	3.50	2,905.00
Review and comment on draft motions in limine	e for filing with Court.		
10/15/19 Brogan, Mary P.	275.00	3.80	1,045.00
Review and analyze arguments regarding adm effort to exclude same.	issibility of post-2004	evidence a	t trial in light of Textron's

Houston	Atlanta Lo		Cincinnati New York	 Columbus Philadelphia	Costa Mesa San Francisco	Dallas Seattle	Denver Washington, DC
10-50494		0	FILED 1		10/14/20 08:40		0

Trustee in Bankruptcy for Fair Finance (	Company
--	---------

Draft, re	Holbrook, Scott C. view and revise select sections of motions ir	580.00 n limine (3.1); disc	3.80 uss case iss	2,204.00 ues and trial strategy with
Mr. War	ren (.7).			
	Kavouras, Daniel M. and revise latest drafts of motions in limine.	365.00	0.60	219.00
	Kavouras, Daniel M.	365.00	1.00	365.00
	nental research regarding issues relating to p	-		
	Szalay, Sarah M.	225.00	1.40	315.00
Assemb	le pleadings and correspondence for potenti			
	VanNiel, Michael A.	615.00	1.50	922.50
Review same.	and address demonstrative exhibit issues in	preparation for up	coming tear	m meetings to discuss
10/15/19	Warren, Daniel R.	830.00	4.00	3,320.00
Review	and analyze strategy regarding opening state	ement at trial.		
10/16/19	Brogan, Mary P.	275.00	2.40	660.00
Review	and analyze select authority regarding admis	ssibility of post-20	04 evidence	
10/16/19	Calanni, Anthony S.	265.00	2.50	662.50
Prepare	summary of additional authority regarding re s effort to exclude same.	elevance of Textro	on's post-200	04 conduct in light of
10/16/19	Holbrook, Scott C.	580.00	4.00	2,320.00
Review	and comment on drafts of all motions in limir	ne of Trustee for f	iling with Co	urt.
10/16/19	Kavouras, Daniel M.	365.00	1.60	584.00
	lect sections of motion in limine regarding ex			
10/16/19	Szalay, Sarah M.	225.00	0.30	67.50
	and obtain pleadings and related materials a			01100
10/16/19	Szalay, Sarah M.	225.00	1.20	270.00
	le pleadings and correspondence for potenti		1.20	270.00
			0.50	207 50
	VanNiel, Michael A.	615.00	0.50	307.50 d motion in limino filed by
	research summaries and case law regarding (.4); correspondence with working group reg			a motion in infine filed by
10/16/19	Warren, Daniel R.	830.00	4.00	3,320.00
Review	and comment on updated set of draft motion	s in limine (3.5); r	eview and a	nalyze trial strategy (.5).
10/17/19	Brogan, Mary P.	275.00	2.60	715.00
Attend ti (1.1.	rial preparation meeting with trial team (1.5);	review and revise	e equitable a	djustment memorandum
Delver				

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 92 of 197

Trustee in Bankruptcy for Fair Finance Company		Invoice Da Invoice Numb Matter Numb	er: 50809379
	580.00	5.00	2,900.00
Discuss case issues and trial strategy with Mr. Warren trial testimony (.1); correspondence with opposing cou and strategy (.1); draft motions in limine (.9); prepare f	insel regardin		
10/17/19 Kavouras, Daniel M.	365.00	3.40	1,241.00
Develop trial and pre-trial motion strategy, including po	otential witnes	sses.	
10/17/19 Szalay, Sarah M. 2	225.00	0.10	22.50
Access and obtain recently filed pleadings and forward	d to internal te	eam.	
10/17/19 Szalay, Sarah M. 2	225.00	1.30	292.50
Assemble pleadings and correspondence for potential	use at trial.		
10/17/19 VanNiel, Michael A.	615.00	6.20	3,813.00
Review and address trial preparation matters (1.2); pre- regarding motions in limine and demonstrative exhibit same (.2); review and analyze expert witness materials exclude Textron expert (.5); draft email to opposing co- matters (.3); review and analyze motion in limine filed	issues; corres s in connection ounsel regardi	spondence wi on with possib ing meet and	th working group regarding le motion in limine to confer relating to trial
10/17/19 Warren, Daniel R. 8	830.00	3.50	2,905.00
Review and analyze trial strategy (2.5); review and cor	mment on late	est drafts of m	notions in limine (1.0).
10/18/19 Holbrook, Scott C.	580.00	4.20	2,436.00
Draft and revise motions in limine (3.5); correspondence review Textron's motion to preclude post-January 6, 20 regarding trial (.2).			
10/18/19 Kavouras, Daniel M.	365.00	2.00	730.00
Review and analyze pertinent authority regarding bifur	rcation of trial		
10/18/19 Proano, David F. 4	455.00	0.50	227.50
Review issues privilege log documents review project (.1).	(.4); correspo	ond with Ms. E	Beachdell regarding same
10/18/19 Szalay, Sarah M. 2	225.00	0.40	90.00
Access and obtain pleadings and related materials at t	the request of	f Mr. Bash.	
10/18/19 Warren, Daniel R. 8	830.00	1.00	830.00
Review and analyze trial strategy.			
10/20/19 Holbrook, Scott C.	580.00	0.30	174.00
Review and comment on select sections of motions in	limine.		
10/20/19 Warren, Daniel R. 8 Review and comment on updated motions in limine.	830.00	1.50	1,245.00

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 Page 93 of 197 FILED 10/14/20 ENTERED 10/14/20 08:40:54

10/21/19	Holbrook, Scott C.	580.00	5.30	3,074.00					
Draft a	nd revise motions in limine (3.7); discuss brie	·	•••	Ar. Warren (1.6).					
	VanNiel, Michael A.	615.00	0.50	307.50					
	Compose and send email to Textron counsel regarding pre-trial matters (.4); correspondence and discussions with working group regarding same (.1).								
10/21/19	Warren, Daniel R.	830.00	3.00	2,490.00					
Strateg	ize regarding motions in limine and trial prepa	aration.							
10/22/19	Brogan, Mary P.	275.00	6.10	1,677.50					
	utline of opposition to Textron's motion to exc th to support Trustee's motion in limine to exc 5.1).								
10/22/19	Holbrook, Scott C.	580.00	7.30	4,234.00					
Review	and comment on multiple drafts of motions i	n limine to be filed	I with Court.						
10/22/19	Kavouras, Daniel M.	365.00	1.10	401.50					
	<ul> <li>Textron motion in limine regarding v-notehol ng same (.5).</li> </ul>	der investor testin	nony at trial	(.5); review issues					
10/22/19	Szalay, Sarah M.	225.00	0.20	45.00					
Access	and obtain pleadings and related materials a	at the request of N	lr. VanNiel.						
10/22/19	Szalay, Sarah M.	225.00	0.20	45.00					
Access	and obtain recently filed pleadings and forwa	ard to internal tear	n.						
10/22/19	Szalay, Sarah M.	225.00	1.80	405.00					
Assem	ble pleadings and correspondence for potenti	al use at trial.							
10/22/19	VanNiel, Michael A.	615.00	1.60	984.00					
	oondence with Ms. Brogan regarding upcomin ng V-Noteholder testimony and evidence (1.0								
10/22/19	Warren, Daniel R.	830.00	1.50	1,245.00					
Review	and analyze issues and strategy regarding t	rial preparation.							
10/23/19	Brogan, Mary P.	275.00	1.10	302.50					
Revise	outline for arguments in opposition to Textrol	n's motion to exclu	ude post-200	)4 evidence.					
10/23/19	Holbrook, Scott C.	580.00	5.10	2,958.00					
	nd revise motions in limine (3.5); discuss case y with Mr. VanNiel (.3); prepare for trial (.8).	e issues with Mr. \	Warren (.5);	discuss case issues and					
10/23/19	Kavouras, Daniel M.	365.00	2.50	912.50					
Revise motion in limine regarding exclusion of expert testimony of Mr. Solimine.									

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 94 of 197

Trustee in Bankruptcy for Fair Finance	Company
--	---------

10/23/19	VanNiel, Michael A.	615.00	3.00	1,845.00
in limin	one conference with Mr. Holbrook regarding r e issues regarding V-Noteholder evidence (1. ng response arguments relating to same (1.0	.5); telephone cor		
10/23/19 Review	Warren, Daniel R. and address motions in limine and trial prepa	830.00 aration matters.	1.50	1,245.00
10/24/19	Brogan, Mary P.	275.00	0.10	27.50
Review eviden	/ Mr. Holbrook's comments on outline of oppo ce.	sition to Textron's	motion in lir	nine to exclude post-2004
10/24/19	Echols, Margaret	265.00	3.00	795.00
Edit bri	efs and check citations in motions in limine fo	r filing with Court		
10/24/19	Holbrook, Scott C.	580.00	4.00	2,320.00
	pondence with litigation team regarding action (.4); review motions in limine and briefs in op			
10/24/19	Kavouras, Daniel M.	365.00	2.70	985.50
Revise	motion in limine regarding exclusion of exper	t testimony of Mr.	Solimine.	
10/24/19	Lazanich, Julia K.	220.00	1.40	308.00
Access	case law at the request of Mr. Holbrook.			
10/24/19	VanNiel, Michael A.	615.00	1.30	799.50
email fi	v correspondence and analysis regarding resp rom opposing counsel regarding pre-trial matt .4); telephone conference with interested part	ers (.3); correspo	ndence with	
10/24/19	Warren, Daniel R.	830.00	2.00	1,660.00
Prepar	e outline of possible trial witness order (1.0); ı	review and addres	ss motions ir	limine issues (1.0).
10/25/19	Holbrook, Scott C.	580.00	7.80	4,524.00
	meeting with Messrs. Warren and VanNiel re set of motions in limine and briefs in oppositi			
10/25/19	Kavouras, Daniel M.	365.00	1.50	547.50
Draft o	utline of arguments in opposition to Textron's	bifurcation reque	st.	
10/25/19	Kavouras, Daniel M.	365.00	3.10	1,131.50
Draft m	aster list of outstanding discovery topics and	potential requests	s to third par	ties.
10/25/19	Kavouras, Daniel M.	365.00	2.80	1,022.00
Draft de	ocument review protocol for priority review.			
10/25/19	Kavouras, Daniel M.	365.00	1.50	547.50
Draft bi	ifurcation opposition brief.			

Houston	Atlant L		Cincinnati New York	Cleveland Orlando	Columbus Philadelphia	Costa Mesa San Francisco	Dallas Seattle	Denver Washington, DC
10-50494	-jps	Doc 2637	FILED 1	0/14/20 I	ENTERED	10/14/20 08:40	:54 Pa	age 95 of 197

10/25/19 VanNiel, Michael A.	615.00	3.40	2,091.00				
Attend meetings with working group regarding motion in limine and trial preparation matters (1.3); review and comment on draft responses to motions in limine filed by Textron (2.0); review correspondence from Trustee regarding same (.1).							
10/25/19 Warren, Daniel R.	830.00	2.00	1,660.00				
Review and analyze strategic considerations rega	arding trial in witne	ss testimon	у.				
10/26/19 Holbrook, Scott C.	580.00	4.00	2,320.00				
Draft, review and revise motions in limine for filing	g with Court.						
10/26/19 Warren, Daniel R.	830.00	2.00	1,660.00				
Draft outline of opening trial statement (1.5); revie	ew and analyze opt	ions in limir	ne issues (.5).				
10/27/19 VanNiel, Michael A.	615.00	2.50	1,537.50				
Review and analyze pertinent authority regarding	brief in opposition	to V-Noteh	older evidence motion.				
10/28/19 Brogan, Mary P.	275.00	1.60	440.00				
Finalize motions in limine for filing with Court.							
10/28/19 Echols, Margaret	265.00	1.60	424.00				
Edit motions in limine and check citations in same	2.						
10/28/19 Holbrook, Scott C.	580.00	7.20	4,176.00				
Draft and revise motions in limine and briefs in op	position to Textror	n's motions	in limine.				
10/28/19 Kavouras, Daniel M.	365.00	1.20	438.00				
Analyze proposed edits to motions in limine and o	compile exhibits for	same.					
10/28/19 Kavouras, Daniel M.	365.00	1.70	620.50				
Analyze documents to provide to expert witnesse	s in connection wit	h trial prepa	aration.				
10/28/19 Kavouras, Daniel M.	365.00	2.20	803.00				
Revise list of additional discovery topics and prop	osed requests.						
10/28/19 VanNiel, Michael A.	615.00	3.10	1,906.50				
Review email from opposing counsel regarding pretrial matters (.1); telephone conference with Mr. Holbrook regarding same (.1); review and comment on final drafts of motions in limine of trustee for filing with court (1.5); correspondence with Mr. Holbrook regarding same (.4); review motions in limine filed by Textron (1.0).							
10/29/19 Brogan, Mary P.	275.00	3.30	907.50				
Draft brief in opposition to Textron's motion in lim	ine to exclude post	-2004 evide	ence.				
10/29/19 Echols, Margaret	265.00	0.10	26.50				
Check citations and edit brief for motion in limine regarding expert testimony.							

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 96 of 197

10/29/19	Holbrook, Scott C.	580.00	1.50	870.00
Telepho	one call with Mr. Warren regarding motions ir n's motions in limine (.5); correspondence with	limine oppositior	ns (.9); analy	ze briefs in opposition to
10/29/19 Draft oj	Kavouras, Daniel M. pposition to motion to bifurcate.	365.00	4.80	1,752.00
10/29/19 Access	Szalay, Sarah M. and obtain recently filed pleadings and forwa	225.00 ard to internal tea	0.30 m.	67.50
10/29/19 Review	VanNiel, Michael A. and analyze issues regarding response in o	615.00 pposition to motio	1.80 n to exclude	1,107.00 V-Noteholder evidence.
	Brogan, Mary P. nd revise brief in opposition to Textron's motio		6.90 clude post-2	1,897.50 2004 evidence.
10/30/19 Draft, re	Kavouras, Daniel M. eview and revise opposition to motion to bifur	365.00 rcate.	7.50	2,737.50
	VanNiel, Michael A. and analyze materials for possible use in co to V-Noteholder evidence.	615.00 nnection with brie	1.50 f in oppositio	922.50 on to motion in limine
10/31/19 Revise	Brogan, Mary P. draft of opposition to Textron's motion in limi	275.00 ne to preclude po	2.80 st-2004 evid	770.00 ence.
10/31/19 Review	Holbrook, Scott C. briefs in opposition to Textron's motions in li	580.00 mine.	3.50	2,030.00
	Lazanich, Julia K. case law cited in the draft brief and motion to	220.00 bifurcate at the i	1.60 request of M	352.00 r. Holbrook.
analyze review	VanNiel, Michael A. pondence with working group regarding demo e charts regarding same (.5); correspondence and analyze issues regarding brief in opposit ce (2.0).	e with opposing co	ounsel regard	ding pretrial matters (.1);
Review	Warren, Daniel R. / issues regarding bifurcation (1.0); review an n's motions in limine (1.0).	830.00 d analyze issues	2.00 to be addres	1,660.00 sed in opposition to
	Brogan, Mary P. rch and analyze case law regarding the proof e transfers.	275.00 needed for intent	1.50 in fraudulen	412.50 It transfer cases involving
11/01/19 Draft ar	Holbrook, Scott C. nd revise current version of briefs in oppositio	580.00 on to Textron's mo	9.80 otions in limir	5,684.00 ne.

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 97 of 197

Trustee in Bankruptcy for Fair Finance Company		Invoice Date: Invoice Number: Matter Number:	09/28/20 50809379 042188.000001 Page 82
11/01/19 Lazanich, Julia K.	220.00		374.00
Review motion for summary judgment (.7) and review			
11/01/19 Szalay, Sarah M.	225.00	0.20	45.00
Access and obtain pleadings and related materials at	•		
11/01/19 VanNiel, Michael A.	615.00		674.00
Correspondence with working group regarding motio meeting regarding trial graphics and demonstrative e limine team regarding pertinent authority for inclusior review and revise response in opposition to motion ir	xhibits; revie n in response	ew and respond to in es to Textron motion	nquiries from motions in is in limine (1.6); draft,
11/01/19 Warren, Daniel R. Further revisions to briefs relating to motions in limine	830.00 e.	2.50 2,	075.00
11/03/19 Holbrook, Scott C.	580.00	2.40 1,	392.00
Draft and revise briefs in opposition to motions in limit	ine.		
11/03/19 VanNiel, Michael A.	615.00	2.50 1,	537.50
Draft, review and revise response in opposition to Te review and analyze issues in connection with same (		to exclude V-Noter	nolder evidence (1.5);
11/04/19 Brogan, Mary P.	275.00	2.70	742.50
Research and analyze case law regarding trustee's b 2004 to 2007 period.	ourden to pro	ve intent for every t	ransfer made over the
11/04/19 Calanni, Anthony S.	265.00	6.50 1,	722.50
Research and compile fraudulent transfer case law reprint the court at trial.	egarding test	timony of victims of	Ponzi scheme was
11/04/19 Holbrook, Scott C.	580.00	6.80 3,	944.00
Telephone calls with litigation team regarding briefing opposition to Textron's motions in limine (6.6).	g issues (.2);	draft and revise mu	Iltiple briefs in
11/04/19 Lazanich, Julia K. Draft demonstrative exhibits for possible use at trial.	220.00	1.80	396.00
		0.00	100.00
11/04/19 Marshall, Amanda S. Research instances where victim of Ponzi scheme w	200.00 as permitted		460.00 I.
11/04/19 Marshall, Amanda S.	200.00	1.50	300.00
Research instances where victim of Ponzi scheme w	as permitted	to testify in civil tria	l.
11/04/19 Szalay, Sarah M. Assemble pleadings and correspondence for potentia	225.00 al use at trial		382.50

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 98 of 197

11/04/19	VanNiel, Michael A.	615.00	4.80	2,952.00						
Review and analyze pertinent authority for inclusion in brief in opposition to motion to exclude V-Noteholder evidence (2.0); correspondence with working group regarding same (.3); draft opposition brief regarding V-Noteholder evidence (2.5).										
11/04/19	Warren, Daniel R.	830.00	3.00	2,490.00						
Review	Review and revise responses to Textron's motions in limine.									
11/05/19	Brogan, Mary P.	275.00	6.80	1,870.00						
	rch and analyze argument that post-January ry fraudulent transfer.	2004 evidence is	relevant if T	rustee must show intent						
11/05/19	Calanni, Anthony S.	265.00	2.50	662.50						
	rch fraudulent transfer cases in which the tes ed by the court.	timony of victims	of fraud or a	Ponzi scheme is						
11/05/19	Fletcher, Adam L.	430.00	0.40	172.00						
	sions with Mr. VanNiel regarding assignment oceeding for motion in limine briefing.	to research issue	e regarding u	ise of victim testimony in						
11/05/19	Holbrook, Scott C.	580.00	8.90	5,162.00						
Draft a	nd revise multiple briefs in opposition to motion	ons in limine.								
11/05/19	Szalay, Sarah M.	225.00	1.80	405.00						
Access	and obtain pleadings and related materials a	at the request of N	/Ir. Calanni.							
11/05/19	VanNiel, Michael A.	615.00	7.80	4,797.00						
analyze	eview and revise opposition brief to motion to e issues regarding same (1.5); corresponden ence with Ms. Brogan regarding same (.1); re 1.5).	ce with working g	roup regardi	ng same (.2); telephone						
11/05/19	Warren, Daniel R.	830.00	2.50	2,075.00						
Review	and comment on responses to Textron's mo	otions in limine (2.	2); review is	sues regarding same (.3).						
11/06/19	Brogan, Mary P.	275.00	0.20	55.00						
Review	emails from Mr. Holbrook regarding cases r	equiring proof of i	ntent for eac	ch fraudulent transfer.						
11/06/19	Echols, Margaret	265.00	1.80	477.00						
Resear (.3).	rch issues regarding pending motions in limin	ie (1.5); summariz	e findings o	f same for Mr. Holbrook						
11/06/19	Fletcher, Adam L.	430.00	0.50	215.00						
Resear	rch case law regarding use of victim testimon	y in fraudulent tra	nsfer action.							
11/06/19	Holbrook, Scott C.	580.00	5.30	3,074.00						
Draft a	nd revise briefs in opposition to Textron's mo	tions in limine.								

Houston	Atlanta Lo	<b>J</b>	Cincinnati New York		Columbus Philadelphia	Costa Mesa San Francisco	Dallas Seattle	Denver Washington, DC
10-50494	-jps	Doc 2637	FILED 1	0/14/20 I	ENTERED	10/14/20 08:40	:54 Pa	ige 99 of 197

11/06/19	VanNiel, Michael A.	615.00	0.60	369.00
	and comment on select drafts of briefs in op bondence with working group regarding same		on motions ir	n limine (.4);
11/06/19	Warren, Daniel R.	830.00	4.00	3,320.00
Review	and comment on draft responses to Textror	n's multiple motior	ns in limine.	
11/07/19	Brogan, Mary P.	275.00	1.40	385.00
	e caselaw supporting argument that each inc s same and exhibits for motion in limine oppo			
11/07/19	Echols, Margaret	265.00	2.50	662.50
Resear	rch and review pertinent case law regarding e	extrinsic evidence	of novation.	
11/07/19	Fletcher, Adam L.	430.00	2.70	1,161.00
	sion with Mr. VanNiel regarding research on r action (.6); continue research regarding sar	•	ig use of vict	tim testimony in fraudulent
11/07/19	Holbrook, Scott C.	580.00	9.90	5,742.00
Draft a	nd revise briefs in opposition to Textron's mo	tions in limine an	d motion to b	pifurcate trial.
11/07/19	Lazanich, Julia K.	220.00	1.00	220.00
Work o	n demonstrative exhibits for use by trial tean	n at trial.		
11/07/19	Szalay, Sarah M.	225.00	0.60	135.00
Access	and obtain pleadings and related materials	at the request of I	Vr. Bash.	
11/07/19	VanNiel, Michael A.	615.00	3.40	2,091.00
	with revisions to select briefs in opposition to nt authority for possible inclusion in same (2.			
11/07/19	Warren, Daniel R.	830.00	5.00	4,150.00
	<i>i</i> and analyze issues regarding responses to ses in light of same (2.8).	motions in limine	(2.7); reviev	v and comment on
11/08/19	Brogan, Mary P.	275.00	3.60	990.00
Review limine.	and analyze pertinent documents for use as	s exhibits for brief	s in oppositio	on to Textron's motions in
11/08/19	Davis, Austin N.	265.00	3.20	848.00
Resear	rch and review authority for incorporation into	briefs in oppositi	on to motion	is in limine.
11/08/19	Echols, Margaret	265.00	1.60	424.00
	rch and review authority regarding extrinsic e lbrook of same (.3).	vidence to interpr	et loan conti	ract (1.3); email findings to
11/08/19	Fletcher, Adam L.	430.00	6.30	2,709.00
Resear	rch case law regarding use of victim testimor	iy in fraudulent tra	insfer action	
Baker	r&HostetlerLLP			

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 100 of 197

11/08/19 Holbrook, Scott C.	580.00	9.60	5,568.00
Draft and revise briefs in opposition to Textron's r	notions in limine a	and its motio	n to bifurcate trial.
11/08/19 Kavouras, Daniel M. Research for oppositions to motions in limine.	365.00	1.10	401.50
11/08/19 Szalay, Sarah M. Assemble pleadings and correspondence for pote	225.00 ential use at trial.	1.30	292.50
11/08/19 VanNiel, Michael A. Review and analyze pertinent authority for possib correspondence with working group regarding sar motions in limine (.9); review updated draft of brie evidence (.4).	me (.2); draft inse	erts for inclusi	ion in select briefs regarding
11/08/19 Warren, Daniel R.	830.00	3.00	2,490.00
Review and comment on latest drafts of multiple r	responses to Text	tron's motion	s in limine.
11/09/19 Holbrook, Scott C.	580.00	5.90	3,422.00
Draft and revise briefs in opposition to Textron's r	notions in limine a	and its motion	n to bifurcate trial.
11/09/19 Warren, Daniel R.	830.00	3.00	2,490.00
Review and address issues regarding Trustee's re	esponses to motio	ons in limine.	
11/10/19 Brogan, Mary P.	275.00	4.50	1,237.50
Revise briefs in opposition to Textron's motions ir	i limine pursuant <sup>-</sup>	to comments	of Textron trial team.
11/10/19 Holbrook, Scott C. Draft and revise briefs in opposition to Textron's r	580.00 notions in limine.	0.60	348.00
11/10/19 Kavouras, Daniel M.	365.00	3.10	1,131.50
Review select research results for incorporation ir	nto opposition to <sup>-</sup>	Textron's mo	tions in limine.
11/10/19 Warren, Daniel R.	830.00	2.50	2,075.00
Review and revise multiple responses to Textron'	s motions in limin	e.	
11/11/19 Brogan, Mary P.	275.00	7.80	2,145.00
Revise and finalize briefs in opposition to Textron	's motions in limir	ne.	
11/11/19 Holbrook, Scott C. Review and revise briefs in opposition to Textron'			5,742.00 n to bifurcate trial (9.4);
review Textron's briefs in opposition to the Truste 11/11/19 Kavouras, Daniel M. Research for oppositions to motions in limine for i	365.00	3.50	1,277.50 sions of same.
11/11/19 Kavouras, Daniel M. Revise oppositions to motions in limine for filing w	365.00 ⁄ith Court.	2.30	839.50

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 101 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: 09/28/20 Invoice Number: 50809379 Matter Number: 042188.000001 Page 86
11/11/19 Szalay, Sarah M. 225.00 Access and obtain pleadings and related materials at the req	
11/11/19VanNiel, Michael A.615.00Correspondence with working group regarding reply briefs re authority for possible inclusion in same (1.8).	
11/11/19Warren, Daniel R.830.00Final review and revisions to responses to Textron's motions	
11/12/19 Brogan, Mary P. 275.00	1.40 385.00
Analyze Textron's opposition to Trustee's motion in limine to prosecution in criminal matters.	preclude evidence of Textron's non-
11/12/19Holbrook, Scott C.580.00Draft reply briefs in support of motions in limine (4.8); telephoin connection with same (.2).	
11/12/19Kavouras, Daniel M.365.00Analyze opposition to Trustee's motion to exclude testimony	2.20 803.00 of Mr. Solimine.
11/12/19 Lazanich, Julia K. 220.00 Research cases for Mr. Holbrook from Trustee's Motion in Lir Trustee's Attorneys' Fees and Textron's Memorandum of Lav	1.00 220.00 mine to Exclude Evidence Regarding the
11/12/19 Lazanich, Julia K. 220.00 Draft, review and revise demonstrative exhibits for possible u	
11/12/19 Szalay, Sarah M. 225.00	0.30 67.50
Access and obtain recently filed pleadings and forward to inte	
11/12/19 VanNiel, Michael A. 615.00	3.80 2,337.00
Review and analyze pertinent authority regarding reply briefs correspondence with working group regarding briefing sched demonstrative exhibits for use at trial (1.5).	regarding motions in limine (2.0);
11/13/19Brogan, Mary P.275.00Draft reply in support of Trustee's motion in limine to preclude criminal matters.	
11/13/19 Davis, Austin N. 265.00 Research pertinent authority for possible use in replies in sup	
11/13/19 Holbrook, Scott C. 580.00	
Draft reply briefs in support of Trustee's motions in limine (6.2 Warren (.3).	
11/13/19 Kavouras, Daniel M. 365.00 Outline reply in support of motion to exclude testimony of Tex	
Baker&HostetlerLLP	

nta Chicago Los Angeles Columbus Philadelphia Denver Washington, DC Costa Mesa Atlanta Cincinnati Cleveland Dallas San Francisco Houston New York Orlando Seattle 10-50494-jps Doc 2637 ENTERED 10/14/20 08:40:54 Page 102 of 197 FILED 10/14/20

Trustee in Bankruptcy for Fair F	Finance Company
----------------------------------	-----------------

11/13/19	Kavouras, Daniel M.	365.00	2.00	730.00
Research	h for inclusion in reply in support of motion to	o exclude testimo	ny of Mr. So	limine at trial.
11/13/19	VanNiel, Michael A.	615.00	2.60	1,599.00
regarding motions i	ondence with working group regarding pretria g same (.1); review pertinent authority regard in limine (1.8); review letter filing with court r group and opposing counsel regarding same	ding issues to be egarding briefing	addressed ir	n reply briefs relating to
	Warren, Daniel R. of reply briefs on motions in limine (.5); revie	830.00	1.00	830.00
			U U	<b>o i i i i i</b>
	Brogan, Mary P.	275.00	1.80	495.00
	ly brief in support of motion in limine to exclu			
	Davis, Austin N.	265.00	0.40	106.00
testimony	h pertinent case law for inclusion in reply bri y.	et in support of m	otion in limin	ie to exclude expert
11/14/19	Holbrook, Scott C.	580.00	7.10	4,118.00
Draft and	revise reply briefs in support of motions in	limine.		
11/14/19	Kavouras, Daniel M.	365.00	4.50	1,642.50
Draft rep	ly in support of motion to exclude expert tes	timony of Mr. Soli	mine.	
11/14/19	VanNiel, Michael A.	615.00	0.40	246.00
	ondence with working group regarding exper g same (.2).	t issues (.2); telep	phone confe	rence with Mr. Holbrook
11/14/19	Warren, Daniel R.	830.00	3.00	2,490.00
Review a limine (.7	and strategize regarding trial issues (2.3); re 7).	view and commer	nt on replies	in support of motions in
11/15/19	Brogan, Mary P.	275.00	4.00	1,100.00
Research intent of o	h caselaw supporting proposition that frauds debtor.	ter convictions ar	e admissible	e evidence of fraudulent
11/15/19	Davis, Austin N.	265.00	3.30	874.50
Research	h pertinent case law for use in reply in suppo	ort of Trustee's mo	otions in limi	ne.
11/15/19	Dunnaback, Jeremy	295.00	4.30	1,268.50
	neeting with Mr. Warren to discuss litigation a s, including prior court ruling, the parties' brie 3.1).			
11/15/19	Holbrook, Scott C.	580.00	8.70	5,046.00
Draft and	revise reply briefs in support of motions in	limine to exclude	Textron's ev	idence at trial.

A Houston	tlanta Los A	Chicago ngeles	Cincinna New York			s Costa Mesa San Francisco	Dallas Seattle	Denver Washington, DC
10-50494-jp	s Do	oc 2637	FILED 2	10/14/20 E	NTERED :	10/14/20 08:40	:54 Pa	ge 103 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: 09/28/20 Invoice Number: 50809379 Matter Number: 042188.000001 Page 88
11/15/19 Kavouras, Daniel M. 365.00	6.50 2,372.50
Draft reply in support of motion to exclude testimony of Mr. So	
11/15/19Szalay, Sarah M.225.00Access and obtain pleadings and related materials at the requ Dunnaback.	0.20 45.00 uest of Mr. Warren and forward same to Mr.
11/15/19 Szalay, Sarah M. 225.00	0.10 22.50
Access and obtain recently filed pleadings and forward to inte	rnal team.
11/15/19 VanNiel, Michael A. 615.00	0.60 369.00
Review draft reply regarding motion in limine relating to fees ( same (.1); review order entered by court regarding briefing sc	
11/15/19Warren, Daniel R.830.00Review and revise reply briefs on motions in limine.	3.50 2,905.00
11/16/19 Brogan, Mary P. 275.00	0.70 192.50
Send caselaw analysis regarding use of prior convictions of fr fraudulent transfer claims to Mr. Holbrook.	audsters as evidence of fraudulent intent in
11/16/19Kavouras, Daniel M.365.00Further revisions to reply in support of motion to exclude testing	1.20 438.00 mony of Mr. Solimine at trial.
11/16/19 Warren, Daniel R. 830.00	4.00 3,320.00
Review and comment on approach to reply briefs in support o analyze issues regarding same (1.3).	f Trustee's motions in limine (2.7); review and
11/17/19 Brogan, Mary P. 275.00	0.20 55.00
Correspondence with Mr. Holbrook regarding projects to finali	ze motions in limine.
11/17/19 Holbrook, Scott C. 580.00 Draft and revise reply briefs in support of Trustee's multiple m	1.30 754.00 otions in limine.
11/17/19 Warren, Daniel R. 830.00 Review and revise reply brief in support of motion to exclude t	1.00 830.00 testimony of Mr. Solimine.
11/18/19 Brogan, Mary P. 275.00	0.20 55.00
Coordinate with Mr. Holbrook and Mr. Kavouras regarding fina related projects associated with same.	
11/18/19 Dunnaback, Jeremy 295.00	4.50 1,327.50
Review case background materials, including prior court ruling motions in connection with trial preparations (.3); meet with M demonstrative exhibits for trial (1.0); meet with Ms. Lazanich a exhibits (.9); review key documents in preparation for drafting	r. Warren to discuss trial strategy and creating and Mr. VanNiel to discuss demonstrative
11/18/19Holbrook, Scott C.580.00Draft and revise multiple reply briefs in support of motions in I	12.30 7,134.00 imine.
Baker&HostetlerLLP	
Atlanta Chicago Cincinnati Cleveland Colum Houston Los Angeles New York Orlando Philadelph	ia San Francisco Seattle Washington, DC

10-50494-jps Doc 2637

FILED 10/14/20

ENTERED 10/14/20 08:40:54 Page 104 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Da Invoice Numb Matter Numb	er: 50809379	
11/18/19 Lazanich, Julia K.	220.00	2.00	440.00
Draft, review and revise demonstrative exhibits for	use at trial.		
11/18/19 VanNiel, Michael A.	615.00	5.60	3,444.00
Review and analyze select reply briefs regarding m regarding same (.3); discussion and corresponden issues (.3); draft email analysis regarding pretrial is regarding same (.3); review and analyze prior prop	ce with Mr. Du ssues (1.2); co	unnaback regardi prrespondence w	ing demonstrative exhibit
11/18/19 Warren, Daniel R. Work on reply briefs on motions in limine and relate	830.00 ed trial matter	5.00 s.	4,150.00
11/19/19 Brogan, Mary P.	275.00	4.70	1,292.50
Discuss demonstrative timeline for trial with Mr. Durreply briefs (4.3).	Innaback (.4);	review and revis	e check motion in limine
11/19/19 Dunnaback, Jeremy	295.00	8.70	2,566.50
Work on demonstrative exhibits in preparation for t documents to incorporate into the exhibits (2.5); me exhibits (.3); work on jury instructions for trial, inclu case law and proposed jury instructions on fraudule discuss trial strategy (.8); review and revise Truste testimony of Mr. Solimine (3.0).	eet with Ms. L Iding drafting i ent transfers a	azanich to discus nstructions and r and novation (2.1	esearching and analyzing ); meet with Mr. Warren to
11/19/19 Holbrook, Scott C.	580.00	1.30	754.00
Draft and revise reply briefs in support of motions i	n limine.		
11/19/19 Lazanich, Julia K.	220.00	0.60	132.00
Meet with Mr. Dunnaback and work on demonstrat	ives possible	use at Textron tri	ial.
11/19/19 VanNiel, Michael A.	615.00	3.10	1,906.50
Review and analyze draft replies in support of moti regarding same (.1).	ions in limine	(3.0); correspond	lence with working group
11/19/19 Warren, Daniel R.	830.00	5.50	4,565.00
Review and address trial preparation matters (3.6) motions in limine (1.9).	; further reviev	w and comments	to reply briefs regarding
11/20/19 Brogan, Mary P.	275.00	0.80	220.00
Finalize reply briefs in support of motions in limine	for filing with	Court.	
11/20/19 Dunnaback, Jeremy	295.00	4.10	1,209.50
Work on jury instructions for trial, including drafting and proposed jury instructions on fraudulent transfe Lazanich to discuss and edit demonstrative exhibit admissibility of expert testimony beyond scope of e	ers and novat s for trial (1.4)	ion (1.3); meet w ; research and a	ith Mr. Warren and Ms. nalyze federal case law on

admissibility of expert testimony beyond scope of expert report in support of Trustee's reply in support of his motion in limine to exclude testimony of Mr. Solimine (1.4).

#### Baker&Hostetler LLP

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 105 of 197

Trustee in Bankruptcy for Fair Finance	Company
--	---------

<ul><li>11/20/19 Holbrook, Scott C.</li><li>Review Textron's reply briefs in support of its motio</li></ul>	580.00	8.00	4,640.00
Trustee's motions in limine (6.9).	ns in limine (1.1);	Draft and re	evise briefs in support of
11/20/19 Kavouras, Daniel M.	365.00	2.50	912.50
Research additional cases for reply brief in support	of motion to exclu	ude Textron	expert.
11/20/19 Kavouras, Daniel M. Finalize reply briefs in support of motions in limine.	365.00	0.60	219.00
11/20/19 Lazanich, Julia K. Review and revise demonstrative exhibits for use a	220.00 t trial.	5.50	1,210.00
11/20/19 Lazanich, Julia K.	220.00	0.50	110.00
Review and address issues regarding video deposi	tions for use at tri	al.	
11/20/19 Szalay, Sarah M.	225.00	0.30	67.50
Access and obtain recently filed pleadings and form	vard to internal tea	am.	
<ul><li>11/20/19 VanNiel, Michael A.</li><li>Telephone conference with Mr. Holbrook regarding reply briefs filed by Textron (1.5); email summary o</li></ul>			
<ul><li>11/20/19 Warren, Daniel R.</li><li>Review and analyze complete briefing regarding m with same (1.5).</li></ul>	830.00	5.50	4,565.00
	otions in limine (4	.0); review t	rial issues in connection
11/21/19 Dunnaback, Jeremy Work on jury instructions for trial, including drafting and proposed jury instructions on fraudulent transfe		5.70 esearching	1,681.50 and analyzing case law
11/21/19 Lazanich, Julia K. Draft, review and revise trial demonstrative exhibits	220.00	6.50	1,430.00
11/21/19 McDonald, Michael H.	230.00	0.80	184.00
Plan and prepare for inclusion of deposition video in	n Court-compatibl	e database	in preparation for trial.
11/21/19 Szalay, Sarah M.	225.00	0.20	45.00
Access and obtain recently filed pleadings and form	vard to internal tea	am.	
11/21/19 Szalay, Sarah M. Access and obtain case law and forward to Mr. Bas	225.00 sh per his request	0.20	45.00
<ul><li>11/21/19 VanNiel, Michael A.</li><li>Correspondence with working group regarding mot issues raised in Textron reply briefs (1.0); review re</li></ul>		( ).	5
11/21/19 Warren, Daniel R.	830.00	1.00	830.00
Further review of select portions of Textron's reply	briefs in connectio	on with trial p	preparation.
Baker&Hostetler LLP			

11/22/19 Dunnaback, Jeremy	295.00	5.80	1,711.00	ad			
Work on jury instructions for trial, including drafting instructions and verdict form, as well as researching and analyzing case law and proposed jury instructions on fraudulent transfers and novation.							
11/22/19 Holbrook, Scott C.	580.00	0.30	174.00				
Discuss case issues and strategy with M	r. Warren.						
11/22/19 Lazanich, Julia K.	220.00	4.40	968.00				
Review and revise demonstrative exhibit							
11/22/19 VanNiel, Michael A.	615.00	1.70	1,045.50				
Review email from opposing counsel reg regarding same (.3); follow-up review of limine (1.0); review letter filing by Textror	select issues raised in Tex	tron reply br					
11/22/19 Warren, Daniel R.	830.00	1.00	830.00				
Review and analyze strategy for trial.							
11/25/19 Dunnaback, Jeremy	295.00	0.40	118.00				
Review and edit draft of demonstrative e	xhibits for trial.						
11/25/19 Lazanich, Julia K.	220.00	2.60	572.00				
Meet with Mr. Dunnaback and work on d	emonstratives for trial in lig	ht of revisio	ns of same.				
11/25/19 Lazanich, Julia K.	220.00	1.40	308.00				
Assist Mr. Warren with preparation of ope	0						
11/25/19 VanNiel, Michael A.	615.00	3.60	2,214.00				
Correspondence with working group regarding same (.8); review and analyze							
11/26/19 Dunnaback, Jeremy	295.00	1.10	324.50				
Meet with Mr. Warren to discuss drafts o	f demonstrative exhibits ar	nd jury instru	ctions for trial.				
11/26/19 McDonald, Michael H.	230.00	0.30	69.00				
Prepare multiple video depositions for po	ossible use at trial.						
11/26/19 Szalay, Sarah M.	225.00	0.30	67.50				
Access and obtain pleadings and related	-						
11/26/19 Szalay, Sarah M.	225.00	1.20	270.00				
Assemble pleadings and correspondence	-	0 70	4 000 50				
11/26/19 VanNiel, Michael A.	615.00	2.70	1,660.50	~			
Telephone conference with Mr. Warren regarding pretrial matters (.5); review and analyze issues regarding trial preparation in light of same (2.0).							
11/26/19 Warren, Daniel R.	830.00	1.50	1,245.00				
Review and address strategy regarding p	pretrial issues.						

Houston	Atlanta Los	Chicago Angeles	Cincinnati New York	i Cleveland Orlando	 s Costa Mesa San Francisco	Dallas Seattle	Denver Washington, DC
10-50494-j	jps [	Doc 2637	FILED 1	0/14/20 E	10/14/20 08:40:	:54 Pag	ge 107 of 197

11/27/19	Lazanich, Julia K.	220.00	1.00	220.00			
Review and revise opening statement materials pursuant to comments of Mr. Warren.							
11/27/19	VanNiel, Michael A.	615.00	0.60	369.00			
Email correspondence with opposing counsel regarding pretrial matters (.1); email correspondence with Mr. Warren regarding same (.1); review correspondence regarding open issues relating to pretrial order (.4).							
11/29/19 Draft o	Warren, Daniel R. utline portions of opening statement for use a	830.00 t trial.	1.50	1,245.00			
12/02/19	Dunnaback, Jeremy	295.00	0.50	147.50			
Meet w	ith Mr. Warren to discuss demonstrative exhi	bits and jury instru	uctions for tri	al.			
12/02/19	Lazanich, Julia K.	220.00	0.50	110.00			
Met wit	h Mr. Warren and Mr. Dunnaback to review o	pening statement	presentation	٦.			
12/02/19	Lazanich, Julia K.	220.00	1.60	352.00			
Review	and address issues regarding opening state	ment materials.					
12/02/19	McDonald, Michael H.	230.00	3.20	736.00			
Prepare deposition videos from original materials for editing and presentation at trial.							
12/02/19	VanNiel, Michael A.	615.00	0.60	369.00			
	pondence with opposing counsel regarding prorking group regarding schedule revision issue		•	ence and discussions			
12/02/19	Warren, Daniel R.	830.00	2.00	1,660.00			
Prepar	e for mock jury presentation.						
12/03/19	Lazanich, Julia K.	220.00	4.70	1,034.00			
Meet w	ith Mr. Dunnaback and work on demonstrativ	es for trial.					
12/03/19	McDonald, Michael H.	230.00	1.00	230.00			
Review and address issues regarding video trial deposition testimony.							
12/03/19	McDonald, Michael H.	230.00	0.80	184.00			
Coordinate requesting deposition videos from Veritext for review and editing by trial team.							
12/03/19	Szalay, Sarah M.	225.00	1.50	337.50			
Index p	pleadings and correspondence and forward sa	ame to Records.					
12/03/19	VanNiel, Michael A.	615.00	0.70	430.50			
Correspondence with opposing counsel regarding pretrial meet and confer issues (.1); review and analyze issues in advance of meet and confer with opposing counsel (.6).							

Review and analyze trial strategy issues.

Atl	anta Chicago	Cincinnati	Cleveland	 Costa Mesa	Dallas	Denver
Houston	Los Angeles	New York	Orlando	San Francisco	Seattle	Washington, DC
	0					ge 108 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: Invoice Number: Matter Number:	09/28/20 50809379 042188.000001 Page 93
12/04/19 Holbrook, Scott C. 580.00 Assist Mr. Warren with trial preparation matters.	0.90 522	2.00
12/04/19 Lazanich, Julia K. 220.00		0.00
Review and revise opening PowerPoint presentation for Mr. W	arren.	
12/04/19 Warren, Daniel R. 830.00	2.00 1,660	).00
Review and address trial preparation issues (1.3); coordinate v	vith working group regard	ing same (.7).
12/05/19 Holbrook, Scott C. 580.00	1.40 812	2.00
Assist Mr. Warren with trial preparation issues and strategy.		
12/05/19 Lazanich, Julia K. 220.00	1.70 374	4.00
Work on Opening PowerPoint Presentation for Mr. Warren.		
12/05/19 Lazanich, Julia K. 220.00	0.50 110	0.00
Review and edit trial deposition testimony of out-of-state witnes	SSES.	
12/05/19 McDonald, Michael H. 230.00	1.00 230	0.00
Coordinate review of trial deposition transcripts with Textron tri	al team.	
12/05/19 VanNiel, Michael A. 615.00	0.90 553	3.50
Correspondence with working group regarding pretrial matters same (.5).	(.4); review and analyze i	ssues regarding
12/05/19 Warren, Daniel R. 830.00	2.50 2,075	5.00
Review and analyze trial issues (2.0); coordinate with trial tean	n regarding same (.5).	
12/06/19 Holbrook, Scott C. 580.00	5.20 3,016	3.00
Telephone call with opposing counsel regarding trial issues (.6 Messrs. Warren and VanNiel regarding trial preparation (3.6).	); trial preparation (1.0); n	neetings with
12/06/19 Lazanich, Julia K. 220.00	1.20 264	4.00
Prepare trial deposition videos for use in opening trial statemer	nt of Mr. Warren.	
12/06/19 McDonald, Michael H. 230.00	0.60 138	3.00
Review and address issues regarding presentation of trial depo	osition videos.	
12/06/19 Szalay, Sarah M. 225.00	0.20 45	5.00
Access and obtain pleadings and related materials at the reque		
12/06/19 VanNiel, Michael A. 615.00	2.20 1,353	3 00
Prepare for (.5) and attend (.7) meet and confer conference ca matters; correspondence and meetings with working group reg	Il with opposing counsel r	
12/06/19 Warren, Daniel R. 830.00	3.00 2,490	).00
Prepare trial presentation outline (2.0); review and analyze issue	ues regarding same (1.0).	

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 109 of 197

12/07/19	Warren, Daniel R.	830.00	1.50	1,245.00
Review	and analyze trial strategy matters (1.0); coor			arding same (.5).
	VanNiel, Michael A.	615.00	1.00	615.00
Review	and analyze pretrial and scheduling matters	relating to submis	ssions in adv	ance of trial.
12/09/19	Brogan, Mary P.	275.00	0.10	27.50
Corres	pondence with Mr. Holbrook regarding prepa	rations for mock ju	iry presentat	tions.
12/09/19	Dunnaback, Jeremy	295.00	4.90	1,445.50
	ith Mr. Warren and Ms. Lazanich to work on tations (3.9); work on jury instructions for trial	•	cts and argu	ment for mock jury
12/09/19	Holbrook, Scott C.	580.00	3.10	1,798.00
Review	and analyze trial strategy issues (2.0); coord	dinate with Mr. Wa	irren regardi	ng same (1.1).
12/09/19	Kavouras, Daniel M.	365.00	1.00	365.00
	<ul> <li>model jury instructions for fraudulent transfe errogatories.</li> </ul>	er claims in prepar	ation for drat	fting proposed instructions
12/09/19	Lazanich, Julia K.	220.00	7.80	1,716.00
Meet w same (	rith Mr. Dunnaback and Mr. Warren regarding 3.9).	Opening Present	ation for tria	I (3.9); review and revise
12/09/19	McDonald, Michael H.	230.00	0.50	115.00
Prepar	e deposition videos for Opus database in con	nection with trial p	preparations	
12/09/19	VanNiel, Michael A.	615.00	0.70	430.50
	and comment on draft stipulation relating to orking group regarding same (.3).	pretrial matters (.4	4); correspor	ndence and discussions
12/09/19	Warren, Daniel R.	830.00	3.50	2,905.00
Prepar	e for mock jury presentation in connection wit	th trial preparation	S.	
12/10/19	Brogan, Mary P.	275.00	4.40	1,210.00
	Palmieri and Heflin deposition transcripts in nformation regarding Mr. Durham in preparat			sentation (2.3); research
12/10/19	Dunnaback, Jeremy	295.00	2.00	590.00
Meet w presen	ith Mr. Warren and Ms. Lazanich to work on tation.	presentation of fac	cts and argu	ment for mock jury
12/10/19	Holbrook, Scott C.	580.00	6.50	3,770.00
Review	and analyze trial strategy (3.0); prepare for i	mock jury presenta	ations (3.5).	
12/10/19	Kavouras, Daniel M.	365.00	4.50	1,642.50
Draft ju	ry instructions, interrogatories and jury verdic	ct forms.		

	Atlanta	Chicago	Cincinnat				Dallas	Denver
Houston	Los	Angeles	New York	Orlando	Philadelphia	San Francisco	Seattle	Washington, DC
10-50494-	jps D	oc 2637	FILED 1	.0/14/20 E	INTERED	10/14/20 08:40	:54 Pag	ge 110 of 197

Trustee in Bankruptcy for Fair Finance Compan	Invoice Da Invoice Numb Matter Numb	ber:	09/28/20 50809379 042188.000001 Page 95	
12/10/19 Lazanich, Julia K. Work on Opening Presentation for Mr. Warre	220.00 en.	3.80	836.00	
12/10/19 Lazanich, Julia K.	220.00	2.50	550.00	
Meet with Mr. Warren and Mr. Dunnaback to	review updated dra	Ift of Opening Pr	resentation.	
12/10/19 VanNiel, Michael A.	615.00	2.50	1,537.50	
Correspondence with Mr. Holbrook regarding stipulation with opposing counsel regarding s same (.2); review updated draft from Textron to trial team inquiries relating to evidentiary n same (.2).	ame (.3); correspon counsel of pretrial	ndence with opp stipulation (.2); r	osing counse review mater	el regarding ials to respond
12/10/19 Warren, Daniel R. Review and address trial preparation issues	830.00 ( 5) review and revi	2.00	1,660.00	
12/10/19 Warren, Daniel R. Review changes to pre-trial order schedule.	830.00	0.50	415.00	
12/11/19 Bhagat, Ashish K. Plan and prepare for editing videos for prese	210.00 ntation at upcoming	0.20 j jury trial.	42.00	
12/11/19 Brogan, Mary P. Meet with Mr. Holbrook to discuss Textron pr	275.00 resentation for mocl	0.50 k jurv presentatio	137.50 on.	
12/11/19 Brogan, Mary P. Review outline of Textron presentation for m	275.00	0.10	27.50	
12/11/19 Dunnaback, Jeremy Meet with Mr. Warren and Mr. Holbrook to di for trial (.3); analyze whether recorded depos within court's subpoena power (1.1).				
12/11/19 Holbrook, Scott C. Review and address trial issues (4.0); draft n	580.00 naterials in preparat	7.30 ion for trial (3.3)	4,234.00	
12/11/19 Kavouras, Daniel M. Analyze order on motions in limine.	365.00	1.00	365.00	
12/11/19 Lazanich, Julia K. Download trial deposition clips from Opus for Mr. Warren.	220.00 use at trial and cor	6.50 ntinue working o	1,430.00 n opening pr	esentation for
12/11/19 Szalay, Sarah M.	225.00	1.20	270.00	
Assemble pleadings and correspondence for				
12/11/19 Szalay, Sarah M. Access and obtain pleadings and related ma	225.00 terials at the reques	0.20 st of Mr. Bash.	45.00	

	Atlar						Dallas	Denver
Housto	n i	Los Angeles	New York	Orlando	Philadelphia	San Francisco	Seattle	Washington, DC
10-50494	1-jps	Doc 2637	FILED	10/14/20 E	NTERED 1	0/14/20 08:40	:54 Pag	ge 111 of 197

12/11/19 VanNiel, Michael A.	615.00	1.60	984.00				
Review and comment on stipulation regarding pretrial matters (.3); correspondence with working group and opposing counsel regarding same (.4); review documents in preparation for upcoming trial preparation meetings (.8); correspondence with working group regarding same (.1).							
12/11/19 Warren, Daniel R.	830.00	2.00	1,660.00				
Prepare for trial presentations (1.0); review and a	address issues reg	arding openi	ng statement (1.0).				
12/12/19 Bhagat, Ashish K. Plan and prepare for editing videos for presentat	210.00 ion at trial.	0.60	126.00				
12/12/19 Brogan, Mary P.	275.00	1.00	275.00				
Review court's order on motions in limine (.4); dia	scuss jury instructi	ons with Mr.	Dunnaback (.6).				
12/12/19 Dunnaback, Jeremy	295.00	5.20	1,534.00				
Work on jury instructions for trial (4.2); meet with instructions for trial (1.0).	Mr. Kavouras and	l Ms. Brogan	to discuss proposed jury				
12/12/19 Holbrook, Scott C.	580.00	5.90	3,422.00				
Discuss strategy and motion in limine rulings with (.5); prepare for trial in light of same (4.6).	h Mr. Warren (.8);	review court'	s motion in limine rulings				
12/12/19 Lazanich, Julia K.	220.00	1.50	330.00				
Review and revise Opening Presentation for Mr.	Warren.						
12/12/19 Lazanich, Julia K.	220.00	1.00	220.00				
Meet with Mr. Holbrook and Mr. McDonald regar	ding video deposit	ions for Oper	ning Presentation.				
12/12/19 Le, Avery P.	200.00	0.30	60.00				
Assist Mr. Dunnaback with revisions to draft jury	instructions.						
12/12/19 McDonald, Michael H.	230.00	2.50	575.00				
Prepare deposition videos for use by trial team.							
12/12/19 Szalay, Sarah M.	225.00	0.20	45.00				
Access and obtain recently filed pleadings and for	orward to internal t	eam.					
12/12/19 VanNiel, Michael A.	615.00	3.10	1,906.50				
Review correspondence regarding pretrial matters (.3); review opinion from court regarding motions in limine (.8); review evidentiary and pretrial issues in light of same (1.5); correspondence and discussions with working group regarding same (.5).							
12/12/19 Warren, Daniel R.	830.00	2.50	2,075.00				
Review and address trial strategy (1.5); prepare	opening statement	t sections (1.	0).				
12/12/19 Warren, Daniel R.	830.00	2.00	1,660.00				
Review and analyze court's order on motions in	limine.						

Atla	anta Chicago	Cincinnati	Cleveland		Costa Mesa	Dallas	Denver
Houston	Los Angeles	New York	Orlando		San Francisco	Seattle	Washington, DC
10-50494-jps	5 Doc 2637	FILED 10	/14/20 E	NTERED 10	/14/20 08:40:	54 Pag	ge 112 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Da Invoice Numb Matter Numb	er: 50809379	
12/13/19 Brogan, Mary P. Review and revise jury instructions and jury verdict for	275.00	0.80	220.00
12/13/19 Dunnaback, Jeremy	295.00	5.00	1,475.00
Work on jury instructions and verdict forms for trial (1 presentations (1.9); edit demonstrative exhibits for tri	.4); work on		
12/13/19 Dyer, Ricky J.	235.00	7.70	1,809.50
Download video from ftp site and format to .mpg for s synchronize transcript to video deposition of Brown a			
12/13/19 Holbrook, Scott C.	580.00	5.80	3,364.00
Review and analyze trial matters (2.0); prepare for m	lock jury trial	presentations (	3.8).
12/13/19 Lazanich, Julia K.	220.00	2.00	440.00
Review and revise Opening PowerPoint presentation	n for Mr. Warr	en.	
12/13/19 Lazanich, Julia K. Coordinate with Mr. McDonald and Mr. Dyer on gettir presentations.	220.00 ng videos for	2.40 Mr. Warren and	528.00 d Mr. Holbrook's opening
12/13/19 McDonald, Michael H. Review and edit trial video depositions for use by tria	230.00 Il team.	2.80	644.00
12/13/19 VanNiel, Michael A.	615.00	0.50	307.50
Correspondence and discussions with working group	regarding tri	al preparation t	asks.
12/14/19 Dyer, Ricky J.	235.00	6.30	1,480.50
Upload video to ftp site and format video files to .mpg synchronize transcript to video deposition (.4); upload			t-reporters transcript (5.6);
12/14/19 Holbrook, Scott C.	580.00	4.00	2,320.00
Review deposition transcripts in connection with trial presentation (1.5).	preparation (	(2.5); draft outlin	ne of select portions of trial
12/14/19 Lazanich, Julia K.	220.00	0.30	66.00
Review and address issues with Mr. McDonald and N of Messrs. Warren and Holbrook.	Mr. Dyer in co	onnection with c	Iraft opening presentations
12/14/19 McDonald, Michael H. Prepare deposition videos for use by trial team.	230.00	0.70	161.00
12/15/19 Dyer, Ricky J.	235.00	2.00	470.00
Upload video to ftp site and format video files to .mpg synchronize transcript to video deposition (.3); upload	g for synchror	nizing with cour	t-reporters transcript (1.4);
12/15/19 Holbrook, Scott C.	580.00	2.80	1,624.00
Review and address trial preparation issues (2.0); co	ordinate with	trial team rega	rding same (.8).

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 113 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: Invoice Number: Matter Number:	09/28/20 50809379 042188.000001 Page 98
12/15/19 McDonald, Michael H. 230.00 Review and address video trial deposition matters.	1.00 230.0	0
12/15/19Warren, Daniel R.830.00Review and revise trial opening statement.	1.00 830.0	0
12/16/19Brogan, Mary P.275.00Assist Mr. Holbrook with mock jury presentation (6.0); review a	7.60 2,090.0 and analyze issues regarding	
12/16/19 Dunnaback, Jeremy 295.00 Attend meeting with Messrs. Warren, Holbrook, and VanNiel t jury trial (3.0); review and revise jury instructions in connection	•••••••••••••••••••••••••••••••••••••••	
12/16/19 Dyer, Ricky J. 235.00 Upload select trial deposition videos to ftp site and format videor reporters transcript for use at trial (3.8); synchronize transcript trial team (.3).		zing with court-
12/16/19 Holbrook, Scott C. 580.00 Meet with Messrs. Warren, VanNiel and Dunnaback regarding trial preparation issues following same (7.9).	10.30 5,974.0 g trial preparation (2.4); revie	
12/16/19 Lazanich, Julia K. 220.00 Review and revise opening presentations for Mr. Warren and	7.20 1,584.0 Mr. Holbrook.	0
12/16/19McDonald, Michael H.230.00Prepare select video deposition videos for use at trial.	2.50 575.0	0
12/16/19 VanNiel, Michael A. 615.00 Correspondence with working group regarding witness list (.3) regarding same (.4).	0.70 430.5 ); attend conference call with	
12/16/19Warren, Daniel R.830.00Review and revise jury arguments (3.5); coordinate with trial to	5.00 4,150.0 eam regarding same (1.5).	0
12/17/19 Bhagat, Ashish K. 210.00 Review and revise deposition excerpts for Mr. Warren for Ope	0.50 105.0 ening Presentation to mock ju	
12/17/19Brogan, Mary P.275.00Prepare slides for presentation to mock jury.	6.10 1,677.5	50
12/17/19 Dunnaback, Jeremy 295.00 Review and revise jury instructions for trial (.4); draft and edit and prior testimony of V-Note investor witnesses to determine		/ze background
12/17/19 Dyer, Ricky J. 235.00 Review and address video depositions issues for presentation by trial team (.3).	3.50 822.5 at trial (3.2); upload to ftp si	

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 114 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: 09/28/20 Invoice Number: 50809379 Matter Number: 042188.000001 Page 99
12/17/19 Esmont, Joseph M. 425.0	
Review and address issues regarding possible investor wit	
12/17/19 Holbrook, Scott C. 580.0 Review and address trial issues (5.0); coordinate with trial to mock jury materials regarding same (1.1).	
12/17/19 Lazanich, Julia K. 220.0	00 9.50 2,090.00
Review and revise opening presentations of Mr. Warren an	nd Mr. Holbrook for trial.
12/17/19 McDonald, Michael H. 230.0	00 1.40 322.00
Review and edit video trial depositions for use by trial team	1.
12/17/19 VanNiel, Michael A. 615.0	00 0.50 307.50
Correspondence and telephone conferences with working same (.2).	group regarding witness list (.3); review draft of
12/17/19 Warren, Daniel R. 830.0	00 5.00 4,150.00
Prepare for trial (4.); review and revise materials for use at	same (1.0).
12/18/19 Bhagat, Ashish K. 210.0	00 0.60 126.00
Review and revise video depositions for Mr. Warren for Op	ening Presentation to mock jury.
12/18/19 Brogan, Mary P. 275.0	00 1.30 357.50
Assist Mr. Holbrook with final preparations for mock jury pre-	esentation.
12/18/19 Dunnaback, Jeremy 295.0	00 3.70 1,091.50
Prepare for mock jury presentation, including coordinating support same (1.9); analyze prior testimony of V-Note investial at trial (1.3); edit witness list for trial (.5).	
12/18/19 Dyer, Ricky J. 235.0	00 2.50 587.50
Prepare video deposition of Mr. Kaffen (2.2); upload to ftp s	site for editing by trial team (.3).
12/18/19 Holbrook, Scott C. 580.0	00 11.90 6,902.00
Review and address trial matters (4.0); review and revise to strategy considerations regarding same (4.4).	rial presentation (3.5); review and analyze
12/18/19 Lazanich, Julia K. 220.0	00 10.80 2,376.00
Review and revise opening presentations for jury trial of Me	essrs. Warren and Holbrook.
12/18/19 McDonald, Michael H. 230.0	00 1.50 345.00
Review and edit trial video deposition excerpts for use at ju	ıry trial.
12/18/19 VanNiel, Michael A. 615.0	00 1.70 1,045.50
Review and respond to email from counsel for Textron regarded address witness list and related pretrial matters (.5); correst working group regarding same (1.0); review witness list rec	pondence and telephone conferences with

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 115 of 197

12/18/19 Warren, Daniel R.	830.00	4.00	3,320.00			
Review and analyze trial strategy (3.5); review ar	nd revise presentat	ion regardin	g same (.5).			
12/19/19 Brogan, Mary P.	275.00	6.90	1,897.50			
Attend mock jury presentations (6.0); attend mee	tings with trial tean	n regarding	same (.9).			
12/19/19 Dunnaback, Jeremy	295.00	7.50	2,212.50			
Prepare for (1.5) and attend (6.0) mock jury pres	entations and meet	tings regard	ing same.			
12/19/19 Holbrook, Scott C.	580.00	9.50	5,510.00			
Prepare for (3.0) and participate (6.5) in mock jur	y presentations and	d meetings	regarding trial preparation.			
12/19/19 Kavouras, Daniel M.	365.00	5.50	2,007.50			
Review and address trial preparation issues (4.0)	); assist trial team v	vith revision	s to trial materials (1.5).			
12/19/19 Lazanich, Julia K.	220.00	7.50	1,650.00			
Review and address trial preparation issues (5.0)	); assist trial team v	vith revision	s to trial materials (2.5)			
12/19/19 McDonald, Michael H.	230.00	0.20	46.00			
Coordinate review of video trial depositions in Co	urt compatible data	abase.				
12/19/19 VanNiel, Michael A.	615.00	6.80	4,182.00			
Review and analyze opinion regarding motions in same (.3); attend team meetings regarding trial p		pondence w	vith working group regarding			
12/19/19 Warren, Daniel R.	830.00	7.00	5,810.00			
Review and analyze results of mock jury presenta (2.0).	ations (5.0); revise	strategy for	jury trial in light of same			
12/19/19 Warren, Daniel R.	830.00	1.00	830.00			
Review court's decision on motion in limine regar	ding select Textror	n evidence.				
12/20/19 Holbrook, Scott C.	580.00	2.90	1,682.00			
Review and address trial presentation issues (1.5	5); coordinate with	trial team re	garding same (1.4).			
12/20/19 Lazanich, Julia K.	220.00	0.70	154.00			
Assist Mr. Holbrook with outline of trial testimony	of Mr. Durbak.					
12/20/19 VanNiel, Michael A.	615.00	4.90	3,013.50			
Correspondence and discussions with working group regarding supplemental witness list (.4); review select expert reports and documents in preparation for upcoming trial team meetings (4.5).						
12/21/19 VanNiel, Michael A.	615.00	1.90	1,168.50			
Review and analyze evidentiary issues regarding trial (1.5); correspondence with working group regarding trial preparations (.4).						
12/21/19 Warren, Daniel R.	830.00	3.00	2,490.00			
Prepare for trial (2.5); review and analyze issues	regarding same (.5	5).				

Ai	tlanta	Chicago	Cincinna	nti Cleveland	Columbus	s Costa Mesa	Dallas	Denver
Houston	Los A	ngeles	New York	Orlando	Philadelphia	San Francisco	Seattle	Washington, DC
10-50494-jp	s Do	oc 2637	FILED 1	10/14/20 E	NTERED	10/14/20 08:40	:54 Pag	ge 116 of 197

Trustee in Bankruptcy for Fair F	Finance Company
----------------------------------	-----------------

12/22/19 Holbrook, Scott C.	580.00	1.20	696.00		
Review trial strategy (.5); analyze trial issues rega	arding select live wi	tnesses (.7)			
12/23/19 Brogan, Mary P.	275.00	5.70	1,567.50		
Attend meeting with Messrs. Warren, Holbrook, V designations and documents to be marked as ext					
12/23/19 Dunnaback, Jeremy	295.00	5.90	1,740.50		
Attend meeting with trial team to develop strategy revised live witness list for trial following same (.5		op witness a	nd exhibit lists (5.4); edit		
12/23/19 Holbrook, Scott C.	580.00	7.70	4,466.00		
Draft materials for use at trial (5.0); review and an	alyze issues regar	ding same (2	2.7).		
12/23/19 Kavouras, Daniel M.	365.00	5.00	1,825.00		
Review deposition exhibits in preparation for subr	nission of trial exhi	bit list.			
12/23/19 VanNiel, Michael A.	615.00	7.20	4,428.00		
Review memoranda and materials regarding evid preparations (.3); correspondence with working go preparation matters (1.0); attend trial preparation on draft witness list (.5); correspondence with wor	roup regarding sam meetings with work	ne (.1); revie king group (8	w and address trial 5.0); review and comment		
12/23/19 Warren, Daniel R.	830.00	4.00	3,320.00		
Prepare question outlines for select trial witnesse	s (2.5); review and	revise open	ing statement (1.5).		
12/24/19 VanNiel, Michael A.	615.00	3.10	1,906.50		
Correspondence with working group regarding document issues relating to trial (.4); review and analyze pertinent materials regarding same (1.0); correspondence with working group regarding use of privileged material at trial and prior rulings from Bankruptcy Court regarding same (.3); review prior submissions and representations of parties regarding same (1.2); follow up email to working group regarding same (.2).					
12/24/19 Warren, Daniel R.	830.00	4.50	3,735.00		
Review and revise opening statement (3.0); revie	w an analyze issue	s regarding	trial witnesses (1.5).		
12/25/19 Warren, Daniel R.	830.00	6.00	4,980.00		
Review and address trial issues (4.2); review sele	ct materials in con	nection with	same (1.8).		
12/26/19 Holbrook, Scott C.	580.00	6.40	3,712.00		
Prepare question outlines for select trial witnesse	s (5.0); review and	analyze issu	ues regarding same (1.4).		
12/26/19 Kavouras, Daniel M.	365.00	5.20	1,898.00		
Review deposition exhibits in preparation for subr	nission of trial exhi	bit list.			
12/26/19 McDonald, Michael H.	230.00	0.20	46.00		
Coordinate review of select trial witness transcript	ts for use by jury tri	al team.			

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 117 of 197

12/26/19 VanNiel, Michael A.	615.00	6.20	3,813.00					
Attend trial preparation team meetings regarding evidence and witness issues (5.5); review open issues in light of same (.7).								
12/26/19 Warren, Daniel R.	830.00	6.00	4,980.00					
Attend trial preparation meeting with trial team (5.8 (.5).	5); review and revi	se opening s	statement following same					
12/27/19 Dunnaback, Jeremy Edit jury instructions for trial.	295.00	2.00	590.00					
12/27/19 Holbrook, Scott C.	580.00	3.20	1,856.00					
Prepare video deposition designations for trial pur	suant to schedulin	g order ente	ered by Court.					
12/27/19 VanNiel, Michael A.	615.00	0.40	246.00					
Correspondence with working group regarding tria	I preparation matte	ers.						
12/27/19 Warren, Daniel R.	830.00	4.50	3,735.00					
Review and revise trial presentation (3.5); review	ssues regarding s	ame (1.0).						
12/28/19 Warren, Daniel R.	830.00	3.50	2,905.00					
Analyze trial strategy (3.2); coordinate with trial te	am regarding same	e (.3).						
12/29/19 Warren, Daniel R.	830.00	2.00	1,660.00					
Revise witness question outlines for trial.								
12/30/19 Holbrook, Scott C.	580.00	4.60	2,668.00					
Attend meeting with Mr. Warren regarding trial preselect witnesses following same (3.3).	paration and strate	egy (1.3); pr	epare for trial testimony of					
12/30/19 Lazanich, Julia K.	220.00	1.00	220.00					
Attend meeting with Mr. Holbrook regarding trial d Mr. McDonald, and Mr. Dyer regarding revisions to		• •						
12/30/19 VanNiel, Michael A.	615.00	0.20	123.00					
Review list of open tasks received from Mr. Warre Holbrook regarding same (.1).	n (.1); corresponde	ence with M	essrs. Warren and					
12/30/19 Warren, Daniel R.	830.00	4.00	3,320.00					
Attend meeting with Mr. Holbrook regarding trial p issues regarding same (2.7).	reparation (1.3); re	view and ac	ddress trial preparation					
12/31/19 Dyer, Ricky J.	235.00	0.80	188.00					
Review video Designations in preparation for editi	ng pursuant to Co	urt's schedu	ling order.					
12/31/19 Holbrook, Scott C.	580.00	2.00	1,160.00					
Correspondence with litigation team regarding tria designations pursuant to the Court's scheduling or		v and revise	e select video deposition					

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 118 of 197

Trustee in Bankruptcy for Fair Finance Compa	iny
--	-----

12/31/19 Lazanich, Julia K.	220.00	1.00	220.00	
Review and revise video deposition designation	ns of Messrs. Giuli	oli and Hender	son.	
12/31/19 Lazanich, Julia K.	220.00	0.80	176.00	
Review and coordinate with Messrs. Dyer and	McDonald regardir	ng video depos	ition designations	
12/31/19 Warren, Daniel R.	830.00	2.00	1,660.00	
Review and address trial preparation issues.				
01/01/20 Holbrook, Scott C.	595.00	3.20	1,904.00	
Draft deposition designations for select out of s	tate trial witnesses	S.		
01/01/20 Warren, Daniel R.	870.00	2.00	1,740.00	
Review and revise trial materials (1.5); review i	ssues regarding sa	ame (.5).		
01/02/20 Dunnaback, Jeremy	330.00	7.20	2,376.00	
Draft and edit jury instructions for trial (5.7); me and drafting of trial brief (1.5).	et with Mr. Warrer	n and Mr. Kavo	uras to discuss tri	al strategy
01/02/20 Dyer, Ricky J.	240.00	6.90	1,656.00	
Prepare testifying expert video depositions for	presentation at tria	l.		
01/02/20 Holbrook, Scott C.	595.00	4.50	2,677.50	
Meet with Mr. Warren regarding trail preparatio testifying by video at trial (3.4).	n (1.1); prepare vid	deo deposition	designations for v	vitnesses
01/02/20 Lazanich, Julia K.	220.00	2.70	594.00	
Create video deposition designation list and cro technology needs for presentation of same at t		Mr. McDonald	and Mr. Dyer rega	arding
01/02/20 Lazanich, Julia K.	220.00	3.10	682.00	
Prepare designation highlights for the deposition John Egloff, Leonard LaCagnin, and Ralph Infa		s of Benjamin	Kimmerling, Byron	Turner,
01/02/20 Lazanich, Julia K.	220.00	0.50	110.00	
Review and address issues regarding Jeff Cou	Iter and Brian O'Fa	allon video dep	osition testimony f	or trial.
01/02/20 McDonald, Michael H.	260.00	2.00	520.00	
Prepare deposition videos for Opus database.				
01/02/20 Szalay, Sarah M.	235.00	0.20	47.00	
Access and obtain recently filed pleadings and	forward to internal	team.		
01/02/20 VanNiel, Michael A.	645.00	3.00	1,935.00	
Review correspondence from Textron counsel designations (2.5); correspondence with workir Holbrook regarding same (.2).				

Houston	Atlan	ta Chicago	Cincinnati	Cleveland	Columbus	Costa Mesa	Dallas	Denver
	L	Los Angeles	New York	Orlando	Philadelphia	San Francisco	Seattle	Washington, DC
10-50494	-jps	Doc 2637	FILED 10	/14/20 E	NTERED 10	0/14/20 08:40:	54 Pag	ge 119 of 197

01/02/20	Warren, Daniel R.	870.00	7.00	6,090.00
Prepare	for trial (4.0); review and address trial strate	gy issues in conn	ection with s	ame (3.0).
01/03/20	Dunnaback, Jeremy	330.00	3.00	990.00
Draft an	d edit jury instructions for trial.			
01/03/20	Dyer, Ricky J.	240.00	5.20	1,248.00
Format	video and syncs to transcript for trial video de	eposition designa	tion edits.	
01/03/20	Holbrook, Scott C.	595.00	6.90	4,105.50
-	te deposition testimony for trial (3.5); meet w tion (2.0); prepare for trial (1.4).	vith Messrs. Warre	en and VanN	liel regarding trial
01/03/20	Kavouras, Daniel M.	395.00	2.80	1,106.00
Revise j	ury interrogatories and instructions and exhile	oit list for trial.		
01/03/20	Lazanich, Julia K.	220.00	3.80	836.00
Review	and address video deposition issues for sele	ct trial witnesses.		
01/03/20	Lazanich, Julia K.	220.00	0.40	88.00
Meet wi	th Mr. Holbrook to discuss Fair Finance tasks	3.		
01/03/20	Lazanich, Julia K.	220.00	1.50	330.00
	designation highlights for video presentation on list in connection with same.	of Textron witnes	ss Brian O'Fa	allon and update
01/03/20	Lazanich, Julia K.	220.00	0.20	44.00
Review	and analyze Mr. Infante's deposition for spec	cific exhibits at the	e request of N	Mr. Holbrook.
01/03/20	Lazanich, Julia K.	220.00	0.20	44.00
Review	and address O'Fallon exhibit issues at the re	quest of Mr. Holb	rook.	
01/03/20	Lazanich, Julia K.	220.00	0.20	44.00
Provide	Mr. Holbrook voir dire and exhibit list for refe	rence in connecti	on with trial	preparation.
01/03/20	Lazanich, Julia K.	220.00	0.50	110.00
Work wi	th Mr. McDonald on downloading tagged ext	nibits in Opus to c	reate Exhibit	List for Mr. Kavouras.
01/03/20	McDonald, Michael H.	260.00	0.30	78.00
Coordin	ate review of video deposition transcripts in (	Opus database fo	r presentatio	n at trial.
01/03/20	McDonald, Michael H.	260.00	0.70	182.00
Prepare	deposition videos for Opus database for tria	l team review.		
01/03/20	McDonald, Michael H.	260.00	0.90	234.00
Prepare	copies of Osler and Hostetler deposition vid	eo depositions for	r possible us	e at trial.
01/03/20	Szalay, Sarah M.	235.00	0.30	70.50
Access	and obtain pleadings and related materials a	t the request of M	lr. Holbrook.	

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 120 of 197

01/03/20	VanNiel, Michael A.	645.00	3.70	2,386.50
Correspo	ondence and meetings with working group re on designations for submission to court (1.5)	egarding pretrial s		,
01/03/20	Warren, Daniel R.	870.00	6.50	5,655.00
Review a	and analyze trial witness issues (5.5); draft o	outlines of select of	uestions for	<sup>-</sup> trial (1.0).
01/04/20	Dyer, Ricky J.	240.00	7.50	1,800.00
Format,	synchronize and create designations for vide	eo depositions for	trial prepara	ation.
01/04/20	Holbrook, Scott C.	595.00	1.10	654.50
Review a	and revise draft set of Trustee's proposed ju	ry instructions.		
01/05/20	Dyer, Ricky J.	240.00	2.80	672.00
Format,	synchronize and create designations for vide	eo depositions for	trial prepara	ation.
01/05/20	Holbrook, Scott C.	595.00	0.80	476.00
	ondence with litigation team regarding case i g trial preparation (.3).	issues (.5); reviev	v and analyz	e research issues
01/05/20	Lazanich, Julia K.	220.00	1.30	286.00
Review a Infante.	and revise video deposition of designations of	of Textron employ	ees Michae	l Giulioli and Ralph
01/05/20	VanNiel, Michael A.	645.00	0.60	387.00
Review r same (.1	materials regarding jury instructions matters ).	(.5); corresponde	nce with wo	rking group regarding
01/06/20	Brogan, Mary P.	295.00	0.20	59.00
Discuss	research regarding evidentiary questions with	th Mr. Holbrook.		
01/06/20	Dunnaback, Jeremy	330.00	2.20	726.00
analyze	h Mr. Warren, Mr. Holbrook, and Mr. Kavour bankruptcy and Ohio law in preparation for c y analysis report to hone strategies for trial (	drafting controlling		
01/06/20	Dyer, Ricky J.	240.00	5.00	1,200.00
Review a	and address trial video deposition presentati	on issues.		
01/06/20	Holbrook, Scott C.	595.00	7.50	4,462.50
Prepare	for trial (3.5); review and analyze issues reg	arding select with	esses in co	nnection with same (3.5).
01/06/20	Kavouras, Daniel M.	395.00	2.00	790.00
Review a	and revise jury instructions for trial.			
01/06/20	Lazanich, Julia K.	220.00	6.00	1,320.00
	deposition videos of Mr. Giulioli, Mr. Henders	son, and Mr. Infar	nte with Mr. I	Holbrook and Mr. Warren

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 121 of 197

01/06/20 Lazanich, Julia K. Prepare exhibit lists for the possible trial video pre Kimmerling, Brian O'Fallon, Byron Turner, Jeffrey and Ralph Infante.			
01/06/20 Lazanich, Julia K.	220.00	0.60	132.00
Coordinate copies of trial video depositions of Mr.	Osler and Ms. Ho	ostetler for N	1r. Holbrook.
01/06/20 McDonald, Michael H. Review and analyze latest trial deposition video e	260.00 xhibit list.	0.50	130.00
01/06/20 McDonald, Michael H. Prepare deposition videos for Opus database and	260.00 I review by trial tea	0.60 am.	156.00
01/06/20 Szalay, Sarah M. Index pleadings and correspondence and forward	235.00 same to Records	1.90	446.50
01/06/20 VanNiel, Michael A.	645.00	1.80	1,161.00
Review renewed motion in limine regarding V-Not issues regarding Mr. Kaffen (1.5).	eholder testimony	/ (.3); review	and analyze designation
01/06/20 Warren, Daniel R. Review trial strategy (3.0); discussions with working	870.00 ng group regarding	3.50 g same (.5).	3,045.00
01/07/20 Brogan, Mary P. Analyze Textron's renewed motion in limine to exe	295.00 clude testimony by	0.30 / V-Noteholo	88.50 ders.
01/07/20 Dunnaback, Jeremy	330.00	6.90	2,277.00
Edit proposed jury instructions for trial (4.5); meet discuss trial strategy and jury instructions matters		Mr. Holbroo	k, and Mr. Kavouras to
01/07/20 Dyer, Ricky J.	240.00	2.80	672.00
Create designations for trial preparation (2.5); exp to network drive (.3).	oort video designa	tions with tra	anscript play list and upload
01/07/20 Holbrook, Scott C.	595.00	9.50	5,652.50
Outline response to Textron's motion in limine reg instructions (2.5); designate deposition testimony			
01/07/20 Kavouras, Daniel M.	395.00	3.30	1,303.50
Revise jury instructions and interrogatories for tria	I and submission	in accordan	ce with the scheduling order.
01/07/20 Lazanich, Julia K.	220.00	9.80	2,156.00
Review deposition videos of Mr. Infante and Mr. L video designations in connection with same.	aCagnin with Mr.	Holbrook an	d Mr. Warren and revise
01/07/20 Lazanich, Julia K.	220.00	1.00	220.00
Prepare and provide Mr. LaCagnin's highlighted to Holbrook.	anscripts and des	ignations to	Mr. Warren and Mr.
Baker: Hostotler LLP			

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 122 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: 09/28/20 Invoice Number: 50809379 Matter Number: 042188.000001 Page 107
01/07/20 Lazanich, Julia K. 220.00	0 0.20 44.00
Create exhibit list of Donald Henderson video deposition.	
01/07/20 Szalay, Sarah M. 235.0 Assemble all deposition transcripts and exhibits for Ronald request.	
01/07/20 VanNiel, Michael A. 645.0	0 2.90 1,870.50
Review prior deposition transcripts of Mr. Kaffen (1.5); correc (.1); review and comment on draft expert materials (.5); corr (.2); telephone conference with expert regarding same (.1); trial preparation issues (.5).	respondence with working group regarding same
01/07/20 Warren, Daniel R. 870.0	0 4.50 3,915.00
Review witness depositions (2.0); prepare outlines of questi	ions for use at trial (2.5).
01/08/20 Brogan, Mary P. 295.0 Research admissibility of audit reports from accounting firm	,
01/08/20 Dunnaback, Jeremy 330.00 Edit proposed jury instructions for trial (5.2); analyze control	
01/08/20 Dyer, Ricky J. 240.0 Create designations and transcript play list for trial preparat	
01/08/20 Holbrook, Scott C. 595.0 Correspondence with litigation team regarding case issues	- · · · · , · · · ·
01/08/20 Kavouras, Daniel M. 395.0 Revise jury instructions and interrogatories for trial.	0 1.00 395.00
01/08/20 Kavouras, Daniel M. 395.0 Outline response to renewed motion in limine regarding V-N	
01/08/20 Lazanich, Julia K. 220.00 Review and address deposition designations of Byron Turne	
01/08/20 Lazanich, Julia K. 220.0 Review deposition video designations of Byron Turner with	
01/08/20 Lazanich, Julia K. 220.00 Revise designations of Ralph Infante and Brian O'Fallon wit files for use at trial.	
01/08/20 McDonald, Michael H. 260.0 Prepare deposition videos for Opus database and review by	
01/08/20 Szalay, Sarah M. 235.0 Access and obtain pleadings and related materials at the re	

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Philadelphia Houston Los Angeles New York Orlando San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 123 of 197

01/08/20 VanNiel, Michael A.		645.00	0.80	516.00			
Review and respond to inquiries from working group regarding trial preparation issues (.3); review and respond to comments from working group regarding draft communication to opposing counsel (.2); telephone conference with Mr. Holbrook regarding open issues (.2); email to Textron counsel regarding open matters (.1).							
01/08/20 Warren, Daniel R.		870.00	4.00	3,480.00			
Review and revise opening s	tatement (3.0); review a	and revise witness	s questions f	or trial (1.0).			
01/09/20 Dunnaback, Jeremy		330.00	7.70	2,541.00			
Draft trial brief (3.5); analyze Bankruptcy Code and Ohio la Kavouras to discuss jury inst	aw in connection with tr						
01/09/20 Dyer, Ricky J.		240.00	2.60	624.00			
Create designations and upd	ating video clips of vide	eo testifying witnes	sses for pre-	viewing by trial team.			
01/09/20 Holbrook, Scott C.		595.00	9.40	5,593.00			
Designate deposition testime	ny for trial (1.5); review	and address trial	preparation	matters (7.9).			
01/09/20 Kavouras, Daniel M		395.00	2.80	1,106.00			
Draft trial exhibit list.							
01/09/20 Kavouras, Daniel M		395.00	6.50	2,567.50			
Revise trial exhibit list, interro	ogatories, and jury instr	uctions.					
01/09/20 Lazanich, Julia K.		220.00	7.20	1,584.00			
Review and edit deposition v Mr. Warren for use at trial.	ideo clips of Mr. Osler,	Mr. O'Fallon, and	Mr. Kimmer	ling with Mr. Holbrook and			
01/09/20 Lazanich, Julia K.		220.00	0.70	154.00			
Review and edit deposition v	ideo of Mr. Infante for ι	ise by trial team.					
01/09/20 Mumford, Michael E		560.00	3.30	1,848.00			
Review deposition video of M presentation of said deposition	•	dvise Messrs. Wai	rren and Hol	brook regarding trial			
01/09/20 VanNiel, Michael A.		645.00	1.40	903.00			
Correspondence and discuss with working group regarding			pretrial matt	ers (.5); correspondence			
01/09/20 Warren, Daniel R.		870.00	4.00	3,480.00			
Review and analyze trial stra	tegy (2.5); coordinate v	vith trial team rega	arding open	trial tasks (1.5).			
01/10/20 Brogan, Mary P.		295.00	0.10	29.50			
Discuss research regarding a	admissibility of audit do	cuments with Mr.	Holbrook.				

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 124 of 197

01/10/20 Dunnaback, Jeremy Edit trial brief (2.5); edit jury instructions (1.0); an recovery under the Bankruptcy Code and Ohio la			
01/10/20 Holbrook, Scott C. Review and comment on pretrial submissions (3.	595.00 0); prepare materi	4.60 als for use a	2,737.00 t trial (1.6).
01/10/20 Kavouras, Daniel M. Revise exhibit list and jury instructions.	395.00	3.50	1,382.50
01/10/20 Kavouras, Daniel M. Review investor histories and deposition transcrip	395.00 ots for opposition t	2.00 o renewed n	790.00 notion in limine.
01/10/20 Lazanich, Julia K.	220.00	6.50	1,430.00
Review and revise designations and exhibit lists f Mr. Henderson, Mr. Infante, Mr. O'Fallon, Mr. Osl			
01/10/20 Szalay, Sarah M.	235.00	0.20	47.00
Access and obtain contact information for Michae	el Giulioli and forwa	ard to Mr. Ho	olbrook per his request.
01/10/20 VanNiel, Michael A.	645.00	1.70	1,096.50
Correspondence and discussions with working gr on draft jury instructions (1.0); correspondence w with counsel for Textron regarding pretrial issues	ith working group		
01/10/20 Warren, Daniel R.	870.00	4.50	3,915.00
Review and analyze trial preparation and strategy	y (3.0); prepare ma	aterials for us	se at trial (1.5).
01/11/20 Dunnaback, Jeremy	330.00	5.00	1,650.00
Meet with Mr. Warren, Mr. Holbrook, and Mr. Kav	ouras to discuss t	rial strategy	and jury instructions.
01/11/20 Holbrook, Scott C.	595.00	5.50	3,272.50
Draft and revise jury instructions (5.0); review and	d address trial pre	paration issu	ies (.5).
01/11/20 Kavouras, Daniel M.	395.00	5.10	2,014.50
Review and revise jury instructions pursuant to co	omments of trial te	am.	
01/11/20 Warren, Daniel R.	870.00	4.00	3,480.00
Coordinate with trial team regarding trial preparat (1.5).	tion (2.5); review a	and address t	trial strategic considerations
01/12/20 Holbrook, Scott C.	595.00	2.00	1,190.00
Review and analyze trial presentation matters (1. (.5).	5); revise outlines	of possible v	witness questions for trial
01/12/20 Lazanich, Julia K.	220.00	0.20	44.00
Respond to Mr. Warren's emails regarding design	nations of video de	eposition of N	Ar. Infante.

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 125 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: 09/28/20 Invoice Number: 50809379 Matter Number: 042188.000001 Page 110
01/13/20 Brogan, Mary P. 295.00	0 4.70 1,386.50
Analyze admissibility of audit documents and related eviden	itiary standards.
01/13/20 Dunnaback, Jeremy 330.00	0 4.20 1,386.00
Meet with Mr. Warren, Mr. Holbrook, and Mr. Kavouras to diedit jury instructions (.8); analyze research on availability of Ohio's UFTA (2.0).	
01/13/20 Holbrook, Scott C. 595.00	0 8.30 4,938.50
Revise jury instructions (1.2); attend working group meeting address trial preparation matters (5.7).	s regarding trial strategy (1.4); review and
01/13/20 Kavouras, Daniel M. 395.00	0 1.50 592.50
Review and revise updated proposed jury instructions of Tru	ustee.
01/13/20 Kavouras, Daniel M. 395.00	0 3.90 1,540.50
Draft trial brief, including sections on playing deposition vide	eo in opening statements.
01/13/20 Lazanich, Julia K. 220.00	0 2.30 506.00
Work on exhibit list edits and quality checking designations O'Fallon.	of Ralph Infante, Michael Giulioli, and Brian
01/13/20 Szalay, Sarah M. 235.00	0 0.30 70.50
Access and obtain pleadings and related materials at the re	quest of Mr. Bash.
01/13/20 Szalay, Sarah M. 235.00	0 1.40 329.00
Index pleadings and correspondence and forward same to F	Records.
01/13/20 VanNiel, Michael A. 645.00	0 5.50 3,547.50
Correspondence with working group regarding pretrial subm designations (1.8); correspondence with working group rega updated jury instructions (1.0); review and analyze authority same (.5); correspondence with working group regarding sa submissions (1.5).	arding same (.2); review and comment on regarding recovery issues in connection with
01/13/20 Warren, Daniel R. 870.00	0 8.00 6,960.00
Review and comment on pretrial submissions (4.0); prepare use with select witnesses (2.0).	e trial witness questions (2.0); review exhibits for
01/14/20 Brogan, Mary P. 295.00	0 2.70 796.50
Draft memorandum regarding admissibility of audits at trial.	
01/14/20 Dunnaback, Jeremy 330.00	0 8.90 2,937.00
Review and revise jury instructions (4.2); meet with Mr. War trial strategy and jury instructions (3.6); draft proposed voir of	

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 126 of 197

01/14/20 Fletcher, Adam L. Discussion with Mr. VanNiel regarding assignment equitable subordination claim (.3); perform research same to Mr. VanNiel (2.3).			
01/14/20 Holbrook, Scott C. Attend trial preparation meetings with select member preparation issues in light of same (4.0); prepare with	· ·		
01/14/20 Kavouras, Daniel M. Draft trial brief and witness list.	395.00	3.60	1,422.00
01/14/20 Kavouras, Daniel M. Draft response to renewed motion in limine on V-No	395.00 oteholders.	4.40	1,738.00
01/14/20 Kavouras, Daniel M. Review deposition transcripts and exhibits for respo	395.00 onse to renewed n	3.00 notion in limi	1,185.00 ine.
01/14/20 Lazanich, Julia K. Research and coordinate trial logistics issues at the	220.00 request of Mr. He	2.40 olbrook.	528.00
01/14/20 Lazanich, Julia K. Assist with preparations for meeting with Mr. Koisho editing services for use at trial.	220.00 or from Veritext re	2.00 garding trial	440.00 preparation and video
01/14/20 Lazanich, Julia K. Meet with Mr. VanNiel to discuss Jeffrey Coulter, An Eichenberger designations (.2); revise same (.3).	220.00 hthony Schlichte,	0.50 Jeffrey Osle	110.00 r, Jeff Birk and Steven
01/14/20 Lazanich, Julia K. Meet with Mr. Holbrook to to discuss trial needs and	220.00 l logistics.	0.10	22.00
01/14/20 Lazanich, Julia K. Send Mr. Kavouras a list of deposition designations 2020.	220.00 for our case in cl	0.10 nief to be sul	22.00 bmitted on January 17,
01/14/20 VanNiel, Michael A. Correspondence and discussions with working grou with working group regarding final drafts of jury inst regarding pretrial submission matters (.2); review and correspondence with working group regarding same counsel (1.3); correspondence with working group re- subordination claim matters (2.0).	ructions (2.0); rev nd analyze golder e (.3); review jury	iew and resp creditor ma instructions	bond to email inquiries atters (1.0); received from Textron
01/14/20 Warren, Daniel R. Draft witness question outlines (5.0); review and rev	870.00 /ise opening state	9.00 ement (4.0).	7,830.00
01/15/20 Brogan, Mary P. Revise memorandum regarding admissibility of fina	295.00	3.10	914.50
Delvevel le statleve e s			

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 127 of 197

Trustee in Bankruptcy for Fair Finance	Company
--	---------

01/15/20 Dunnaback, Jeremy	330.00	11.40	3,762.00
Edit trial brief (3.9); edit jury instructions (2.5); mee discuss trial strategy, controlling issues of law, and recovery under Section 550 of the Bankruptcy Cod	t with Mr. Warrer jury instructions	n, Mr. Holbro	ok, and Mr. VanNiel to
01/15/20 Fletcher, Adam L.	450.00	0.40	180.00
Discussion with Mr. VanNiel regarding prior researd jury.	ch on whether eo	quitable subc	ordination can be tried to a
01/15/20 Holbrook, Scott C.	595.00	8.40	4,998.00
Review and comment on pretrial submissions (5.5)	; review and revi	se witness e	xamination outlines (2.9).
01/15/20 Kavouras, Daniel M.	395.00	9.60	3,792.00
Draft response to renewed motion in limine on V-N	ote investors.		
01/15/20 Lazanich, Julia K.	220.00	1.10	242.00
Edit Ralph Infante designations per Mr. Warren's re	evisions.		
01/15/20 Lazanich, Julia K.	220.00	0.80	176.00
Respond to inquiries regarding trial logistical matte	rs and trial techn	ology.	
01/15/20 Lazanich, Julia K.	220.00	1.70	374.00
Create Exhibit List materials for Mr. Warren.			
01/15/20 Lazanich, Julia K.	220.00	0.20	44.00
Review and revise Jeff Osler designations per Mr.	Holbrook's revisi	ons.	
01/15/20 Szalay, Sarah M.	235.00	0.40	94.00
Emails to and from Mr. McDonald and Mr. Holbrool	k regarding docu	ments neede	ed for trial.
01/15/20 VanNiel, Michael A.	645.00	5.00	3,225.00
Correspondence with working group regarding pret meetings to finalize same (2.5); review and addres			
01/15/20 Warren, Daniel R.	870.00	8.00	6,960.00
Review and comment on pretrial submissions (6.0)	; review and add	lress trial pre	paration matters (2.0).
01/16/20 Brogan, Mary P.	295.00	1.30	383.50
Research grounds for objecting to Textron's jury in	structions.		
01/16/20 Dunnaback, Jeremy	330.00	6.60	2,178.00
Edit trial brief (2.8); edit jury instructions (2.0); anal conference with opposing counsel to discuss proposition stipulations (.8).			
01/16/20 Holbrook, Scott C.	595.00	7.10	4,224.50
Participate in jury instruction conference with opport participate in meeting with Mr. Klein regarding trial			

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 128 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: Invoice Number: Matter Number:	09/28/20 50809379 042188.000001 Page 113
01/16/20 Kavouras, Daniel M. 395	.00 1.70 6	671.50
Revise response to renewed motion in limine on V-Noteho	olders.	
01/16/20 Kavouras, Daniel M. 395		592.50
Attend trial team meeting to discuss strategy for jury instru	uctions.	
01/16/20 Lazanich, Julia K. 220	.00 4.20 9	924.00
Provide Mr. Dunnaback the final page and line designatio exhibit with the trial brief and jury instructions on January		esses to file as an
01/16/20 Lazanich, Julia K. 220 Assist Mr. Warren and Mr. Holbrook with trial preparation.		352.00
01/16/20 VanNiel, Michael A. 645	.00 6.30 4,0	063.50
Review draft opposition to latest motion by Textron to exc with working group regarding same (.1); prepare for (.7) a with opposing counsel regarding pretrial matters; attend w (1.5); attend meeting with expert witness regarding trial pr depositions (1.4).	nd attend (.8) meet and con orking group meetings rega eparations (1.5); prepare de	fer conference call arding results of same esignations of select
01/16/20 Warren, Daniel R. 870	,	525.00
Review latest brief field by Textron regarding V-Noteholde preparation materials (4.0); coordinate trial strategy (3.3).	er testimony (.2); review and	comment on trial
01/17/20 Bhagat, Ashish K. 235	.00 0.20	47.00
Coordinate an external hard drive pick-up with vendor reg preparations.	arding relativity database fo	r use in trial
01/17/20 Dunnaback, Jeremy 330	.00 8.20 2,	706.00
Edit trial brief (3.5); edit jury instructions (1.6); edit joint sta proposed jury instructions (1.0); correspond with opposing analyze case law concerning recovery of attorneys' fees u (1.5).	counsel regarding propose	ed instructions (.2);
01/17/20 Holbrook, Scott C. 595	.00 7.60 4,5	522.00
Attend trial team meetings regarding strategy (2.0); review outline questions for select trial witnesses (2.1).	v and analyze witness testin	nony issues (3.5);
01/17/20 Kavouras, Daniel M. 395 Research on admissibility of select evidence for trial.	.00 1.90	750.50
01/17/20 Kavouras, Daniel M. 395 Revise jury instructions for trial.	.00 2.00	790.00
01/17/20 Kavouras, Daniel M. 395 Review Textron proposed jury instructions submitted to C		711.00
01/17/20Kavouras, Daniel M.395Review and revise trial brief.		711.00

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 129 of 197

Trustee in	Bankruptcy for	Fair Finance	Company
------------	----------------	--------------	---------

01/17/20 Lazanich, Julia K.		220.00	2.20	484.00
Create updated highlighted Michael Giulioli, and John I		ations of Ralph Inf	ante, Byron 1	urner, Jeffrey Coulter,
01/17/20 Lazanich, Julia K.		220.00	2.00	440.00
Review and analyze video in chief to be filed on Janua		ghlights and page	and line list of	of designations for case
01/17/20 McDonald, Michae	el H.	260.00	1.30	338.00
Coordinate regarding Relat	ivity database for use at	trial.		
01/17/20 VanNiel, Michael A	۹.	645.00	6.30	4,063.50
Prepare select deposition or regarding same (.4); follow select jury instruction matter multiple correspondence w (1.2).	up regarding expert reporters (1.0); review and analysis	rt issues regardin yze materials of in	g Ms. Smith ( terest in coni	.4); review and address nection with same (1.8);
01/17/20 Warren, Daniel R.		870.00	4.00	3,480.00
Review and finalize pretrial	submissions (3.0) review	v and analyze trial	strategy (1.0	).
01/18/20 Dunnaback, Jeren	ıy	330.00	4.00	1,320.00
Edit trial brief (1.7); edit jury concerning recovery of atto				
01/18/20 Holbrook, Scott C.		595.00	3.40	2,023.00
Prepare deposition counter litigation team regarding tria		and revise trial br	ief (1.2); corr	espondence with
01/18/20 Kavouras, Daniel	И.	395.00	5.50	2,172.50
Revise trial brief and exhibit	t list.			
01/18/20 VanNiel, Michael A	Α.	645.00	5.00	3,225.00
Correspondence with work inquiries regarding same (1 review and address additio on drafts of multiple pretria	.5); review and respond nal select pretrial and de	to inquiries regard	ing select iss	ues relating to same (.5);
01/18/20 Warren, Daniel R.		870.00	1.50	1,305.00
Review and analyze trial st	rategy.			
01/19/20 Dunnaback, Jeren	ıy	330.00	3.20	1,056.00
Edit trial brief (.4); edit jury	instructions (.8); draft obj	ections to Textron	's proposed i	nstructions (2.0).
01/19/20 Holbrook, Scott C.		595.00	3.00	1,785.00
Prepare deposition counter correspondence with litigat	•		trial brief (1.0	); prepare for trial (.7);

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 130 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: 09/28/20 Invoice Number: 50809379 Matter Number: 042188.000001 Page 115
01/19/20 Kavouras, Daniel M. 395.00	2.00 790.00
Revise trial brief pursuant to comments of trial team.	
01/19/20 VanNiel, Michael A. 645.00 Review and comment on drafts of pretrial submissions (2.0) regarding same (.6).	,
01/19/20 Warren, Daniel R. 870.00	0 2.00 1,740.00
Review and revise pretrial submissions (1.6); review witness	s issues (.4).
01/20/20 Dunnaback, Jeremy 330.00	0 10.20 3,366.00
Meet with Mr. Warren, Mr. Holbrook, and Mr. Kavouras to di Textron's proposed jury instructions (2.0); edit and finalize th proposed jury instructions, joint statement of the case, and s	ne Trustee's trial brief, as well as the parties'
01/20/20 Holbrook, Scott C. 595.00	0 8.60 5,117.00
Draft and revise trial brief (7.8); review Textron's trial brief (.3	8).
01/20/20 Kavouras, Daniel M. 395.00	,
Revise trial brief, exhibit list, jury instructions and objections	
01/20/20 VanNiel, Michael A. 645.00 Review objections from Textron to proposed jury instructions regarding same (.4); review and analyze Textron special inte correspondence with working group regarding same (.2); rev designation tasks (.3); correspondence with working group r	s (.5); correspondence with working group errogatory and verdict forms (.3); view correspondence regarding deposition
01/20/20 Warren, Daniel R. 870.00	8.00 6,960.00
Attend trial team meetings regarding strategy (2.0); review p analyze trial strategy (2.5).	pretrial submissions of parties (3.5); review and
01/21/20 Dunnaback, Jeremy 330.00	4.50 1,485.00
Analyze Ohio case law concerning award of attorneys' fees (2.1); draft outline of attorneys' fee research in preparation framended jury instructions (.4).	
01/21/20 Holbrook, Scott C. 595.00	9.50 5,652.50
Review and address trial matters (3.0); draft materials for us	e at trial (5.5); prepare for mediation (1.0).
01/21/20 Kavouras, Daniel M. 395.00	2.00 790.00
Finalize opposition to renewed motion in limine and exhibits	
01/21/20 Kavouras, Daniel M. 395.00 Finalize revised jury instructions.	0 0.50 197.50
01/21/20 Lazanich, Julia K. 220.00	3.50 770.00
Complete Benjamin Kimmerling and Jerrold Brown deposition be filed on January 24, 2020.	

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 131 of 197

01/21/20 Lazanich, Julia K.	220.00	0.70	154.00	
Create materials regarding Trial Briefs, Statemer January 21, 2020 for use by Mr. Warren at trial.	nt of Facts, and Pr	oposed Jury	Instructions as filed on	
01/21/20 McDonald, Michael H.	260.00	0.30	78.00	
Coordinate regarding Relativity database for use	e by trial team.			
01/21/20 Szalay, Sarah M.	235.00	0.20	47.00	
Access and obtain recently filed pleadings and for	prward to internal t	eam.		
01/21/20 VanNiel, Michael A.	645.00	5.90	3,805.50	
Correspondence with working group regarding tr respond to inquiries regarding same (.5); review witnesses (2.5); correspondence with working gr meetings regarding trial preparation matters (2.0	and revise video of oup regarding san	deposition de	signations for select	als to
01/21/20 Warren, Daniel R.	870.00	6.50	5,655.00	
Review and analyze latest draft pretrial submissi (2.5).	ons (4.0); review a	and address t	rial preparation matters	
01/22/20 Dunnaback, Jeremy	330.00	1.40	462.00	
Meet with Mr. Warren to discuss mediation and r concerning exceptions to hearsay based on avai			deral case law and rule	S
01/22/20 Holbrook, Scott C.	595.00	6.90	4,105.50	
Attend mediation with Court (5.0); meet with litigate deposition testimony for trial (.4); correct.				ion
01/22/20 Lazanich, Julia K.	220.00	0.20	44.00	
Complete designations of witness Steven Eicher	nberger for Mr. Va	nNiel.		
01/22/20 Lazanich, Julia K.	220.00	0.20	44.00	
Complete designation edits of witness Michael G	Giulioli for Mr. Warr	ren.		
01/22/20 Lazanich, Julia K.	220.00	0.20	44.00	
Complete designations of witness Byron Turner	for Mr. Warren.			
01/22/20 Lazanich, Julia K.	220.00	0.40	88.00	
Complete designation edits of Benjamin Kimmer designations.	ling for Mr. Warrer	η and follow ι	p regarding certain	
01/22/20 Lazanich, Julia K.	220.00	0.30	66.00	
Complete designation edits of witness John Eglo	offi for Mr. Warren.			
01/22/20 Lazanich, Julia K.	220.00	0.40	88.00	
Meet with Mr. Holbrook and Mr. VanNiel regardir testimony.	ng how to submit c	cross-designa	tions of video depositio	n

Houston	Atlanta	Chicago s Angeles	Cincinnati New York	i Clevelano Orlando	d Columbu Philadelphia	s Costa Mesa San Francisco	Dallas Seattle	Denver Washington, DC
nousion	LU	s Angeles	New TOTA	Unanuu	Filliaueipilla	San Francisco	Seallie	Washington, DC
10-50494-	jps	Doc 2637	FILED 1	0/14/20 E	ENTERED	10/14/20 08:40	:54 Pa	ge 132 of 197

01/22/20 Lazanich, Julia K. Review objection notes of Michael Gulioli, John Eg Turner with Mr. Warren.	220.00 loff, Benjamin Kin	0.30 nmerling, Je	66.00 ffrey Coulter and Byron
01/22/20 Lazanich, Julia K. Complete designations of witness Mark Heuerman	220.00 for Mr. VanNiel.	0.20	44.00
01/22/20 Lazanich, Julia K.	220.00	0.80	176.00
Complete designation edits of witness Jeffrey Coul	Iter for Mr. Warrer	1.	
01/22/20 Lazanich, Julia K. Coordinate Heflin and Palmieri deposition uploads Veritext for Mr. Warren.	220.00 into Opus with Mi	1.00 r. McDonald	220.00 and Mr. Regan from
01/22/20 McDonald, Michael H. Prepare deposition videos for Opus database for u	260.00 se by trial team.	2.00	520.00
01/22/20 Szalay, Sarah M.	235.00	0.10	23.50
Access and obtain recently filed pleadings and forv	vard to internal te	am.	
01/22/20 Szalay, Sarah M.	235.00	0.20	47.00
Access and obtain pleadings and related materials	at the request of	Mr. Bash.	
01/22/20 VanNiel, Michael A. Correspondence with working group regarding trial video deposition designation issues (1.8); attend m deposition designation matters (1.0).			
01/22/20 Warren, Daniel R.	870.00	6.00	5,220.00
Attend mediation with court (5.0: review and addre	ss trial preparatio	n issues follo	owing same (1.0).
01/23/20 Brogan, Mary P.	295.00	0.50	147.50
Review Eileen Hostetler's deposition to identify tes	timony relevant to	admission	of financial documents.
01/23/20 Dunnaback, Jeremy Discuss research on hearsay exceptions with Mr. H	330.00 Holbrook.	0.10	33.00
01/23/20 Holbrook, Scott C.	595.00	5.60	3,332.00
Discuss trial preparation with Mr. Warren (.5); prep	are for trial follow	ing same (5	.1).
01/23/20 Lazanich, Julia K.	220.00	2.80	616.00
Create counter-designation list to be filed with dep	osition highlights o	on January 2	24, 2020.
01/23/20 Lazanich, Julia K.	220.00	0.20	44.00
Complete designation list and highlight edits of Jef	frey Birk for Mr. V	anNiel.	
01/23/20 Lazanich, Julia K. Meet with Mr. Holbrook to discuss how to best high opposing counsel.	220.00 hlight and submit o	0.20 cross-design	44.00 nations to Court and

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 133 of 197

Trustee in Bankruptcy for Fair Finance (	Company
--	---------

01/23/20 I	Lazanich, Julia K.	220.00	0.20	44.00	
Review a	nd address issues regarding Heflin and Pal	mieri testimony.			
01/23/20 I	McDonald, Michael H.	260.00	0.30	78.00	
Prepare of	deposition videos for Opus database for use	e by trial team.			
01/23/20 I	McDonald, Michael H.	260.00	1.00	260.00	
Review a	nd address issues regarding trial team Rela	tivity database.			
01/23/20	√anNiel, Michael A.	645.00	2.60	1,677.00	
	ndence with working group regarding trial p lesignations (2.0); correspondence with wor				
01/23/20	Warren, Daniel R.	870.00	1.50	1,305.00	
Coordina	te with trial team regarding trial strategy and	d pretrial submiss	ions.		
01/24/20 I	Beachdell, Alexis C.	430.00	2.00	860.00	
Assist wit	th trial exhibit objection issues.				
01/24/20 I	Dunnaback, Jeremy	330.00	9.40	3,102.00	
revise Tru	Analyze federal case law regarding calling an opposing party's expert as a witness (2.0); draft, review and revise Trustee's objections to Textron's exhibit list (7.0); finalize and disseminate the Trustee's deposition counter-designations (.4).				
01/24/20 I	Holbrook, Scott C.	595.00	8.80	5,236.00	
	Meet with Mr. Klein regarding trial preparation (4.0); designate deposition testimony for trial (.4); prepare objections to Textron's trial exhibits (1.8); prepare for trial (2.6).				
01/24/20 I	Kavouras, Daniel M.	395.00	5.50	2,172.50	
Research	n on admissibility of bases for expert testime	ony regarding sele	ect trial topics	3.	
01/24/20 I	Kavouras, Daniel M.	395.00	3.00	1,185.00	
Review d	ocuments on Textron exhibit list for objectio	ns.			
01/24/20 I	Lazanich, Julia K.	220.00	6.20	1,364.00	
Ralph Inf	effrey Birk, Jerrold Brown, John Egloff, Stev ante, Robert Kaffen, Benjamin Kimmerling, are file to be exchanged with opposing cour	Richard Palmieri,			
01/24/20 I	Lazanich, Julia K.	220.00	1.00	220.00	
	n Mr. Dunnaback to revise comments with h lesignation file.	ighlighting on Tru	stee's intern	al video deposition	
01/24/20 I	Lazanich, Julia K.	220.00	0.80	176.00	
Create ch	nief witness binder for Mr. Warren.				
01/24/20 I	McDonald, Michael H.	260.00	12.30	3,198.00	
	nd copy newly designated trial exhibits from eparations.	n multiple data loc	ations on an	expedited basis for use	

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 134 of 197

01/24/20	VanNiel, Michael A.	645.00	2.40	1,548.00			
workin regard	Finalize video deposition counter-designations regarding select witnesses (1.0); correspondence with working group regarding pretrial submissions (.3); review and respond to inquiries from working group regarding document and related pretrial issues (.4); review correspondence regarding select exhibit matters (.5); telephone conferences and discussions with working group regarding same (.2).						
01/24/20	Warren, Daniel R.	870.00	7.00	6,090.00			
Reviev	v and address mediation issues (2.5); prepare	e witness examina	ations for tria	al (4.5).			
01/25/20	Beachdell, Alexis C.	430.00	1.00	430.00			
Assist	with trial exhibit objection issues.						
01/25/20	Brogan, Mary P.	295.00	0.50	147.50			
	one call with Mr. Dunnaback and Mr. Kavour ine necessary objections.	as to discuss doc	uments on T	extron's exhibit list to			
01/25/20	Dunnaback, Jeremy	330.00	6.90	2,277.00			
Reviev	v and revise Trustee's objections to Textron's	exhibit list.					
01/25/20	Holbrook, Scott C.	595.00	6.40	3,808.00			
Review and address trial preparation matters (3.0); review and analyze testimony issues for trial (2.0); draft letter to Judge Gaughan regarding discovery dispute (.8); prepare objections to Textron's trial exhibits (.6).							
01/25/20	Kavouras, Daniel M.	395.00	3.20	1,264.00			
Reviev	v Textron exhibit list, including searching reco	ords for document	s identified.				
01/25/20	McDonald, Michael H.	260.00	1.80	468.00			
Identify	and copy newly designated trial exhibits fror	m multiple data lo	cations on a	n expedited basis.			
01/25/20	Warren, Daniel R.	870.00	3.50	3,045.00			
Draft w	vitness examination outlines for trial (2.5); rev	iew exhibits for us	se in same (	1.0).			
01/26/20	Brogan, Mary P.	295.00	2.60	767.00			
Reviev	v documents designated as exhibits by Textro	on to identify pote	ntial objectic	ins.			
01/26/20	Holbrook, Scott C.	595.00	6.60	3,927.00			
Prepar	e for expert testimony at trial (4.0); review an	d revise witness o	question and	exhibit outline (2.6).			
01/26/20	Kavouras, Daniel M.	395.00	8.70	3,436.50			
Draft o	bjections to Textron exhibit list.						
01/26/20	Warren, Daniel R.	870.00	3.00	2,610.00			
Reviev (1.5).	v and analyze trial strategy (1.5); review selec	ct witness deposit	ion testimon	y in connection with same			
01/27/20	Beachdell, Alexis C.	430.00	2.00	860.00			
Assist	with trial exhibit objection issues.						

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 135 of 197

01/27/20 Brogan, Mary P. Review documents Textron identified as exhibits for	295.00 pr potential objecti	4.20 ons (1.0); p	1,239.00 articipate in meeting with
Mr. Dunnaback, Mr. Kavouras, Mr. Holbrook, and matters (3.2).			
01/27/20 Dunnaback, Jeremy	330.00	6.90	2,277.00
Attend portions of meeting with Mr. Warren, Mr. Ke strategies and the Trustee's opening statement (2 list (4.5).			
01/27/20 Holbrook, Scott C.	595.00	9.50	5,652.50
Correspondence with litigation team and opposing examinations of select witnesses (3.5); prepare of deposition designations (2.0); prepare for meet an	jections to Textro	n's trial exhi	bits (2.5); prepare rebuttal
01/27/20 Kavouras, Daniel M.	395.00	1.10	434.50
Revise letter to Judge Gaughan and exhibits rega	rding latest pretria	l dispute.	
01/27/20 Kavouras, Daniel M.	395.00	4.50	1,777.50
Analyze objections to Textron exhibits.			
01/27/20 Kavouras, Daniel M.	395.00	2.00	790.00
Review and address issues regarding objections t	o Textron exhibits		
01/27/20 Lazanich, Julia K.	220.00	2.70	594.00
Attend meeting with trial presenter, Mr. Koishor, al opening presentation logistics and technology nee		en and Mr.	Dunnaback to discuss
01/27/20 Lazanich, Julia K.	220.00	0.80	176.00
Coordinate rebuttal designations of Mr. Kimmerling	g, Mr. Birk, Mr. Eic	henberger v	with Mr. Holbrook.
01/27/20 Lazanich, Julia K.	220.00	2.30	506.00
Combine counter-designations for Mr. VanNiel, Mr	. Holbrook and Mi	. Warren fo	r the sake of rebuttals.
01/27/20 McDonald, Michael H.	260.00	0.20	52.00
Identify and copy newly designated trial exhibits fr by trial team.	om multiple data lo	ocations on	an expedited basis for use
01/27/20 VanNiel, Michael A.	645.00	3.30	2,128.50
Review and respond to multiple inquiries regarding with working group regarding same (1.0); prepare deposition designations (2.0).			
01/27/20 Warren, Daniel R.	870.00	7.50	6,525.00
Review and analyze pretrial submissions and issu question outlines (4.0); coordinate with trial team r			ew and address trial witness
01/28/20 Brogan, Mary P.	295.00	0.10	29.50
Research standards for sequestration of experts.			
Baker&Hostetler LLP			

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 136 of 197

01/28/20	Dunnaback, Jeremy	330.00	7.00	2,310.00			
to prep outstar discuss	Meet with Mr. Holbrook to discuss research on expert witnesses (.1); call with Mr. Warren and Mr. Palmieri to prepare for expert testimony at trial (1.8); attend meet and confer with opposing counsel to discuss outstanding issues for trial (.8); meet with Mr. Warren, Mr. Holbrook, Mr. VanNiel, and Mr. Kavouras to discuss trial strategy and admissibility of Fair Finance records (1.6); analyze prior testimony in Fortress proceeding and Durham criminal trial regarding admissibility and foundation for Fair Finance records (2.7).						
01/28/20	Holbrook, Scott C.	595.00	10.70	6,366.50			
	Telephone call with opposing counsel regarding trial preparation (.5); review Klein deposition transcript (.5); review and address multiple trial examination issues in connection with ongoing trial preparation (9.7).						
01/28/20	Kavouras, Daniel M.	395.00	4.80	1,896.00			
Analyz	e exhibit admissibility issues and objections.						
01/28/20	Kavouras, Daniel M.	395.00	1.00	395.00			
Review	reply in support of renewed V-Note motion i	n limine.					
01/28/20	Kavouras, Daniel M.	395.00	2.50	987.50			
Resear	ch on admissibility of bases of expert testime	ony.					
01/28/20	Lazanich, Julia K.	220.00	4.90	1,078.00			
Highlight counter-designations for Mr. Holbrook, Mr. Warren and Mr. VanNiel of Jeffrey Birk, Jeffrey Coulter, John Egloff, Steven Eichenberger, Michael Giulioli, Donald Henderson, Ralph Infante, Benjamin Kimmerling, Leonard LaCagnin, Brian O'Fallon, Jeffrey Osler, and Byron Turner.							
01/28/20	Lazanich, Julia K.	220.00	0.40	88.00			
	s with Mr. Holbrook and Mr. Warren about dif estimony.	ferences in count	er-designati	ons of parties regarding			
01/28/20	Lazanich, Julia K.	220.00	0.40	88.00			
Discus	s with Mr. Holbrook and Mr. Warren trial logis	stics matters.					
01/28/20	Lazanich, Julia K.	220.00	0.20	44.00			
	pond with trial presenter Mr. Koishor regardir g statement presentation.	ng Len LaCagnin	deposition vi	deo and Mr. Warren's			
01/28/20	VanNiel, Michael A.	645.00	9.50	6,127.50			
Review and address trial preparation and deposition designation matters (3.5); review and revise pretrial submissions regarding same (1.5); review memorandum regarding deadlines relating to same (.2); correspondence and discussions with working group regarding trial matters (.8); attend meet and confer conference call with opposing counsel and related working group meetings to coordinate regarding trial matters (2.5); review and analyze briefs regarding latest motion to exclude V-Noteholder testimony (1.0).							
01/28/20	Warren, Daniel R.	870.00	7.00	6,090.00			
Review trial (2.	<ul> <li>and analyze video deposition designations (</li> <li>0).</li> </ul>	(3.); review trial st	rategy (2.0);	continue preparations for			

Houston	Atla		Chicago Ingeles	Cincinna New York			Columbu: hiladelphia		sta Mesa Francisco	Dalla Sea		Denver Washingto	on, DC
10-50494-	jps	D	oc 2637	FILED	10/14/20	EN	TERED	10/14/2	20 08:40	:54	Pag	e 137 of	197

Trustee in Bankruptcy	/ for Fair I	Finance	Company
-----------------------	--------------	---------	---------

01/29/20	Brogan, Mary P.	295.00	3.70	1,091.50		
	e transcripts of Ms. Hostetler's deposition to o admit Fair Finance business records.	determine whethe	er her testime	ony or an affidavit can be		
01/29/20	Dunnaback, Jeremy	330.00	6.40	2,112.00		
analyze (1.0); d	rch federal case law concerning objections to e prior testimony in Fortress process regardir lraft outline for Mr. Palmieri's direct examination of Mr. Cook (.3).	ng admissibility ar	nd foundation	n for Fair Finance records		
01/29/20	Holbrook, Scott C.	595.00	10.20	6,069.00		
	e for trial (4.1); attend telephone conference s for use in same (6.1).	call with Mr. Klein	to prepare f	for trial and prepare		
01/29/20	Kavouras, Daniel M.	395.00	3.80	1,501.00		
Draft m	nemorandum regarding admissibility of bases	of expert testime	ony.			
01/29/20	Kavouras, Daniel M.	395.00	2.50	987.50		
Prepar	e outline of response to renewed objections t	o post-2004 evide	ence.			
01/29/20	Lazanich, Julia K.	220.00	0.40	88.00		
Review	v and address issues regarding designations	of Henderson, Gi	ulioli, and Tu	urner for Mr. Warren.		
01/29/20	Lazanich, Julia K.	220.00	1.60	352.00		
Create	Create binders for submission to Court according to Judge Gaughn's instructions.					
01/29/20	Lazanich, Julia K.	220.00	3.40	748.00		
	ze deposition list, stage notes, exhibits, and I n of trial video deposition presentation.	nighlighted depos	ition testimo	ny for Mr. Koishor for		
01/29/20	Lazanich, Julia K.	220.00	0.10	22.00		
Review	r Textron's loan closing book for trial to response.	nd to inquiry from	n Mr. Warren	regarding same.		
01/29/20	Lazanich, Julia K.	220.00	2.20	484.00		
	new outline of Mr. Warren's opening present ated exhibits for use at trial.	ation for trial pres	senter, Mr. K	oishor, and highlight		
01/29/20	Szalay, Sarah M.	235.00	0.20	47.00		
Access	and obtain recently filed pleadings and forw	ard to internal tea	ım.			
01/29/20	Szalay, Sarah M.	235.00	0.70	164.50		
Retriev	e exhibits to Howard Klein's Expert Report o	f August 31, 2017	at the reque	est of Mr. VanNiel.		
01/29/20	Szalay, Sarah M.	235.00	0.90	211.50		
	ble numerous depositions and exhibits (Luka Ibrook and Mr. Dunnaback.	cik, Hunka, Durba	ak, Osler and	d Schlichte) and forward to		
01/29/20	Szalay, Sarah M.	235.00	1.80	423.00		
Assem	ble documents needed for use at trial.					

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 138 of 197

01/29/20 VanNiel,	Michael A.	645.00	9.40	6,063.00			
designations rega attend conference	Review and analyze select evidentiary issues regarding trial presentations (1.0); prepare rebuttal designations regarding select witnesses (1.5); correspondence with working group regarding same (.2); attend conference call with expert regarding trial preparations (6.5); review summary analysis from Mr. Kavouras regarding issues associated with same (.2).						
01/29/20 Warren, I Prepare for pretria trial (1.0).	Daniel R. Il hearing with Court (4.5); review t	870.00 trial strategy in co	8.50 nnection with	7,395.00 n same (3.0); prepare for			
01/30/20 Brogan, I	Mary P.	295.00	5.20	1,534.00			
affidavit can be us	s of transcripts of Ms. Hostetler's d sed to admit Fair Finance business n during other witness testimony ( d. 902(11) (1.6).	records (2.4); res	search stand	ards for excluding experts			
01/30/20 Dunnaba	ck, Jeremy	330.00	2.30	759.00			
	e outline for Mr. Palmieri's direct ex or consistent statements of witnes		analyze fede	ral case law on the			
01/30/20 Holbrook	, Scott C.	595.00	7.30	4,343.50			
Prepare for exami deposition transcr	nation of select witnesses at trial ( ipt (.3).	6.0); prepare for f	inal pretrial (	1.0); review Klein			
01/30/20 Kavouras	s, Daniel M.	395.00	2.20	869.00			
Review post-2004	evidence for response to renewed	d objections from	Textron.				
01/30/20 Lazanich	, Julia K.	220.00	4.70	1,034.00			
Review and revise	e final rebuttal designations on beh	alf of Mr. Holbroo	k, Mr. VanNi	el, and Mr. Warren.			
01/30/20 Lazanich	, Julia K.	220.00	2.30	506.00			
Meet with Mr. War	rren, Mr. Holbrook, and Mr. VanNie	el to discuss objec	ctions and fin	al rebuttal designations.			
01/30/20 McDonal	d, Michael H.	260.00	0.70	182.00			
Prepare deposition	n videos for trial hard drive for use	at trial.					
01/30/20 VanNiel,	Michael A.	645.00	10.00	6,450.00			
Review and address trial preparation matters (2.7); telephone conference with Ohio AG office representative regarding possible witness (.3); review and respond to inquiries from working group regarding deposition designations (.3); review correspondence from opposing counsel regarding pretrial matters (.2); review and analyze materials of record regarding privilege disputes (1.5); prepare summary regarding same (.2); attend working group meetings regarding trial preparations and pretrial submissions (2.5); prepare select rebuttal designations regarding depositions (2.0); review summary of open issues raised by opposing counsel (.3).							
01/30/20 Warren, I	Daniel R.	870.00	7.50	6,525.00			
• •	al hearing with Court (3.0); review a arding same (1.0).	and address trial p	preparation n	natters (3.5); coordinate			
<b>_</b>							
Baker&Host	etler LLP						

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 139 of 197

01/31/20 Brogan, Mary P.	295.00	2.30	678.50			
Analyze case law regarding admission of docu Textron's letter to Judge Gaughan regarding o			RE 803(6) (1.9); review			
01/31/20 Dunnaback, Jeremy	330.00	7.20	2,376.00			
opinions, and Federal Rule of Evidence 801 (1 meet with Mr. Warren, Mr. Koishor, and Ms. La Trustee's opening statement (2.5); meet with N	Analyze federal case law on admissibility of prior consistent statements, expert testimony regarding legal opinions, and Federal Rule of Evidence 801 (1.1); edit outline for Mr. Palmieri's direct examination (1.8); meet with Mr. Warren, Mr. Koishor, and Ms. Lazanich to discuss trial presentation strategies and the Trustee's opening statement (2.5); meet with Mr. Warren, Mr. Holbrook, Mr. VanNiel, Mr. Kavouras, and Mr. Howard to discuss admissibility and foundation for Fair Finance records at trial (1.8).					
01/31/20 Holbrook, Scott C.	595.00	10.90	6,485.50			
Correspondence with litigation team regarding examination and related trial preparation issue	• • • • • • •	; review and	address multiple witness			
01/31/20 Kavouras, Daniel M.	395.00	0.80	316.00			
Meet and confer with opposing counsel regard	ling exhibit objection	S.				
01/31/20 Kavouras, Daniel M.	395.00	3.50	1,382.50			
Attend team meetings regarding admissibility of	of evidence for trial, i	including with	expert witness.			
01/31/20 Kavouras, Daniel M.	395.00	1.10	434.50			
Analyze responses to exhibit objections.						
01/31/20 Lazanich, Julia K.	220.00	1.50	330.00			
Create deposition designation copies with Textron;s rebuttal designations of Mr. Birk, Mr. Brown, Mr. Egloff, Mr. Eichenberger, Mr. Giulioli, Mr. Heuerman, and Mr. Infante for Mr. Warren, Mr. Holbrook and Mr. Dunnaback's review.						
01/31/20 Lazanich, Julia K.	220.00	3.80	836.00			
Finalize rebuttal designations of Mr. Birk, Mr. Brown, Mr. Coulter, Mr. Egloff, Mr. Eichenberger, Mr Giulioli, Mr. Henderson, Mr. Infante, Mr. Kimmerling, Mr. LaCagnin, Mr. O'Fallon, Mr. Osler, Mr. Palmieri, Mr. Schlichte, and Mr. Turner.						
01/31/20 Lazanich, Julia K.	220.00	2.40	528.00			
Meet with Mr. Koishor, Mr. Warren and Mr. Dunnaback to review Mr. Warren's opening presentation edits and discuss video production for trial.						
01/31/20 Lazanich, Julia K.	220.00	2.00	440.00			
Meet with Mr. Warren and Mr. Holbrook to disc	cuss objections from	Textron to pr	etrial submissions.			
01/31/20 Szalay, Sarah M.	235.00	1.30	305.50			
Index pleadings and correspondence and forw	ard same to Record	S.				
01/31/20 Szalay, Sarah M.	235.00	0.10	23.50			
Access and obtain recently filed pleadings and	forward to internal t	team.				

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 140 of 197

01/31/20 VanNiel, Michael A. Review letter filing with court by Textron (.3); corr (.2); review and analyze authority regarding evide regarding same (.1); attend meetings with working (4.0); attend meet and confer conference with opp select rebuttal deposition designations (2.0); corre same (.3); prepare objections to select designation	ntiary matters (.4) g group regarding posing counsel re- espondence and c	); correspond pretrial subn garding pretri liscussions w	ence with working group hissions and trial strategy al matters (.5); prepare
01/31/20 Warren, Daniel R. Prepare for pretrial hearing with Court (2.0); revie	870.00 w and revise oper	5.50 ning statemer	4,785.00 nt and witness examination
outlines (3.0). 02/01/20 Dunnaback, Jeremy Call with Mr. Warren to discuss objections to Text and edits to Mr. Palmieri's direct outline (1.3); and records exception to computer databases (.2).	•		
02/01/20 Holbrook, Scott C. Telephone call with Mr. Klein regarding trial prepa	595.00	7.40 are for trial (/	4,403.00
02/01/20 Lazanich, Julia K. Confirm objection questions and review replacem opening.	220.00	0.70	154.00
02/01/20 Lazanich, Julia K. Review and address issues regarding Textron's re Mr. Palmieri and coordinate with Mr. Warren, Mr.			
02/01/20 VanNiel, Michael A. Review and address trial preparation matters (2.0 analyze expert witness issues (.5); correspondent related party loan schedules regarding possible tri depositions to be played at trial (1.5); review and	645.00 ); correspondence ce with trial team ial examination (.2	6.00 e with trial tea regarding sar 2); prepare ol	3,870.00 am regarding same (.5); me (.3); review and analyze bjections to select video
02/01/20 Warren, Daniel R. Prepare for pretrial hearing with Court (4.5); revie same (2.5); review and analyze trial issues (1.5).	870.00	8.50	7,395.00
02/02/20 Dunnaback, Jeremy Analyze federal case law on the application of the analyze federal cases law on restrictions to calling Trustee's objections to Textron's designation of N	g an opposing par	ty's expert as	s a witness (1.1); edit the
02/02/20 Holbrook, Scott C. Attend telephone conference with Mr. Klein regard records issues (4.0); review and analyze trial strat			4,938.50 ow-up review of financial

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 141 of 197

02/02/20 Lazanich, Julia K.	220.00	1.50	330.00			
Eichenberger, Mr. Guilioli, Mr. Heuerman, Mr. Infar	Review objections regarding designations of testimony of Mr. Birk, Mr. Brown, Mr. Coulter, Mr. Egloff, Mr. Eichenberger, Mr. Guilioli, Mr. Heuerman, Mr. Infante, Mr. Kimmerling, Mr. LaCagnin, Mr. O'Fallon, Mr. Osler, Mr. Palmieri, and Mr. Turner to create objection list for Mr. Holbrook, Mr. Warren, and Mr. VanNiel.					
02/02/20 VanNiel, Michael A.	645.00	6.60	4,257.00			
Prepare for (1.0) and attend (2.5) conference calls			,			
memoranda regarding evidentiary issues (1.0); pre designation by Textron (1.5); review and analyze re team regarding same (.2).	pare objections to	additional vi	deo deposition			
02/02/20 Warren, Daniel R.	870.00	3.00	2,610.00			
Continue preparations for pretrial hearing (2.0); rev	view and revise op	ening statem	nent for trial (1.0).			
02/03/20 Brogan, Mary P.	295.00	3.30	973.50			
Research procedures for challenges to evidence th	at a party seeks t		er FRE 902(11) (1.7);			
research standards for sequestration of experts (1.						
02/03/20 Dunnaback, Jeremy	330.00	8.80	2,904.00			
Review and analyze exhibits from Mr. Klein's experience (6.3); edit Trustee's objections to Textron's deposit conference (1.0).						
02/03/20 Holbrook, Scott C.	595.00	12.90	7,675.50			
Prepare outlines of witness examinations for trial (6.5); review and analyze documents for use in same (5.0: review and address related trial preparation issues (1.4).						
02/03/20 Kavouras, Daniel M.	395.00	6.80	2,686.00			
Draft response to renewed objections from Textron	to post-2004 evid	lence.				
02/03/20 Lazanich, Julia K.	220.00	6.00	1,320.00			
Complete objections to video testimony of Mr. Birk, Mr. Brown, Mr. Coulter, Mr. Egloff, Mr. Eichenberger, Mr. Guilioli, Mr. Heuerman, Mr. Infante, Mr. Kimmerling, Mr. LaCagnin, Mr. O'Fallon, Mr. Osler, Mr. Palmieri, and Mr. Turner to give to opposing counsel at the request of Mr. Holbrook, Mr. Warren, and Mr. VanNiel.						
02/03/20 Lazanich, Julia K.	220.00	1.00	220.00			
Review and address issues regarding Mr. Kimmerl designation list to opposing counsel.	ing's designations	for Mr. Holb	rook to submit revised			
02/03/20 Lazanich, Julia K.	220.00	0.30	66.00			
Review and revise materials for use in Mr. Warren'	s opening stateme	ent.				
02/03/20 Lazanich, Julia K.	220.00	4.00	880.00			
Prepare materials for submission to Court regardin Egloff, Mr. Eichenberger, Mr. Guilioli, Mr. Heuerma O'Fallon, Mr. Osler, Mr. Palmieri, and Mr. Turner.	•					
02/03/20 Lazanich, Julia K.	220.00	0.20	44.00			
Review and address trial preparation issues at requ	uest of Mr. Warrer	۱.				
Baker&HostetlerLLP						

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 142 of 197

Trustee in Bankruptcy f	or Fair Finance Company
-------------------------	-------------------------

02/03/20 Bosoou	Shively, Douglas L.	435.00	4.60	2,001.00			
Research Sixth Circuit law relating to business records exception to hearsay.							
02/03/20	Szalay, Sarah M.	235.00	0.50	117.50			
Access and obtain pleadings and related materials at the request of Mr. Holbrook.							
02/03/20	VanNiel, Michael A.	645.00	6.50	4,192.50			
Prepare objections to select video deposition designations (1.5); correspondence and discussions with trial team regarding trial matters (2.0); prepare for trial (2.5); review and comment on draft documentary exhibit certifications and review issues regarding same (.5).							
02/03/20	Warren, Daniel R.	870.00	8.50	7,395.00			
Prepare for pretrial conference with Court (4.0); review and analyze materials in connection with same (3.0); review and revise trial opening statement (1.5).							
02/04/20	Brogan, Mary P.	295.00	4.20	1,239.00			
Analyze standards for sequestration of experts and draft memorandum regarding the same (3.5); discuss with Mr. Dunnaback and research question of whether audit report can be admissible as business record of audited entity (.7).							
02/04/20	Dunnaback, Jeremy	330.00	12.00	3,960.00			
Draft and edit trial subpoenas for select witnesses (1.5); work on Hostetler Rule 902(11) declaration (2.2); conduct walk-through of trial technology at federal courthouse with Mr. Koishor (1.5); calls with Mr. Palmieri and Mr. Heflin to discuss witness preparation (.3); edit witness outlines for Mr. Palmieri and Mr. Heflin (5.2); discuss court's rulings during pre-trial conference with Mr. Warren and Mr. Holbrook (.5); work on presentation of opening statement (.8).							
02/04/20	Holbrook, Scott C.	595.00	12.70	7,556.50			
Prepare for and participate in final pretrial (3.2); attend trial preparation meetings with working group (3.0); review and analyze trial matters (2.5); prepare witness examination outlines for trial (4.0).							
02/04/20	Kavouras, Daniel M.	395.00	3.20	1,264.00			
Attend	pretrial conference in preparation for trial.						
02/04/20	Kavouras, Daniel M.	395.00	1.50	592.50			
Plan fo	Plan for creation of additional submissions required after pretrial conference.						
02/04/20	Kavouras, Daniel M.	395.00	1.60	632.00			
	e objections to exhibits and designations for f	•					
	Lazanich, Julia K. and address issues regarding Trustee's Obj	220.00 ections to Textror	0.50 o's designatio	110.00 ons list.			
02/04/20	Lazanich, Julia K.	220.00	2.60	572.00			
Meet with Mr. Koishor from Veritext to revise opening presentation for Mr. Warren.							
02/04/20	Lazanich, Julia K.	220.00	1.20	264.00			
Attend meeting with Mr. Dunnaback regarding trial tasks (.5); finalize Objection to Textron items with Mr. Kavouras (.7).							
<b>D</b> .	• • • • • •						

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 143 of 197

02/04/20	Shively, Douglas L.	435.00	6.80	2,958.00			
Research Sixth Circuit law relating to business records exception to hearsay and procedure for objecting and resolving objections to certifications under FRE 902(11).							
02/04/20	Szalay, Sarah M.	235.00	0.60	141.00			
Access and obtain addresses for numerous witnesses and calculate mileage for subpoenas and forward results to Mr. Dunnaback per his request.							
02/04/20	Szalay, Sarah M.	235.00	0.30	70.50			
Access and obtain pleadings and related materials at the request of Mr. Bash.							
02/04/20	Szalay, Sarah M.	235.00	0.20	47.00			
Access and obtain pleadings and related materials at the request of Mr. Holbrook.							
02/04/20	VanNiel, Michael A.	645.00	4.50	2,902.50			
Review and address trial preparation matters (2.5); review and analyze recent court filings regarding trial issues (.5); correspondence and discussions with trial team regarding open tasks and strategy (1.5).							
02/04/20	Warren, Daniel R.	870.00	10.00	8,700.00			
Attend pre-trial hearing (3.2); review and revise opening statement (2.5); review and address trial preparation matters (4.3).							
02/05/20	Brogan, Mary P.	295.00	5.50	1,622.50			
Research and draft memorandum regarding audit admissibility.							
02/05/20	Dunnaback, Jeremy	330.00	10.80	3,564.00			
Meet with Mr. Palmieri and Mr. Warren to prepare for trial (6.5); edit witness direct examination outlines for testimony of Mr. Palmieri and Mr. Heflin (4.3).							
02/05/20	Holbrook, Scott C.	595.00	15.90	9,460.50			
Review Schlichte deposition (.5); prepare direct examinations for expert witnesses (10.0); review and analyze business records regarding same (5.4).							
02/05/20	Kavouras, Daniel M.	395.00	1.30	513.50			
Attend telephone status conference with Court (1.0); email to Trustee regarding same (.3).							
02/05/20	Kavouras, Daniel M.	395.00	2.50	987.50			
Review orders regarding post-2004 evidence and testimony of v-note investors.							
02/05/20	Kavouras, Daniel M.	395.00	2.00	790.00			
Prepare for potential direct examination of v-note investors.							
02/05/20	Lazanich, Julia K.	220.00	3.50	770.00			
Create final exhibit list from highlighted depositions for Mr. Kavouras and Mr. Warren.							
02/05/20	Lazanich, Julia K.	220.00	1.30	286.00			
Create exhibit witness lists and summaries at the request of Mr. Holbrook.							

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 144 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: 09/28/2 Invoice Number: 5080937 Matter Number: 042188.00000 Page 12
02/05/20 Lazanich, Julia K. 220.00 Assist trial team with trial preparation matters.	0 1.00 220.00
02/05/20 Lazanich, Julia K. 220.00	0 0.70 154.00
Review and address trial preparation issues at request of M	r. Warren.
02/05/20 Shively, Douglas L. 435.00	0 5.10 2,218.50
Research evidentiary issues for trial pertaining to FRE 703 a judgment briefing in connection with preparing for trial.	and review and analyze pleadings and summa
02/05/20 Szalay, Sarah M. 235.00	0 0.30 70.50
Access and obtain recently filed pleadings and forward to in	ternal team.
02/05/20 VanNiel, Michael A. 645.00	0 10.70 6,901.50
Review and address trial preparation matters (10.0); corresp review order regarding latest motion in limine from Textron (	
02/05/20 Warren, Daniel R. 870.00	0 9.00 7,830.00
Review and revise opening statement (4.0); review docume analyze trial strategy (2.0).	nts in connection with same (3.0); review and
02/06/20 Brogan, Mary P. 295.00 Review recently entered order regarding Textron's motions in	
02/06/20 Dunnaback, Jeremy 330.00	
Meet with Mr. Heflin and Mr. Warren to prepare for trial (6.5) discuss trial presentation strategies and edit opening preser court's ruling on jury instructions (1.1).	); meet with Mr. Koishor and Mr. Warren to
02/06/20 Holbrook, Scott C. 595.00	0 11.30 6,723.50
Meet with Paul Durbak (2.4); meet with Ms. Hostetler regard business records (4.5); prepare for trial (4.1); telephone calls testimony (.3).	
02/06/20 Kavouras, Daniel M. 395.00	0 2.90 1,145.50
Prepare draft exhibits and declarations seeking to certify but	siness records.
02/06/20 Kavouras, Daniel M. 395.00	0 1.70 671.50
Analyze court opinion on Ponzi presumption, avoidability, ar	nd recovery.
02/06/20 Lazanich, Julia K. 220.00 Finalize exhibit list from highlighted depositions for Mr. Kave	
02/06/20 Lazanich, Julia K. 220.00	0 5.00 1,100.00
Meet with Ms. Eileen Hostetler, Mr. Holbrook, Mr. Klein, and certification (4.0); follow-up regarding exhibits for trial follow	Mr. VanNiel regarding business records
02/06/20 Lazanich, Julia K. 220.00 Review and address trial preparation issues at request of M	
Baker&HostetlerLLP	

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 145 of 197

02/06/20	Lazanich, Julia K.	220.00	0.80	176.00
Commo prepara	unication with Mr. Dunnaback regarding Mr. V ation.	Varren's opening	and designat	ions for video
02/06/20	Lazanich, Julia K.	220.00	0.50	110.00
Confer	ence with Mr. Koishor regarding edited exhibition	ts for Mr. Warren	's opening pro	esentation.
	Shively, Douglas L.	435.00	8.70	3,784.50
	n and analyze pleadings and summary judgment of evidentiary issues for trial pertaining to FR		inection with	preparing for trial and
02/06/20	VanNiel, Michael A.	645.00	9.50	6,127.50
	<ul> <li>and address trial preparation matters (8.5);</li> <li>order from court regarding jury instructions (.</li> </ul>	-	vith trial team	regarding same (.6);
02/06/20	Warren, Daniel R.	870.00	8.00	6,960.00
Review	<i>i</i> and analyze trial strategy (2.0); review and r	evise materials for	or use at trial	(6.0).
02/07/20	Bhagat, Ashish K.	235.00	0.30	70.50
Plan ar	nd prepare for creation of disc for exhibit to pr	ovide to opposing	g counsel.	
02/07/20	Brogan, Mary P.	295.00	0.20	59.00
Respor	nd to Mr. Warren's email about research done	e on equitable adj	ustment.	
02/07/20	Dunnaback, Jeremy	330.00	8.40	2,772.00
binders outlines	e exhibits for use during examination of the T s for witness preparation (4.2); work on prepa s for Mr. Palmieri and Mr. Heflin (0.7); meet w s trial preparations and strategy, including pre	ring deposition vio /ith Mr. Warren, N	deos for trial ( 1r. Holbrook,	(1.5); work on witness and Mr. Kavouras to
02/07/20	Holbrook, Scott C.	595.00	11.20	6,664.00
Review	and analyze financial and business records	for trial (7.0); draf	t witness exa	minations for trial (4.2).
02/07/20	Kavouras, Daniel M.	395.00	1.20	474.00
Draft w	itness statement pursuant to court order.			
02/07/20	Kavouras, Daniel M.	395.00	1.10	434.50
Review	v procedures for trial from pretrial conference.			
02/07/20	Kavouras, Daniel M.	395.00	1.00	395.00
Revise	exhibit list and responses to exhibit objection	IS.		
02/07/20	Kavouras, Daniel M.	395.00	2.00	790.00
	Kavouras, Daniel M. vith trial team to discuss trial preparation.	395.00	2.00	790.00
	,	395.00 395.00	2.00	790.00 474.00
Meet w 02/07/20	ith trial team to discuss trial preparation.			

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 146 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: 09/28/20 Invoice Number: 50809379 Matter Number: 042188.000001 Page 131
02/07/20 Lazanich, Julia K. 220.00 Finalize exhibit list from highlighted depositions for Mr. Kavo	
02/07/20 Lazanich, Julia K. 220.00 Meet with Ms. Eileen Hostetler, Mr. Holbrook, Mr. Klein, and trial.	3.10 682.00
02/07/20 Lazanich, Julia K. 220.00 Review and address trial preparation issues at request of Mr	
02/07/20 Shively, Douglas L. 435.00 Research evidentiary issues for trial pertaining to FRE 703.	2.80 1,218.00
02/07/20 Szalay, Sarah M. 235.00 Access and obtain recently filed pleadings and forward to int	
02/07/20 VanNiel, Michael A. 645.00 Review and address trial preparation matters (7.5); correspo review summary of pretrial conference received from Mr. Kay	ndence with trial team regarding same (.8);
02/07/20 Warren, Daniel R. 870.00 Review and address trial preparation issues (6.0); review tria	
02/08/20 Dunnaback, Jeremy 330.00 Work on preparing deposition videos for trial.	2.00 660.00
02/08/20 Holbrook, Scott C. 595.00 Prepare witness examinations and materials for use at trial ( preparation (1.3).	,
02/08/20 Kavouras, Daniel M. 395.00 Prepare lists of exhibits for opening statement and case-in-c	
02/08/20 Lazanich, Julia K. 220.00 Respond to emails from Mr. Dunnaback and Mr. Koishor reg trial.	
02/08/20 VanNiel, Michael A. 645.00 Review and address trial preparation issues (2.5); correspon	
02/08/20 Warren, Daniel R. 870.00 Review trial strategy (1.5); prepare for trial (3.0); coordinate	
02/09/20 Dunnaback, Jeremy 330.00 Call with Mr. Koisher and Ms. Lazanich regarding preparing outlines for Mr. Palmieri and Mr. Heflin (4.6).	5.00 1,650.00

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 147 of 197

02/09/20 Holbrook, Scot Telephone call with Mr. (3.5).	t C. Klein regarding trial prepara	595.00 tion (3.7); review a	7.20 and address	4,284.00 trial presentation matters
02/09/20 Kavouras, Dan Prepare lists of exhibits	iel M. for opening and case-in-chie	395.00 ef.	3.60	1,422.00
02/09/20 Lazanich, Julia Conference call with Mr	K. Dunnaback and Mr. Koisho	220.00 or regarding depos	0.50 sition video p	110.00 preparations for trial.
02/09/20 Lazanich, Julia Respond to emails from	K. Mr. Warren regarding open	220.00 ing presentation.	0.30	66.00
02/09/20 Lazanich, Julia Review and address vic	K. leo testimony issues for trial.	220.00	0.40	88.00
02/09/20 Lazanich, Julia Respond to emails from	K. Mr. Holbrook regarding exp	220.00 ert testimony of M	0.30 Ir. Klein and	66.00 associated exhibits.
02/09/20 VanNiel, Micha Review and comment o Holbrook regarding sam	n certification of Mr. Klein re	645.00 garding business	0.60 records (.5);	387.00 correspondence with Mr.
02/09/20 Warren, Daniel		870.00	6.00	5,220.00
Review and revise oper	ning statement (1.0); review a	and revise witness	s examinatio	ns (5.0).
02/10/20 Brogan, Mary F	D.	295.00	0.50	147.50
Compile materials from	Mr. Klein's expert report for	use in official exhi	bit list.	
02/10/20 Dunnaback, Je	remy	330.00	11.40	3,762.00
	exhibits (3.0); prepare witnes esignation videos (2.0); atter			
02/10/20 Holbrook, Scot	t C.	595.00	13.00	7,735.00
Prepare for direct exam	inations of select witnesses	(10.0); review doc	uments for u	use in same (3.0).
02/10/20 Kavouras, Dan	iel M.	395.00	8.50	3,357.50
Prepare opening and ca	ase-in-chief exhibit lists.			
02/10/20 Kavouras, Dan	iel M.	395.00	3.00	1,185.00
Draft statement to court	regarding witnesses.			
02/10/20 Lazanich, Julia	К.	220.00	0.50	110.00
Review and address de	position video matters for Mi	. Dunnaback and	Mr. Koishor	
02/10/20 Lazanich, Julia	К.	220.00	0.30	66.00
Review time-line demor	nstrative exhibit concepts wit	h Mr. Holbrook, M	r. Dunnabac	k, and Mr. Warren.

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 148 of 197

Trustee in Bankruptcy for Fair Finance (	Company
--	---------

02/10/20 Lazanich, Julia K. Review and edit video deposition presentation for	220.00 or Michael Giulioli te	0.60 estimony.	132.00
02/10/20 Lazanich, Julia K. Meet with Mr. Klein, Mr. Holbrook, and Mr. VanN records.	220.00 liel regarding certifi	4.90 cation of doe	1,078.00 cuments as business
02/10/20 Lazanich, Julia K. Telephone call with Mr. Hanlon at Veritext regar- witnesses.	220.00 ding video preparat	0.50 ion of depos	110.00 ition testimony of select
02/10/20 McDonald, Michael H. Identify and copy newly designated trial exhibits at trial.	260.00 from multiple data	0.70 locations on	182.00 an expedited basis for use
02/10/20 VanNiel, Michael A. Address trial preparation matters (2.5); review re correspondence and meetings with trial team reg subpoena filed by ODS (.2).			
02/10/20 Warren, Daniel R.	870.00	8.00	6,960.00
Review and analyze recovery issues (2.0); revie	w and address trial	preparation	matters (6.0).
02/11/20 Brogan, Mary P.	295.00	3.80	1,121.00
Review motion to quash subpoena by Mr. Heuer and Mr. McQuown (.1); discuss deposition desig new list of exhibits from Textron to determine wh exhibits (3.3).	nations with Mr. Ho	olbrook and l	Ms. Lazanich (.3); analyze
02/11/20 Dunnaback, Jeremy	330.00	12.50	4,125.00
Prepare trial exhibits (4.0); prepare deposition de for Mr. Heflin and Mr. Palmieri (4.0).	esignation videos (4	4.5); review ;	and revise witness outlines
02/11/20 Holbrook, Scott C.	595.00	13.80	8,211.00
Draft witness examinations (7.5); review docume same (1.3).	ent exhibits for use	at trial (5.0);	analyze strategy regarding
02/11/20 Kavouras, Daniel M.	395.00	12.20	4,819.00
Draft, review and revise response to Textron's la	test renewed object	ctions to pos	t-2004 evidence.
02/11/20 Lazanich, Julia K.	220.00	0.30	66.00
Telephone calls with Mr. Hanlon at Veritext rega trial.	rding video prepara	ation of depo	sitions for presentation at
02/11/20 Lazanich, Julia K.	220.00	0.50	110.00
Provide Veritext with edited deposition transcript	s for Michael Giulic	li and Dona	ld Henderson for use at trial.

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 149 of 197

02/11/20 Lazanich, Julia K. Create video deposition presentations with Mr. Dun review same with Ms. Brogan.	220.00 naback for O'Fall	3.80 on, Turner, Iı	836.00 nfante and Egloff and
02/11/20 Lazanich, Julia K. Create chart of Trustee, Ms. Eileen Hostetler and M Holbrook.	220.00 r. Klein's exhibits	2.40 from declara	528.00 ations at the request of Mr.
02/11/20 Shively, Douglas L. Continue researching evidentiary issues for trial, inc	435.00 Iuding FRE 703 i	4.10 ssues.	1,783.50
02/11/20 Szalay, Sarah M. Access and obtain recently filed pleadings and forw	235.00 ard to internal tea	0.20 am.	47.00
02/11/20 Szalay, Sarah M. Access and obtain pleadings and related materials a	235.00 at the request of I	0.30 Vr. Bash.	70.50
02/11/20 VanNiel, Michael A. Review and address trial preparation matters (6.0);	645.00 correspondence	6.50 with trial tear	4,192.50 n regarding same (.5).
02/11/20 Warren, Daniel R. Review and revise opening statement (2.0); review	870.00 trial strategy (.5).	2.50	2,175.00
02/12/20 Brogan, Mary P. Meet with Mr. Shively to discuss research regarding deposition transcripts to send to the trial video vend		3.80 and revise h	1,121.00 highlighted portions of
02/12/20 Dunnaback, Jeremy Prepare Mr. Heflin and Mr. Palmieri to testify at trial (2.0).	330.00 (7.0); review and	9.00 revise depo	2,970.00 sition designation videos
02/12/20 Holbrook, Scott C. Telephone call with opposing counsel regarding tria (10.0); review exhibits for use in same (1.2).	595.00 I issues (.5); prep	11.70 pare for witne	6,961.50 ess direct examinations
02/12/20 Kavouras, Daniel M. Call with opposing counsel regarding trial issues.	395.00	0.50	197.50
02/12/20 Kavouras, Daniel M. Team meeting to discuss preparation of exhibits and	395.00 d witnesses for tri	0.50 al.	197.50
02/12/20 Lazanich, Julia K. Review deposition videos for O'Fallon, Turner, Infar	220.00 Ite and Egloff edit	5.80 ted by Ms. B	1,276.00 rogan for video team.
02/12/20 Lazanich, Julia K. Telephone calls and email updates with Mr. Dunnat production status.	220.00 back, Mr. Warren,	1.00 and Mr. Koi	220.00 shor regarding video

	Atlanta	Chicago	Cincinnati				Dallas	Denver
Houston	Los	s Angeles	New York	Orlando	Philadelphia	San Francisco	Seattle	Washington, DC
10-50494-	jps I	Doc 2637	FILED 1	0/14/20 E	ENTERED 2	10/14/20 08:40:	:54 Pag	ge 150 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: 09/28/20 Invoice Number: 50809379 Matter Number: 042188.000001 Page 135
02/12/20 Lazanich, Julia K. 220.00 Review and address exhibit and related document issues in co	0.10 22.00 nnection with trial.
02/12/20 Lazanich, Julia K. 220.00	0.60 132.00
Telephone calls with Mr. Dunnaback and Mr. Holbrook regardin	ng video presentations for select witnesses.
02/12/20 Lazanich, Julia K. 220.00 Compile exhibits for Mr. Koishor for Mr. Warren's opening state	0.50 110.00 ement edits.
02/12/20 Shively, Douglas L. 435.00	7.20 3,132.00
Continue researching evidentiary issues for trial, including FRE	703 issues.
02/12/20 Szalay, Sarah M. 235.00	0.10 23.50
Access and obtain recently filed pleadings and forward to interr	nal team.
02/12/20 Szalay, Sarah M. 235.00	0.10 23.50
Access and obtain pleadings and related materials at the reque	est of Mr. Holbrook.
02/12/20 Szalay, Sarah M. 235.00 Assemble list of job titles for witnesses and forward to Mr. Dunr	0.40 94.00 naback per his request.
02/12/20 VanNiel, Michael A. 645.00	3.90 2,515.50
Review and address trial preparation issues (3.0); corresponde regarding same (.9).	
02/12/20 Warren, Daniel R. 870.00 Review and address trial examinations and opening statement	4.00 3,480.00
02/13/20 Brogan, Mary P. 295.00 Communicate with Veritext regarding service of subpoena on M whether courts allow experts' resumes to be admitted into evide relating to trial (.5).	
02/13/20 Dunnaback, Jeremy 330.00	8.70 2,871.00
Prepare Mr. Palmieri for possible trial testimony (5.0); review an review and revise witness outlines for Mr. Heflin and Mr. Palmie	
02/13/20 Holbrook, Scott C. 595.00 Draft witness examinations (8.0); review exhibits regarding sam	12.50 7,437.50 ne (4.5).
02/13/20 Kavouras, Daniel M. 395.00 Prepare exhibits and outlines for potential trial witnesses.	3.20 1,264.00
02/13/20 Lazanich, Julia K. 220.00	3.00 660.00
Create deposition video presentations for Mr. Dunnaback and M	Mr. Koishor for use at trial.
02/13/20 Lazanich, Julia K. 220.00 Create timeline for demonstrative exhibit.	1.10 242.00

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 151 of 197

02/13/20 Lazanich, Julia K. Assemble materials regarding Textron's opening s exhibit list, and Textron's amended objections to d			
request. 02/13/20 Lazanich, Julia K. Telephone call with Mr. Hanlon regarding video sta	220.00 atus for witness te	0.50 stimonies.	110.00
02/13/20 Lazanich, Julia K. Edit Mr. Warren's opening presentation.	220.00	0.50	110.00
02/13/20 Lazanich, Julia K. Meet with Mr. Dunnaback regarding trial exhibits.	220.00	0.70	154.00
02/13/20 Lazanich, Julia K. Track edits for video depositions with Mr. Dunnaba	220.00 ack.	1.00	220.00
02/13/20 Shively, Douglas L. Follow up research on FRE 803(6) and FRE 703 is	435.00 ssues.	1.50	652.50
02/13/20 Szalay, Sarah M. Access and obtain pleadings and related materials	235.00 at the request of	0.20 Mr. VanNiel	47.00
02/13/20 VanNiel, Michael A. Review and address trial preparation issues (4.0);	645.00 correspondence v	4.50 with trial tear	2,902.50 n regarding same (.5).
02/13/20 Warren, Daniel R. Review trial strategy (2.0); coordinate with trial tea preparation matters (5.0).	870.00 m regarding same	9.50 e (2.5); revie	8,265.00 w and address trial
02/14/20 Brogan, Mary P. Participate in trial prep meeting with Mr. Warren, M Lazanich (2.0); communicate with Veritext and Mr. DeRose (.2); compile documents for exhibit binder	Holbrook regardi		
02/14/20 Dunnaback, Jeremy Prepare Mr. Heflin for trial testimony (6.0); review and revise witness outlines for Mr. Heflin and Mr. I		8.80 tion designat	2,904.00 tion videos (1.0); review
02/14/20 Holbrook, Scott C. Prepare for trial (4.3); draft response to Textron's I statement and trial (5.3).	595.00 etter seeking to ex	9.60 kclude evide	5,712.00 nce from opening
02/14/20 Kavouras, Daniel M. Draft outline of direct examination of select witness	395.00 ses for trial.	1.00	395.00
02/14/20 Kavouras, Daniel M. Revise and finalize briefs on objections to opening	395.00 exhibits and desi	3.00 gnation of ac	1,185.00 dditional testimony.

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 152 of 197

02/14/20	Kavouras, Daniel M.	395.00	1.00	395.00
Attend	trial team meetings to discuss trial preparatio	ns and open task	S.	
	Lazanich, Julia K.	220.00	1.20	264.00
Review	and address witness video testimony issues			
02/14/20	Lazanich, Julia K.	220.00	5.20	1,144.00
Work o	n exhibit list with Mr. Dunnaback, Mr. McDon	ald, and Ms. Brog	jan.	
02/14/20	Lazanich, Julia K.	220.00	0.80	176.00
Create	timeline for demonstrative exhibit for use at t	rial.		
02/14/20	Lazanich, Julia K.	220.00	0.50	110.00
	n witness Ralph Infante's deposition designat			
02/14/20	Lazanich, Julia K.	220.00	1.20	264.00
	one conference with Mr. Warren, Mr. Holbroo nal trial tasks.	k, Mr. Dunnabacl	k, and Mr. Ka	avouras regarding
02/14/20	Lazanich, Julia K.	220.00	1.00	220.00
Track p Dunnat	progress of deposition video testimony from V pack.	eritext video tean	n and Mr. Ko	ishor at the request of Mr.
02/14/20	Lazanich, Julia K.	220.00	0.50	110.00
Prepare	e chattel paper exhibit for Mr. Warren's use ir	opening stateme	ent.	
02/14/20	Lazanich, Julia K.	220.00	0.10	22.00
Teleph	one call with Mr. Holbrook regarding lengths	of video depositio	ns.	
02/14/20	McDonald, Michael H.	260.00	2.10	546.00
Coordir	nate preparation of multiple sets of trial exhibit pretrial order.	its in electronic ar	nd hard copy	
02/14/20	Shively, Douglas L.	435.00	4.00	1,740.00
Follow	up research on FRE 803(6) and FRE 703 iss	ues and prepare	bench brief r	egarding same.
02/14/20	Szalay, Sarah M.	235.00	0.20	47.00
	and obtain recently filed pleadings and forwa			
02/14/20	VanNiel, Michael A.	645.00	5.50	3,547.50
	depositions in prior cases of witnesses ident ation matters with trial team (2.0); correspond s (1.0).	, , , , , , , , , , , , , , , , , , , ,	<i>, , , , , , , , , ,</i>	
02/14/20	Warren, Daniel R.	870.00	8.00	6,960.00
	and revise response to Textron's latest motion y issues (2.0).	on to exclude evi	dence (6.0);	review and address trial

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 153 of 197

02/15/20 Dunnaback, Jeremy Prepare for trial, including by working on witness ou prepare deposition designation videos.	330.00 tlines for Mr. Hefl	2.00 in and Mr. Pa	660.00 Ilmieri and working to
02/15/20 Holbrook, Scott C. Prepare for meeting with Mr. Klein (.5); meet with M regarding same (.6).	595.00 r. Klein regarding	7.90 trial prepara	4,700.50 tion (6.8); follow-up
02/15/20 Lazanich, Julia K. Review and address exhibit issues pursuant to requ	220.00 lest of trial team.	3.00	660.00
02/15/20 Lazanich, Julia K. Review and address issues regarding documents for	220.00 or use in Mr. Klein	2.80 's testimony.	616.00
02/15/20 Lazanich, Julia K. Review exhibit binder process and questions with N	220.00 Ir. Dunnaback to o	0.20 comply with p	44.00 pretrial order.
02/15/20 McDonald, Michael H. Coordinate identification of trial exhibits and applica pretrial order.	260.00 tion of electronic t	0.30 trial exhibit st	78.00 ickers to comply with
02/15/20 Warren, Daniel R. Review and address trial matters (4.0); strategize re	870.00 garding same (1.	5.00 0).	4,350.00
02/16/20 Brogan, Mary P. Prepare and compile trial exhibits (3.2); research iss	295.00 sue regarding serv	4.20 vers seized b	1,239.00 y the FBI (1.0).
02/16/20 Dunnaback, Jeremy Review and revise witness outlines for Mr. Heflin an deposition designation video matters (1.5).	330.00 d Mr. Palmieri (1.	3.00 5); review an	990.00 d address exhibits and
02/16/20 Holbrook, Scott C. Prepare for direct examinations of trial witnesses (8	595.00 .0); review exhibit	10.00 s for use in s	5,950.00 ame (2.0).
02/16/20 Kavouras, Daniel M. Prepare exhibits and outline for Lukacik trial testimo	395.00 my.	2.00	790.00
02/16/20 Lazanich, Julia K. Work with Ms. Brogan on updated exhibit list for tria	220.00 I.	4.00	880.00
02/16/20 Lazanich, Julia K. Review and revise Henderson's deposition video for	220.00 r Mr. Dunnaback a	0.80 and Mr. Warr	176.00 en's review.
02/16/20 Lazanich, Julia K. Telephone calls with Mr. Dunnaback regarding exhi	220.00 bit binders and ex	0.80 hibit stickers	176.00 per Court Order.
02/16/20 Lazanich, Julia K. Coordinate with Mr. McDonald regarding electronic submitted to Court.	220.00 exhibit stickers pe	0.20 er Court Orde	44.00 er for Exhibit binders to be

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 154 of 197

Trustee in Bankruptcy for Fair Finance Company		Invoice Date: Invoice Number: Matter Number:	09/28/20 50809379 042188.000001 Page 139	
02/16/20	McDonald, Michael H.	260.00	2.70	702.00
	nate identification of trial exhibits and appli			
Corresp Mr. Wa	VanNiel, Michael A. bondence with trial team regarding trial tas rren regarding same (2.0); review and ana ations of select witnesses (2.5).		ation issues (.7); tele	
02/16/20 Review	Warren, Daniel R. exhibits for use at trial (3.0); review and re	870.00 evise opening		,090.00
02/17/20	Brogan, Mary P.	295.00	7.10 2	,094.50
service	e and prepare documents for exhibit binde of Mr. DeRose with a trial subpoena (.6); Is and send same to Mr. Shively (2.0).			
02/17/20	Dunnaback, Jeremy	330.00	10.60 3	,498.00
•	e Mr. Palmieri for possible testimony at tria ation videos (4.6).	al (6.0); review	and revise trial exhib	its and deposition
	Holbrook, Scott C. ith Ms. Lukacik regarding trial testimony (2 xaminations of witnesses (9.7).	595.00 2.8); telephone		,735.00 ounsel (.5); prepare
	Kavouras, Daniel M. e various exhibits and depositions for trial,	395.00 including anal		,619.50 ssues.
-	Lazanich, Julia K.	220.00	4.30	946.00
	ith Mr. McDonald regarding compliance w			
02/17/20	Lazanich, Julia K.	220.00	4.00	880.00
Review	Mr. Klein's exhibits and discuss versions . Brogan.			
02/17/20 Telepho	Lazanich, Julia K. one call with Mr. Holbrook regarding exhib	220.00 it binder for su	0.10 bmission to Court.	22.00
02/17/20 Telepho	Lazanich, Julia K. one call with Mr. Warren regarding his ope	220.00 ening statemen	0.10 t presentation.	22.00
02/17/20 Telepho	Lazanich, Julia K. one call with Ms. Brogan regarding exhibit	220.00 binder order a	0.10 nd Mr. Klein edits to	22.00 same.
02/17/20	Lazanich, Julia K. one call with trial presenter from Veritext, N	220.00	0.10	22.00
02/17/20 Emails	Lazanich, Julia K. and telephone calls with Mr. Dunnaback re	220.00 egarding the e	1.50 xhibit binder progres	330.00 s and questions.

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 155 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: Invoice Number: Matter Number:	09/28/20 50809379 042188.000001 Page 140
02/17/20 Lazanich, Julia K. 220.00 Telephone call to Mr. Koishor to discuss video redaction matter		2.00
02/17/20 Lazanich, Julia K. 220.00 Meet with Mr. Warren to discuss opening presentation edits.	0.50 110	0.00
02/17/20 Lazanich, Julia K. 220.00 Track progress with Mr. Dunnaback of deposition video testimo		0.00 Veritext video team.
02/17/20 Lazanich, Julia K. 220.00 Coordinate with Inservio and Mr. McDonald regarding exhibit m		).00 1r. Dunnaback.
02/17/20 McDonald, Michael H. 260.00 Coordinate and resolve issues regarding identification of trial extrial.	9.20 2,392 whibits and electronic pre	
02/17/20 Shively, Douglas L. 435.00 Prepare bench brief and research evidentiary issues relating to qualify documents as business records (4.7).	9.30 4,04 chain of custody (4.6); p	
02/17/20 Szalay, Sarah M. 235.00 Compare and confirm trial exhibits to be provided to the court a trial exhibits per the court's trial order (3.5).	4.90 1,15 It the request of Ms. Laza	
02/17/20 VanNiel, Michael A. 645.00 Review and address trial preparation matters (8.0); corresponder regarding same (.8); draft, review and revise proposed stipulation related matters (1.0).		h trial team
02/17/20 Warren, Daniel R. 870.00	9.50 8,26	5.00
Review and address trial preparation (6.5); review opening state	ement (2.5); coordinate v	vith trial team (.5).
02/18/20 Brogan, Mary P. 295.00 Coordinate service of subpoena on Mr. DeRose and research the federal rules (2.0); discuss editing the deposition videos with Market States and the service of subpoend on the service of service of service on the ser	he standards for sufficier	
02/18/20 Dunnaback, Jeremy 330.00 Continuation preparation of Mr. Heflin to testify at trial (8.0); pre designation videos (3.8).	11.80 3,894 pare select trial exhibits	
02/18/20 Holbrook, Scott C. 595.00 Meet with Mr. Klein regarding trial preparation (8.3); prepare dir	13.30 7,913 rect examination of Mr. K	
02/18/20 Kavouras, Daniel M. 395.00 Analyze order regarding post-2004 exhibits.	1.50 592	2.50
02/18/20 Kavouras, Daniel M. 395.00 Prepare questions and exhibits for select witness examinations	3.20 1,264 at trial.	4.00

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 156 of 197

02/18/20 Kavouras, Daniel M.	395.00	1.00	395.00	
Review document redaction issues in light of prote	ective order.			
02/18/20 Lazanich, Julia K.	220.00	3.00	660.00	
Complete redactions for the final exhibit binder to	be presented to	the court.		
02/18/20 Lazanich, Julia K.	220.00	3.70	814.00	
Review and address issues regarding redactions	to Mr. Klein's ext	nibits.		
02/18/20 Lazanich, Julia K.	220.00	0.40	88.00	
Review deposition video edit notes regarding Giui	loli video for Mr.	Warren and I	Mr. Dunnaback to re	view.
02/18/20 Lazanich, Julia K.	220.00	0.20	44.00	
Review and address trial preparation issues at rec	quest of Mr. War	ren.		
02/18/20 Lazanich, Julia K.	220.00	1.20	264.00	
Review and address issues regarding exhibits for	submission to C	ourt.		
02/18/20 Lazanich, Julia K.	220.00	0.50	110.00	
Prepare Ralph Infante's deposition video for revie				
02/18/20 McDonald, Michael H.	260.00	9.50	2,470.00	
Coordinate regarding identification of trial exhibits				
02/18/20 Shively, Douglas L.	435.00	10.90	4,741.50	
Prepare motion to qualify business records and re				
02/18/20 Szalay, Sarah M.	235.00	0.20	47.00	
Access and obtain recently filed pleadings and for				
02/18/20 Szalay, Sarah M.	235.00	0.50 d. Koffon and	117.50	rd to Mr
Access and obtain pleadings and related materials VanNiel per his request.	s regarding near	u, Kallen anu	nostetier and forwa	
02/18/20 Szalay, Sarah M.	235.00	2.30	540.50	
Prepare trial exhibits per the court's trial order.				
02/18/20 VanNiel, Michael A.	645.00	9.50	6,127.50	
Prepare for examination of select witnesses at tria cross-examinations (2.0); correspondence and me	. ,	•		possible
02/18/20 Warren, Daniel R.	870.00	10.50	9,135.00	
Draft witness examinations for trial (7.5); review a	nd revise same (	(2.0); review o	ppening statement (	1.0).
02/19/20 Brogan, Mary P.	295.00	10.00	2,950.00	
Coordinate preparation of master lists of deposition				
deposition video to be shown at trial and provide f communicate with Veritext regarding service on N				alize

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 157 of 197

motion to certify documents attached to Ms. Hoster (4.0).	ler and Mr. Klein	's declaratior	ns as business records
02/19/20 Dunnaback, Jeremy	330.00	14.60	4,818.00
Continue preparation of asset-based lending exper exhibit and video presentation issues (4.6).	ts for trial testime	ony (10.0) re	view and address trial
02/19/20 Holbrook, Scott C.	595.00	13.50	8,032.50
Meet with Mr. Klein regarding trial preparation (7.2) business records (2.0); review and address trial pre-			ualify documents as
02/19/20 Kavouras, Daniel M.	395.00	3.00	1,185.00
Review and address exhibit issues (2.0); assist wit	h trial preparatior	า (1.0).	
02/19/20 Lazanich, Julia K.	220.00	2.30	506.00
Meet with Mr. Holbrook and Mr. Klein to review ext	nibit binder edits.		
02/19/20 Lazanich, Julia K.	220.00	0.70	154.00
Complete edits on Mr. Warren's opening presentat	ion.		
02/19/20 Lazanich, Julia K.	220.00	0.30	66.00
Provide trial presenter from Veritext, Mr. Koishor, e depositions.	dited exhibits for	Mr. Warren'	s opening and the video
02/19/20 Lazanich, Julia K.	220.00	0.20	44.00
Telephone call with Mr. Dunnaback regarding statu	is of official exhib	oit binder.	
02/19/20 Lazanich, Julia K.	220.00	0.10	22.00
Telephone call with Ms. Brogan regarding Ralph In	fante's deposition	n video.	
02/19/20 Lazanich, Julia K.	220.00	0.10	22.00
Review deposition designation edits for Ms. Szalay	, Ms. Brogan, an	d Mr. Dunna	back for final records.
02/19/20 Lazanich, Julia K.	220.00	4.80	1,056.00
Work on edits and redactions for exhibit binder to b	e provided to op	posing couns	sel.
02/19/20 Lazanich, Julia K.	220.00	1.30	286.00
Review and address issues regarding Jeff Osler's value and Ms. Brogan for review.	video deposition	and send to	Mr. Warren, Mr. Dunnaback
02/19/20 McDonald, Michael H.	260.00	5.00	1,300.00
Coordinate identification of trial exhibits to ensure of	compliance with p	pretrial order	
02/19/20 Shively, Douglas L.	435.00	6.30	2,740.50
Revise motion to qualify business records and rese	earch in connection	on with same	9.
02/19/20 Szalay, Sarah M.	235.00	0.10	23.50
Access and obtain recently filed pleadings and forv	vard to internal te	eam.	

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 158 of 197

02/19/20 Szalay, Sarah M	. 23	35.00	5.60 -	1,316.00	
Assemble lists of witness	deposition designations at the	e request of Ms.	Brogan and	Mr. Dunnaback.	
02/19/20 VanNiel, Michae	I A. 64	45.00 1	0.50 6	6,772.50	
	preparation matters (9.5); correct orders f				
02/19/20 Warren, Daniel F	R. 87	70.00	9.00	7,830.00	
Review and revise openin connection with same (2.	ng statement and select witnes 0).	s examination o	outlines (7.);	review documents in	
02/20/20 Brogan, Mary P.	29	95.00	8.70 2	2,566.50	
• • •	of edits necessary for Osler de contents for the exhibit list (6.7)	• •	2.0); proof ai	nd compile all plaintiff	
02/20/20 Dunnaback, Jere	emy 33	30.00 1	3.80 4	1,554.00	
Review and revise witnes deposition designation view	s outline for examination of Mr deo issues (6.8).	r. Heflin (7.0); re	eview and ad	dress trial exhibits and	
02/20/20 Holbrook, Scott	C. 59	95.00 1	2.60	7,497.00	
Review and revise witnes	es examinations (8.0); review e	exhibits for use in	n same (4.6)		
02/20/20 Kavouras, Danie	el M. 39	95.00	7.50 2	2,962.50	
Cross check exhibit lists, same for use at trial.	objections, and exhibits to cert	tification declara	ations, and c	reate chart showing	
02/20/20 Lazanich, Julia k	K. 22	20.00	3.80	836.00	
Review and revise Table	of Contents for exhibit binder t	to be submitted	to Court and	opposing counsel.	
02/20/20 Lazanich, Julia ł	K. 22	20.00	4.70	1,034.00	
Complete edits and redact counsel.	ctions of exhibits for the final experience of the second s	xhibit binder to t	be submitted	to Court and opposing	
02/20/20 Lazanich, Julia k	K. 22	20.00	1.00	220.00	
Review and address trial	preparation issues at Mr. Holb	prook's request.			
02/20/20 Lazanich, Julia k	K. 22	20.00	0.30	66.00	
Complete edits on Mr. Warren's opening statement PowerPoint presentation with Ms. Chomyk.					
02/20/20 Lazanich, Julia k	K. 22	20.00	0.30	66.00	
Review timeline edits pur	suant to request of Mr. Dunnat	back.			
02/20/20 Lazanich, Julia k	K. 22	20.00	2.00	440.00	
Coordinate exhibit binder	production with Mr. McDonald	and Inservio.			
02/20/20 Lazanich, Julia ł	K. 22	20.00	0.70	154.00	
Review and revise redact	tion edits for the exhibit binder	to be sent to op	posing coun	sel.	

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 159 of 197

		4 50		
02/20/20 Lazanich, Julia K.	220.00	1.50	330.00	
Review Mr. Klein's exhibits and organize for subm	•			
02/20/20 McDonald, Michael H.	260.00	13.00	3,380.00	
Coordinate identification of trial exhibits and assis order.	t with productior	n of same in co	ompliance with sch	eduling
02/20/20 Shively, Douglas L.	435.00	0.50	217.50	
Prepare bench brief regarding FRE 703 issues.				
02/20/20 Szalay, Sarah M.	235.00	0.10	23.50	
Access and obtain recently filed pleadings and for	ward to internal	team.		
02/20/20 Szalay, Sarah M.	235.00	2.40	564.00	
Assemble lists of witness deposition designations	at the request o	f Ms. Brogan	and Mr. Dunnabac	k.
02/20/20 Szalay, Sarah M.	235.00	1.80	423.00	
Prepare trial exhibits per the court's trial order.				
02/20/20 VanNiel, Michael A.	645.00	5.70	3,676.50	
Review and address trial preparation matters (4.0 same (1.0); review and analyze motion to quash f regarding trial matters (.5).				
02/20/20 Warren, Daniel R.	870.00	10.00	8,700.00	
Conduct trial preparations (6.5); prepare materials	s in connection w	vith same (3.5	).	
02/21/20 Bookout, Kimberly M.	275.00	1.10	302.50	
Assist trial team with issues regarding Textron's tr regarding same.	ial exhibits and o	communicate	with Mr. McDonald	
02/21/20 Brogan, Mary P.	295.00	9.30	2,743.50	
Discuss revisions to exhibit table of contents with videos and provide feedback and edits to trial presentations for select witnesses (9.0).			( )·	position
02/21/20 Dunnaback, Jeremy	330.00	12.70	4,191.00	
Review and revise witness outlines (8.5); review e	exhibit issues (2.	0); prepare fo	r jury voir dire (2.2)	).
02/21/20 Holbrook, Scott C.	595.00	11.20	6,664.00	
Review and address jury voir dire issues (4.0); pre	epare witness ex	aminations (7	.2).	
02/21/20 Kavouras, Daniel M.	395.00	2.00	790.00	
Analyze exhibit objections of parties.				
02/21/20 Kavouras, Daniel M.	395.00	1.00	395.00	
Prepare Durbak trial exhibits.				

Atla Houston	anta Chicago Los Angeles	Cincinnati New York	Cleveland Orlando		Costa Mesa San Francisco	Dallas Seattle	Denver Washington, DC
10-50494-jps	Doc 2637	FILED 10	/14/20 E	NTERED 10	/14/20 08:40:	54 Pa	ge 160 of 197

Trustee in Bankruptcy for Fair Finance Company		Invoice Date: Invoice Number: Matter Number:	09/28/20 50809379 042188.000001 Page 145
02/21/20 Kavouras, Daniel M. Correspondence with court reporter regarding trial	395.00	0.30	118.50
02/21/20 Kavouras, Daniel M.	395.00	1.20	474.00
Revise opening demonstrative exhibits for use at t			
02/21/20 Kavouras, Daniel M. Prepare various exhibits and documents for trial.	395.00	1.30	513.50
02/21/20 Kavouras, Daniel M.	395.00	4.70 1,	856.50
Research on potential jury pool and compile releva	ant informatio	n for use in voir dire.	
02/21/20 Lazanich, Julia K.	220.00	0.80	176.00
Review and address issues regarding Jury Questie	onnaires.		
02/21/20 Lazanich, Julia K.	220.00	0.80	176.00
Follow-up regarding Jury Questionnaires issues at	t the request of	of Mr. Holbrook.	
02/21/20 Lazanich, Julia K.	220.00		396.00
Review and address exhibit and related document	issues in cor	nection with trial.	
02/21/20 Lazanich, Julia K.	220.00	8.50 1,	870.00
Complete edits and add dates to the Trustee's Exh			
02/21/20 Lazanich, Julia K. Confirm for Ms. Brogan the deposition transcripts of clips.	220.00 used for the \	0.30 /eritext team to prepa	66.00 re video deposition
02/21/20 Lazanich, Julia K. Create Fair Finance Emergency Work Team Char	220.00 t and provide	0.20 to internal team.	44.00
02/21/20 Lazanich, Julia K. Coordinate delivery of exhibit binders from Inservio	220.00 o.	0.20	44.00
02/21/20 Lazanich, Julia K. Review and address multiple final trial preparation	220.00 issues at req		264.00
02/21/20 McDonald, Michael H. Coordinate identification of trial exhibits and revision	260.00 ons to exhibit		494.00
02/21/20 Shively, Douglas L. Analyze opposition to motion to qualify business re	435.00 ecords and re		566.00 with same.
02/21/20 Szalay, Sarah M. Prepare trial exhibits per the court's trial order.	235.00	3.30	775.50
02/21/20 VanNiel, Michael A.	645.00	7.40 4,	773.00
Review and address trial preparation matters (5.5) same (1.5); review Textron opposition to motion to			

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 161 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: 09/28/20 Invoice Number: 50809379 Matter Number: 042188.000001 Page 146
02/22/20 Brogan, Mary P. 295.00	5.10 1,504.50
Review deposition videos for trial and provide edits to trial pres	senter.
02/22/20 Dunnaback, Jeremy 330.00 Review and revise witness outlines, trial exhibits and deposition address jury voir dire issues (4.7).	13.20 4,356.00 n designation videos (8.5); review and
02/22/20 Holbrook, Scott C. 595.00 Prepare witness examinations (7.5); draft select portions of ope	11.70 6,961.50 ening statement (4.2).
02/22/20 Kavouras, Daniel M. 395.00	2.50 987.50
Review information for reply in support of motion to qualify busi depositions.	iness records, including Klein and Bash
02/22/20 Kavouras, Daniel M. 395.00	2.20 869.00
Draft letter to opposing counsel regarding withdrawal of exhibit	objections.
02/22/20 Kavouras, Daniel M. 395.00 Prepare for Lukacik testimony.	0.50 197.50
02/22/20 Kavouras, Daniel M. 395.00	4.80 1,896.00
Research regarding potential jurors in connection with voir dire	e matters.
02/22/20 Lazanich, Julia K. 220.00	1.00 220.00
Assist trial team with final trial preparation matters.	
02/22/20 Lazanich, Julia K. 220.00	2.20 484.00
Download video cuts of O'Fallon, LaCagnin and Guilioli from Ve Dunnaback and Ms. Brogan.	
02/22/20 Lazanich, Julia K. 220.00 Order exhibits for Barbara Lukacik from Inservio.	0.20 44.00
02/22/20 Lazanich, Julia K. 220.00	0.80 176.00
Download video cuts of Giulioli and Henderson from Veritext vie Ms. Brogan.	
02/22/20 Shively, Douglas L. 435.00 Analyze opposition to motion to qualify business records and d	5.00 2,175.00 Iraft reply to same.
02/22/20 VanNiel, Michael A. 645.00	9.40 6,063.00
Review and address trial preparation matters (4.5); correspond assist with matters relating to testimony of expert witness (2.5); regarding same (.6).	lence with trial team regarding same (1.8);
02/22/20 Warren, Daniel R. 870.00	10.00 8,700.00
Review and address trial preparation issues and strategy (8.0); (2.0).	; coordinate with trial team regarding same

#### Baker&HostetlerLLP

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 162 of 197

02/23/20	Brogan, Mary P.	295.00	6.70	1,976.50			
	d deposition videos to assure all necessary de d (4.7); prepare binders with copies of all de						
02/23/20	Dunnaback, Jeremy	330.00	6.50	2,145.00			
Prepar	e for trial, including by working on deposition	designation vide	os, trial exhit	bits, and witness outlines.			
02/23/20	Holbrook, Scott C.	595.00	13.00	7,735.00			
	Meet with Mr. Klein for trial preparation (5.0); review and revise direct examination outlines for select witnesses (8.0).						
02/23/20	Kavouras, Daniel M.	395.00	8.90	3,515.50			
Revise	draft reply in support of motion to qualify bus	siness records.					
02/23/20	Kavouras, Daniel M.	395.00	5.80	2,291.00			
Analyz	e juror background information and question	naires for potentia	al voir dire.				
02/23/20	Lazanich, Julia K.	220.00	0.70	154.00			
Create videos.	video preparation task list for Veritext video	team with Mr. Du	nnaback for	Textron's Case in Chief			
02/23/20	Lazanich, Julia K.	220.00	0.50	110.00			
	e video file including re-highlighting of depos s, and reviewing stage notes for Veritext vide			ections, gathering correct			
02/23/20	Lazanich, Julia K.	220.00	0.80	176.00			
	e video file including re-highlighting of depos s, and reviewing stage notes for Veritext vide		•				
02/23/20	Lazanich, Julia K.	220.00	0.20	44.00			
Review	and address issues regarding Mr. Klein's de	eclaration exhibits	<b>.</b>				
02/23/20	Lazanich, Julia K.	220.00	0.80	176.00			
Meet w	ith Mr. Holbrook and Howard Klein to review	demonstratives f	or trial.				
02/23/20	Lazanich, Julia K.	220.00	3.90	858.00			
Review	and address multiple exhibit issues (1.5); co	pordinate with tria	l team regar	ding same (2.4).			
02/23/20	Lazanich, Julia K.	220.00	0.10	22.00			
Teleph	one call with Mr. Dunnaback regarding items	needed at the C	ourthouse in	anticipation of trial.			
02/23/20	Lazanich, Julia K.	220.00	0.80	176.00			
Prepare materials regarding Textron's exhibit list tracker, the Trustee's exhibit list tracker, and the Trustee's master trial exhibit list.							
02/23/20	Lazanich, Julia K.	220.00	0.30	66.00			
Review	Review Mr. Dunnaback's edits and address issues regarding Trustee's exhibit list following same.						

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 163 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: Invoice Number: Matter Number:	09/28/20 50809379 042188.000001 Page 148
02/23/20 Lazanich, Julia K. 220.00	0.20 44	00
Coordinate regarding exhibits for Paul Durbak with Inservio.		
02/23/20 Shively, Douglas L. 435.00	8.90 3,871	.50
Analyze opposition to motion to qualify business records and	draft reply to same.	
02/23/20 VanNiel, Michael A. 645.00	8.00 5,160	
Correspondence and conference calls with trial team regardin preparations (2.5); attend conference call with opposing coun- summary outline of cross examination of Mr. Kaffen (3.0).		
02/23/20 Warren, Daniel R. 870.00	10.00 8,700	.00
Prepare for witness examinations and opening statement (8.5	i); review trial strategy (1.5).	
02/24/20 Brogan, Mary P. 295.00	11.70 3,451	.50
Provide final revisions to trial presenter for Turner video deport (9.7); research limitations on what a bank employee can disclusion was filed in a matter (1.0).		
02/24/20 Dunnaback, Jeremy 330.00	13.50 4,455	.00
Serve as trial counsel on behalf of Trustee (8.0); prepare Trus Heflin to testify at trial, attending trial strategy meeting, and we videos (5.5).		
02/24/20 Holbrook, Scott C. 595.00	16.50 9,817.	.50
Prepare for trial examinations of select witnesses (8.5); attend	d first day of trial (8.0).	
02/24/20 Kavouras, Daniel M. 395.00	8.50 3,357	.50
Attend trial, including jury selection and opening statements.		
02/24/20 Kavouras, Daniel M. 395.00 Revise reply in support of motion to certify business records.	1.00 395.	00
02/24/20 Kavouras, Daniel M. 395.00 Assist with trial day two preparations.	1.90 750.	50
02/24/20 Lazanich, Julia K. 220.00	2.60 572	.00
Prepare video file including re-highlighting of deposition testin exhibits, and reviewing stage notes for Veritext video team for		gathering correct
02/24/20 Lazanich, Julia K. 220.00	0.90 198	.00
Coordinate regarding exhibits for examination of Charles Hefl	in with Inservio.	
02/24/20 Lazanich, Julia K. 220.00	0.10 22	.00
Review and address exhibit and related document issues in c	onnection with trial.	
02/24/20 Lazanich, Julia K. 220.00	1.50 330.	.00
Meeting with Mr. Dunnaback regarding exhibit binder sets for	trial team and opening state	ement materials.
	_	

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 164 of 197

Trustee in Bankruptcy for I	Fair Finance	Company
-----------------------------	--------------	---------

02/24/20 Lazanich, Julia K.	220.00	7.40	1,628.00	
Attend first day of trial at the request of Mr. Holbro	ok.			
02/24/20 Lazanich, Julia K.	220.00	0.50	110.00	
Meet with trial team to review assignments after fir	rst day of trial.			
02/24/20 McIntyre, Sean E.	330.00	1.90	627.00	
Revise draft of reply brief to motion to certify busin	less records.			
02/24/20 Shively, Douglas L.	435.00	4.60	2,001.00	
Revise reply brief and prepare same for filing and	research in con	nection with s	ame.	
02/24/20 Szalay, Sarah M.	235.00	0.20	47.00	
Access and obtain recently filed pleadings and for	ward to internal	team.		
02/24/20 Szalay, Sarah M.	235.00	0.30	70.50	
Access and obtain pleadings and related materials	s at the request	of Mr. Bash.		
02/24/20 VanNiel, Michael A.	645.00	14.30	9,223.50	
Attend and participate in trial (7.8); prepare for cro meetings and correspondence with trial team rega pertinent exhibits for use in cross examinations (3.	rding trial strate			( ).
02/24/20 Warren, Daniel R.	870.00	12.00	10,440.00	
Attend day one of trial (8.5); prepare for day two o	f trial (3.5).			
02/25/20 Brogan, Mary P.	295.00	9.90	2,920.50	
Research limits on testimony that a bank or bank e filed (2.4); attend second day of trial (5.0); compar Mr. LaCagnin, Mr. Turner, and Mr. O'Fallon to ens	e highlighted tra	anscripts and	deposition design	ations of
02/25/20 Dunnaback, Jeremy	330.00	12.00	3,960.00	
Serve as trial counsel on behalf of Trustee (3.8); p (8.2).	prepare testimor	ny and eviden	ce for Trustee's ca	ase-in-chief
02/25/20 Holbrook, Scott C.	595.00	18.50	11,007.50	
Prepare for trial examination of Mr. Klein and othe	r witnesses (11	.5); attend day	v two of trial (7.0).	
02/25/20 Kavouras, Daniel M. Attend trial, plaintiff's case-in-chief.	395.00	8.70	3,436.50	
02/25/20 Kavouras, Daniel M. Prepare for trial, including witness exhibits.	395.00	2.00	790.00	
02/25/20 Lazanich, Julia K. Work on demonstratives for Mr. Klein at the reque	220.00 st of Mr. Holbro	1.00 ook.	220.00	
02/25/20 Lazanich, Julia K.	220.00	4.50	990.00	
Assist Mr. Holbrook and Mr. Warren with testimon	y of Ms. Lukacil	k.		

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 165 of 197

Trustee in Bankruptcy for Fair Finance Company			Invoice Date: Invoice Number: Matter Number:	: 50809379	
02/25/20	Lazanich, Julia K.	220.00	2.80	616.00	
	second day of trial at the request of Mr. H				
Edit hig	Lazanich, Julia K. hlighting of deposition testimony to remove t video team for Benjamin Kimmerling.	220.00 ve additional ob	0.50 vjections per Judge C	110.00 Gaughn's orders for	
•	Lazanich, Julia K. e video file including re-highlighting of dep s, and reviewing stage notes for Veritext vi			132.00 ons, gathering correct	
	Lazanich, Julia K. bad deposition video cuts in the trial share back and Ms. Brogan.	220.00 folder of Eiche	0.20 nberger and Birk for	44.00 review by Mr.	
02/25/20 Comple	Lazanich, Julia K. ete redactions for the final exhibit binder fo	220.00 or trial.	0.40	88.00	
02/25/20 Resear	Shively, Douglas L. ch FRE 703 issues and prepare bench bri	435.00 ief in connectio		,827.00	
	VanNiel, Michael A. and address trial preparation issues (6.0) 1.3); prepare additional cross examination	•	nce and meetings wi		
02/25/20 Attend	Warren, Daniel R. second day of trial (8.5); review and addre	870.00 ess day three ti		),440.00 ers (3.5).	
02/26/20 Resear	Beachdell, Alexis C. ch evidentiary issues in connection with o	430.00 ngoing Textror		,720.00	
	Brogan, Mary P. e edits to the Birk deposition video to be pl day of trial (8.3); prepare hard copies of C		extron's case in chief		
02/26/20 Serve a (8.5).	Dunnaback, Jeremy as trial counsel on behalf of Trustee (3.8);	330.00 prepare testim		,059.00 r Trustee's case-in-chief	
02/26/20 Attend	Holbrook, Scott C. third day of trial (5.5); prepare for fourth da	595.00 ay of trial (8.7).		3,449.00	
02/26/20 Attend	Kavouras, Daniel M. trial, plaintiff's case-in-chief.	395.00	8.80 3	8,476.00	
02/26/20 Prepare	Kavouras, Daniel M. e for trial, including witness exhibits and a	395.00	2.20	869.00	

Prepare for trial, including witness exhibits and analysis of potential directed verdict issues to be addressed.

#### Baker&Hostetler LLP

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 166 of 197

02/26/20 Lazanich, Julia K. Download deposition video cuts in the trial share t Dunnaback and Ms. Brogan.	220.00 folder of Eichen	0.90 berger and Bii	198.00 k for review by Mr.	
02/26/20 Lazanich, Julia K. Prepare Birk and Kimmerling videos with the Verit with review of same.	220.00 text video team	0.80 and assist Ms	176.00 . Brogan and Mr. Dunn	aback
02/26/20 Lazanich, Julia K. Complete redactions for updated final exhibit bind	220.00 ler.	0.80	176.00	
02/26/20 Lazanich, Julia K. Review and revise demonstratives for Mr. Klein at	220.00 t the request of	2.00 Mr. Holbrook.	440.00	
02/26/20 Lazanich, Julia K. Review and address exhibit and related documen	220.00 t issues in conn	0.90 ection with tria	198.00 al.	
02/26/20 Lazanich, Julia K. Review and address trial preparation issues at red	220.00 quest of Mr. Wa	1.00 rren.	220.00	
02/26/20 Lazanich, Julia K. Assist trial team with final trial preparation matters	220.00 S.	1.00	220.00	
02/26/20 Lazanich, Julia K. Coordinate with Veritext videographer, Mr. Fronza issues regarding same.	220.00 aglia regarding e	1.00 exhibits for tria	220.00 I and assist with techno	ology
02/26/20 Shively, Douglas L. Research FRE 703 issues and prepare bench brid	435.00 ef in connection	11.90 with same.	5,176.50	
02/26/20 Szalay, Sarah M. Access and obtain numerous documents relating request of Mr. VanNiel.	235.00 to Ronald Kaffe	0.80 In and assemb	188.00 le binder of same at th	е
02/26/20 Szalay, Sarah M. Assemble lists of witness deposition designations	235.00 at the request of	2.80 of Ms. Brogan	658.00	
02/26/20 VanNiel, Michael A. Review and address trial issues (6.5); prepare sel trial team regarding research tasks (.8); review per settlements in cross examination of select Textror	ertinent authority	regarding ab		
02/26/20 Warren, Daniel R. Attend third day of trial (8.0); prepare for fourth da	870.00 ay of trial (4.0).	12.00	10,440.00	
02/27/20 Brogan, Mary P. Attend and assist at the fourth day of trial (7.7); pr depositions that will be part of defendant's case in		•	•	video

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 167 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: Invoice Number: Matter Number:	09/28/20 50809379 042188.000001 Page 152
02/27/20 Dunnaback, Jeremy 330.00	12.50 4,125	.00
Prepare testimony and evidence for Trustee's case-in-chief.		
02/27/20 Holbrook, Scott C. 595.00	18.60 11,067	.00
Review and revise witness direct examinations (14.0); review a connection with same (4.6).	nd address additional exh	ibit issues in
02/27/20 Kavouras, Daniel M. 395.00 Attend trial, plaintiff's case-in-chief.	7.70 3,041	.50
02/27/20 Kavouras, Daniel M. 395.00 Prepare for testimony of expert witnesses Klein and Heflin.	2.90 1,145	.50
02/27/20 Kavouras, Daniel M. 395.00 Prepare for directed verdict argument.	2.70 1,066	.50
02/27/20 Lazanich, Julia K. 220.00 Coordinate regarding issues with exhibits for trial.	0.80 176	.00
02/27/20 Lazanich, Julia K. 220.00 Review and address trial preparation issues at request of Mr. W		.00
02/27/20 Lazanich, Julia K. 220.00	1.00 220	.00
Prepare video file including re-highlighting of deposition testimo exhibits, and reviewing stage notes for Veritext video team for H		gathering correct
02/27/20 Lazanich, Julia K. 220.00 Work on demonstratives for Mr. Klein at the request of Mr. Holb	4.40 968 prook.	.00
02/27/20 Lazanich, Julia K. 220.00 Assist trial team with final trial preparation matters.	1.00 220	.00
02/27/20 Lazanich, Julia K. 220.00 Coordinate regarding issues with preparation of Mr. Klein's dem	0.70 154 nonstratives.	.00
02/27/20 Lazanich, Julia K. 220.00 Finalize Mr. Klein's demonstrative exhibits at the request of Mr.		.00 to Textron.
02/27/20 Lazanich, Julia K. 220.00 Review Kimmerling deposition designations with Ms. Brogan ar	0.90 198 nd Mr. Dunnaback to locat	
02/27/20 McDonald, Michael H. 260.00 Coordinate identification of trial exhibits and application of elect		.00 to same.
02/27/20 Shively, Douglas L. 435.00 Research FRE 703 issues and prepare bench brief in connection	7.00 3,045 on with same.	.00

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 168 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Da Invoice Numb Matter Numb	ber:	09/28/20 50809379 2188.000001 Page 153	
02/27/20 Szalay, Sarah M. Access and obtain numerous documents rela of Mr. VanNiel.	235.00 ating to John Head a	1.40 and assemble bi	329.00 nder of same a	at the request
02/27/20 VanNiel, Michael A.	645.00	16.80	10,836.00	
Review and address trial matters (10.0); corr (1.5); review court rulings regarding exhibits a Kaffen and Head (5.0).	espondence and di	scussions with tr	ial team regard	
02/27/20 Warren, Daniel R. Attend trial (8.5); prepare for next day of trial	870.00 (3.5).	12.00	10,440.00	
02/28/20 Brogan, Mary P. Attend and assist at the fifth day of trial and r video for any additional edits needed (.8); rev Humphrey and Mr. Henderson (.2); reconcile	view Textron's letter	to the court reg	arding testimor	ny of Mr.
02/28/20 Dunnaback, Jeremy Serve as trial counsel on behalf of Trustee (8 (3.0).	330.00 3.0); prepare testime	11.00 ony and evidence	3,630.00 e or Trustee's o	case-in-chief
02/28/20 Holbrook, Scott C. Prepare for trial (1.2); attend trial (9.2); meet	595.00 with litigation team	10.70 regarding trial pi	6,366.50 reparation (.3).	
02/28/20 Kavouras, Daniel M. Attend trial, plaintiff's case-in-chief and direct	395.00 ed verdict argumen	9.20 t.	3,634.00	
02/28/20 Lazanich, Julia K. Review Mr. Klein's exhibits and cross-referen Holbrook.	220.00 nce with master Exh	0.40 libit spreadsheet	88.00 at the request	of Mr.
02/28/20 Lazanich, Julia K. Upload to the FTP site and save Mr. Klein's e Holbrook's request.	220.00 expert report exhibit	1.00 s for videograph	220.00 er, Mr. Koishoi	r, per Mr.
02/28/20 Lazanich, Julia K. Meet with expert witness, Mr. Klein prior to liv	220.00 ve testimony at trial	2.00	440.00	
02/28/20 Lazanich, Julia K. Coordinate with Inservio regarding production	220.00 n and delivery of ex	0.70 hibit documents.	154.00	
02/28/20 Lazanich, Julia K. Review Trustee's list of admitted exhibits aga request of Mr. Warren and Mr. Kavouras.	220.00	1.50	330.00	ecord at the
02/28/20 Lazanich, Julia K. Provide exhibit list and exhibits to court.	220.00	1.00	220.00	

Provide exhibit list and exhibits to court.

# Baker&Hostetler LLP

Houston	Atlanta Los A	Chicago Angeles	Cincinna New York		 s Costa Mesa San Francisco	Dallas Seattle	Denver Washington, DC
10-50494-j	ps D	oc 2637	FILED 1	L0/14/20 E	10/14/20 08:40	:54 Pa	ge 169 of 197

Trustee in Bankruptcy f	or Fair Finance Company
-------------------------	-------------------------

02/28/20 Lazanich, Julia K.	220.00	1.00	220.00
Provide draft of bench brief to Mr. Shively.			
02/28/20 Lazanich, Julia K.	220.00	0.40	88.00
Work with Mr. Warren on his re-direct examination	of Mr. Heflin.		
02/28/20 Lazanich, Julia K.	220.00	1.00	220.00
Assist trial team with final trial preparation matters.			
02/28/20 McDonald, Michael H.	260.00	0.30	78.00
Coordinate regarding issues with trial team Relativ	ity database.		
02/28/20 McIntyre, Sean E.	330.00	1.80	594.00
Revise draft of bench brief on federal rule of evider	nce 703 based or	n case law o	cited therein.
02/28/20 Shively, Douglas L.	435.00	5.20	2,262.00
Research FRE 703 and 705 issues and prepare be granting motion to qualify business records (.9); an			
02/28/20 Szalay, Sarah M.	235.00	0.30	70.50
Access and obtain recently filed pleadings and forv	vard to internal te	eam.	
02/28/20 VanNiel, Michael A.	645.00	10.40	6,708.00
Review and address trial matters (8.0); correspond revise cross examination outlines for select Textro		-	ng same (.4); review and
02/28/20 Warren, Daniel R.	870.00	12.00	10,440.00
Attend fifth day of trial (9.2); prepare for sixth day of	of trial (2.8).		
02/29/20 Brogan, Mary P.	295.00	5.60	1,652.00
Prepare video depositions to be used during Textro (1.5); research applicability of Rule 406 to an organ and procedures manual in preparation for cross-ex	nization's routine	practice (3.	0); review Textron's policy
02/29/20 Dunnaback, Jeremy	330.00	5.80	1,914.00
Prepare testimony and evidence for presentation d	uring Textron's c	ase-in-chie	f.
02/29/20 Holbrook, Scott C.	595.00	9.00	5,355.00
Review and address trial preparation matters (7.5)	; review witness	examinatior	ns (1.5).
02/29/20 Kavouras, Daniel M.	395.00	3.00	1,185.00
Communicate with team regarding trial preparation cross-examinations, and closing statement.	s, including resp	onse to pro	posed witness testimony,
02/29/20 Lazanich, Julia K.	220.00	0.20	44.00
Emails with Mr. Holbrook regarding exhibit and exa	mination binder	for Ms. Smi	th cross-examination.
02/29/20 Lazanich, Julia K.	220.00	0.50	110.00
Coordinate with Inservio regarding cross-examinat	ion of Ms. Smith	at the reque	est of Mr. Dunnaback.
Pakara Haatatlaru p			

Houston	Atlaı	nta Chicago Los Angeles	Cincinnati New York	i Cleveland Orlando		s Costa Mesa San Francisco	Dallas Seattle	Denver Washington, DC
10-50494	-jps	Doc 2637	FILED 1	0/14/20 E	ENTERED 1	10/14/20 08:40:	54 Pa	ge 170 of 197

02/29/20 Lazanich, Julia K.	220.00	0.30	66.00	
Emails with Ms. Brogan regarding Kimmerling				
02/29/20 VanNiel, Michael A.	645.00	10.10	6,514.50	
Attend trial preparation meetings with trial tear Head (9.0); telephone conference with expert	m (1.0); prepare for	cross examin	ations of Messrs. Kaffe	n and
02/29/20 Warren, Daniel R.	870.00	10.00	8,700.00	
Prepare cross-examinations of select Textron (2.0).	witnesses (8.0); rev	iew documen	ts in connection with sa	ame
03/01/20 Brogan, Mary P.	295.00	5.20	1,534.00	
Annotate Textron Policy and Procedures Man research and draft argument regarding inadmi (2.5); collaborate with Mr. Dunnaback to finaliz (1.2).	ssibility of evidence	of Textron's I	nabit in loan agreemen	
03/01/20 Dunnaback, Jeremy	330.00	8.00	2,640.00	
Prepare outlines of cross-examination questio chief.	ns and evidence for	presentation	during Textron's case-	in-
03/01/20 Holbrook, Scott C.	595.00	11.70	6,961.50	
Prepare witness examinations for trial (7.0); rewith witnesses (3.2).	eview and analyze tr	ial strategy (1	.5); review exhibits for	use
03/01/20 Kavouras, Daniel M.	395.00	4.30	1,698.50	
Draft response to Textron letter regarding lay	opinion testimony.			
03/01/20 Kavouras, Daniel M.	395.00	1.00	395.00	
Finalize stipulation regarding actual creditor re	equirement for fraud	ulent transfer	claim.	
03/01/20 Kavouras, Daniel M.	395.00	4.10	1,619.50	
Prepare for trial, including witness and exhibit	preparation with tria	ll team.		
03/01/20 Lazanich, Julia K.	220.00	0.20	44.00	
Telephone conference with Mr. Dunnaback re	garding status of ex	hibit coordina	tion with Inservio.	
03/01/20 Lazanich, Julia K.	220.00	0.30	66.00	
Respond to emails from Mr. Holbrook regardir	ng issues relating to	continued ex	amination of Mr. Klein.	
03/01/20 Lazanich, Julia K.	220.00	1.00	220.00	
Coordinate with Inservio regarding trial prepar	ation materials.			
03/01/20 Lazanich, Julia K.	220.00	2.50	550.00	
Coordinate regarding exhibits and trial binders	s with Inservio, Mr. D	)unnaback ar	d Mr. Holbrook.	
03/01/20 VanNiel, Michael A.	645.00	17.70	11,416.50	
Review and address trial matters (7.5); corres comment on letter to court regarding Textron v				

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 171 of 197

(.3); attend meetings regarding cross examination a finalize cross examination outline and exhibits for u					
03/01/20 Warren, Daniel R.	870.00	10.00	8,700.00		
Draft witness examinations (8.0); review and analy					
03/02/20 Brogan, Mary P.	295.00	11.30	3,333.50		
Attend and assist at sixth day of trial (8.2); prepare cross-examinations of Ms. Smith and Mr. Heuerma			and Mr. Holbrook for their		
03/02/20 Dunnaback, Jeremy	330.00	13.50	4,455.00		
Serve as trial counsel on behalf of Trustee (8.0); pr Textron's case-in-chief (5.5).	repare testimony	and eviden	ce to be presented during		
03/02/20 Holbrook, Scott C.	595.00	5.70	3,391.50		
Review and address trial preparation and witness e	examination issu	es (3.0); rev	view strategy for trial (2.7).		
03/02/20 Holbrook, Scott C.	595.00	8.50	5,057.50		
Attend sixth day of trial (8.2); review status of open	trial tasks (.3).				
03/02/20 Kavouras, Daniel M.	395.00	8.60	3,397.00		
Attend sixth day of trial (8.2); coordinate with trial te	eam regarding tr	ial matters a	after same (.4).		
03/02/20 Kavouras, Daniel M.	395.00	1.90	750.50		
Review materials for Grice cross examination.					
03/02/20 Lazanich, Julia K.	220.00	1.30	286.00		
Review redactions of Klein exhibits and redact add	itional notes for	Mr. Kavoura	IS.		
03/02/20 Lazanich, Julia K.	220.00	0.60	132.00		
Assist Ms. Brogan to prepare materials relating to t	estimony of Mr.	Kimmerling	and Mr. Heuerman.		
03/02/20 Lazanich, Julia K.	220.00	0.30	66.00		
Review and address trial logistics and exhibit issue	es.				
03/02/20 Lazanich, Julia K.	220.00	4.00	880.00		
Attend trial at the request of Mr. Warren.					
03/02/20 Szalay, Sarah M.	235.00	0.20	47.00		
Access and obtain recently filed pleadings and forv	vard to internal te	eam.			
03/02/20 VanNiel, Michael A.	645.00	12.20	7,869.00		
Prepare for trial examination of Textron expert witness (10.5); correspondence with trial team regarding same (.9); review order denying ODS motion to quash (.1); review accountant transcript designations (.4); correspondence with working group regarding same (.3).					
03/02/20 Warren, Daniel R.	870.00	12.00	10,440.00		
Attend sixth day of trial (8.2); prepare for seventh d	lay of trial (3.8).				

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 172 of 197

03/03/20 Bro	ogan, Mary P.	295.00	8.80	2,596.00				
Prepare chart of objections Trustee had made regarding documents that Textron had listed for use with this week's witnesses (1.0); draft cross-examination outline for Mr. Warren for use with Mr. Heuerman (4.0); prepare exhibits for the same cross-examination (.6); meet with Mr. Proano, Mr. Warren, Mr. Dunnaback, and Mr. VanNiel regarding the same cross-examination (3.0); review Kimmerling deposition transcripts with Ms. Lazanich to confirm sections to be played in court (.2).								
03/03/20 Du	innaback, Jeremy	330.00	13.60	4,488.00				
	al counsel on behalf of Trustee (8.0); prep ase-in-chief (5.6).	oare testimony an	d evidence t	to be presented during				
03/03/20 Ho	blbrook, Scott C.	595.00	11.60	6,902.00				
Review exh (5.6).	nibits for use in cross-examination of Textr	on witnesses (6.0	)); prepare c	ross-examination outlines				
03/03/20 Ho	olbrook, Scott C.	595.00	4.30	2,558.50				
Attend porti	ion of seventh day of trial.							
03/03/20 Ka	vouras, Daniel M.	395.00	3.20	1,264.00				
Prepare for	trial, including assisting with witness example	mination outlines.						
03/03/20 Ka	vouras, Daniel M.	395.00	8.40	3,318.00				
Attend seve	enth day of trial and related trial team mee	tings following sa	ime.					
03/03/20 La:	zanich, Julia K.	220.00	3.10	682.00				
Assist trial t	team with final trial preparation matters.							
03/03/20 La:	zanich, Julia K.	220.00	2.20	484.00				
	Ms. Brogan in reviewing Benjamin Kimmer th Court objections to produce a final copy	•	-	from the Trustee and				
03/03/20 La:	zanich, Julia K.	220.00	0.10	22.00				
Assist with	Heuerman examination preparation.							
03/03/20 La:	zanich, Julia K.	220.00	0.10	22.00				
Review issu	ues regarding trial logistics.							
03/03/20 La:	zanich, Julia K.	220.00	0.80	176.00				
Coordinate days.	with Inservio, Mr. Dunnaback and Mr. Ho	Ibrook regarding	materials for	use in upcoming trial				
03/03/20 La:	zanich, Julia K.	220.00	0.20	44.00				
Review and	address issues regarding trial logistics.							
03/03/20 Pro	oano, David F.	475.00	8.50	4,037.50				
deposition t	Warren with preparation for cross-examina transcripts, review of draft cross-examinat am regarding same.			•				

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 173 of 197

Trustee in Bankruptcy for	Fair Finance Company
---------------------------	----------------------

03/03/20	Szalay, Sarah M.	235.00	0.20	47.00
Access	and obtain recently filed pleadings and forwa	ard to internal tea	am.	
03/03/20	VanNiel, Michael A.	645.00	17.00	10,965.00
	seventh day of trial (8.0); review and address nations (7.5); correspondence and meetings w			
03/03/20	Warren, Daniel R.	870.00	12.00	10,440.00
Attend	seventh day of trial (8.0); prepare for eighth d	lay of trial (4.0).		
03/04/20	Brogan, Mary P.	295.00	8.60	2,537.00
	e for Mr. Warren's cross-examination of Mr. Heview rough transcript and assist in preparation			ssist at eighth day of trial
03/04/20	Dunnaback, Jeremy	330.00	13.70	4,521.00
	as trial counsel on behalf of Trustee (7.0); pre n's case-in-chief (6.7).	pare testimony a	Ind evidence	e to be presented during
03/04/20	Holbrook, Scott C.	595.00	19.00	11,305.00
	with witness cross-examination outlines (10.0 nate with trial team regarding trial next steps (		ls in connec	tion with same (4.0);
03/04/20	Kavouras, Daniel M.	395.00	7.20	2,844.00
Attend	eighth day of trial.			
03/04/20	Kavouras, Daniel M.	395.00	2.20	869.00
Prepar	e for expert witness cross examination.			
03/04/20	Lazanich, Julia K.	220.00	2.40	528.00
Review	vexhibit tracker for Mr. Dunnaback in connect	tion with trial.		
03/04/20	Lazanich, Julia K.	220.00	1.00	220.00
Assist	trial team with final trial preparation matters.			
03/04/20	McDonald, Michael H.	260.00	0.10	26.00
Coordi	nate supplemental review of additional docum	nents in Opus da	tabase for p	ossible use at trial.
03/04/20	Szalay, Sarah M.	235.00	0.30	70.50
Access	and obtain pleadings and related materials a	it the request of I	Mr. Bash.	
03/04/20	VanNiel, Michael A.	645.00	14.30	9,223.50
	eighth day of trial (7.0); prepare for trial exam cussions with trial team regarding same (.8).	ination of Textro	n expert wit	ness (6.5); correspondence
03/04/20	Warren, Daniel R.	870.00	12.00	10,440.00
Attend trial (2.	eighth day of trial (7.0); coordinate trial team 0).	efforts following	same (3.0);	prepare for ninth day of

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 174 of 197

03/05/20 Brogan, Mary P.	295.00	10.00	2,950.00
Attend and assist at ninth day of trial (8.0); prepar deposition transcript and proposed jury instruction		trial includir	ng reviewing Coulter
03/05/20 Dunnaback, Jeremy	330.00	12.30	4,059.00
Serve as trial counsel on behalf of Trustee (8.0); p Textron's case-in-chief (4.3).	repare testimony	/ and eviden	ce to be presented during
03/05/20 Holbrook, Scott C. Attend portions of ninth day of trial.	595.00	4.00	2,380.00
03/05/20 Holbrook, Scott C. Prepare examinations and materials fo use at tent	595.00 h day of trial.	13.50	8,032.50
03/05/20 Kavouras, Daniel M. Prepare for cross examination of expert witness, i	395.00	4.00	1,580.00
03/05/20 Kavouras, Daniel M. Attend ninth day of trial (8.0); review and address	395.00	8.30	3,278.50
03/05/20 Lazanich, Julia K. Review exhibit tracker for Mr. Dunnaback in conne	220.00	0.50	110.00
03/05/20 Lazanich, Julia K. Coordinate with Ms. Knight regarding trial issues a	220.00 at request of Mr.	0.40 Holbrook.	88.00
03/05/20 Lazanich, Julia K.	220.00	0.30	66.00
Assemble additional exhibits for Mr. Warren to use	e in his cross-exa	mination of	upcoming Textron witness.
03/05/20 Lazanich, Julia K. Create binder of exhibits for Mr. Grice per Mr. Hol	220.00 prook's instructio	0.70 n.	154.00
03/05/20 Lazanich, Julia K. Review and assist with trial preparation matters.	220.00	1.20	264.00
03/05/20 Lazanich, Julia K. Attend portion of ninth day of trial at the request or	220.00 Mr. Warren.	3.30	726.00
03/05/20 VanNiel, Michael A.	645.00	18.70	12,061.50
Attend trial (8.0); prepare examination of expert w regarding trial matters (.4); review and analyze po		<i>,</i> .	
03/05/20 Warren, Daniel R.	870.00	12.00	10,440.00
Attend ninth day of trial (8.0); review and address Textron witness cross-examination (2.0).	trial strategy follo	owing same	(2.0); prepare upcoming
03/06/20 Brogan, Mary P.	295.00	9.50	2,802.50
Attend and assist at tenth day of trial (8.0); review (1.5).	and coordinate t	rial matters a	at request of Mr. Warren

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 175 of 197

03/06/20 Dunnaback, Jeremy Serve as trial counsel on behalf of Trustee (8.0); pr Textron's case-in-chief (2.1).	330.00 repare testimon	10.10 y and evidend	3,333.00 ce to be presented during				
03/06/20 Holbrook, Scott C. Attend portions of tenth day of trial.	595.00	7.50	4,462.50				
03/06/20 Holbrook, Scott C. Prepare materials fr use in eleventh day of trial.	595.00	3.30	1,963.50				
03/06/20 Kavouras, Daniel M. Attend tenth day of trial (8.0); attend argument on j	395.00 jury instructions	8.70 (.7).	3,436.50				
03/06/20 Lazanich, Julia K. Review and address trial logistics at the request of	220.00 Mr. Holbrook.	0.30	66.00				
03/06/20 Lazanich, Julia K. Assist trial team with final trial preparation matters.	220.00	3.00	660.00				
03/06/20 Szalay, Sarah M. Access and obtain recently filed pleadings and forv	235.00 ward to internal	0.10 team.	23.50				
• • • • • • •	03/06/20 VanNiel, Michael A. 645.00 10.50 6,772.50 Attend portion of tenth day of trial (3.5); prepare for cross-examination of Textron expert witness (6.5); correspondence with trial team regarding approach to same (.3).						
03/06/20 Warren, Daniel R. Attend tenth day of trial (8.0); attend jury instruction for eleventh day of trial (3.3).	870.00 ns argument wit	12.00 th Court (.7); r	10,440.00 eview and address issues				
03/07/20 Dunnaback, Jeremy Prepare materials for use at closing argument.	330.00	7.00	2,310.00				
03/07/20 Holbrook, Scott C. Review and address issues regarding closing argu (3.0); prepare closing argument (3.9).	595.00 Iment (8.5); coo	15.40 rdinate with M	9,163.00 Ir. Warren regarding same				
03/07/20 Kavouras, Daniel M. Prepare for trial and closing argument, including re Warren and Holbrook.	395.00 eview of trial ext	10.20 hibits and tran	4,029.00 scripts at request of Messrs.				
03/07/20 Kavouras, Daniel M. Draft letter to Court regarding objections to jury ins	395.00 tructions	2.70	1,066.50				
03/07/20VanNiel, Michael A.645.0015.009,675.00Prepare draft cross examination outline for expert witness (5.5); review and analyze possible exhibits and documents for use in same (6.0); review prior depositions of expert witness (2.0); attend trial preparation meetings with trial team (1.0); correspondence with trial team regarding same (.5).							

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 176 of 197

	Warren, Daniel R. and address trial preparation matters (8.0); p	870.00 prepare closing a	12.00 Irgument sec	10,440.00 ctions (4.0).
03/08/20	Dunnaback, Jeremy materials for use in closing argument.	330.00	4.50	1,485.00
03/08/20 Draft, re (9.3).	Holbrook, Scott C. eview and revise closing arguments (12.0); re	595.00 view record and	21.30 materials in	12,673.50 connection with same
	Kavouras, Daniel M. e for trial and closing argument, including revie ng argument.	395.00 ew of trial exhibi	11.00 ts and transo	4,345.00 cripts and drafting outlines
	Kavouras, Daniel M. for argument on renewed motion for directed	395.00 d verdict and arg	6.10 jument on ju	2,409.50 ry instructions.
	Lazanich, Julia K. De and organize exhibits for Mr. VanNiel to us	220.00 se during his cro	0.70 ss-examinat	154.00 ion of Mr. Grice.
	Lazanich, Julia K. one call to discuss and coordinate final set of e.	220.00 jury binders with	0.80 ı Mr. Dunnat	176.00 back pursuant to Court
	Lazanich, Julia K. Klein's demonstratives per his and Mr. Holbr	220.00 rook's direction to	1.00 o use in clos	220.00 ing arguments.
03/08/20	Lazanich, Julia K. Trustee's exhibit tracker against daily transcr	220.00	2.50	550.00
	Lazanich, Julia K. ate regarding demonstrative board for use in	220.00 closing argume	0.50 nts at the rec	110.00 quest of Mr. Warren.
Prepare trial tear	VanNiel, Michael A. e for final day of trial and cross-examination o m regarding open matters and inquiries relati ections of closing argument (.4); review closin	ng to closing arg	juments (.9);	review and comment on
03/08/20 Draft clo	Warren, Daniel R. osing arguments (9.0); coordinate with trial te	870.00 am regarding sa	12.00 me (3.0).	10,440.00
03/09/20 Attend a	Brogan, Mary P. and assist at final day of trial and meetings fo	295.00 llowing same.	9.30	2,743.50
03/09/20 Serve a for jury	Dunnaback, Jeremy s trial counsel on behalf of Trustee (8.0); pre (1.4).	330.00 pare for closing a	10.90 argument (1.	3,597.00 5); prepare final exhibits

Hou		anta Los A	Chicago ngeles	Cincinna New York		nd Columb Philadelphia				nver ashington, DC
10-504	194-jps	5 Do	oc 2637	FILED 1	LO/14/20	ENTERED	10/14/20 08:4	40:54	Page 1	177 of 197

Trustee in Bankrupt	cy for Fair Finance	Company
---------------------	---------------------	---------

03/09/20 Holbrook, Scott C. Attend final day of trial.	595.00	8.50	5,057.50			
03/09/20 Kavouras, Daniel M. Attend final day of trial and closing argument.	395.00	8.50	3,357.50			
03/09/20 Lazanich, Julia K. Attend portion of final day of trial at the request of N	220.00 ⁄Ir. Warren.	5.50	1,210.00			
03/09/20 Lazanich, Julia K. Coordinate matters regarding closing argument der	220.00 monstratives.	0.50	110.00			
03/09/20 Lazanich, Julia K. Review final exhibit binders with Mr. Dunnaback ar	220.00 Id opposing coun	1.40 sel for delive	308.00 ry to the jury.			
03/09/20 Lazanich, Julia K. Assist trial team with final trial preparation matters.	220.00	1.40	308.00			
03/09/20 Szalay, Sarah M. Access and obtain recently filed pleadings and forw	235.00 vard to internal te	0.20 am.	47.00			
03/09/20 Szalay, Sarah M. Access and obtain pleadings and related materials	235.00 at the request of	0.30 Mr. Bash.	70.50			
03/09/20 VanNiel, Michael A.	645.00	11.60	7,482.00			
Attend trial and trial team meetings regarding same (9.5); correspondence with trial team regarding jury instruction issues (.4); review recent authority regarding recovery matters (1.5); prepare summary analysis of same for Mr. Warren (.2).						
03/09/20 Warren, Daniel R.	870.00	10.00	8,700.00			
Attend final day of trial and related meetings (9.5);	review and addre	ss issues fol	lowing same (.5).			
03/10/20 Brogan, Mary P.	295.00	3.60	1,062.00			
Attend court during portion of jury deliberations and challenge and/or appeal jury verdict.	l verdict return ar	id research a	applicable civil procedure to			
03/10/20 Dunnaback, Jeremy Serve as trial counsel on behalf of Trustee.	330.00	5.00	1,650.00			
03/10/20 Holbrook, Scott C.	595.00	6.50	3,867.50			
Attend Court during jury deliberations and verdict resame (1.5).	eturn (5.0); attenc	I meetings w	ith trial team following			
03/10/20 Holbrook, Scott C.	595.00	1.00	595.00			
Telephone calls with V-Note investors regarding tria	al verdict.					
03/10/20 Kavouras, Daniel M.	395.00	2.00	790.00			
Attend portions of final day of trial, including jury ins	struction.					

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 178 of 197

03/10/20 Kavouras, Daniel M.	395.00	2.10	829.50	
Research appeal rules for different case outcome	es in light of jury v	erdict.		
03/10/20 Lazanich, Julia K.	220.00	1.40	308.00	
Assist trial team with final trial preparation matter	S.			
03/10/20 Lazanich, Julia K.	220.00	5.00	1,100.00	
Attend trial and jury deliberation and verdict retur	n at the request o	f Mr. Warren		
03/10/20 Lazanich, Julia K.	220.00	0.50	110.00	
Assist Mr. Dunnaback with final copies for deliver	ry to the jury at the	e Court's dire	ction.	
03/10/20 Szalay, Sarah M.	235.00	0.30	70.50	
Access and obtain recently filed pleadings and for	orward to internal t	eam.		
03/10/20 VanNiel, Michael A.	645.00	3.50	2,257.50	
Attend portion of trial for jury instructions and ver regarding same (1.5).	dict (2.0); corresp	ondence and	discussions with t	rial team
03/10/20 Warren, Daniel R.	870.00	8.00	6,960.00	
Attend trial and verdict return (6.5); review and a	ddress appeal issu	ues following	same (1.5).	
03/11/20 Holbrook, Scott C.	595.00	0.50	297.50	
Telephone call with court reporter regarding trial	transcripts correct	tions.		
03/11/20 Kavouras, Daniel M.	395.00	1.00	395.00	
Analyze potential appeal issues and timing of pos	st-trial motions.			
03/11/20 Lazanich, Julia K.	220.00	0.50	110.00	
Coordinate regarding retrieval of materials at the	request of Court.			
03/11/20 Lazanich, Julia K.	220.00	1.30	286.00	
Assist trial team with organizing exhibits and rela	ted materials in pr	reparation for	appeal.	
03/11/20 Szalay, Sarah M.	235.00	0.10	23.50	
Access and obtain recently filed pleadings and for	prward to internal t	eam.		
03/11/20 Warren, Daniel R.	870.00	2.00	1,740.00	
Review issues regarding trial verdict.				
03/12/20 Kavouras, Daniel M.	395.00	1.50	592.50	
Research necessity of filing post-trial motions to	preserve issues fo	or appeal.		
03/12/20 Kavouras, Daniel M.	395.00	0.50	197.50	
Draft summary of appeal and post-trial motion pro	ocedure.			
03/12/20 Lazanich, Julia K.	220.00	0.50	110.00	
Assist trial team with review of appeal issues.				

Houston	Atlanta	<b>3</b>	Cincinnati New York			Costa Mesa San Francisco	Dallas	Denver Washington, DC
Houston	LO	s Angeles	New TOTK	Unanuo	Fillaueipilla	Sali Flancisco	Seallie	washington, DC
10-50494-	jps	Doc 2637	FILED 10	)/14/20 E	INTERED 1	0/14/20 08:40:	54 Pag	ge 179 of 197

Trustee in Bankrupt	cy for Fair Finance Company		Invoice Date: Invoice Number: Matter Number:	09/28/20 50809379 042188.000001 Page 164
03/13/20 VanNiel		645.00	0.30	193.50
	with trial team regarding appellate		1.00	100.00
03/16/20 Dunnaback, Jeremy 330.00 1.30 429.00 Call with Mr. Kavouras regarding notice of appeal (.3); review invoices relating to trial presentation and video editing (1.0).				
03/16/20 Grossma	an, Andrew M.	905.00	0.20	181.00
Review and revise post-judgment procedure analysis drafted by Mr. Raile at request of Mr. Holbrook and Mr. Warren.				
03/16/20 Holbrool	<, Scott C.	595.00	1.60	952.00
Call with Mr. Warren regarding appeal issues and strategy (.5), correspondence with Mr. Grossman regarding appeal issues (.3); call with Mr. Klein regarding trial issues (.3); correspondence with litigation team regarding case issues and strategy (.5).				
03/16/20 Raile, R	ichard B.	625.00	6.10 3	3,812.50
Research and analyze appeal and post-judgment issues to assist Messrs. Holbrook and Warren in decision-making on post-judgment and appeal issues (5.0); draft memorandum regarding same (.7); emails to and from Mr. Grossman regarding same (.4).				
03/16/20 VanNiel,	Michael A.	645.00	0.60	387.00
Correspondence with working group regarding appeal matters (.4); review recent case possibly impacting appeal (.2).				
03/17/20 Dunnaba	ack, Jeremy	330.00	1.00	330.00
Analyze and disc	uss with Mr. Holbrook invoices rela	ting to trial pre	esentation and vide	eo editing.
03/17/20 Holbrool	<, Scott C.	595.00	3.90 2	2,320.50
Call with Mr. Warren regarding appeal issues and strategy (1.1); call with Mr. Dunnaback regarding case issues (.5); review motion for summary judgment briefing to prepare for appeal (.6); correspondence with litigation team regarding case issues and strategy (1.7).				
03/17/20 Kavoura	s, Daniel M.	395.00	0.50	197.50
Review and anal	yze potential appeal issues.			
03/17/20 Kavoura	s, Daniel M.	395.00	0.50	197.50
Draft notice of ap	peal for filing with Sixth Circuit.			
03/17/20 Raile, R	ichard B.	625.00	0.90	562.50
Emails to and from Mr. Holbrook regarding notice of appeal (.2); legal research to assess same (.7).				
03/17/20 Szalay,	Sarah M.	235.00	0.20	47.00
Access and obtain pleadings and related materials at the request of Mr. Bash.				
03/17/20 VanNiel	Michael A.	645.00	1.30	838.50
Correspondence with working group regarding appeal issues (.2); review notice of appeal draft (.1); correspondence regarding expert witness matters (1.0).				

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 180 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: Invoice Number: Matter Number:	09/28/20 50809379 042188.000001 Page 165
03/17/20 Warren, Daniel R. 870.00	1.50 1,305	.00
Review and analyze appellate issues an strategize regarding sa		.00
03/18/20 Dunnaback, Jeremy 330.00	0.90 297	.00
Analyze and discuss with Mr. Holbrook invoices relating to trial		
03/18/20 Holbrook, Scott C. 595.00	2.30 1,368	.50
Correspondence with litigation team regarding case issues and litigation team regarding case issues and strategy (1.2).	appeal strategy (1.1); tele	ephone calls with
03/18/20 Kavouras, Daniel M. 395.00	1.20 474	.00
Review and analyze appellate issues, including summary judgm	nent and jury instruction is	sues.
03/18/20 Lazanich, Julia K. 220.00	0.50 110	
Coordinate regarding post-trial exhibit and related matters at the	e request of Mr. Holbrook	
03/18/20 Lazanich, Julia K. 220.00		.00
Coordinate equipment return with trial presenter, Mr. Koishor, re		
03/18/20 McDonald, Michael H. 260.00	1.00 260	
Telephone conferences to identify reduction in costs in video ed	•	
03/18/20 Raile, Richard B. 625.00	0.40 250	
Review and analyze notice of appeal (.2); emails to and from Mi		
03/18/20 VanNiel, Michael A. 645.00	0.30 193	
Review email summary of appellate issues (.1); correspondence		0 ()
03/18/20 Warren, Daniel R. 870.00	, - , -	.00
Review and analyze appellate issues (1.5); review appeal strate		
03/19/20 Dunnaback, Jeremy 330.00 Analyze bankruptcy and district court's prior rulings in preparation	2.10 693	
Mr. Holbrook, Mr. VanNiel, and Mr. Kavouras to discuss issues		with with warren,
03/19/20 Holbrook, Scott C. 595.00	3.50 2,082	
Call with litigation team regarding appeal issues and strategy (.8 Mr. Warren re: appeal issues and strategy (.9).	3); research issues for ap	peal (1.8); call with
03/19/20 Kavouras, Daniel M. 395.00	1.50 592	.50
Analyze appellate issues, including procedural issues, summary attend appeal team meeting regarding same (.8).	/ judgment and jury instru	ction issues (.7);
03/19/20 Lazanich, Julia K. 220.00	0.20 44	.00
Review and analyze trial materials for Mr. Kavouras to support a	appeal.	

03/19/20Szalay, Sarah M.235.000.2047.00Access and obtain pleadings and related materials at the request of Mr. Dunnaback.

### Baker&Hostetler LLP

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 181 of 197

03/19/20	VanNiel, Michael A.	645.00	2.50	1,612.50	
Corres	pondence with appeal team regarding issues ence call with appeal team regarding strategy	to be addres		,	end (.8)
03/19/20	Warren, Daniel R.	870.00	2.00	1,740.00	
	v and analyze appeal strategy and related issing same (.8).	ues (1.2); atte	end appeal t	eam telephone confer	ence
03/20/20	Holbrook, Scott C.	595.00	0.70	416.50	
Call wi	th Mr. Warren regarding appeal issues (.5); c (.2).	orrespondend	ce with litigat	ion team regarding ap	opeal
03/20/20	Szalay, Sarah M.	235.00	0.70	164.50	
Organi	ze items relating to the trial on the share driv	е.			
03/20/20	VanNiel, Michael A.	645.00	0.20	129.00	
Corres	pondence with appeal working group regardi	ng open issue	es.		
03/20/20	Warren, Daniel R.	870.00	1.50	1,305.00	
Review	n and analyze appellate issues and argument	s for inclusior	n in opening	merit brief.	
	VanNiel, Michael A.	645.00	1.50	967.50	
Review	appellate issues at request of Mr. Warren.				
Remande	d Textron Case(B216)		4,981.00	2,446,575.00	
09/12/19	Szalay, Sarah M.	225.00	0.10	22.50	
	Szalay, Sarah M. one call to Charlann Maxwell regarding statu		0.10	22.50	
	one call to Charlann Maxwell regarding statu		0.10 0.20	22.50 45.00	
Teleph 09/23/19 Teleph	one call to Charlann Maxwell regarding statu	s of case. 225.00	0.20	45.00	r
Teleph 09/23/19 Teleph	one call to Charlann Maxwell regarding statu Szalay, Sarah M. one call to Ms. Arie Weaver regarding status	s of case. 225.00	0.20	45.00	r
Teleph 09/23/19 Teleph regardi 09/30/19	one call to Charlann Maxwell regarding statu Szalay, Sarah M. one call to Ms. Arie Weaver regarding status ng status of case (.1).	s of case. 225.00 of case (.1); 225.00	0.20 telephone ca	45.00 all to Mr. Donald Esbe	r
Teleph 09/23/19 Teleph regardi 09/30/19	one call to Charlann Maxwell regarding statu Szalay, Sarah M. one call to Ms. Arie Weaver regarding status ng status of case (.1). Szalay, Sarah M.	s of case. 225.00 of case (.1); 225.00	0.20 telephone ca	45.00 all to Mr. Donald Esbe	r
Teleph 09/23/19 Teleph regardi 09/30/19 Teleph 10/01/19	one call to Charlann Maxwell regarding statu Szalay, Sarah M. one call to Ms. Arie Weaver regarding status ng status of case (.1). Szalay, Sarah M. one call to Mr. Aaron Fisher regarding status	s of case. 225.00 of case (.1); 225.00 us case. 225.00	0.20 telephone ca 0.10	45.00 all to Mr. Donald Esbe 22.50	r
Teleph 09/23/19 Teleph regardi 09/30/19 Teleph 10/01/19	one call to Charlann Maxwell regarding statu Szalay, Sarah M. one call to Ms. Arie Weaver regarding status ing status of case (.1). Szalay, Sarah M. one call to Mr. Aaron Fisher regarding status Szalay, Sarah M.	s of case. 225.00 of case (.1); 225.00 us case. 225.00	0.20 telephone ca 0.10	45.00 all to Mr. Donald Esbe 22.50	r
Teleph 09/23/19 Teleph regardi 09/30/19 Teleph 10/01/19 Teleph 10/31/19	one call to Charlann Maxwell regarding statu Szalay, Sarah M. one call to Ms. Arie Weaver regarding status ing status of case (.1). Szalay, Sarah M. one call to Mr. Aaron Fisher regarding status Szalay, Sarah M. one call to Mr. Keller regarding status of the	s of case. 225.00 of case (.1); 225.00 us case. 225.00 case. 225.00	0.20 telephone ca 0.10 0.10	45.00 all to Mr. Donald Esbe 22.50 22.50	r
Teleph 09/23/19 Teleph regardi 09/30/19 Teleph 10/01/19 Teleph 10/31/19	one call to Charlann Maxwell regarding statu Szalay, Sarah M. one call to Ms. Arie Weaver regarding status ng status of case (.1). Szalay, Sarah M. one call to Mr. Aaron Fisher regarding status Szalay, Sarah M. one call to Mr. Keller regarding status of the Szalay, Sarah M.	s of case. 225.00 of case (.1); 225.00 us case. 225.00 case. 225.00	0.20 telephone ca 0.10 0.10	45.00 all to Mr. Donald Esbe 22.50 22.50	r
Teleph 09/23/19 Teleph regardi 09/30/19 Teleph 10/01/19 Teleph 10/31/19 Email t 11/06/19 Teleph	one call to Charlann Maxwell regarding statu Szalay, Sarah M. one call to Ms. Arie Weaver regarding status ng status of case (.1). Szalay, Sarah M. one call to Mr. Aaron Fisher regarding status Szalay, Sarah M. one call to Mr. Keller regarding status of the Szalay, Sarah M. o Ms. Marcia Frank regarding status of the ca	s of case. 225.00 of case (.1); 225.00 us case. 225.00 case. 225.00 ase. 225.00 tus of case (.7	0.20 telephone ca 0.10 0.10 0.10 0.30 1); telephone	45.00 all to Mr. Donald Esbe 22.50 22.50 22.50 67.50 e call to Aaron Fisher	
Teleph 09/23/19 Teleph regardi 09/30/19 Teleph 10/01/19 Teleph 10/31/19 Email t 11/06/19 Teleph	one call to Charlann Maxwell regarding statu Szalay, Sarah M. one call to Ms. Arie Weaver regarding status ng status of case (.1). Szalay, Sarah M. one call to Mr. Aaron Fisher regarding status Szalay, Sarah M. one call to Mr. Keller regarding status of the Szalay, Sarah M. o Ms. Marcia Frank regarding status of the ca Szalay, Sarah M. o Ms. Marcia Frank regarding status of the ca Szalay, Sarah M.	s of case. 225.00 of case (.1); 225.00 us case. 225.00 case. 225.00 ase. 225.00 tus of case (.7	0.20 telephone ca 0.10 0.10 0.10 0.30 1); telephone	45.00 all to Mr. Donald Esbe 22.50 22.50 22.50 67.50 e call to Aaron Fisher	
Teleph 09/23/19 Teleph regardi 09/30/19 Teleph 10/01/19 Teleph 10/31/19 Email t 11/06/19 Teleph status o	one call to Charlann Maxwell regarding statu Szalay, Sarah M. one call to Ms. Arie Weaver regarding status ng status of case (.1). Szalay, Sarah M. one call to Mr. Aaron Fisher regarding status Szalay, Sarah M. one call to Mr. Keller regarding status of the Szalay, Sarah M. o Ms. Marcia Frank regarding status of the ca Szalay, Sarah M. o Ms. Marcia Frank regarding status of the ca Szalay, Sarah M. one call to Halle Jones Capers regarding status of case (.1); telephone call to Carl Petrak reg	s of case. 225.00 of case (.1); 225.00 us case. 225.00 case. 225.00 ase. 225.00 tus of case (.7 arding status 235.00	0.20 telephone ca 0.10 0.10 0.10 0.30 1); telephone of case (.1).	45.00 all to Mr. Donald Esbe 22.50 22.50 22.50 67.50 e call to Aaron Fisher	
Teleph 09/23/19 Teleph regardi 09/30/19 Teleph 10/01/19 Teleph 10/31/19 Email t 11/06/19 Teleph status o 01/08/20 Email t	one call to Charlann Maxwell regarding statu Szalay, Sarah M. one call to Ms. Arie Weaver regarding status ng status of case (.1). Szalay, Sarah M. one call to Mr. Aaron Fisher regarding status Szalay, Sarah M. one call to Mr. Keller regarding status of the Szalay, Sarah M. o Ms. Marcia Frank regarding status of the ca Szalay, Sarah M. one call to Halle Jones Capers regarding sta of case (.1); telephone call to Carl Petrak reg Szalay, Sarah M.	s of case. 225.00 of case (.1); 225.00 us case. 225.00 case. 225.00 ase. 225.00 tus of case (.7 arding status 235.00	0.20 telephone ca 0.10 0.10 0.10 0.30 1); telephone of case (.1).	45.00 all to Mr. Donald Esbe 22.50 22.50 22.50 67.50 e call to Aaron Fisher	

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 182 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: Invoice Number: Matter Number:	09/28/20 50809379 042188.000001 Page 167
01/23/20 Szalay, Sarah M. 235.00 Email to Mr. Larry Brown regarding status of Textron.	0.10	23.50
01/28/20 Szalay, Sarah M. 235.00	0.20	47.00
Telephone call from Susan Boss regarding status of case (.1); bankruptcy filing to her attention (.1).		
02/05/20 Szalay, Sarah M. 235.00 Telephone call from Bill Fiorella regarding status of case.	0.10	23.50
02/17/20 Szalay, Sarah M. 235.00 Email to Mr. Donald Esber regarding status of case.	0.10	23.50
03/02/20 Szalay, Sarah M. 235.00 Telephone call to Ms. Yoder regarding status of the case and	0.10 trial.	23.50
03/09/20 Szalay, Sarah M. 235.00 Telephone call to Aaron Fisher regarding status of trial (.1); tel trial (.1).	0.20 lephone call to Bill Fior	47.00 ella regarding status of
03/17/20 Szalay, Sarah M. 235.00 Email to Mr. Hiegel regarding status of the trial.	0.10	23.50
04/01/20 Szalay, Sarah M. 235.00 Email to Larry Brown regarding status of trial and appeal.	0.10	23.50
04/06/20 Szalay, Sarah M. 235.00 Telephone call to Mrs. Yoder regarding status of case.	0.10	23.50
04/14/20 Szalay, Sarah M. 235.00 Email to Mr. Esber regarding status of case.	0.10	23.50
04/28/20 Szalay, Sarah M. 235.00 Email to Mr. Hiegel regarding status of case.	0.10	23.50
06/10/20 Szalay, Sarah M. 235.00 Telephone call to Dianna McDowell regarding status of case.	0.10	23.50
06/17/20 Szalay, Sarah M. 235.00 Telephone call to Phyllis Lyon regarding status of case.	0.10	23.50
06/23/20 Szalay, Sarah M. 235.00 Telephone call to Karen Paradeis regarding status of case.	0.10	23.50
06/29/20 Szalay, Sarah M. 235.00 Telephone call to Mrs. Yoder regarding status of the case at th	0.10 ne request of Ms. Beac	23.50 hdell.
07/29/20 Szalay, Sarah M. 235.00 Emails to and from Mr. Grossenbacher regarding amount of fu	0.10 Inds on hand.	23.50

## Baker&Hostetler LLP

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 183 of 197

Trustee in Bankruptcy for Fair Finance Company	Invoice Date: Invoice Number: Matter Number:	50809379
08/03/20 Szalay, Sarah M. 235.00 Telephone call to Mr. Heigel regarding status of case.	0.10	23.50
08/26/20 Szalay, Sarah M. 235.00 Telephone call to Mr. and Mrs. Fisher regarding status of the c	0.10	23.50
08/26/20Szalay, Sarah M.235.00Telephone call to Ms. Gillespie regarding status of the case.	0.10	23.50
Meetings Of & Communications With Creditors (non- committee(B25)	3.10	719.50
09/27/19 Calanni, Anthony S. 265.00 Meeting with Mr. VanNiel to discuss research assignment relat opinion.	0.30 ting to motion in limin	79.50 e to exclude expert
09/30/19 Calanni, Anthony S. 265.00 Research regarding expert opinions to be excluded via motion independent analysis.	1.50 in limine where expe	397.50 rt did not perform any
09/30/19 Calanni, Anthony S. 265.00 Review pertinent authority regarding expert opinions to be excl not perform any independent analysis.	1.50 luded via motion in lir	397.50 nine where expert did
09/30/19 Calanni, Anthony S. 265.00 Follow-up research regarding expert opinions to be excluded v perform any independent analysis.	3.00 ria motion in limine w	795.00 nere expert did not
01/28/20 Shively, Douglas L. 435.00 Research issues relating to business records exception to hear	1.80 rsay.	783.00
01/29/20 Shively, Douglas L. 435.00 Research issues relating to business records exception to hear		1,087.50
01/30/20 Shively, Douglas L. 435.00 Research issues relating to business records exception to hear		1,305.00
01/31/20 Shively, Douglas L. 435.00 Research issues relating to business records exception to hear regarding same.		2,479.50 ail memorandum
03/10/20 Asmann, Paige R. 200.00 Research civil procedure resources for Ms. Brogan	0.50	100.00
Research(B33)	19.80	7,424.50

## Baker&Hostetler LLP

Chicago Atlanta Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 184 of 197

Trustee in Bankruptcy for Fair Finance Compa	iny
--	-----

09/30/19	Seigley, Yaima	310.00	0.50	155.00
	te post-closing items regarding sale of prope		0.00	
06/24/20	Van Euwen, Peter W.	625.00	1.30	812.50
Review	purchase and assignment agreement, licens nent agreement.			
06/25/20	Van Euwen, Peter W.	625.00	1.00	625.00
Telepho	one conference with Mr. Bash regarding revis	ions to purchase	agreement.	
06/30/20	Van Euwen, Peter W.	625.00	1.80	1,125.00
	one conference with Mr. Wolsh regarding among same (.2); review amendment and license			
07/01/20	Van Euwen, Peter W.	625.00	0.80	500.00
	one conferences with Mr. Wolsh regarding an ng same (.2); revise amendment (.2); corresp	· · · ·		
07/29/20	Fletcher, Adam L.	450.00	0.10	45.00
	sion with Mr. Bash regarding assistance with I Lampoon film script.	review of agreeme	ents related to	o rights for production of
08/03/20	Fletcher, Adam L.	450.00	0.20	90.00
	sion with Mr. Prince regarding background an ment to agreement for sale of National Lampo	•	assist with mo	tion to approve
08/07/20	Fletcher, Adam L.	450.00	0.70	315.00
script sa	sion with Mr. Bash regarding motion to approv ale agreement (.3); discussion with Mr. Prince n Euwen regarding information relevant to sar	e regarding draftir		
08/10/20	Prince, Scott E.	330.00	4.20	1,386.00
Draft Mo	otion for Authority to Enter into Amendment t	o Purchase Agree	ement.	
08/17/20	Fletcher, Adam L.	450.00	1.20	540.00
Review and comment on Mr. Prince's draft of motion for approval of amendment to agreement for sale of National Lampoon "Dead Serious" script (1.1); email to Mr. Bash and Mr. Prince regarding same (.1).				
08/20/20	Fletcher, Adam L.	450.00	0.20	90.00
	sion with Mr. Bash regarding draft of motion fo I Lampoon script.	or approval of am	endment to a	greement for sale of
08/24/20	Fletcher, Adam L.	450.00	0.70	315.00
	sion with Mr. Bash regarding revisions to moti reement and implement said revisions (.5); e			

## Baker&Hostetler LLP

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 185 of 197

6,501.00

13.70

08/27/20 Fletcher, Adam L.	450.00	0.70	315.00	
Revise motion for authority to ente comments from Mr. Van Euwen au Mr. Wolsch regarding same (.2); e	d emails with Mr. Bash and Mr. \	√an Euwen r	egarding same (.3); c	all with
08/27/20 Van Euwen, Peter W. Review National Lampoon's motic	625.00 n.	0.30	187.50	

### Bash V. National Lampoon (11-4999)(B49)

Baker&ł	lostetler LLP
---------	---------------

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 186 of 197

# **EXHIBIT B**

10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 187 of 197

### TASK CODE MATTER SUMMARY

Task Code	Description	Hours Billed	Amount Billed
B02	Appeals (Bash v. Textron)	984.50	522,436.50
B03	Asset Analysis & Recovery	0.30	129.00
B05	Avoidance Action	45.80	11,287.00
B10	Case Administration	55.10	13,268.50
B11	Claims Administration & Objections	26.00	6,154.50
B166	Bash V. Bruce Long (12-5110)	0.20	47.00
B19	Fee/employment Applications	45.10	14,929.50
B200	Collections On Default Judgments	43.90	20,049.00
B216	Remanded Textron Case	4,981.00	2,446,575.00
B25	Meetings Of & Communications With Creditors (non- committee	3.10	719.50
B33	Research	19.80	7,424.50
B49	Bash V. National Lampoon (11-4999)	13.70	6,501.00
	Less Reductions	6,218.50 -45.10 6,173.40	3,049,521.00 -14,929.50 3,034,591.50

# Baker&Hostetler LLP

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Seattle Washington, DC 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 188 of 197

# **EXHIBIT C**

10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 189 of 197

# BakerHostetler

Trustee in Bankruptcy for Fair Finance Company Baker Hostetler Key Tower 127 Public Square Cleveland, OH 44114-1214 
 Invoice Date:
 09/28/20

 Invoice Number:
 50809382

 B&H File Number:
 03787/042188/000001

### Regarding: Chapter 7 Trustee

For professional services rendered from May 1, 2020 through August 31, 2020

<b>Expenses and</b>	Other	Charges
---------------------	-------	---------

Automated Research (E106)	622.72
Copier / Duplication (E101)	34.40
Corporate Services (E119)	151.28
Delivery Services (E107)	19.32
Filing Fees (E112)	256.00
Postage (E108)	 158.40
Total Expenses	\$ 1,242.12

## Baker&Hostetler LLP

Atlanta Chicago Cincinnati Cleveland Columbus Costa Mesa Dallas Denver Houston Los Angeles New York Orlando Philadelphia San Francisco Washington, DC Seattle 10-50494-jps Doc 2637 FILED 10/14/20 ENTERED 10/14/20 08:40:54 Page 190 of 197

### Expenses and Other Charges

05/03/20	Westlaw Research - 05/03/20 by ESMONTJOE	0.64
05/04/20	Westlaw Research - 05/04/20 by ESMONTJOE	7.04
05/10/20	Westlaw Research - 05/10/20 by ESMONTJOE	0.64
05/11/20	Westlaw Research - 05/11/20 by ESMONTJOE	7.04
05/17/20	Westlaw Research - 05/17/20 by ESMONTJOE	0.64
05/18/20	Westlaw Research - 05/18/20 by ESMONTJOE	7.04
05/24/20	Westlaw Research - 05/24/20 by ESMONTJOE	0.64
05/25/20	Westlaw Research - 05/25/20 by ESMONTJOE	7.04
05/31/20	Westlaw Research - 05/31/20 by ESMONTJOE	0.64
06/01/20	Westlaw Research - 06/01/20 by ESMONTJOE	7.04
06/02/20	Westlaw Research - 06/02/20 by LEWISPATRICK	111.04
06/03/20	Westlaw Research - 06/03/20 by LEWISPATRICK	17.28
06/07/20	Westlaw Research - 06/07/20 by ESMONTJOE	0.64
06/08/20	Westlaw Research - 06/08/20 by ESMONTJOE	7.04
06/11/20	Lexis Research - 06/11/20 by PRINCE SCOTT	7.92
06/14/20	Westlaw Research - 06/14/20 by ESMONTJOE	0.64
06/15/20	Westlaw Research - 06/15/20 by ESMONTJOE	7.04
06/21/20	Westlaw Research - 06/21/20 by ESMONTJOE	0.64
06/22/20	Westlaw Research - 06/22/20 by ESMONTJOE	7.04
06/23/20	Westlaw Research - 06/23/20 by DUNNABACKJEREMY	52.16
06/24/20	Westlaw Research - 06/24/20 by DUNNABACKJEREMY	44.08
06/26/20	Westlaw Research - 06/26/20 by DUNNABACKJEREMY	11.44
06/28/20	Westlaw Research - 06/28/20 by ESMONTJOE	0.64
06/29/20	Westlaw Research - 06/29/20 by ESMONTJOE	7.04
07/01/20	Westlaw Research - 07/01/20 by DUNNABACKJEREMY	11.44
07/05/20	Westlaw Research - 07/05/20 by ESMONTJOE	0.64
07/06/20	Westlaw Research - 07/06/20 by ESMONTJOE	7.04
07/10/20	Westlaw Research - 07/10/20 by DUNNABACKJEREMY	50.48
07/12/20	Westlaw Research - 07/12/20 by ESMONTJOE	0.64
07/13/20	Westlaw Research - 07/13/20 by ESMONTJOE	7.04
07/19/20	Westlaw Research - 07/19/20 by ESMONTJOE	0.64
07/20/20	Westlaw Research - 07/20/20 by ESMONTJOE	7.04

## Baker&Hostetler LLP

	lanta	Chicago	Cincinnat				Dallas	Denver
Houston	Los A	Angeles	New York	Orlando	Philadelphia	San Francisco	Seattle	Washington, DC
10-50494-jp	s Do	oc 2637	FILED 1	0/14/20	ENTERED	10/14/20 08:40	):54 Pa	age 191 of 197

07/20/20	Westlaw Research - 07/20/20 by DUNNABACKJEREMY	205.60
07/21/20	Westlaw Research - 07/21/20 by DUNNABACKJEREMY	11.44
07/26/20	Westlaw Research - 07/26/20 by ESMONTJOE	0.64
07/27/20	Westlaw Research - 07/27/20 by ESMONTJOE	7.04
	Subtotal - Automated Research (E106)	622.72
07/01/20	136 Copies	13.60
07/23/20	208 Copies	20.80
	Subtotal - Copier / Duplication (E101)	34.40
06/08/20	Corporate Services (E119) CT LIEN SOLUTIONS UCC lien search for Danzer Industries in Delaware and Maryland.; Inv.03287824	151.28
	Subtotal - Corporate Services (E119)	151.28
05/20/20	UPS Susan Trischan 6934 Crystal Creek Drive Brecksville OH 1Z4866550196509975	11.63
06/11/20	UPS Christopher M. Golde Textron Financial Corporation on Two Cessna Boulevard Suite 100 Wichita KS	7.69
	Subtotal - Delivery Services (E107)	19.32
06/12/20	Filing Fees (E112) Lyons, Jeffrey J. Filing Fee for Chapter 7 Bankruptcy- The Fair Company; Inv. 9821726	25.00
07/20/20	Filing Fees (E112) DANIEL M. KAVOURAS Filing Fee for application for admission to participate in appeal; Inv. 08489-07202020	231.00
	Subtotal - Filing Fees (E112)	256.00
06/12/20	POSTAGE Fee Applications/Expense Applications	137.70
07/01/20	POSTAGE Notice of Trustees Payments-June	9.00
07/22/20	POSTAGE Orders re Expense & Fee Apps	11.70
	Subtotal - Postage (E108)	158.40

Total <u>\$ 1.242.12</u>

## Baker&Hostetler LLP

A Houston	tlanta Los Ar	Chicago Igeles	Cincinn New York					Denver Washington, DC
10-50494-jp	s Do	c 2637	FILED	10/14/20	ENTERED	10/14/20 08:4	40:54 Pa	age 192 of 197

### **CERTIFICATE OF SERVICE**

A copy of the foregoing has been served via ECF or regular, U.S. Mail, on October 14, 2020, on the attached service list.

/s/ Michael A. VanNiel

Michael A. VanNiel

Counsel for the Trustee

#### **Electronic Mail Notice List**

The following is the list of **parties** who are currently on the list to receive e-mail notice/service for this case.

- Richard M Bain bain@buckleyking.com, krupa@buckleyking.com
- Stephen M. Bales sbales@zieglermetzger.com, dmalloy@zieglermetzger.com
- Brian A Bash bashtrustee@bakerlaw.com, bbash@ecf.epiqsystems.com
- Brian A. Bash BBash@bakerlaw.com
- Brian A. Bash bashtrustee@bakerlaw.com, bbash@ecf.epiqsystems.com
- John E. Bator jbator@batorlaw.com, sbator@batorlaw.com
- Alexis Beachdell abeachdell@bakerlaw.com, fairfinancedocket@bakerlaw.com
- Kathryn A. Belfance kb@rlbllp.com
- John B. Blanton jblanton@bakerlaw.com
- Thomas J Budd disneydiver@me.com, law@disneydiver.com
- Kelly Burgan kburgan@bakerlaw.com
- Patrick W. Carothers pcarothers@leechtishman.com,
- bankruptcy@leechtishman.com;ghauswirth@leechtishman.com;dtomko@leechtishman.com
- Anthony J. Cespedes ajc1253@yahoo.com
- William Gregory Chris wchris@rlbllp.com, hkoerner@rlbllp.com
- Michael L. Cioffi cioffi@blankrome.com
- LeGrand L Clark legrand.clark@atg.in.gov, stephanie.patrick@atg.in.gov
- Deborah A. Coleman dacoleman@hahnlaw.com, hlpcr@hahnlaw.com;mcsoulsby@hahnlaw.com;cmbeitel@hahnlaw.com
- Anthony J DeGirolamo ajdlaw@sbcglobal.net, amber\_weaver@sbcglobal.net;G23630@notify.cincompass.com
- Rocco I. Debitetto ridebitetto@hahnlaw.com, cmbeitel@hahnlaw.com
- Duriya Dhinojwala ddhinojwala@bmdllc.com, ddhinojwala@icloud.com
- Michelle DiBartolo-Haglock mdibartolo@ttmlaw.com, mldibartolo@gmail.com
- Breaden M. Douthett bdouthett@bakerlaw.com, fairfinancedocket@bakerlaw.com
- J Douglas Drushal ddrushal@ccj.com, lehman@ccj.com
- Charles R. Dyas charles.dyas@btlaw.com
- Robert W. Eckinger rwe@eckingerlaw.com
- Joseph Esmont jesmont@bakerlaw.com, joe.esmont@gmail.com;cbkfuturesinc@bakerlaw.com
- Joseph Esmont jesmont@bakerlaw.com, joe.esmont@gmail.com;cbkfuturesinc@bakerlaw.com
- Joseph E. Ezzie jezzie@bakerlaw.com
- Gregory R Farkas gfarkas@frantzward.com, dlbeatrice@frantzward.com
- Adam Lee Fletcher afletcher@bakerlaw.com
- Dov Frankel dfrankel@taftlaw.com, BHORVATH@TAFTLAW.COM;CLE\_Docket\_Assist@taftlaw.com
- Leon Friedberg lfriedberg@cpmlaw.com, efiling@cpmlaw.com
- Ronald P. Friedberg rfriedberg@meyersroman.com, vvardon@meyersroman.com
- Marc P Gertz mpgertz@goldman-rosen.com, debm@goldman-rosen.com
- Matthew Gold courts@argopartners.net
- Eric R. Goodman egoodman@bakerlaw.com
- Harry W. Greenfield bankpleadings@bucklaw.com, young@buckleyking.com;toole@buckleyking.com;heberlein@buckleyking.com
- Harry W. Greenfield greenfield@buckleyking.com,
- young@buckleyking.com;toole@buckleyking.com;heberlein@buckleyking.com
- John J Guy johnguy@neo.rr.com
- John J Guy johnguy@neo.rr.com
- Adam Bradley Hall amps@manleydeas.com
- Scott Holbrook sholbrook@bakerlaw.com
- H Ritchey Hollenbaugh hrh@cpmlaw.com, knocera@cpmlaw.com;slq@cpmlaw.com
- Rachel Huston rachel.huston@ohioattorneygeneral.gov
- Joseph F. Hutchinson jhutchinson@bakerlaw.com, sszalay@bakerlaw.com
- Steven G Janik , 8382591420@filings.docketbird.com
- Steven G Janik steven.janik@janiklaw.com, 8382591420@filings.docketbird.com

- Cynthia A Jeffrey bknotice@reimerlaw.com
- Kenneth C Johnson kjohnson@bricker.com, lpickett@bricker.com
- Nathaniel R. Jones jones-n@blankrome.com
- Mitchell A. Karlan mkarlan@gibsondunn.com, ldunst@gibsondunn.com;nhart@gibsondunn.com;blutz@gibsondunn.com;mao@gibsondunn.com
- Patrick J Keating pkeating@bdblaw.com, sconard@bdblaw.com
- Scott J. Kelly scottkelly@skellylaw.com
- David Charles Knowlton dck@kckblaw.com
- John F Kostelnik jkostelnik@frantzward.com, dlbeatrice@frantzward.com
- Stuart A. Laven slaven@cavitch.com
- James Michael Lawniczak jlawniczak@calfee.com
- Trish D. Lazich trish.lazich@ohioattorneygeneral.gov, angelique.dennis-noland@ohioattorneygeneral.gov
- Stephen P Leiby sleiby@neolaw.biz, jackie@neolaw.biz
- Scott B. Lepene scott.lepene@thompsonhine.com,
- Christine.Broz@thompsonhine.com;ECFDocket@thompsonhine.com
- Jeffrey M. Levinson jml@jml-legal.com
- Patrick T. Lewis plewis@bakerlaw.com, sjeney@bakerlaw.com
- Quintin F. Lindsmith qlindsmith@bricker.com, cwarner@bricker.com
- David A Looney David@OhioAttorney.com, davelooney1@gmail.com
- Bruce J.L. Lowe blowe@taftlaw.com, CLE\_Docket\_Assist@taftlaw.com;SMcKean@taftlaw.com
- Thomas R Lucchesi tlucchesi@bakerlaw.com
- Thomas R Lucchesi tlucchesi@bakerlaw.com
- Crystal L. Maluchnik crystal.maluchnik@janiklaw.com
- Crystal L. Maluchnik crystal.maluchnik@janiklaw.com
- Grant A Mason gamason@millermast.com
- Matthew H Matheney mmatheney@bdblaw.com, bhajduk@bdblaw.com
- Shorain L. McGhee shorain@smcgheelaw.com
- David W. Mellott dmellott@beneschlaw.com
- Tarek E. Mercho tmercho@mercholegal.com
- David P. Meyer dmeyer@dmlaws.com, docket@dmlaws.com
- David Polan Meyer dmeyer@dmlaws.com
- Michael J Moran mike@gibsonmoran.com, moranecf@gmail.com;r55982@notify.bestcase.com
- Michael J Moran moranecf@yahoo.com, moranecf@gmail.com;r55982@notify.bestcase.com
- David A Mucklow davidamucklow@yahoo.com
- David A Mucklow davidamucklow@yahoo.com
- Steven J. Mulligan stevenmulligan@cox.net
- Maritza S. Nelson mnelson@bakerlaw.com
- F. Anthony Paganelli tony@tonypaganelli.com
- Lucas Keith Palmer palmer@ccj.com, aaichele@ralaw.com
- David C. Perduk dperduk@perduklaw.com, jody@perduklaw.com
- Mark A Phillips mphillips@beneschlaw.com,
- docket@beneschlaw.com;lbehra@beneschlaw.com;cgreen@beneschlaw.com
- Mark A Phillips mphillips@beneschlaw.com,
- docket @beneschlaw.com; lbehra@beneschlaw.com; cgreen@beneschlaw.com
- Larry G. Poulos larry\_poulos@yahoo.com
- Kenneth G. Prabucki kprabucki@bakerlaw.com
- Kenneth G. Prabucki kprabucki@bakerlaw.com
- Clinton E. Preslan ndohbky@jbandr.com
- Clinton E. Preslan cpreslan@preslanlaw.com
- David F. Proano dproano@bakerlaw.com, fairfinancedocket@bakerlaw.com
- David F. Proano dproano@bakerlaw.com, fairfinancedocket@bakerlaw.com
- Stephen J Pruneski spruneski@rlbllp.com
- Timothy J Richards trichards@frantzward.com,
- dlbeatrice@frantzward.com;timrichardslegal1976@gmail.com
- Mark Riemer mriemer@goldman-rosen.com
- Tim Robinson tim.robinson@dinsmore.com, lisa.geeding@dinsmore.com
- Tim Robinson tim.robinson@dinsmore.com, lisa.geeding@dinsmore.com

4845-4001-5454.1

- James E. Rossow jim@rubin-levin.net, robin@rubin-levin.net;lisa@rubin-levin.net;atty\_jer@trustesolutions.com
- James E. Rossow jim@rubin-levin.net, robin@rubin-levin.net;lisa@rubin-levin.net;atty\_jer@trustesolutions.com
- Colin P. Sammon colin.sammon@janiklaw.com, Julie.Zakrzewski@Janiklaw.com
- Matthew J. Samsa msamsa@mcdonaldhopkins.com, docket@beneschlaw.com;cgreen@beneschlaw.com
- James Preston Schuck jschuck@bricker.com, cwarner@bricker.com
- Richard V. Singleton rsingleton@blankrome.com, kreda@blankrome.com;jhanner@blankrome.com
- Dale S Smith dsmith@frantzward.com, dlbeatrice@frantzward.com
- Sheldon Stein ssteindocs@gmail.com, kristine@steintrustee.com;sheldon@steintrustee.com
- Rachel L. Steinlage rsteinlage@meyersroman.com, jray@meyersroman.com;mnowak@meyersroman.com
- Ray H Stoess raystoess@600westmain.com
- Megan D. Stricker mnovinc@davisyoung.com, gcampbell@davisyoung.com
- Timothy M. Sullivan tim@tmslaw.net, crystal@tmslaw.net
- Jonathan D. Sundheimer jsundheimer@btlaw.com
- Gregory D Swope gswope@kwgd.com, mhelmick@kwgd.com
- David J. Theising dtheising@harrisonmoberly.com
- Ronald N. Towne rtowne@neolaw.biz, awehener@neolaw.biz
- Vance P. Truman medinaatty@vancetruman.com
- United States Trustee (Registered address)@usdoj.gov
- Michael S Tucker mtucker@ulmer.com
- Nancy A. Valentine nancy.valentine@icemiller.com, carol.builder@icemiller.com
- Michael A. VanNiel mvanniel@bakerlaw.com
- Thomas C Wagner wagnert@tcwlawyers.com, wagnert@vwlawyers.com
- Daniel Rubin Warren dwarren@bakerlaw.com
- Wayne County Litigants ddrushal@ccj.com
- Nicholas L. White nwhite@bakerlaw.com, fairfinancedocket@bakerlaw.com
- Alicia Raina Whiting-Bozich whiting-bozich@buckleyking.com, heberlein@buckleyking.com
- Douglas Wolfe dwolfe@asmcapital.com
- Lenore Kleinman ust04 Lenore.Kleinman@usdoj.gov
- Maria D. Giannirakis ust06 maria.d.giannirakis@usdoj.gov

The following is the list of **parties** who are **not** on the list to receive e-mail notice/service for this case (who therefore require manual noticing/service).

Emily S. Donahue Jackson Walker L.L.P. 2323 Ross Avenue, Suite 600 Dallas, TX 75202

Christine A. Arnold 6005 Twin Lakes Drive Parma, OH 44219

Dennis S. Sumerix 18592 Edwards Road, Lot 171 Doylestown, OH 44230-9546

Leon Friedberg Dennis J. Concilla Carl A. Aveni H. Ritchey Hollenbaugh Carlile Patchen & Murphy LLP 366 Broad Street Columbus, OH 43215

Robert Boote Ballard Shahr LLP 919 North Market Street, 12th Floor Wilmington, DE 19801-3034

Leslie C Heilman Ballard Spahr LLP 919 North Market Street, 12th Floor Wilmington, DE 19801-3034

Maria D. Giannirakis Office of the United States Trustee Howard M. Metzenbaum U.S. Courthouse 201 Superior Avenue East, Suite 441 Cleveland, OH 44114

Lothar Jung 12962 W. Linden Avenue Parma, OH 44130-5817

John J. Kuster Benjamin R. Nagin Sidley Austin LLP 787 Seventh Avenue New York, NY 10019 Eric W. Sleeper Barton Barton & Plotkin LLP 711 Third Avenue, 14th Floor New York, NY 10017

Gary Sallee 11650 Olio Road, Suite 1000-333 Fishers, IN 46037

Robert Hanlon Eileen Hanlon P.O. Box 42 State Route 43 Mogadore, OH 44260

John McCauley, Esq. J. Richard Kiefer, Esq. Bingham McHale LLP 2700 Market Tower 10 West Market Street Indianapolis, IN 46204

Tobey Daluz Ballard Spahr LLP 919 North Market Street, 12th Floor Wilmington, DE 19801-3034

Jay Jaffe Faegre Baker Daniels LLP 600 E. 96<sup>th</sup> Street, Suite 600 Indianapolis, IN 46240

Michael V. Demczyk 12370 Cleveland Avenue, NW P.O. Box 867 Uniontown, OH 44685

Charles Boerner 1848 Ritchie Road Stow, OH 44224

JM Partners LLC Attn: John Marshall 6800 Paragon Place, Suite 202 Richmond, VA 23230-1656

4845-4001-5454.1